
!"#$%"&'()*)+,$-."/%0)($#1(2$3$4567$ 6$8$9 : ; < $
$

$

$

!"#$%"&'()*)+,$

/"=$0>$

-."/%0)($919"?$/)*.%0)(/$

=0=$4566$@$456A$#:BCD$

$

-E<FBGHI$9:J<KF$3$

4566$

4565$

455L$

455M$

4557$$

$

$

$

$

$

$

$

&HNN:B<O$PQ$(GFD:IB$>Q:FR$1NSGBH$&HN:FCH$T$9K:F:O$/:UJ:BV



!"#$%"&'()*)+,$-."/%0)($#1(2$3$4567$ 4$8$9 : ; < $
$

!"#$%"&'()*)+,$$8$$1JKGN$!"##$

6V 0IB<KI<B$D:F$K<SHNEBGHIGW<O$BD<$X:Q$PEFGI<FF$GF$BK:IF:CB<O$GI$S:KGHEF$GIOEFBKG<F$BHO:Q$:F$CHUJ:K<O$

BH$JK<YGIB<KI<B$<K:$Z45U[$

1IF3$!HKNOXGO<$GI\NE<IC<$H\$BD<$GIB<KI<B$GF$X<NNY<FB:PNGFD<O$:IO$:C]IHXN<O;<OV$9<I<BK:BGHI$K:B<$H\$

BD<$GIB<KI<B$D:F$P<<I$JD<IHU<I:N^$:NUHFB$6_7KO$H\$'EU:I$JHJEN:BGHI$:K<$:CC<FFGI;$BD<$GIB<KI<BV$

%D<$X:Q$PEFGI<FF$GF$CHIOECB<O$GI$BDGF$OG;GB:N$:;<$D:F$CD:I;<O$OE<$BH$FH$U:IQ$J<HJN<$NH;;<O$HI$BH$

BD<$GIB<KI<BV$

1OS:IC<U<IB$GI$CHUUEIGC:BGHI$:IO$GI\HKU:BGHI$B<CDIHNH;Q$D:F$\EKBD<K$FBK<I;BD<I$BD<$KHN<$H\$BD<$

GIB<KI<B$ GI$PEFGI<FFV$%D<$ GIB<KI<B$ GF$XGO<NQ$EF<O$ GI$HK;:IGW:BGHI$ \HK$U:K]<BGI;$:IO$JKHUHBGHI$H\$

JKHOECBF$ :IO$ F<KSGC<FV$ %D<$ GIB<KI<B$ GF$ EF<O$ BH$ O<NGS<K$ CEFBHU<K$ FEJJHKBR$ FD:K<$ GI\HKU:BGHI$ :IO$

JKHSGO<$ BK:GIGI;$ BH$ <UJNHQ<<FV$ !GBD$ BD<$ GIB<KI<B$ P<CHUGI;$ :$ JHX<K\EN$ BHHN$ \HK$ <UJNHQ<<FR$ BD<$

GUJ:CB$HI$PEFGI<FF$GF$EIO<IG:PN<V$

$

0IB<KI<B$:IO$9HKB<K`F$aGS<$aHKC<$=HO<N$

9HKB<K`F$\GS<$\HKC<$UHO<N$GF$:$\K:U<XHK]$\HK$GIOEFBKQ$:I:NQFGFR$PEFGI<FF$FBK:B<;Q$O<S<NHJU<IB$:IO$

FBEOQ$ CHUJ<BGBGHIV$ %D<$ \GS<$ \HKC<F$ H\$ BD<$ UHO<N$ :K<$ BD<$ BDK<:B$ \KHU$ EJCHUGI;$ :IO$ \EBEK<$

CHUJ<BGBGHIR$BDK<:B$\KHU$<bGFBGI;$FEPFBGBEB<R$P:K;:GIGI;$JHX<K$H\$CHIFEU<KFR$I<;HBG:BGI;$JHX<K$H\$

FEJJNG<KF$:IO$BDK<:B$H\$CHUJ<BGBGHIV$0IB<KI<B$D:F$;K<:B$0UJ:CB$HI$:NN$\GS<$\HKC<$H\$BD<$UHO<N3$

%DK<:B$ H\$ I<X$ <IBK:IBF3$%D<$ GIB<KI<B$ D:F$ CHIFGO<K:PNQ$ NHX<K<O$ <IBKQ$ P:KKG<K$ GI$ F<BBGI;$ EJ$ I<X$

<IB<KJKGF<V$ %D<$ F<BBGI;$ EJ$ H\$ :$ I<X$ CHUJ:IQ$ OH<F$ IHB$ K<cEGK<$ UECD$ C:JGB:N$ GIS<FBU<IBR$ \HK$

<b:UJN<R$HINGI<$K<B:GN$FGB<FR$<BCV$"S<K$GICK<:FGI;$CHUJ<BGBGHI$D:F$NHX<K<O$BD<$U:K;GIFV$

%DK<:B$H\$I<X$FEPFBGBEB<3$%D<$0IB<KI<B$D:F$K<OEC<O$BD<$JKHOECB$NG\<$CQCN<^$FD<N\$NG\<$H\$JKHOECBF$:IO$

<ICHEK:;<O$GIIHS:BGHI$GF$CEFBHU<K$F<KSGI;V$

#:K;:GIGI;$JHX<K$H\$CEFBHU<KF3$%D<$GIB<KI<B$D:F$U:O<$BD<$CEFBHU<K$X<NN$GI\HKU<O$:PHEB$JKHOECBF$

:IO$:S:GN:PN<$FEPFBGBEB<V$&HUJ:IG<F$D:S<$BH$P<$C:K<\EN$GI$JK<F<IBGI;$OG\\<K<IBG:BGHI$:IO$JKGCGI;V$

#:K;:GIGI;$JHX<K$H\$FEJJNG<KF3$/EJJNG<KF$:K<$X<NN$GI\HKU<O$:PHEB$D:JJ<IGI;$GI$BD<$GIOEFBKQ$BD:I]F$

BH$BD<$GIB<KI<BV$

%DK<:B$H\$CHUJ<BGBGHI3$%D<$GIB<KI<B$D:F$U:O<$BK:IFJ:K<ICQ$:IO$DHI<FB$GUJHKB:IB$\:CBHK$GI$FECC<FF$

H\$BD<$CHUJ:IQV$&EFBHU<KF$B<IO$BH$]IHX$UHK<$:PHEB$BD<$CHUJ:IQV$%D<$GIB<KI<B$D:F$NHX<K<O$BD<$

CHFB$H\$F<:KCDGI;$I<X$:S:GN:PN<$JKHOECBFV$

$

0IB<KI<B$:IO$BD<$X:Q$PEFGI<FF$GF$CHIOECB<O$

%D<$ GIB<KI<B$ D:F$ CD:I;<O$ BD<$ \:C<$ H\$ PEFGI<FFV$ 0B$ D:F$ HJ<I<O$ EJ$ I<X$ :S<IE<F$ H\$ CHIOECBGI;$

PEFGI<FFV$#<NHX$:K<$FHU<$GUJ:CBF$H\$BD<$GIB<KI<B$HI$PEFGI<FF3$
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&HUUEIGC:BGHI3$CHUUEIGC:BGHI$ B<CDIHNH;Q$ CHUPGI<O$ XGBD$ BD<$ GIB<KI<B$ D:F$ ;GS<I$ :$ I<X$

OGU<IFGHI$BH$CHII<CBGSGBQ$:IO$OGFJ<KFGHI$H\$GI\HKU:BGHIV$"UJNHQ<<F$:K<$GI$CHIFB:IB$BHECD$BDKHE;D$

<U:GNR$GIFB:IB$U<FF:;GI;R$H\\GC<$GIBK:I<BR$<BCV$

&HNN:PHK:BGHI3$%D<$ GIB<KI<B$ D:F$ \:CGNGB:B<O$ CHNN:PHK:BGHI$ :UHI;$ <UJNHQ<<F$ H\$ HK;:IGW:BGHIV$

+<H;K:JDGC:N$PHEIO:KG<F$IH$NHI;<K$D:UJ<K$JKHd<CB$XHK]$:IO$FD:KGI;$H\$GI\HKU:BGHIV$

#EFGI<FF$%K:IF:CBGHI3$%D<$GIB<KI<B$D:F$<ICHEK:;<O$BD<$CENBEK<$H\$HINGI<$PEFGI<FF$HK$<YCHUU<KC<V$

0I$K<C<IB$Q<:KF$U:IQ$JN:Q<KF$D:S<$HJ<I<O$FDHJF$BDKHE;D$<YCHUU<KC<V$0IB<KI<B$P:I]GI;R$J:QU<IB$

;:B<X:QFR$<BCV$:K<$J:KB$H\$IHKU:N$FEJJNQ$CD:GI$BK:IF:CBGHIV$

!HK]$aN<bGPGNGBQ3$%D<$GIB<KI<B$D:F$<I:PN<O$XHK]<KF$BH$NH;$GI$\KHU$K<UHB<$NHC:BGHI$:IO$DHU<V$0B$D:F$

D<NJ<O$HI$BD<$UHS<$<UJNHQ<<F$PQ$K<U:GIGI;$GI$BHECD$XGBD$D:JJ<IGI;F$H\$XHK]V$

!<P$ P:F<O$ :JJNGC:BGHI3$%D<$ GIB<KI<B$ D:F$ \:CGNGB:B<O$ BD<$ O<S<NHJU<IB$ H\$ CHIC<JB$ NG]<$ CNHEO$

CHUJEBGI;R$XDGCD$ D:F$ <I:PN<O$ JKHC<FF$ :IO$ FBHKGI;$ H\$ O:B:$ GI$ N:K;<$ JKHJHKBGHIV$ %D<$ GIB<KI<B$ D:F$

D<NJ<O$K<OEC<$GI\K:FBKECBEK<$CHFB$H\$BD<$CHUJ:IQV$

%D<$GIB<KI<B$BDEF$D:F$U:O<$:$PG;$GUJ:CB$GI$BD<$X:Q$BD<$PEFGI<FF$;<BF$CHIOECB<O$GI$PHBD$JHFGBGS<$:F$

X<NN$:F$:$I<;:BGS<$X:QV$%D<$GIB<KI<B$D:F$U:O<$U:IQ$PEFGI<FF$HPFHN<B<$<b:UJN<$JHFB$H\\GC<FV$)INGI<$

F<CEKGBQ$GFFE<F$NG]<$D:C]GI;R$GO<IBGBQ$BD<\BR$<BCV$:K<$:$CHIFB:IB$BDK<:B$BH$GIB<KI<B$EF<KFV$

• DBBJ3__XXXVU:I:;<U<IBFBEOQ;EGO<VCHU_GUJ:CBYH\YGIB<KI<BYK<SHNEBGHIYGIYPEFGI<FFVDBU$

• DBBJ3__XXXV\HKP<FVCHU_FGB<F_UGCD:]:E\U:I_4564_65_5e_BD<YGIB<KI<BYK<SHNEBGHIYGFYBD<Y

I<XYGIOEFBKG:NYK<SHNEBGHI_$

• DBBJ3__<IVXG]GJ<OG:VHK;_XG]G_fG;GB:Ng?<SHNEBGHI$

$

4V h,HE$D:S<$BH$P<$4AbL$FDHJ$HJ<I$:B$:NN$BGU<F$GI$<CHUU<KC<$:;<i$Z65U[$

1IF3$-./0$%10234$51./.26$%173.8.927:$;087.:$%9<7134$"=8.2>8.92$

%D<$ <YCHUU<KC<$P<D<UHBD$ GF$ CHUGI;R$ PEB$ BD:B`F$ IH$ NHI;<K$ I<XFV$1U:WHI$ GF$ I<:KNQ$ 45$ Q<:KF$ HNO$

IHXR$ <#:Q$ dEFB$ :$ Q<:K$ QHEI;<KV$!D:B$ GF$ I<XFj$ %D<$ P<D<UHBD$ GF$ :KUGI;$ GBF<N\V$ (<X$ B:CBGCFR$ I<X$

\KG<IOF$ :IO$ :$ D<\BQ$X:K$ CD<FB$U<:I$ BD:B$ BD<$ HNO$ O<\<IF<F$ GIFEN:BGI;$ BK:OGBGHI:N$ K<B:GN<KF$ :K<$ IH$

NHI;<K$<IHE;DV$><IBEK<$ \EIOF$OGFD<O$HEB$k4A4$UGNNGHI$BH$HINGI<$K<B:GN$ FB:KBEJF$ GI$ BD<$ N:FB$cE:KB<K$

:NHI<R$UHK<$BD:I$:IQ$HBD<K$J<KGHO$FGIC<$4555V$"YCHUU<KC<R$U<:IXDGN<R$GF$IHX$:$k455$PGNNGHIYJNEF$

GIOEFBKQ$GI$BD<$.V/VR$F<B$BH$K:BCD<B$EJ$6el$:$Q<:K$:F$CHIFEU<KF$K<:NGW<$BD<K<`F$IH$K<:FHI$BH$BK<]$HEB$

BH$BD<$NHC:N$FBKGJ$U:NN$:IQUHK<V$

0I$ BD<$ K<B:GN$ :KUF$ K:C<R$ <YCHUU<KC<$ GF$ XGIIGI;V$ '<K<$ :K<$ \GS<$ BK<IOF$ OKGSGI;$ BK:OGBGHI:N$ K<B:GN$

BHX:KOF$BD<$;K:S<3$

?@A$B9:C2871D$&92/014.92$
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%D<$ FU:KB$ PKGC]Y:IOYUHKB:K$ JN:Q<KF$ K<CH;IGW<$ BD<$ GI<SGB:PN<$ KGF<$ H\$ HINGI<$ FDHJJGI;$ :IO$ :K<$

:O:JBGI;$ BH$ BD<$ I<X$ K<:NGBG<FV$ %:]<$=:CQ`F3$ %D<$ 6eAYQ<:KYHNO$ K<B:GN$ CD:GI$ F:X$ HINGI<$ F:N<F$

KGF<$A5l$GI$4566$XDGN<$F:U<YFBHK<$F:N<F$;K<X$dEFB$eV7lV$%D<$CHUJ:IQ$GF$BK:IF\HKUGI;$I<:KNQ$755$

H\$ GBF$ FBHK<F$ GIBH$OGFBKGPEBGHI$ C<IB<KF$ BH$ FJ<<O$EJ$ FDGJJGI;$ \HK$HINGI<$ CHIFEU<KFV$"bJ<CB<O$ BH$OH$

UHK<$ BD:I$ k4$ PGNNGHI$ GI$ HINGI<$ F:N<F$ BDGF$ Q<:KR$ BD<Q`K<$ <S<I$ BHQGI;$ :KHEIO$ XGBD$ GIYFBHK<HINGI<$

]GHF]F$BH$D<NJ$CEFBHU<KF$FC:I$:IO$CHUJ:K<$JKGC<FV$

(HKOFBKHUR$ :$ XDGJJ<KFI:JJ<K$ CHUJ:K<O$ BH$ =:CQ`F$ :B$ 666$ Q<:KF$ HNOR$ GF$ B:]GI;$ :I$ <S<I$ UHK<$

:;;K<FFGS<$ :JJKH:CDV$!GBD$ \K<<$ FDGJJGI;$ :IO$ \K<<$ K<BEKIF$ GI$ GBF$ HINGI<$ FBHK<R$ BD<$ CHUJ:IQ$ D:F$

IHBCD<O$BDK<<$ FBK:G;DB$ cE:KB<KF$H\$ 7el$ ;:GIF$ GI$HINGI<$ F:N<FV$(HKOFBKHU$ GF$ GIB<;K:BGI;$ GBF$ HINGI<$

:IO$ GIYFBHK<$ FBK:B<;G<F$ PQ$ GIBKHOECGI;$ UHPGN<$ JHGIBYH\YF:N<$ FQFB<UF@UHOG\G<O$ G9HO$ BHECD<F@BD:B$

<NGUGI:B<$NGI<F$XDGN<$D<NJGI;$F:N<F$CN<K]F$F<NN$CEFBHU<KF$HEBYH\YFBHC]$GB<UFV$1CCHKOGI;$BH$#:KKHI`FR$

BD<$CHUJ:IQ$JN:IF$BH$GIS<FB$k6$PGNNGHI$ZHI<$BDGKO$H\$GBF$C:JGB:N$<bJ<IOGBEK<F[$GIBH$HINGI<$<\\HKBF$HS<K$

BD<$I<bB$\GS<$Q<:KFV$

!DGN<$:O:JBGI;$BD<GK$HXI$GI\K:FBKECBEK<$BH$F<KS<$HINGI<$CHIFEU<KFR$(HKOFBHU$GF$:NFH$]<<JGI;$J:C<$

XGBD$ GIIHS:BGHI$ GI$ BD<$ FJ:C<$ SG:$ :CcEGFGBGHIF$ :IO$ GIS<FBU<IBFV$*:FB$ Q<:KR$ BD<$ K<B:GN<K$ FJ<IB$ k6m5$

UGNNGHI$ HI$ \N:FD$ F:N<F$ FGB<':EB<*HH]$:IO$ N<O$ :$ k6MVA$ UGNNGHI$ GIS<FBU<IB$ GI$#HIHPHFR$ :I$ HINGI<$

K<B:GN<K$H\$U<I`F$CNHBD<FV$

%D<$HINGI<$JK:CBGC<F$H\$S<B<K:I$JN:Q<KF$S:NGO:B<$<YCHUU<KC<$GI$BD<$UGIOF$H\$HNO<K$CHIFEU<KF$XDGN<$

:CC<N<K:BGI;$BD<$GIOEFBKQ`F$;KHXBDV$0B$:NFH$U<:IF$BD<Q$;<B$BH$FEKSGS<V$

E@A$F$*94.26$&948$G81C>8C10$

!D<I$ QHE$ JEKCD:F<$ :I$ GB<U$ :B$ #NHHUGI;O:N<`FR$ HOOF$ :K<$ BD:B$ GB`F$ P<<I$U:K]<O$ EJ$ :B$ N<:FB$ BDK<<$

BGU<FV$)IC<$XD<I$GB$CD:I;<O$D:IOF$\KHU$BD<$\:CBHKQ$BH$BD<$PK:IOR$:;:GI$:F$GB$J:FF<O$\KHU$BD<$PK:IO$

BH$ #NHHUGI;O:N<`FR$ :IO$ HIC<$ UHK<$ :F$ GB$ ;H<F$ \KHU$ #NHHUGI;O:N<`F$ GIBH$ QHEK$ FDHJJGI;$ P:;V$ %D<$

K<FENB$GF$:$JEKCD:F<$JKGC<$BD:B`F$FHU<$EI;HONQ$UENBGJN<$H\$BD<$GB<U`F$:CBE:N$CHFBR$EFE:NNQ$P<BX<<I$4b$

:IO$ebV$

#K:IOF$ BD:B$ HJ<K:B<$ <bCNEFGS<NQ$ HINGI<@aK:I]$ :IO$ ):]R$ #HIHPHFR$ HK=HO&NHBD$\HK$ <b:UJN<@

<NGUGI:B<$ BD:B$ N:FB$U:K]EJ$ PQ$ F<NNGI;$ OGK<CBNQ$ BH$ CHIFEU<KFV$ #Q$ B:]GI;$ HXI<KFDGJ$ H\$ BD<$ O<FG;IR$

CEK:BGHI$:IO$K<B:GN$:FJ<CBF$H\$BD<$PEFGI<FFR$BD<F<$CHUJ:IG<F$C:I$]<<J$D<\BQ$U:K;GIF$\HK$BD<UF<NS<F$

XDGN<$FBGNN$EIO<KCEBBGI;$PKGC]Y:IOYUHKB:K$CHUJ<BGBHKF$HI$JKGC<V$1IO$P<C:EF<$BD<GK$FBHK<F$:K<$U:O<$

HEB$H\$PGBF$GIFB<:O$H\$FBHI<R$BD<Q$OHI`B$\:C<$BD<$CHFBF$H\$U:GIB:GIGI;$EIXG<NOQ$I<BXHK]F$H\$JDQFGC:N$

NHC:BGHIFV$ 1F$ \HK$ BD<$ N<;GHIF$ H\$ F:N<F$ CN<K]F$ BD:B$ K<B:GN<KF$ J:Qj$ 1$ FGI;N<$X<P$ O<S<NHJ<K$ JKHP:PNQ$

K<JN:C<F$BX<IBQ$H\$BD<UV$

H@A$-100$50:./01DI$-100$;08C124$
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"S<I$ G\$ FDGJJGI;$ CHFBF$ OHI`B$ I<;:B<$ BD<$ JKGC<$ F:SGI;F$ H\$ HINGI<$ FDHJJGI;R$ BD<Q`S<$ NHI;$ :CB<O$ :F$ :$

FHEKC<$H\$\KGCBGHIV$1F]GI;$CHIFEU<KF$BH$\:CBHK$GI$FHU<$EIC<KB:GIR$S:KG:PN<$BK:IF:CBGHI$CHFB$GF$I<S<K$

:$;HHO$X:Q$ BH$OH$PEFGI<FFR$:IO$:F]GI;$ BD<U$BH$J:Q$ \HK$ K<BEKIF$ GF$<S<I$XHKF<V$%D<$<bJ<KG<IC<$H\$

K<BEKIGI;$:I$HINGI<$JEKCD:F<R$J:QGI;$BXHYX:Q$FDGJJGI;$CHFBF$:IO$<IOGI;$EJ$XGBD$IHBDGI;@<bC<JB$

k6e$GI$BD<$K<O@GF$<IHE;D$BH$U:]<$:IQHI<$X:KQ$H\$HINGI<$FDHJJGI;V$

%HIQ$'FG<D$:IO$n:JJHF$\G;EK<O$BDGF$HEB$NHI;$:;H$:IO$PEGNB$:$k6V4$PGNNGHI$PEFGI<FF$HI$BD<$GO<:$H\$\K<<$

FDGJJGI;$ :IO$ \K<<$ K<BEKIFV$ %DGF$ JHNGCQ$ GF$ IHX$!"# $%&"'$#\HK$ F<KGHEFR$ \ENNYJKGC<$ <YCHUU<KC<$

CHUJ:IG<FV$ZaN:FD$ F:N<F$ GF$ :$ OG\\<K<IB$ P<:FBV[$ %D<$ K<:FHI$ GF$ S<KQ$ FGUJN<V$ 1CCHKOGI;$ BH$ 1U:IO:$

#HX<KR$:$PEFGI<FF$JKH\<FFHK$:B$!:FDGI;BHI$:IO$*<<$.IGS<KFGBQR$HINGI<$FDHJJ<KF$;GS<I$\K<<$K<BEKIF$

GICK<:F<$ BD<GK$FJ<IO$HI$ BD<$F:U<$FGB<$PQ$e5$ BH$7e5$J<KC<IB$GI$ N:B<K$JEKCD:F<FV$!D<I$ BD<Q$D:O$ BH$

J:Q$\HK$K<BEKI$FDGJJGI;j$%D<$S:NE<$H\$BD<GK$JEKCD:F<F$O<CK<:F<OV$

aK<<$ FDGJJGI;$ :IO$ K<BEKIF$ XGNN$ P<$ FB:IO:KO$ \HK$ <YCHUU<KC<$ CHUJ:IG<F$ \KHU$ IHX$ HIV$ )I<$ N<FF$

K<:FHI$BH$FCDN<J$BH$BD<$U:NNV$

J@A$GCK4>1.L8.92$&9MM01>0$

&:NN$GB$BD<$hF<B$GB$:IO$\HK;<B$GBi$FCDHHN$H\$PEFGI<FFV$%D<$PHBBHU$NGI<3$9<HJN<$:K<$N:WQ$:IO$C<KB:GI$GB<UF$

dEFB$U:]<$F<IF<$BH$K<C<GS<$HIC<$:$UHIBDV$1B$BD<$O:I;<K$H\$BHEBGI;$:$UHO<N$BD:B$D:F$:NK<:OQ$P<CHU<$

:$CNGCD<$Z\N:FD$F:N<F$X:F$:$CNGCD<$EIBGN$GB$JKHS<O$GBF<N\[R$0$FDHENO$JHGIB$HEB$BD:B$HINQ$C<KB:GI$C:B<;HKG<F$

H\$JKHOECBF$XHK]$\HK$BDGF$UHO<NV$Z#:BB<KQ$><IBEK<F$J:KBI<K$#KG:I$)`=:NN<Q$XKHB<$:$\:IB:FBGC$JHFB$HI$

BDGF$BHJGCV[$?:WHKFR$:F$QHE$UG;DB$GU:;GI<R$U:]<$UECD$UHK<$F<IF<$:F$:$UHIBDNQ$O<NGS<KQ$GB<U$BD:I$

FX<:B<KFV$

%D<$\HEIO:BGHI$H\$BD<$UHO<N$ GF$K<CEKKGI;$K<S<IE<R$XD<K<$CEFBHU<KF$FG;I$EJ$BH$K<C<GS<$:$UHIBDNQ$

FDGJU<IB$ \HK$ :$ F<B$ UHIBDNQ$ \<<V$ %DGF$ GF$ :BBK:CBGS<$ BH$ CHUJ:IG<F$ P<C:EF<$ GB$ CK<:B<F$ :$ FB<:OQR$

JK<OGCB:PN<$ K<S<IE<$ FBK<:UR$ IHB$ EING]</::/$ PEFGI<FF<FV$ 0B`F$ :BBK:CBGS<$ BH$ CHIFEU<KF$ P<C:EF<$ BD<$

FQFB<U$ GF$ CHIS<IG<IB$ :IO$ EFE:NNQ$ CHFBY<\\GCG<IB$ CHUJ:K<O$ BH$ :NB<KI:BGS<FV$fHNN:K$ /D:S<$ &NEPR$ \HK$

<b:UJN<R$ FDGJF$U<I`F$ K:WHKF$ BH$ CEFBHU<KF$ HIC<$ :$UHIBD$ :B$ :$ \K:CBGHI$ H\$ BD<$ CHFB$ H\$ :I$ GIYFBHK<$

JEKCD:F<V$=<I$ F:S<$UHI<Q$ :IO$ :$ BKGJ$ BH$ BD<$ CHIS<IG<IC<$ FBHK<V$ 1IO$ P<C:EF<$ f/&$ FHEKC<F$ BD<GK$

K:WHKF$ OGK<CBNQ$ \KHU$ BD<$ U:IE\:CBEK<K$ :IO$ F<NNF$ BD<U$ OGK<CBNQ$ BH$ BD<$ CEFBHU<KR$ BD<Q$ FBGNN$ <IdHQ$

CHU\HKB:PN<$U:K;GIFV$

("")#$"*!%+&#,+#-."#+"/-#)*&"0$

-9::9<$ M0$NOO&9:79$723$ 92$-7>0K99P@$ &Q0>P$ 9C8$ MD$ K:96$Q010@$

aK:I]$:IO$):]$O<JNHQF$:$UHK<$CHUJN<b$UHO<N$BD:B$:BB<UJBF$BH$CH:b$SHNEU<$\KHU$NHQ:N$CEFBHU<KFV$

%D<$CHUJ:IQ$:NNHXF$FDHJJ<KF$ BH$ CDHHF<$ BDK<<$ GB<UF$H\$ CNHBDGI;$ \KHU$:$UHIBDNQ$CHNN<CBGHIV$1\B<K$

K<C<GSGI;$ BD<$ GB<UFR$ CEFBHU<KF$ BKQ$ BD<U$ HI$ :B$ DHU<R$ BD<I$ O<CGO<$ XDGCD$ BD<Q`NN$ ]<<J$ :IO$XDGCD$
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BD<Q`NN$K<BEKI@:NN$ \HK$ \K<<$H\$CHEKF<V$&EFBHU<KF$BD<I$J:Q$ \HK$ BD<$CNHBD<F$BD<Q$X:IB$:IO$K<BEKI$BD<$

HBD<KFV$)BD<K$IHB:PN<$FEPFCKGJBGHI$CHUJ:IG<F$GICNEO<$#GKCD#HbR=:IJ:C]F$:IO$oEFBa:PV$

%D<K<$ XGNN$ P<$ NHF<KF$ GI$ BDGF$ FJ:C<$ :F$ UGION<FF$ CHJQC:BF$ ;H$ HEB$ H\$ PEFGI<FFV$ #EB$ :F$ F<IFGPN<$

CHUJ:IG<F$DHI<$BD<GK$UHO<NFR$FEPFCKGJBGHI$CHUU<KC<$XGNN$B:]<$:$O<IB$HEB$H\$C:B<;HKG<F$JK<SGHEFNQ$

O<<U<O$F:\<$\KHU$BD<$OG;GB:N$BDK<:B@BHGN<BKG<FR$CHFU<BGCFR$J<B$\HHO$:IO$;KHC<KG<F$BH$I:U<$:$\<XV$

R@A$-.8$!.8Q9C8$%Q0$-.88.26$;99M$

%D<K<$:K<$BXH$C:B<;HKG<F$H\$JN:Q<KF$D<K<3$&HUJ:IG<F$BD:B$H\\<K$CEFBHUR$B:GNHK<O$CNHBDGI;$HINGI<R$:IO$

BDHF<$BD:B$K<NQ$HI$I<X$B<CDIHNH;G<F$BH$;EGO<$CEFBHU<KF$BH$:$P<BB<K$\GBV$

%D<$ \GKFB$ GF$ JHJEN:K$ XGBD$ U<I`F$ CNHBDGI;$ CHUJ:IG<FR$ XGBD$ FB:KBEJF$ NG]<$oV$

'GNPEKIR$0IOHCDGIH$:IO$#N:I]$ *:P<N$F<NNGI;$ B:GNHK<O$ FEGBF$ :IO$ FDGKBF$ :B$ :$ OGFCHEIB$ BH$ CHIS<IBGHI:N$

CEFBHU$HJBGHIFV$%D<$:JJ<:N$D<K<$ GF$ BD<$FEOO<I$:CC<FFGPGNGBQ$H\$ B:GNHK<O$CNHBDGI;R$PHBD$ GI$ B<KUF$H\$

JKGC<$ :IO$ CHIS<IG<IC<V$ #<C:EF<$ H\$ BD<$ JKGC<$ FBKECBEK<F$ OGFCEFF<O$ :PHS<R$ BD<Q$ C:I$ ;<B$ :X:Q$

CHUJ:K:PN<$cE:NGBQ$:B$K<:FHI:PN<$JKGC<F$XDGN<$FBGNN$U:]GI;$:$JKH\GBV$

%D<$ F<CHIO$ C:B<;HKQ$ GF$ UHK<$ GIB<K<FBGI;$ :IO$ XGNN$ D:S<$UHK<$ \:KYK<:CDGI;$ CHIF<cE<IC<F$ \HK$ BD<$

\EBEK<$H\$K<B:GNV$aGKFB$X<$D:S<$BD<$GICK<U<IB:N$GIIHS:BGHI$H\$CHUJ:IG<F$NG]<$&NHBD<F$'HKF<$:IO$%KE<$

aGBR$XDGCD$:F]$FDHJJ<KF$ \HK$ BD<GK$U<:FEK<U<IBFR$:NHI;$XGBD$:$ B:NNQ$H\$ BD<GK$P<FBY\GBBGI;$CNHBD<FR$ BH$

U:BCD$ BD<U$XGBD$ BD<$ KG;DB$ FGW<FV$aK:I]$:IO$):]R$#HIHPHF$:IO$XHU<I`F$ K<B:GN<K$(GCHN<$=GNN<K$EF<$

&NHBD<F$'HKF<$XDGN<$=:CQ`F$ <UJNHQF$ %KE<$ aGB$ BH$ GICK<:F<$ CHIS<KFGHIFV$%KE<$ :IO$ &HV$ EF<F$ FGUGN:K$

U<BDHOF$BH$U:BCD$XHU<I$XGBD$X<NNY\GBBGI;$PK:FV$

"S<I$ N:K;<K$ N<:JF$ GI$FGWGI;$B<CDIHNH;Q$:K<$P<GI;$U:O<$PQ$CHUJ:IG<F$ NG]<1CEFBHU$1JJ:K<NR$XDGCD$

EF<F$7f$PHOQ$FC:II<KF$:NHI;$XGBD$J:BB<KIYU:]GI;$FH\BX:K<$BH$ FC:N<$ BD<$CK<:BGHI$H\$ CEFBHUY\GBB<O$

CNHBDGI;$:B$:$OG;<FBGPN<$JKGC<$JHGIBV$

1B$FHU<$JHGIBR$O:B:$:PHEB$QHEK$PHOQ$BQJ<$XGNN$P<$F:S<O$:NHI;$XGBD$QHEK$CK<OGB$C:KO$GI\HKU:BGHI$:IO$

QHE`NN$I<S<K$D:S<$BH$SGFGB$:$\GBBGI;$KHHU$:;:GIV$

#92C4$%1023S$&19<3TC23.26$

/<CEK<R$XGO<FJK<:O$;KHEJYJ:QGI;$:IO$CKHXO\EIOGI;$:JJNGC:BGHIF$XGNN$U:]<$GB$<:FQ$BH$FJNGB$BD<$CHFB$

H\$ N:K;<$BGC]<B$ GB<UF$HS<K$BD<$X<PV$%D<F<$XGNN$:NFH$ GIBKHOEC<$I<X$\HKUF$H\$CHUU<KC<$XDGCD$D:S<$

Q<B$P<$F<<IV$'<K<`F$:$DGIB$H\$XD:B`F$BH$CHU<V$

$

• "CHUU<KC<$ GI$ 0IOG:3$ DBBJ3__XXXVWOI<BVCHU_<YCHUU<KC<YCHU<FYH\Y:;<YGIYGIOG:Y

L55556455p_$

• DBBJ3__<IVXG]GJ<OG:VHK;_XG]G_"YCHUU<KC<$
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• DBBJ3__XXXV\HKP<FVCHU_FGB<F_ddCHN:H_4564_64_67_\GS<YBK<IOFYOKGSGI;YBK:OGBGHI:NYK<B:GNY

BHX:KOFY<bBGICBGHI_JKGIB_$

• "S<KQBDGI;$:PHEB$"CHUU<KC<3$DBBJ3__XXXVO:XIGI\HB<]VCHU_K<FHEKC<F_JO\_%D<VJO\$

$

$

$

7V "bJN:GI$ BD<$ XHK]\NHX$ GI$ <JKHCEK<U<IB$ :JJNGC:BGHIV$ fGFCEFF$ :OS:IB:;<$ H\$ BD<$ 0IB<KI<B$ GI$ BDGF$

PEFGI<FF$\EICBGHI$GI$B<KUF$H\$PEFGI<FF$P<I<\GBFV$Z65U[$

"UL19>C10M028$Z0:0>8192.>$ L19>C10M028R$ FHU<BGU<F$ :NFH$ ]IHXI$ :F$ FEJJNG<K$ <bCD:I;<[$ GF$ BD<$

PEFGI<FFYBHYPEFGI<FF$HK$PEFGI<FFYBHYCHIFEU<K$JEKCD:F<$:IO$F:N<$H\$FEJJNG<F$:IO$F<KSGC<F$BDKHE;D$

BD<$ 0IB<KI<B$ :F$ X<NN$ :F$ HBD<K$ GI\HKU:BGHI$ :IO$ I<BXHK]GI;$ FQFB<UFR$ FECD$ :F$ "N<CBKHIGC$ f:B:$

0IB<KCD:I;<$:IO$"IB<KJKGF<$?<FHEKC<$9N:IIGI;V$%QJGC:NNQR$<YJKHCEK<U<IB$!<P$FGB<F$:NNHX$cE:NG\G<O$

:IO$ K<;GFB<K<O$ EF<KF$ BH$ NHH]$ \HK$ PEQ<KF$ HK$ F<NN<KF$ H\$ ;HHOF$ :IO$ F<KSGC<FV$ f<J<IOGI;$ HI$ BD<$

:JJKH:CDR$ PEQ<KF$ HK$ F<NN<KF$ U:Q$ FJ<CG\Q$ CHFBF$ HK$ GISGB<$PGOFV$ %K:IF:CBGHIF$ C:I$ P<$ GIGBG:B<O$ :IO$

CHUJN<B<OV$ )I;HGI;$ JEKCD:F<F$U:Q$ cE:NG\Q$ CEFBHU<KF$ \HK$ SHNEU<$ OGFCHEIBF$ HK$ FJ<CG:N$ H\\<KFV$ "Y

JKHCEK<U<IB$ FH\BX:K<$ U:Q$ U:]<$ GB$ JHFFGPN<$ BH$ :EBHU:B<$ FHU<$ PEQGI;$ :IO$ F<NNGI;V$ &HUJ:IG<F$

J:KBGCGJ:BGI;$ <bJ<CB$ BH$ P<$ :PN<$ BH$ CHIBKHN$ J:KBF$ GIS<IBHKG<F$ UHK<$ <\\<CBGS<NQR$ K<OEC<$ JEKCD:FGI;$

:;<IB$ HS<KD<:OR$ :IO$ GUJKHS<U:IE\:CBEKGI;$ CQCN<FV$ "YJKHCEK<U<IB$ GF$ <bJ<CB<O$ BH$ P<$ GIB<;K:B<O$

XGBD$BD<$BK<IO$BHX:KO$CHUJEB<KGW<O$FEJJNQ$CD:GI$U:I:;<U<IBV$

%D<K<$:K<$FGb$U:GI$BQJ<F$H\$<YJKHCEK<U<IB3$

• !0KUK7403$ ";V$ W":0>8192.>$ ;049C1>0$ V:722.26A3$ &K<:BGI;$ :IO$ :JJKHSGI;$ JEKCD:FGI;$

K<cEGFGBGHIFR$JN:CGI;$JEKCD:F<$HKO<KF$:IO$K<C<GSGI;$;HHOF$:IO$F<KSGC<F$PQ$EFGI;$:$FH\BX:K<$FQFB<U$

P:F<O$HI$0IB<KI<B$B<CDIHNH;QV$

• 0UX;)$WX7.280272>0I$;0L7.1$723$)L0178.26A3$%D<$F:U<$:F$X<PYP:F<O$"?9$<bC<JB$BD:B$BD<$;HHOF$

:IO$F<KSGC<F$HKO<K<O$:K<$IHIYJKHOECB$K<N:B<O$=?)$FEJJNG<FV$

• 0U49C1>.263$ 0O<IBG\QGI;$ I<X$ FEJJNG<KF$ \HK$ :$ FJ<CG\GC$ C:B<;HKQ$ H\$ JEKCD:FGI;$ K<cEGK<U<IBF$ EFGI;$

0IB<KI<B$B<CDIHNH;QV$

• 0U802301.263$/<IOGI;$K<cE<FBF$\HK$GI\HKU:BGHI$:IO$JKGC<F$BH$FEJJNG<KF$:IO$K<C<GSGI;$BD<$K<FJHIF<F$

H\$FEJJNG<KF$EFGI;$0IB<KI<B$B<CDIHNH;QV$

• 0U10/0140$ 7C>8.92.263$ .FGI;$ 0IB<KI<B$ B<CDIHNH;Q$ BH$ PEQ$ ;HHOF$ :IO$ F<KSGC<F$ \KHU$ :$ IEUP<K$ H\$

]IHXI$HK$EI]IHXI$FEJJNG<KFV$

• 0U.2T91M.263$ +:BD<KGI;$ :IO$ OGFBKGPEBGI;$ JEKCD:FGI;$ GI\HKU:BGHI$ PHBD$ \KHU$ :IO$ BH$ GIB<KI:N$ :IO$

<bB<KI:N$J:KBG<F$EFGI;$0IB<KI<B$B<CDIHNH;QV$

%D<$<YJKHCEK<U<IB$S:NE<$CD:GI$CHIFGFBF$H\$ 0IO<IB$=:I:;<U<IBR$<%<IO<KGI;R$<1ECBGHIGI;R$><IOHK$

=:I:;<U<IBR$ &:B:NH;E<$ =:I:;<U<IBR$ :IO$ &HIBK:CB$ =:I:;<U<IBV$ 0IO<IB$ =:I:;<U<IB$ GF$ BD<$

XHK]\NHX$ GISHNS<O$ GI$ BD<$ JK<J:K:BGHI$ H\$ B<IO<KFV$ %DGF$ J:KB$ H\$ BD<$ S:NE<$ CD:GI$ GF$ HJBGHI:NR$ XGBD$
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GIOGSGOE:N$ JKHCEKGI;$ O<J:KBU<IBF$ O<\GIGI;$ BD<GK$ GIO<IBGI;$ JKHC<FFV$ 0I$ XHK]F$ JKHCEK<U<IBR$

:OUGIGFBK:BGS<$ :JJKHS:N$ :IO$ B<CDIGC:N$ F:ICBGHI$ :K<$ HPB:GI<O$ GI$ <N<CBKHIGC$ \HKU:BV$ 0I$ ;HHOF$

JKHCEK<U<IBR$ GIO<IB$ ;<I<K:BGHI$ :CBGSGBQ$ GF$ OHI<$ HINGI<V$ %D<$ <IO$ K<FENB$ H\$ BD<$ FB:;<$ GF$ B:]<I$ :F$

GIJEBF$\HK$GFFEGI;$BD<$(0%V$

"N<U<IBF$ H\$ <YJKHCEK<U<IB$ GICNEO<$?<cE<FB$ aHK$ 0I\HKU:BGHIR$?<cE<FB$ aHK$ 9KHJHF:NR$ ?<cE<FB$ \HK$

-EHB:BGHIR$?ab$ZBD<$JK<SGHEF$BDK<<$BH;<BD<K[R$:IO$<?ab$ZFH\BX:K<$\HK$U:I:;GI;$?ab$JKHd<CBF[V$

$

1OS:IB:;<F$H\$:OHJBGI;$"Y9KHCEK<U<IB$Z/QFB<UF[$

! "Y9KHCEK<U<IB$ D<NJF$ XGBD$ BD<$ O<CGFGHIYU:]GI;$ JKHC<FF$ PQ$ ]<<JGI;$ K<N<S:IB$ GI\HKU:BGHI$

I<:BNQ$ HK;:IGW<O$ :IO$ BGU<YFB:UJ<OV$ =HFB$ :K<$ B<UJN:B<YOKGS<I$ XDGCD$ U:]<F$ :NN$

BK:IF:CBGHIF$FB:IO:KOGW<O$:IO$BK:C]:PN<V$2<<JGI;$ BK:C]$H\$:NN$PGOF$U<:IF$ N<S<K:;GI;$QHEK$

]IHXN<O;<$ BH$HPB:GI$P<BB<K$JKGCGI;V$&HUJ:IG<F$ C:I$ \HCEF$HI$ BD<GK$UHFB$ NECK:BGS<$ BK:OGI;$

J:KBI<KF$:IO$CHIBK:CBFV$m[$

! "Y9KHCEK<U<IB$<ID:IC<F$BD<$CHUJ:K:PGNGBQ$H\$FEJJNG<KF$:IO$JKGC<FV$p[$

! "Y9KHCEK<U<IB$K<OEC<F$BD<$<I<K;Q$<bJ<IO<OV$"FJ<CG:NNQ$:B$JEKCD:FGI;$H\\GC<$<cEGJU<IB$:IO$

HBD<K$CN:FF$&$CHUUHOGBG<FV$

! !<NNYU:I:;<O$"YJKHCEK<U<IB$D<NJF$K<OEC<$GIS<IBHKQ$N<S<NFV$2IHXGI;$JKHOECB$IEUP<KFR$PGO$

JKGC<F$ :IO$ CHIB:CB$ JHGIBF$ C:I$ D<NJ$ PEFGI<FF<F$ CNHF<$ :$ O<:N$ XDGN<$ HBD<K$ FEJJNG<KF$ :K<$

FBKE;;NGI;$BH$;:BD<K$BD<GK$K<N<S:IB$O:B:V$

! "\\<CBGS<$ "Y9KHCEK<U<IB$ UGIGUGW<F$ JKHC<FF$ CHFBF$ PQ$ \:FB$ BK:IF:CBGHI$ H\$ BD<$ JEKCD:FGI;$

HKO<KFV$65[$

! "Y9KHCEK<U<IB$ FQFB<UF$ BD:B$ :NNHX$UENBGJN<$ :CC<FF$ N<S<NF$ :IO$ J<KUGFFGHIF$ D<NJ$U:I:;<KF$

HK;:IGW<$ :OUGIGFBK:BGS<$ EF<KF$ PQ$ KHN<FR$ ;KHEJFR$ HK$ B:F]FV$ 9KHCEK<U<IB$ U:I:;<KF$ OH$ IHB$

I<<O$ BH$P<$ :F$DG;DNQ$ BK:GI<O$HK$J:GO$P<C:EF<$ FECD$ FQFB<UF$:K<$ FB:IO:KOGW<O$:IO$<:FQ$ BH$

N<:KIV$66[$

$

)KOGI:KQ$:OHJBGHI$FBK:B<;G<F$

/HU<$\GKUF$D:S<$OGFCHS<K<O$BD:B$U:IQ$H\$BD<GK$BK:IF:CBGHIF$FBGNN$B:]<$JN:C<$HI$J:J<KR$:IO$

BD<Q$D:S<$KEI$GIBH$JKHPN<UF$K:I;GI;$\KHU$CHIB<IB$U:I:;<U<IB$BH$FEJJNG<K$J:KBGCGJ:BGHI$GI$

BD<GK$FQFB<UFV$=HFB$CHUJ:IG<F$XDH$O<FGK<$BH$U:]<$BD<$FXGBCD$\:NN$GIBH$BXH$C:UJFV$%D<$\GKFB$

:K<$BD<$FNHX$FB<JYPQYFB<J$:OHJB<KFV$%D<Q$GUJN<U<IB$HI<$JG<C<$H\$BD<GK$FQFB<U$:B$:$BGU<$:IO$

FNHXNQ$ PKGI;$ BK:OGI;$ J:KBI<KF$ HI$ PH:KOV$ %D<$ HBD<KF$ \HNNHX$ BD<$ BHB:N$ K<JN:C<U<IB$UHO<NV$

%D<Q$PEGNO$:$BHB:NNQ$J:K:NN<N$FQFB<UR$B<FB$GBR$BD<I$FXGBCD$HS<K$BH$GB$XD<I$GB$XHK]FV$%D<K<$GF$

EFE:NNQ$FHU<$J:GI$GISHNS<O$:IO$FHU<$UGFB:]<F$:K<$OGFCHS<K<OR$PEB$PQ$:IO$N:K;<$BD<F<$:K<$

:PFHKP<O$:IO$BD<$PEFGI<FF$CHIBGIE<FV$
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1OHJBGI;$ :$ CHUJN<b$ "YJKHCEK<U<IB$ FQFB<U$ FDHENO$ HINQ$ P<$ CHIFGO<K<O$ G\$ QHE$ D:S<$ BD<$ BGU<$ :IO$

K<FHEKC<F$BH$GUJN<U<IB$BDGFV$%D<$JHFFGPN<$:OS:IB:;<F$:K<$O<FCKGP<O$GI$BD<$B<bB$:PHS<V$0\$IHBR$FBGC]$BH$

:I$GICK<U<IB:N$:JJKH:CDV6A[$,HE$C:IqB$<bJ<CB$:I$GUU<OG:B<$K<BEKI$HI$GIS<FBU<IBV$1$FDHKBYB<U$;:GI$

U:Q$P<$IHBGC<:PN<R$PEB$GB$U:Q$P<$<:B<I$EJ$PQ$BD<$CHFB$H\$FB:\\$BK:GIGI;$:IO$<cEGJU<IB$JEKCD:F<FV$1$

Q<:K$HK$BXH$OHXI$BD<$KH:O$:IO$:$N:K;<K$?)0$FDHENO$P<$<SGO<IBV$

 
$

• DBBJ3__<IVXG]GJ<OG:VHK;_XG]G_"YJKHCEK<U<IB$

• DBBJ3__<IV<CHUU<KC<XG]GVGI\H_\EIO:U<IB:NF_U:K]<BgJN:C<F_<gJKHCEK<U<IB$

• DBBJ3__XXXV\EFGHIBH:OVCHU_JKHOECBF_<JKHCY:JJNGC:BGHIFVDBUN$

$

$

$

AV #EFGI<FF$=HO<NF$HI$0IB<KI<BV$"bJN:GI$S:KGHEF$K<S<IE<$;<I<K:BGHI$:S<IE<FV$ZeU[$

1IF3$0IB<KI<B$#EFGI<FF$=HO<NF$

%D<$ 0IB<KI<B$D:F$;GS<I$ KGF<$ BH$I<X$]GIOF$H\$PEFGI<FF$UHO<NF$XDGN<$ :B$ BD<$ F:U<$ BGU<$ K<GIS<IBGI;$

BKG<OY:IOYBKE<$UHO<NFV$%D<K<$:K<$0IB<KI<B$PEFGI<FF$UHO<NF$BD:B$K<FENB$GI$J:FFGS<$GICHU<$:IO$BDHF<$

BD:B$XHK]$BDKHE;D$:CBGS<$GICHU<$Z<bCD:I;GI;$DHEKF$\HK$OHNN:KF[V$

%HO:QR$N<B`F$OGFCEFF$\GS<$H\$BD<$UHFB$JHJEN:K$:IO$FECC<FF\EN$0IB<KI<B$PEFGI<FF$UHO<NF3$

6V$/HCG:N$=<OG:$=HO<N$

)\$CHEKF<$a:C<PHH]R$XGBD$HS<K$m55$UGNNGHI$EF<KFR$GF$BD<$UHFB$FECC<FF\ENV$#EB$BD<K<`F$:NFH$*GI]<O0IR$

%XGBB<KR$+HH;N<$9NEFR$9GIB<K<FBR$:IO$U:IQ$UHK<V$#EB$DHX$OH$BD<F<$CHUJ:IG<F$;<I<K:B<$K<S<IE<j$

%DGF$FHCG:N$U<OG:$PEFGI<FF$UHO<N$XHK]F$PQ$H\\<KGI;$:$\K<<$HINGI<$F<KSGC<$ZGI$BDGF$C:F<$BD<$F<KSGC<$GF$

FHCG:N$I<BXHK]GI;[$:IO$BD<I$F<NNGI;$B:K;<B<O$:OF$BH$BD<$EF<KFV$%D<$EF<KF$OH$IHB$J:Q$:IQBDGI;$BH$EF<$

BD<$F<KSGC<V$1F$a:C<PHH]`F$DHU<$J:;<$K<:OFR$h0B`F$\K<<$:IO$GB$:NX:QF$XGNN$P<Vi$

%D<$K<:FHI$:OS<KBGFGI;$GF$<\\<CBGS<$HI$FHCG:N$I<BXHK]F$GF$P<C:EF<$CHUJ:IG<F$C:I$PEQ$:OF$HI$:$J:QY

J<KYCNGC]$P:FGF$ZFGUGN:K$BH$+HH;N<`F$99&$:OF[V$1IO$BD<F<$:OF$C:I$P<$N:F<K$\HCEF<O$BH$:$S<KQ$FJ<CG\GC$

B:K;<B$U:K]<BV$"\\<CBGS<NQR$GB`F$BD<$PGNNPH:KO$PEFGI<FF$UHO<N$S<KFGHI$BXHV$

*:FB$Q<:K$a:C<PHH]$;<I<K:B<O$kAV4L$PGNNGHI$:IO$k7Vm$PGNNGHI$X:F$\KHU$:OS<KBGFGI;$ZkAL5$UGNNGHI$X:F$

U:O<$ \KHU$ ha:C<PHH]$ &K<OGBFiR$ :$ SGKBE:NYCEKK<ICQ$ JKH;K:U$ BD:B$ N<BF$ EF<KF$ PEQ$ GB<UF$ GI$ ;:U<FV[$
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>GKBE:N$;HHOF$F:N<F$:K<$GICK<:FGI;$K:JGONQ$:IO$K<JK<F<IB$:$S<KQ$OG\\<K<IB$PEFGI<FF$UHO<N$BD:I$BD<$

B:K;<B<O$PGNNPH:KOGI;$H\$GIB<KI<B$:OS<KBGFGI;V$

$

4V$1\\GNG:B<$=HO<N$

%D<$:\\GNG:B<$PEFGI<FF$UHO<N$GF$:IHBD<K$S<KQ$FECC<FF\EN$0IB<KI<B$PEFGI<FF$UHO<N$GI$EF<$BHO:QV$

'<K<`F$DHX$GB$XHK]F3$

1$PEFGI<FF$F<BF$EJ$:I$h:\\GNG:B<$JKH;K:Ui$XD<K<$GB$H\\<KF$:$\GI:ICG:N$ GIC<IBGS<$BH$:\\GNG:B<F$\HK$<:CD$

SGFGBHK$HK$CEFBHU<K$PKHE;DB$:PHEB$PQ$BD<$:\\GNG:B<rF$HXI$U:K]<BGI;$<\\HKBFV$%QJGC:NNQ$BD<$:\\GNG:B<$GF$

;GS<I$:$EIGcE<$h:\\GNG:B<$NGI]i$XDGCD$GF$BK:C]<O$PQ$BD<$PEFGI<FFV$

"S<KQ$BGU<$:$F:N<$GF$U:O<$:F$:$K<FENB$H\$BDGF$JKHC<FF$BD<$:\\GNG:B<$K<C<GS<F$:$J<KC<IB:;<$H\$BD<$F:N<V$

%DGF$ 0IB<KI<B$ PEFGI<FF$ UHO<N$ GF$ X<NNYFEGB<O$ \HK$ BKEFB<O$ FGB<F$ BD:B$ D:S<$ N:K;<$ \HNNHXGI;FV$ 1$ ;HHO$

<b:UJN<$GF$9:B$aNQII$\KHU$/U:KB$9:FFGS<$0ICHU<V$

%DHEF:IOF$H\$J<HJN<$CHIFGO<K$9:B$BH$P<$:$BKEFB<O$:EBDHKGBQ$HI$DHX$BH$U:]<$J:FFGS<$GICHU<$HINGI<V$

0I$ o:IE:KQ$ 4564$ 9:B$ <:KI<O$ k7mR57m$ \KHU$ DGF$ :\\GNG:B<$ U:K]<BGI;$ <\\HKBFV$ %H$ SG<X$ DGF$ O<B:GN<O$

UHIBDNQ$GICHU<$K<JHKB$CNGC]$D<K<V$

'<K<$ :K<$ FHU<$ HBD<K$ <b:UJN<F$ H\$ :\\GNG:B<$ U:K]<BGI;$ FGB<F3$0NNEUGI:B<O$ =GIOR/DH<=HI<QR$f0,$

%D<U<FV$

$$

7V$/EPFCKGJBGHI$=HO<N$

!<PFGB<F$BD:B$EF<$BD<$FEPFCKGJBGHI$PEFGI<FF$UHO<N$K<cEGK<$EF<KF$BH$J:Q$:$\<<$ZBQJGC:NNQ$UHIBDNQ$HK$

Q<:KNQ[$ BH$ :CC<FF$ :$ F<KSGC<$ HK$ JKHOECBV$!GBD$ HS<K$ 4A$UGNNGHI$ FEPFCKGP<KFR$(<B\NGb$ GF$ HI<$ BD<$UHFB$

FECC<FF\EN$ CHUJ:IG<F$ BD:B$ EF<$ BD<$ FEPFCKGJBGHI$ PEFGI<FF$UHO<NV$ 0I$ 4566$ (<B\NGb$ ;<I<K:B<O$ kmLM$

UGNNGHIV$

1IHBD<K$X:Q$ CHUJ:IG<F$ JKH\GB$ \KHU$:$ FEPFCKGJBGHI$PEFGI<FF$UHO<N$ GF$ PQ$ CHUPGIGI;$ \K<<$ CHIB<IB$

XGBD$ sJK<UGEUs$ ZGV<VR$ U<UP<KYHINQ[$ CHIB<IBV$ 0I$ BDGF$ \K<<UGEU$ PEFGI<FF$ UHO<NR$ CHUJ:IG<F$ NG]<$

*GI]<O0I$EF<$BDGF$FBK:B<;Q$BH$<ICHEK:;<$EF<KFDGJ$:IO$CD:K;<$BD<$P<FB$EF<KFVV$=HFB$H\$*GI]<O0I`F$6e5$

UGNNGHI$EF<KF$:K<$P:FGC$Z\K<<[$U<UP<KF$PEB$BD<$FHCG:N$U<OG:$CHUJ:IQ$OGO$U:]<$k4mVA$UGNNGHI$GI$-7$

4566$ZBHB:N$K<S<IE<$\HK$-7$4566$X:F$k67p$UGNNGHI[$\KHU$J:GO$U<UP<KFDGJFV$

$$
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AV$=<KCD:IB$=HO<N$

%D<$ 1U:WHItHD$ <bCEF<$U<R$ 0$U<:I$ BD<$U<KCD:IB$ PEFGI<FF$UHO<N$ GF$ HI<$ H\$ BD<$UHFB$ JKH\GB:PN<$

0IB<KI<B$ PEFGI<FF$UHO<NFV$ %D<$U<KCD:IB$UHO<N$ GF$ :$ PEFGI<FF$UHO<N$ BD:B$ ;H<F$ P:C]$ BDHEF:IOF$ H\$

Q<:KFV$#EB$BD<$0IB<KI<B$D:F$JKHSGO<O$:$BK<U<IOHEF$HJJHKBEIGBQ$\HK$U<KCD:IBF$BH$;KHX$:B$:I$:NUHFB$

EIP<NG<S:PN<$K:B<V$

0I$BD<$U<KCD:IB$UHO<N$:$U<KCD:IB$FGUJNQ$F<NNF$JKHOECBF$OGK<CBNQ$BH$PEQ<KFV$0B$CHENO$P<$CNHBD<FR$&fFR$

HK$ C:KF$ PEB$ BD<$ CHIC<JB$ GF$ BD<$ F:U<V$ 1;:GI$ BDGF$ PEFGI<FF$ UHO<N$ GF$ IHB$ I<X$ PEB$ F:SSQ$ PEFGI<FF$

HXI<KF$D:S<$\G;EK<O$HEB$DHX$BH$N<S<K:;<$BD<$PEQGI;$JHX<K$H\$CEFBHU<KF$HI$BD<$0IB<KI<BV$

*<B`F$ CHUJ:K<$ BXH$U<KCD:IB$PEFGI<FF$UHO<NF$ K<:N$cEGC]3$!:NY=:KB$ :IO$1U:WHIV$ *:FB$ Q<:K$ :B$Am$

Q<:KF$HNOR$!:NY=:KB`F$K<S<IE<$X:F$kA6M$PGNNGHIV$1U:WHI$:B$HINQ$6M$Q<:KF$HNO$:NK<:OQ$D:O$:$K<S<IE<$

H\$k74$PGNNGHIV$0B$BHH]$!:NY=:KB$6e$Q<:KF$BH$K<:CD$:IIE:N$F:N<F$H\$k6$PGNNGHI^$1U:WHI$OGO$GB$GI$HINQ$eV$

0IB<KI<B$ PEFGI<FF$ UHO<NF$ BD:B$ K<NQ$ HI$ BD<$ U<KCD:IB$ UHO<N$ U:Q$ \:C<$ FHU<$ CD:NN<I;<F$ GI$ BD<$

EJCHUGI;$Q<:KF$:F$BD<$F:N<F$B:b$O<P:B<$D<:BF$EJV$/DHENO$GIB<KI<B$U<KCD:IBF$P<$B:b<O$NG]<$PKGC]$:IO$

UHKB:K$U<KCD:IBFR$BD<$UHO<N$U:Q$P<$:OS<KF<NQ$:\\<CB<OV$9<KFHI:NNQR$0$P<NG<S<$:NN$GIB<KI<B$JEKCD:F<F$

XGNN$P<$CD:K;<O$F:N<F$B:bV$%D<$NHHJDHN<$XGNN$P<$CNHF<O$\HK$BXH$K<:FHIF3$6[$BD<$GIB<KFB:B<$CHUU<KC<$

JKHSGFGHI$JKHSGOGI;$\HK$BD<$NHHJDHN<$GF$:KCD:GC$:IO$CHIC<GS<O$NHI;$P<\HK<$:IQHI<$OK<:U<O$H\$BD<$

GIB<KI<BR$:IOR$4[$BD<$;HS<KIU<IB$I<<OF$BD<$UHI<QV$

&NHFEK<$H\$ BD<$ NHHJDHN<$XGNN$JEB$ FHU<$ GIB<KI<B$PEFGI<FF$UHO<NF$HEB$H\$PEFGI<FF$:IO$U<K<NQ$ FNHX$

;KHXBD$H\$FBKHI;$U<KCD:IBF$NG]<$1U:WHIV$

$

eV$1OS<KBGFGI;$=HO<N$

1;:GI$ X<$ D:S<$ :IHBD<K$ HNO$ FCDHHN$ PEFGI<FF$ UHO<N$ BD:B`F$ P<<I$ :JJNG<O$ BH$ BD<$ 0IB<KI<BV$ %D<$

:OS<KBGFGI;$PEFGI<FF$UHO<N$GF$:I$<bB<IFGHI$H\$BD<$BK:OGBGHI:N$U<OG:$PKH:OC:FB$UHO<NV$#EB$IHX$BD<$

hU<OG:i$ CHUJ:IQ$ GF$ :$ X<PFGB<$ ZGV<V$ +HH;N<R$ ,:DHHu[V$ 1IO$ dEFB$ NG]<$ GI$ K:OGH$ HK$ %>$ BD<$ hU<OG:i$

CHUJ:IQ$JKHSGO<F$SG<X<KFR$HK$EF<KFR$XGBD$\K<<$CHIB<IB$:IO$F<KSGC<FV$

%D<$UHK<$J<HJN<$BD<$U<OG:$CHUJ:IQ$D:F$X:BCDGI;$BD<U$ZHK$EFGI;$BD<GK$F<KSGC<[$BD<$UHK<$UHI<Q$

BD<Q$ C:I$ CD:K;<$ \HK$ B:K;<B<O$ :OS<KBGFGI;R$ HK$ DGK<$ B:K;<B<O$ :OS<KBGFGI;$ CHUJ:IG<F$BH$ U:K]<B$ \HK$

BD<UVV$+HH;N<$D:F$BD<$U:K]<B$HI$BD<$0IB<KI<B$:OS<KBGFGI;$UHO<NV$0I$4565$BD<GK$:IIE:N$K<S<IE<$X:F$

k4pV7$PGNNGHI$ZCHUJ:K<O$BH$:PHEB$k655$UGNNGHI$GI$4556[V$

%DGF$ 0IB<KI<B$PEFGI<FF$UHO<N$ K<NG<F$HI$D<:SQ$ BK:\\GC$ BH$ BD<$X<PFGB<V$1$ CHUJ:IQ$EFGI;$ BDGF$UHO<N$

UEFB$JKHSGO<$:$S:NE:PN<$F<KSGC<$BD:B$UGNNGHIF$H\$J<HJN<$EF<$HI$:$K<;EN:K$P:FGF$ZGV<V$+HH;N<$F<:KCDR$

+U:GN[$GI$HKO<K$BH$CHUU:IO$DG;D$JKGC<F$\KHU$:O$FJ:C<V$
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0IB<KI<B$#EFGI<FF$=HO<NF$GI$BD<$aEBEK<$

!DGN<$BD<K<$:K<$HBD<K$0IB<KI<B$PEFGI<FF$UHO<NF$HEB$BD<K<$BD<F<$\GS<$:K<$BD<$UHFB$JHJEN:KV$1IO$:F$

QHE$ C:I$ F<<$ FHU<$ H\$ BD<F<$ 0IB<KI<B$ PEFGI<FF$ UHO<NF$ HS<KN:JV$ aHK$ <b:UJN<$ a:C<PHH]$ \GBF$ BD<$

O<\GIGBGHI$H\$:$FHCG:N$UHO<N$:IO$:I$:OS<KBGFGI;$UHO<NV$

!D:B$PEFGI<FF$UHO<NF$XGNN$X<$F<<$65$Q<:KF$\KHU$IHXj$!GNN$BD<$BKG<OY:IOYBKE<$JK<S:GN$HK$XGNN$I<X$

UHO<NF$<U<K;<$:F$F:SSQ$PEFGI<FF$HXI<KF$OGFCHS<K$I<X$X:QF$BH$OH$PEFGI<FF$HINGI<j$)INQ$BGU<$XGNN$

B<NNV$

• DBBJ3__PEFGI<FFUHO<NGIFBGBEB<VCHU_GIB<KI<BYPEFGI<FFYUHO<NF_$

$

eV /HCG:N$GFFE<F$XGBD$:OS<IB$H\$0IB<KI<B$<K:$ZeU[$

v$+KHEJ$p$99%$w$

$

$

$

MV 0FFE<F$GI$GUJN<U<IBGI;$:I$0IB<KI<B$_$!<P$:JJNGC:BGHI$ZeU[$

%D<$U:GI$CD:NN<I;<F$\HK$GUJN<U<IBGI;$/<U:IBGC$!<P$B<CDIHNH;G<F$

6V$0IB<;K:BGI;$IHGFQ$:IO$D<B<KH;<I<HEF$O:B:$Y$s%D<$U:dHKGBQ$H\$:JJNGC:BGHIF$K<NQ$HI$O:B:$GIB<;K:BGHIR$

PEB$ GI$HKO<K$ BH$ GUJN<Y$U<IB$ GBR$ <bJ<IFGS<$DEU:I$ GIB<KS<IBGHI$ GF$I<C<FF:KQ$:IO$]IHXN<O;<$:PHEB$

K<:FHIY$ GI;$ :IO$ GI\<K<ICGI;$ I<<OF$ BH$ P<$ :CcEGK<O$ PQ$ BD<$ FH\BX:K<$ <I;GI<<KFVs$ %DK<<$ J:KBGCEN:K$

JKHPN<UF$:K<$OGFCEFF<O3$6VUse of non-standard (undefined) terms  2. Incorrect usage of vocabularies (contrary to their 

intended usage)   3.Multiple URIs for the same objects (identifiers aren't unique)$

aEKBD<KUHK<R$O:B:$ GIB<;K:BGHI$U:Q$ K<cEGK<$UENBGJN<$ CHUJHI<IBFR$ FECD$:F$:$ CK:XN<K$:IO$:$ F<:KCD$

F<KSGC<R$GI$:OOGBGHI$BH$BD<$GIB<;K:BGHI$F<KSGC<$GBF<N\V$

4V$=GFU:BCD$H\$O:B:$UHO<NF$:IO$190F$P<BX<<I$CHUJHI<IBF$Y$%D<$O:B:$UHO<NF$I<<O$BH$P<$U:JJ<OYY

<V;V$ K<N:BGHI:N$ O:B:P:F<FR$ HPd<CB$ HKG<IB<O$ O:B:R$ ?fa$ Z;K:JD$ O:B:$ UHO<N[V$!DGN<$ X<P$ :JJNGC:BGHIF$

P<I<\GB$ \KHU$ <bGFBGI;$ U:JJGI;FR$ BD<$ /<U:IBGC$ !<P$ O<S<NHJ<K$ U:Q$ P<$ HPNG;<O$ BH$ sJKHSGO<$ :I$

:PFBK:CBGHI$N:Q<K$HI$BHJ$H\$BD<$?fa$O:B:$UHO<N$DGUF<N\Vs$

7V$=GFFGI;$ HK$ P<N:B<O$ CHIS<IBGHIF$ :IO$ FB:IO:KOF$ Y$ s%D<K<$ :K<$U:IQ$ OG\\<K<IB$ <bJHKB$ :IO$ :CC<FF$

U<CD:IGFUF$ \HK$?fa$O:B:R$ \KHU$JEBBGI;$ :I$?fa$OEUJ$HI$:$X<P$ F<KS<KR$ <UP<OOGI;$ NGI]F$ BH$?fa$

O:B:$GI$'%=*$HK$JKHSGOGI;$:$/91?-*$<IOJHGIBVs$:IO$s1EBDHKGB:BGS<$K<CHUU<IO:BGHIF$\HK$U:]GI;$

?fa$ :CC<FFGPN<$ HS<K$ BD<$!<P$X<K<$ IHB$ :S:GN:PN<$ EIBGN$ 455MR$XD<I$ %GUY#<KI<KF$ *<<$ JEPNGFD<O$ :$

O<FG;I$ IHB<ZvXXXVX7VHK;_f<FG;I0FFE<F_*GI]<Of:B:VDBUN$

XXXVX7VHK;_f<FG;I0FFE<F_*GI]<Of:B:VDBUNw[$XDGCD$<FB:PNGFD<O$BD<$*GI]<O$f:B:$JKGICGJN<FVs$
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AV$ fGFBKGPEBGHI$ H\$ :JJNGC:BGHI$ NH;GC$ :CKHFF$ CHUJEB<KF$ Y$ 0I\<K<ICGI;$ :IO$ K<:FHIGI;R$ \HKU:N$

SHC:PEN:KG<FR$:IO$?fa$cE<KQ$ N:I;E:;<$U:Q$P<$EF<OR$XDGCD$sK<FENBF$ GI$ BD<$:JJNGC:BGHI$ NH;GC$P<GI;$

OGFBKGPEB<O$:CKHFF$BD<$OG\\<K<IB$CHUJHI<IBFVs$

• DBBJ3__:C:XG]GVHK;_0UJN<U<IBGI;g/<U:IBGCg!<Pg:JJNGC:BGHIF3gK<\<K<IC<g:KCDGB<CBEK<g:IOg

CD:NN<I;<F$

$

LV &HIS<K;<IC<$:IO$GBF$GFFE<F$ZeU[$

1IF3$ %0>Q29:96.>7:$ >92/01602>0$GF$ BD<$ B<IO<ICQ$ \HK$ OG\\<K<IB$ B<CDIHNH;GC:N$ FQFB<UF$ BH$ <SHNS<$

BHX:KO$J<K\HKUGI;$FGUGN:K$B:F]FV$&HIS<K;<IC<$C:I$K<\<K$BH$JK<SGHEFNQ$F<J:K:B<$B<CDIHNH;G<F$FECD$

:F$SHGC<$Z:IO$B<N<JDHIQ$\<:BEK<F[R$O:B:$Z:IO$JKHOECBGSGBQ$:JJNGC:BGHIF[R$:IO$SGO<H$BD:B$IHX$FD:K<$

K<FHEKC<F$:IO$GIB<K:CB$XGBD$<:CD$HBD<K$FQI<K;GFBGC:NNQV$

%D<$ KGF<$ H\$ OG;GB:N$ CHUUEIGC:BGHI$ GI$ BD<$ N:B<$ 45BD$ C<IBEKQ$ D:F$ U:O<$ GB$ JHFFGPN<$ \HK$ U<OG:$

HK;:IGW:BGHIF$ ZHK$ GIOGSGOE:NF[$ BH$ O<NGS<K$ B<bBR$ :EOGHR$ :IO$ SGO<H$ U:B<KG:N$ HS<K$ BD<$ F:U<$ XGK<OR$

XGK<N<FFR$ HK$ \GP<KYHJBGC$ CHII<CBGHIFV$ 1B$ BD<$ F:U<$ BGU<R$ GB$ GIFJGK<O$ FHU<$ U<OG:$ HK;:IGW:BGHIF$ BH$

<bJNHK<$UENBGU<OG:$O<NGS<KQ$H\$GI\HKU:BGHIV$%DGF$OG;GB:N$CHIS<K;<IC<$H\$I<XF$U<OG:R$GI$J:KBGCEN:KR$

X:F$C:NN<O$s=<OG:UHKJDHFGFs$PQ$K<F<:KCD<K$?H;<K$aGON<K$v4wR$GI$DGF$6ppL$PHH]$PQ$BD:B$I:U<V$%HO:QR$

X<$:K<$ FEKKHEIO<O$PQ$:$UENBGYN<S<N$ CHIS<K;<IB$U<OG:$XHKNO$XD<K<$:NN$UHO<F$H\$ CHUUEIGC:BGHI$

:IO$ GI\HKU:BGHI$ :K<$ CHIBGIE:NNQ$ K<\HKUGI;$ BH$ :O:JB$ BH$ BD<$ <IOEKGI;$ O<U:IOF$ H\$ B<CDIHNH;G<FR$

sCD:I;GI;$BD<$X:Q$X<$CK<:B<R$CHIFEU<R$N<:KI$:IO$GIB<K:CB$XGBD$<:CD$HBD<KsV$

&HIS<K;<IC<$ GI$ BDGF$ GIFB:IC<$ GF$ O<\GI<O$ :F$ BD<$ GIB<KNGI]GI;$ H\$ CHUJEBGI;$ :IO$ HBD<K$ GI\HKU:BGHI$

B<CDIHNH;G<FR$ U<OG:$ CHIB<IBR$ :IO$ CHUUEIGC:BGHI$ I<BXHK]F$ BD:B$ D:F$ :KGF<I$ :F$ BD<$ K<FENB$ H\$ BD<$

<SHNEBGHI$ :IO$ JHJEN:KGW:BGHI$ H\$ BD<$ 0IB<KI<B$ :F$X<NN$ :F$ BD<$ :CBGSGBG<FR$ JKHOECBF$ :IO$ F<KSGC<F$ BD:B$

D:S<$ <U<K;<O$ GI$ BD<$ OG;GB:N$U<OG:$ FJ:C<V$=:IQ$ <bJ<KBF$ SG<X$ BDGF$ :F$ FGUJNQ$ P<GI;$ BD<$ BGJ$ H\$ BD<$

GC<P<K;R$ :F$ :NN$ \:C<BF$ H\$ GIFBGBEBGHI:N$ :CBGSGBQ$ :IO$ FHCG:N$ NG\<$ FECD$ :F$ PEFGI<FFR$ ;HS<KIU<IBR$ :KBR$

dHEKI:NGFUR$D<:NBDR$:IO$<OEC:BGHI$:K<$ GICK<:FGI;NQ$P<GI;$C:KKG<O$HEB$ GI$BD<F<$OG;GB:N$U<OG:$FJ:C<F$

:CKHFF$:$;KHXGI;$I<BXHK]$H\$GI\HKU:BGHI$:IO$CHUUEIGC:BGHI$B<CDIHNH;Q$O<SGC<FV$

&D:NN<I;<F$GI$&HIS<K;<IB$!HKNO$$

$

$%<CDIHNH;GC:N$CHIS<K;<IC<$D:F$K:GF<O$:$IEUP<K$H\$ GFFE<F$H\$:OdEFBU<IB$BH$BD<$I<X$<ISGKHIU<IB$

PQ$B<N<CHU$HJ<K:BHKFR$F<KSGC<$JKHSGO<KFR$JHNGCQU:]<KFR$K<;EN:BHKFR$:IO$EF<KFV$$

$

:[$(<X$?<;EN:BHKQ$aK:U<XHK]$$
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$%D<$CHUPGI:BGHI$H\$F<KSGC<F$HS<K$BD<$F:U<$JN:B\HKU$GF$CD:NN<I;GI;$CHUUHI$J<KC<JBGHIF$:PHEB$BD<$

P<FB$U<:IF$BH$NGC<IF<$:IO$K<;EN:B<$JKHSGO<KFV$%K:OGBGHI:NNQR$K<;EN:BHKQ$\K:U<XHK]F$X<K<$O<FG;I<O$

\HK$:I$<K:$XD<I$CN<:K$\EICBGHI:N$OG\\<K<IC<F$<bGFB<O$P<BX<<I$F<KSGC<F$:IO$GI\K:FBKECBEK<R$PEB$BD<F<$

K<;EN:BGHIF$ :K<$ GICK<:FGI;NQ$ GI:O<cE:B<$ \HK$ O<:NGI;$ XGBD$ BHO:Q`F$ XHKNOV$ 1B$ \GKFB$ ;N:IC<R$

GIB<KHJ<K:PGNGBQR$ GIB<KCHII<CBGHIR$ CHIFEU<K$ JKHB<CBGHI$ :IO$ EIGS<KF:N$ :CC<FF$ :JJ<:K$ :F$ BD<$ UHFB$

K<N<S:IB$ CD:NN<I;<FV$ "bGFBGI;$ GIB<KCHII<CBGHI$ U<CD:IGFUF$ \HCEF$ P:FGC:NNQ$ HI$ GIB<KCHII<CBGHI$ H\$

B<N<CHU$ I<BXHK]F$ P:F<O$ HI$ CGKCEGB$ FXGBCDGI;$ B<CDIHNH;G<FR$ XDGN<$ \HK$ GIFB:IC<$ PKH:OC:FBGI;$

I<BXHK]F$ :K<$ <GBD<K$ EIK<;EN:B<O$ HK$ FEPd<CB$ BH$ OG\\<K<IB$ BQJ<F$ H\$ K<;EN:BGHIV$ 1OOGBGHI:NNQR$ GI$ :$

CHIS<K;<IB$ <ISGKHIU<IBR$ XDGCD$ K<NG<F$ ;K<:BNQ$ HI$ J:C]<B$ FXGBCD<O$ I<BXHK]FR$ CGKCEGBF$ :K<$ I<GBD<K$

CHII<CB<O$IHK$JKHSGO<OV$ 0I$ BDGF$X:Q$OGFB:IC<$:IO$BGU<$P<CHU<$ N<FF$O<B<KUGI:IBF$:F$CHFB$ \:CBHKFR$

K<cEGKGI;$:OHJBGHI$H\$I<X$EIGBF$H\$U<:FEK<U<IBV$$

$

P[$#:IOXGOBD$/DHKB:;<$:IO$0I\K:FBKECBEK<$.J;K:O<$$

&HIS<K;<IC<$;GS<F$KGF<$BH$I<X$F<KSGC<F$:IO$:JJNGC:BGHIF$XDGCD$:K<$P:IOXGOBD$GIB<IFGS<R$K<cEGKGI;$

:I$ <bGFB<IC<$ H\$ PKH:OP:IO$ GI\K:FBKECBEK<V$ )INQ$ XGBD$ PKH:OP:IO$ :CC<FF$ GF$ BD<$ EF<$ H\$ CHUJN<b$

F<KSGC<F$ Z<V;V$ UENBGU<OG:$ F<KSGC<F[$ :BBK:CBGS<$ HK$ JHFFGPN<$ GI$ BD<$ \GKFB$ JN:C<V$ !DGN<$ O<S<NHJ<O$

<CHIHUG<F$U:Q$IHB$\:C<$:$P:IOXGOBD$FDHKB:;<$OGN<UU:R$BD<$F:U<$U:Q$IHB$P<$F:GO$:PHEB$UHFB$H\$

BD<$ O<S<NHJGI;$ <CHIHUG<F$ XD<K<$ B<N<CHUUEIGC:BGHI$ GI\K:FBKECBEK<F$ :K<$ FBGNN$ K<NQGI;$ HI$

I:KKHXP:IO$ B<CDIHNH;G<FV$ %D<F<$ CHEIBKG<F$ \:C<$ BD<$ 6ACD:NN<I;<$ H\$ D:SGI;$ BH$ EJ;K:O<$ BD<GK$

GI\K:FBKECBEK<$HK$UGFF$HI$BD<$P<I<\GBF$H\$BD<$B<CDIHNH;GC:N$CHIS<K;<IC<V$0I$U<<BGI;$BDGF$CD:NN<I;<R$

:F$GB$X:F$GI$BD<$J:FBR$\GI:ICG:N$CHIFBK:GIBF$XGNN$CHIBGIE<$BH$P<$:$JKHPN<UV$

$

C[$/BK:B<;GC$1NG;IU<IB$PQ$)J<K:BHKF$:IO$/<KSGC<$9KHSGO<KF$$

1F$ P:KKG<KF$ BH$ U:K]<B$ :CC<FF$ :K<$ FG;IG\GC:IBNQ$ K<OEC<OR$ :NNHXGI;$ :I$ GICK<:F<O$ IEUP<K$ H\$ I<X$

JN:Q<KF$ BH$<IB<K$ BD<$U:K]<B$:IO$JKHSGO<$:$XGO<$S:KG<BQ$H\$OG\\<K<IB$F<KSGC<$J:C]:;<FR$<FB:PNGFD<O$

HJ<K:BHKF$:IO$F<KSGC<F$JKHSGO<KF$:K<$K<cEGK<O$BH$K<:FF<FF$BD<GK$PEFGI<FF$UHO<NF$:IO$FBK:B<;G<F$IHB$

HINQ$BH$\:C<$BD<F<$I<X$JKHSGO<KFR$PEB$:NFH$BH$EJ;K:O<$BD<GK$I<BXHK]F$BH$GIB<;K:B<$GB$GIBH$BD<GK$HXI$

H\\<KGI;V$1IHBD<K$CD:NN<I;<$NG<F$GI$CHISGICGI;$CHIFEU<KF$H\$BD<$S:NE<$:OO<O$PQ$BD<$I<X$F<KSGC<F$\HK$

XDGCD$BD<Q$UEFB$J:Q$$

$

O[$9KGS:CQR$/<CEKGBQ$:IO$?<NG:PGNGBQ$$

1F$ FHCG<BQ$ P<CHU<F$ GICK<:FGI;NQ$ GIB<KCHII<CB<O$ :IO$ O<J<IO<IB$ H\$ 0&%$ I<BXHK]FR$ CQP<KCKGUGI:NF$

CHIBGIE<$ BH$ GIS<IB$ GICK<:FGI;NQ$ CEIIGI;$X:QF$ BH$ <bJNHGB$ DEU:I$ :IO$ CHUJEB<K$ SENI<K:PGNGBG<F$ BH$

BD<GK$U:NGCGHEF$P<I<\GBFV$%DGFR$CD:NN<I;<F$HJ<K:BHKFR$F<KSGC<$JKHSGO<KF$:IO$EF<KF$BH$B:]<$U<:FEK<F$

BH$UGIGUGW<$KGF]F$H\$I<BXHK]$GIBKEFGHIFR$:BB:C]F$:IO$SGKEF<FV$0I$:$FGUGN:K$X:QR$:F$B<CDIHNH;G<F$:IO$
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FQFB<UF$ P<CHU<$ CHUJN<bR$ BD<$ DG;D<K$ GF$ BD<$ KGF]$ H\$ BD<GK$ GIFB:PGNGBQV$ 9KHOECB$ O<FG;I<KFR$

U:IE\:CBEK<KF$:IO$HJ<K:BHKF$:K<$CD:NN<I;<O$BH$;E:K:IB<<$BD<$K<NG:PGNGBQ$H\$BD<F<$I<X$B<CDIHNH;G<FV$$

• DBBJ3__<IVXG]GJ<OG:VHK;_XG]G_%<CDIHNH;GC:NgCHIS<K;<IC<$

• DBBJ3__XXXVGBEVGIB_HF;_FJE_QHEI;UGIOF_455L_<FF:QF_9:J:O:]GF/B<NGHF,=455LVJO\$

$

mV 0IB<KI<B$/<CEKGBQ$0UJHKB:IC<$:IO$1FJ<CBF$ZeU[$

0IB<KI<B$ F<CEKGBQ$ JKHB<CBF$ :$ CHUJEB<KrF$ 0IB<KI<B$ :CCHEIB$ :IO$ \GN<F$ \KHU$ P<GI;$ :CC<FF<O$ PQ$ :I$

EI]IHXI$:IO$JHB<IBG:NNQ$EIX:IB<O$EF<KV$0IB<KI<B$F<CEKGBQ$:NFH$F<KS<F$BH$JKHB<CB$BD<$EF<K$:;:GIFB$

BD<$JGK:BGI;$H\$DGF$GO<IBGBQR$J:FFXHKOF$:IO$JKGS:B<$O:B:V$

)IYNGI<$?GF]$

• "S<KQ$ BGU<$ QHEK$ CHUJEB<K$ CHII<CBF$ BH$ :$ I<BXHK]$ :IO$ CHUUEIGC:B<F$XGBD$ HBD<K$ CHUJEB<KFR$ QHE$

JN:C<$QHEKF<N\$:IO$ NHS<O$HI<F$:B$KGF]V$#Q$:OHJBGI;$F<CEKGBQ$U<:FEK<FR$QHE$C:I$UGIGUGW<$ BDGF$KGF]R$

XDGCD$ B:]<F$ <FF<IBG:NNQ$ HI<$ H\$ BDK<<$ \HKUFV$ )I<$ GF$ GI\<CBGHI$ H\$ QHEK$ CHUJEB<KrF$ D:KO$ OKGS<$XGBD$

FH\BX:K<$O<FG;I<O$ \HK$U:NGCGHEF$JEKJHF<FV$1$ F<CHIO$ KGF]$ GF$ GO<IBGBQ$ BD<\BR$XDGCD$D:F$ N<O$ GI$ FHU<$

C:F<F$BH$:CBE:N$UHI<B:KQ$BD<\BV$1$BDGKO$KGF]$GF$K<:CDGI;$:IO$:BBK:CBGI;$UGIHKF$HS<K$BD<$0IB<KI<BV$

=:NGCGHEF$/H\BX:K<$

• =:NGCGHEF$FH\BX:K<$GICNEO<F$BXH$U:GI$C:B<;HKG<F$H\$JKH;K:UFV$/HU<$JKH;K:UF$:K<$O<FG;I<O$BH$FJQ$

HI$HBD<K$CHUJEB<KFV$%D<F<$JKH;K:UF$C:I$;:BD<K$J<KFHI:N$O:B:R$XDGCD$GF$BD<I$EF<O$BH$F<IO$FJ:U$BH$

QHEK$U:GNPHbV$%D<$HBD<K$C:B<;HKQ$H\$JKH;K:UF$GICNEO<F$SGKEF<FR$%KHd:IF$:IO$PHBFV$%D<F<$JKH;K:UF$

:\\<CB$ BD<$ JKHJ<K$ KEIIGI;$ H\$ :$ CHUJEB<KV$ =:IQ$ H\$ BD<U$ F<KS<$ IH$ JEKJHF<$ HBD<K$ BD:I$ BH$ OH$

O<FBKECBGHIV$

0O<IBGBQ$%D<\B$

• 0O<IBGBQ$BD<\B$GF$FB<:NGI;$J<KFHI:N$GI\HKU:BGHIR$FECD$:F$P:I]$:CCHEIB$IEUP<KFR$CK<OGB$C:KO$IEUP<KF$

:IO$FHCG:N$F<CEKGBQ$IEUP<KFV$%D<$BDG<\$BD<I$JHF<F$:F$BD<$HXI<K$H\$BD<F<$IEUP<KF$GI$HKO<K$BH$FB<:N$

\KHU$ BD<$ SGCBGUV$ *:X$ <I\HKC<U<IB$ :EBDHKGBG<F$ <FBGU:B<$ BD:B$ PGNNGHIF$ HK$ <S<I$ BKGNNGHIF$ H\$ OHNN:KF$

CD:I;<$D:IO$HIYNGI<$<S<KQ$O:QV$&HUJEB<K$EF<KF$XDH$\:GN$BH$B:]<$F<CEKGBQ$JK<C:EBGHIF$:;:GIFB$CQP<K$

CKGUGI:NF$KGF]$NHFGI;$BD<GK$F:SGI;FV$

%:K;<BGI;$=GIHKF$

• )I<$ H\$ BD<$ UHFB$ GIFGOGHEF$ JK:CBGC<F$ HI$ BD<$ 0IB<KI<B$ GISHNS<F$ B:K;<BGI;$ UGIHKFV$ !<P$ sFB:N]<KFRs$

:OENBF$XDH$;H$HIBH$ BD<$ 0IB<KI<B$XGBD$ BD<$ :BB<IBGHI$H\$ :BBK:CBGI;$EIFEFJ<CBGI;$ CDGNOK<IR$U:Q$ NEK<$

CDGNOK<I$BH$FGB<F$CHIB:GIGI;$SGHN<IC<R$JHKIH;K:JDQ$HK$HBD<K$EIFEGB:PN<$U:B<KG:NV$0I$BD<$XHKFB$C:F<FR$

BD<F<$FGC]$GIOGSGOE:NF$:BB<UJB$BH$U:]<$J<KFHI:N$CHIB:CB$XGBD$:$CDGNOV$
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/<CEKGBQ$=<:FEK<F$

• aHKBEI:B<NQR$F<CEKGBQ$U<:FEK<F$<bGFB$\HK$CHUP:BGI;$BD<F<$HIYNGI<$BDK<:BFV$,HE$C:I$GIFB:NN$:IBGYSGKEF$

:IO$:IBGYFJQYX:K<$JKH;K:UF$HI$QHEK$CHUJEB<K$BD:B$XGNN$N<FF<I$QHEK$KGF]$H\$U:NGCGHEF$FH\BX:K<$:IO$

FJQGI;V$aGK<X:NN$FH\BX:K<$C:I$JKHB<CB$:;:GIFB$GO<IBGBQ$BD<\B$:IO$SGKEF<FV$aGI:NNQR$CHUJEB<K$HJ<K:BGI;$

FQFB<UF$:NN$CHU<$XGBD$J:K<IB:N$CHIBKHNFV$0I$!GIOHXF$>GFB:R$J:K<IB:N$CHIBKHNF$:JJ<:KF$EIO<K$s.F<K$

1CCHEIBF$:IO$a:UGNQ$/:\<BQs$ GI$ BD<$&HIBKHN$9:I<NV$%D<$F<BBGI;F$ \HEIO$BD<K<$<I:PN<$QHE$BH$CHIBKHN$

:IO$UHIGBHK$FGB<F$QHEK$CDGNO$SGFGBFV$

• DBBJ3__XXXV<DHXVCHU_:PHEBgMemAmeLgGIB<KI<BYF<CEKGBQYGUJHKB:IBgVDBUN$

• DBBJ3__<IVXG]GJ<OG:VHK;_XG]G_0IB<KI<BgF<CEKGBQ$

$

$

pV 9EPNGC$_$9KGS:B<$]<Q$CKQJBH;K:JDQ$B<CDIGcE<$ZeU[$

9KGS:B<$]<Q$CKQJBH;K:JDQ$$_$$/QUU<BKGC$<ICKQJBGHI$

/QUU<BKGC$ <ICKQJBGHI$Z:NFH$ C:NN<O$)$%1*-"23"4# "+5$4)-%,+$HK$6"5$"-23"4# "+5$4)-%,+[$ GISHNS<F$ EFGI;$

BD<$F:U<$]<Q$\HK$<ICKQJBGHI$:IO$O<CKQJBGHIV$

$

"ICKQJBGHI$ GISHNS<F$ :JJNQGI;$ :I$ HJ<K:BGHI$ Z:I$ :N;HKGBDU[$ BH$ BD<$ O:B:$ BH$ P<$ <ICKQJB<O$ EFGI;$ BD<$

JKGS:B<$]<Q$BH$U:]<$BD<U$EIGIB<NNG;GPN<V$%D<$FNG;DB<FB$:N;HKGBDU$ZFECD$:F$:I$<bCNEFGS<$)?[$C:I$U:]<$

BD<$FQFB<U$I<:KNQ$B:UJ<K$JKHH\$ZBD<K<$P<GI;$FH$FECD$BDGI;$:F$:PFHNEB<$F<CEKGBQ[V$

'HX<S<KR$ GI$ BD<$6pA5FR$78*'!"#9.*++,+$JKHS<O$BD:B$ BH$P<$CHUJN<B<NQ$F<CEK<R$JKGS:B<Y]<Q$FQFB<UF$

I<<O$ BH$EF<$ ]<QF$ BD:B$ :K<$ :B$ N<:FB$ :F$ NHI;$ :F$ BD<$U<FF:;<$ BH$ P<$ <ICKQJB<OV$=HK<HS<KR$ FQUU<BKGC$

<ICKQJBGHI$K<cEGK<F$BD:B$:$F<CEK<$CD:II<N$P<$EF<O$BH$<bCD:I;<$BD<$]<QR$XDGCD$F<KGHEFNQ$OGUGIGFD<F$

BD<$EF<\ENI<FF$H\$BDGF$]GIO$H\$<ICKQJBGHI$FQFB<UV$

%D<$U:GI$OGF:OS:IB:;<$H\$:$F<CK<BY]<Q$CKQJBHFQFB<U$GF$K<N:B<O$BH$BD<$<bCD:I;<$H\$]<QFV$/QUU<BKGC$

<ICKQJBGHI$GF$P:F<O$HI$BD<$<bCD:I;<$H\$:$F<CK<B$Z]<QF[V$%D<$JKHPN<U$H\$]<Q$OGFBKGPEBGHI$BD<K<\HK<$

:KGF<F3$

=HK<HS<KR$ :$ EF<K$ X:IBGI;$ BH$ CHUUEIGC:B<$ XGBD$ F<S<K:N$ J<HJN<$ XDGN<$ <IFEKGI;$ F<J:K:B<$

CHI\GO<IBG:NGBQ$N<S<NF$D:F$BH$EF<$:F$U:IQ$JKGS:B<$]<QF$:F$BD<K<$:K<$J<HJN<V$aHK$:$;KHEJ$H\$:$J<HJN<$

EFGI;$:$F<CK<BY]<Q$CKQJBHFQFB<UR$GB$GF$I<C<FF:KQ$BH$OGFBKGPEB<$:$IEUP<K$H\$]<QF$<cE:N$BH$:#;#<:2=>#?#

@V$
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0I$ BD<$ 6p45FR$ +GNP<KB$ ><KI:U$ :IO$ oHF<JD$ =:EPHK;I<$ O<S<NHJ<O$ BD<$A+"2B%C"# D*!$U<BDHO$

ZFHU<BGU<F$ C:NN<O$ s)I<Y%GU<$ 9:FFXHKOs$ :IO$ :PPK<SG:B<O$ABD[R$ P:F<O$ HI$ :$ K:IOHUNQ$ ;<I<K:B<O$

JKGS:B<$]<Q$BD:B$GF$EF<O$HINQ$HIC<$:IO$GF$BD<I$O<FBKHQ<OV$fEKGI;$BD<$F:U<$J<KGHOR$BD<$2K<UNGI$:IO$

BD<$!DGB<$'HEF<$X<K<$CHII<CB<O$PQ$BD<$\:UHEF$K<O$B<N<JDHI<R$BD:B$GFR$:$B<N<JDHI<$XD<K<$C:NNF$X<K<$

<ICKQJB<O$ BD:I]F$ BH$ :$ JKGS:B<$ ]<Q$ :CCHKOGI;$ BH$ BD<$,+"2-%C"# )*!$U<BDHOV$ %D<$ JKGS:B<$ ]<Q$ X:F$

<bCD:I;<O$BD:I]F$BH$BD<$OGJNHU:BGC$P:;$ZJN:QGI;$BD<$KHN<$H\$F<CEK<$CD:II<N[V$

$

%QJ<F$H\$FQUU<BKGCY]<Q$:N;HKGBDUF$

/QUU<BKGCY]<Q$<ICKQJBGHI$C:I$EF<$<GBD<K$FBK<:U$CGJD<KF$HK$PNHC]$CGJD<KFV$

• /BK<:U$CGJD<KF$<ICKQJB$BD<$OG;GBF$ZBQJGC:NNQ$PGBF[$H\$:$U<FF:;<$HI<$:B$:$BGU<V$

• #NHC]$CGJD<KF$B:]<$:$IEUP<K$H\$PGBF$:IO$<ICKQJB$BD<U$:F$:$FGI;N<$EIGBR$J:OOGI;$BD<$JN:GIB<bB$FH$

BD:B$GB$GF$:$UENBGJN<$H\$BD<$PNHC]$FGW<V$#NHC]F$H\$MA$PGBF$D:S<$P<<I$CHUUHINQ$EF<OV$%D<$1OS:IC<O$

"ICKQJBGHI$/B:IO:KO$Z1"/[$:N;HKGBDU$:JJKHS<O$PQ$(0/%$GI$f<C<UP<K$4556$EF<F$64mYPGB$PNHC]FV$

$

9EPNGCY]<Q$CKQJBH;K:JDQ$

9EPNGCY]<Q$ CKQJBH;K:JDQ$K<\<KF$ BH$ :$CKQJBH;K:JDGC$FQFB<U$ K<cEGKGI;$ BXH$ F<J:K:B<$]<QFR$ HI<$ H\$

XDGCD$ GF$ F<CK<B$ :IO$ HI<$ H\$XDGCD$ GF$ JEPNGCV$ 1NBDHE;D$OG\\<K<IBR$ BD<$ BXH$J:KBF$ H\$ BD<$ ]<Q$ J:GK$ :K<$

U:BD<U:BGC:NNQ$ NGI]<OV$)I<$]<Q$ NHC]F$HK$<ICKQJBF$BD<$JN:GIB<bBR$:IO$BD<$HBD<K$EINHC]F$HK$O<CKQJBF$

BD<$CGJD<KB<bBV$(<GBD<K$]<Q$C:I$J<K\HKU$PHBD$\EICBGHIF$PQ$GBF<N\V$%D<$JEPNGC$]<Q$U:Q$P<$JEPNGFD<O$

XGBDHEB$ CHUJKHUGFGI;$ F<CEKGBQR$ XDGN<$ BD<$ JKGS:B<$ ]<Q$ UEFB$ IHB$ P<$ K<S<:N<O$ BH$ :IQHI<$ IHB$

:EBDHKGW<O$BH$K<:O$BD<$U<FF:;<FV$

9EPNGCY]<Q$CKQJBH;K:JDQ$EF<F$:FQUU<BKGC$]<Q$:N;HKGBDUF$:IO$C:I$:NFH$P<$K<\<KK<O$BH$PQ$BD<$UHK<$

;<I<KGC$B<KU$s:FQUU<BKGC$]<Q$CKQJBH;K:JDQVs$%D<$:N;HKGBDUF$EF<O$\HK$JEPNGC$]<Q$CKQJBH;K:JDQ$:K<$

P:F<O$ HI$ U:BD<U:BGC:N$ K<N:BGHIFDGJF$ ZBD<$ UHFB$ IHB:PN<$ HI<F$ P<GI;$ BD<$GIB<;<K$

\:CBHKGW:BGHI$:IO$OGFCK<B<$ NH;:KGBDU$JKHPN<UF[$ BD:B$ JK<FEU:PNQ$ D:S<$ IH$ <\\GCG<IB$ FHNEBGHIV$

1NBDHE;D$ GB$ GF$ CHUJEB:BGHI:NNQ$<:FQ$ \HK$ BD<$ GIB<IO<O$K<CGJG<IB$ BH$;<I<K:B<$ BD<$JEPNGC$:IO$JKGS:B<$

]<QFR$BH$O<CKQJB$BD<$U<FF:;<$EFGI;$BD<$JKGS:B<$]<QR$:IO$<:FQ$\HK$BD<$F<IO<K$BH$<ICKQJB$BD<$U<FF:;<$

EFGI;$ BD<$JEPNGC$ ]<QR$ GB$ GF$ <bBK<U<NQ$ OG\\GCENB$ ZHK$ <\\<CBGS<NQ$ GUJHFFGPN<[$ \HK$ :IQHI<$ BH$ O<KGS<$ BD<$

JKGS:B<$ ]<QR$ P:F<O$HINQ$ HI$ BD<GK$ ]IHXN<O;<$H\$ BD<$JEPNGC$ ]<QV$ %DGF$ GF$XDQR$ EING]<$FQUU<BKGC$ ]<Q$

:N;HKGBDUFR$ :$ JEPNGC$ ]<Q$ :N;HKGBDU$ OH<F$+,-$K<cEGK<$ :$F<CEK<$GIGBG:N$<bCD:I;<$H\$ HI<$ ZHK$

UHK<[$F<CK<B$ ]<QF$P<BX<<I$ BD<$ F<IO<K$ :IO$ K<C<GS<KV$ %D<$ EF<$ H\$ BD<F<$ :N;HKGBDUF$ :NFH$ :NNHXF$ BD<$

:EBD<IBGCGBQ$ H\$ :$U<FF:;<$ BH$ P<$ CD<C]<O$ PQ$ CK<:BGI;$ :OG;GB:N$ FG;I:BEK<$H\$ BD<$U<FF:;<$ EFGI;$ BD<$

JKGS:B<$ ]<QR$ XDGCD$ C:I$ BD<I$ P<$ S<KG\G<O$ PQ$ EFGI;$ BD<$ JEPNGC$ ]<QV$ 0I$ JK:CBGC<R$ HINQ$ :$D:FD$H\$ BD<$

U<FF:;<$GF$BQJGC:NNQ$<ICKQJB<O$\HK$FG;I:BEK<$S<KG\GC:BGHI$JEKJHF<FV$
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9EPNGCY]<Q$CKQJBH;K:JDQ$GF$XGO<NQ$EF<OV$0B$GF$:I$:JJKH:CD$EF<O$PQ$U:IQ$CKQJBH;K:JDGC$:N;HKGBDUF$

:IOCKQJBHFQFB<UFV$ 0B$ EIO<KJGIF$ FECD$ 0IB<KI<B$ FB:IO:KOF$ :F$%K:IFJHKB$ *:Q<K$ /<CEKGBQ$ Z%*/[R$9+9R$

:IO$+9+V$ %D<K<$ :K<$ BDK<<$ JKGU:KQ$ ]GIOF$ H\$ JEPNGC$ ]<Q$ FQFB<UF3$ JEPNGC$]<Q$

OGFBKGPEBGHI$FQFB<UFR$OG;GB:N$ FG;I:BEK<FQFB<UFR$ :IO$ JEPNGC$ ]<Q$ CKQJBHFQFB<UFR$XDGCD$ C:I$ J<K\HKU$

PHBD$JEPNGC$]<Q$OGFBKGPEBGHI$:IO$OG;GB:N$FG;I:BEK<$F<KSGC<FV$fG\\G<@'<NNU:I$]<Q$<bCD:I;<$GF$BD<$UHFB$

XGO<NQ$ EF<O$ JEPNGC$ ]<Q$ OGFBKGPEBGHI$ FQFB<UR$ XDGN<$ BD<$fG;GB:N$ /G;I:BEK<$ 1N;HKGBDU$GF$ BD<$ UHFB$

XGO<NQ$EF<O$OG;GB:N$FG;I:BEK<$FQFB<UV$

$

'HX$GB$XHK]F$

%D<$ OGFBGI;EGFDGI;$ B<CDIGcE<$ EF<O$ GI$ JEPNGCY]<Q$ CKQJBH;K:JDQ$ GF$ BD<$ EF<$ H\$ :FQUU<BKGC$ ]<Q$

:N;HKGBDUFR$XD<K<$BD<]<Q$EF<O$BH$<ICKQJB$:$U<FF:;<$GF$IHB$BD<$F:U<$:F$BD<$]<Q$EF<O$BH$O<CKQJB$GBV$

":CD$EF<K$D:F$:$J:GK$H\CKQJBH;K:JDGC$]<QF$@$:$JEPNGC$<ICKQJBGHI$]<Q$:IO$:$JKGS:B<$O<CKQJBGHI$]<QV$

%D<$ JEPNGCNQ$ :S:GN:PN<$ <ICKQJBGI;Y]<Q$ GF$ XGO<NQ$ OGFBKGPEB<OR$ XDGN<$ BD<$ JKGS:B<$ O<CKQJBGI;Y]<Q$ GF$

]IHXI$HINQ$BH$GBF$JKHJKG<BHKV$%D<$]<QF$:K<$K<N:B<O$U:BD<U:BGC:NNQR$PEB$BD<$J:K:U<B<KF$:K<$CDHF<I$

FH$ BD:B$ C:NCEN:BGI;$ BD<$ JKGS:B<$ ]<Q$ \KHU$ BD<$ JEPNGC$ ]<Q$ GF$ <GBD<K$ GUJHFFGPN<$ HK$ JKHDGPGBGS<NQ$

<bJ<IFGS<V$

0I$CHIBK:FBR$FQUU<BKGCY]<Q$:N;HKGBDUF$@$S:KG:BGHIF$H\$XDGCD$D:S<$P<<I$EF<O$\HK$BDHEF:IOF$H\$Q<:KF$

@$ EF<$ :6%+&8"$F<CK<B$ ]<QR$ XDGCD$ UEFB$ P<$ FD:K<O$ :IO$ ]<JB$ JKGS:B<$ PQ$ PHBD$ BD<$ F<IO<K$ :IO$ BD<$

K<C<GS<KR$ \HK$PHBD$<ICKQJBGHI$:IO$O<CKQJBGHIV$%H$EF<$:$FQUU<BKGC$<ICKQJBGHI$FCD<U<R$ BD<$F<IO<K$

:IO$K<C<GS<K$UEFB$F<CEK<NQ$FD:K<$:$]<Q$GI$:OS:IC<V$

#<C:EF<$ FQUU<BKGC$ ]<Q$ :N;HKGBDUF$ :K<$ I<:KNQ$ :NX:QF$UECD$ N<FF$ CHUJEB:BGHI:NNQ$ GIB<IFGS<$ BD:I$

:FQUU<BKGC$HI<FR$ GB$ GF$ CHUUHI$ BH$<bCD:I;<$:$]<Q$EFGI;$:$]<QY<bCD:I;<$:N;HKGBDUR$ BD<I$ BK:IFUGB$

O:B:$EFGI;$BD:B$]<Q$:IO$:$FQUU<BKGC$]<Q$:N;HKGBDUV$9+9$:IO$BD<$//*_%*/$\:UGNQ$H\$FCD<U<F$EF<$BDGF$

JKHC<OEK<FR$:IO$:K<$BDEF$C:NN<O$.4E$%!#5$4)-,646-"C6$

• DBBJ3__<IVXG]GJ<OG:VHK;_XG]G_/QUU<BKGCY]<Qg:N;HKGBDU$

• DBBJ3__<IV]GHF]<:VI<B_CHIB<IBF_CKQJBH_CN<JKGS<<VJDJ7$

• DBBJ3__<IVXG]GJ<OG:VHK;_XG]G_9EPNGCY]<QgCKQJBH;K:JDQ$

• XXXVCFG<V]E:FV<OEVBX_CHEKF<_&/_HNO_<I;NGFD_CDY6MVJJB$
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65V $aGK<X:NNF$ZeU[$

1$ \GK<X:NN$ CHIBKHNF$ :CC<FF$ P<BX<<I$ I<BXHK]FV$ 0B$ ;<I<K:NNQ$ CHIFGFBF$ H\$ ;:B<X:QF$ :IO$ \GNB<KF$XDGCD$

S:KQ$\KHU$HI<$\GK<X:NN$BH$:IHBD<KV$aGK<X:NNF$:NFH$FCK<<I$I<BXHK]$BK:\\GC$:IO$:K<$:PN<$BH$PNHC]$BK:\\GC$

BD:B$GF$O:I;<KHEFV$aGK<X:NNF$:CB$:F$BD<$GIB<KU<OG:B<$F<KS<K$P<BX<<I$/=%9$:IO$'%%9$CHII<CBGHIFV$

 

?HN<$H\$\GK<X:NNF$GI$0IB<KI<B$F<CEKGBQ$:IO$X<P$F<CEKGBQ$

aGK<X:NNF$GUJHF<$K<FBKGCBGHIF$HI$GICHUGI;$:IO$HEB;HGI;$J:C]<BF$BH$:IO$\KHU$JKGS:B<$I<BXHK]FV$1NN$

BD<$BK:\\GCR$XD<BD<K$GICHUGI;$HK$HEB;HGI;R$UEFB$J:FF$BDKHE;D$BD<$\GK<X:NN^$HINQ$:EBDHKGW<O$BK:\\GC$GF$

:NNHX<O$BH$J:FF$BDKHE;D$GBV$aGK<X:NNF$CK<:B<$CD<C]JHGIBF$P<BX<<I$:I$GIB<KI:N$JKGS:B<$I<BXHK]$:IO$

BD<$ JEPNGC$ 0IB<KI<BR$ :NFH$ ]IHXI$ :F$5.,3"# ),%+-6V$ aGK<X:NNF$ C:I$ CK<:B<$ CDH]<$ JHGIBF$ P:F<O$ HI$ 09$

FHEKC<$ :IO$%&9$ JHKB$ IEUP<KV$ %D<Q$ C:I$ :NFH$ F<KS<$ :F$ BD<$ JN:B\HKU$ \HK$ 09F<CV$ .FGI;$ BEII<N$UHO<$

C:J:PGNGBQR$ \GK<X:NN$C:I$P<$EF<O$BH$ GUJN<U<IB$>9(FV$aGK<X:NNF$C:I$:NFH$ NGUGB$I<BXHK]$<bJHFEK<$PQ$

DGOGI;$BD<$GIB<KI:N$I<BXHK]$FQFB<U$:IO$GI\HKU:BGHI$\KHU$BD<$JEPNGC$0IB<KI<BV$

 

%QJ<F$H\$\GK<X:NNF$

9:C]<B$ \GNB<KF$ 39:C]<B$ \GNB<KF$ :K<$ HI<$ H\$ F<S<K:N$ OG\\<K<IB$ BQJ<F$ H\$ \GK<X:NNF$ BD:B$ JKHC<FF$ I<BXHK]$

BK:\\GC$ HI$ :$ J:C]<BYPQYJ:C]<B$ P:FGFV$ %D<GK$U:GI$ dHP$ GF$ BH$ \GNB<K$ BK:\\GC$ \KHU$:$ K<UHB<$ 09$ DHFBR$ FH$ :$

KHEB<K$ GF$ I<<O<O$ BH$ CHII<CB$ BD<$ GIB<KI:N$ I<BXHK]$ BH$ BD<$ 0IB<KI<BV$ %D<$ KHEB<K$ GF$ ]IHXI$ :F$

:$FCK<<IGI;$KHEB<KR$XDGCD$FCK<<IF$J:C]<BF$N<:SGI;$:IO$<IB<KGI;$BD<$I<BXHK]V$

!

&GKCEGBYN<S<N$ ;:B<X:QF$ 3$ %D<$ CGKCEGBYN<S<N$ ;:B<X:Q$ GF$ :$ JKHbQ$ F<KS<K$ BD:B$ FB:BGC:NNQ$ O<\GI<F$ XD:B$

BK:\\GC$ XGNN$ P<$ :NNHX<OV$ &GKCEGB$ JKHbG<F$ :NX:QF$ \HKX:KO$ J:C]<BF$ CHIB:GIGI;$ :$ ;GS<I$ JHKB$ IEUP<KR$

JKHSGO<O$BD<$JHKB$IEUP<K$GF$J<KUGBB<O$PQ$BD<$KEN<F$F<BV$%DGF$;:B<X:Q$HJ<K:B<F$:B$BD<$I<BXHK]$N<S<N$

H\$:I$)/0$UHO<NV$%D<$U:GI$:OS:IB:;<$H\$:$JKHbQ$F<KS<K$ GF$ GBF$:PGNGBQ$ BH$JKHSGO<$(<BXHK]$1OOK<FF$

%K:IFN:BGHI$Z(1%[R$XDGCD$C:I$DGO<$BD<$EF<KrF$09$:OOK<FF$\KHU$BD<$0IB<KI<BR$<\\<CBGS<NQ$JKHB<CBGI;$:NN$

GIB<KI:N$GI\HKU:BGHI$\KHU$BD<$0IB<KI<BV$

!

1JJNGC:BGHIYN<S<N$;:B<X:QF$3$1I$:JJNGC:BGHIYN<S<N$;:B<X:Q$GF$:$JKHbQ$F<KS<K$HJ<K:BGI;$:B$BD<$%&9_09$

:JJNGC:BGHI$N<S<NV$1$J:C]<B$GF$\HKX:KO<O$HINQ$G\$:$CHII<CBGHI$GF$<FB:PNGFD<O$EFGI;$:$]IHXI$JKHBHCHNV$

1JJNGC:BGHIYN<S<N$ ;:B<X:QF$ :K<$ IHB:PN<$ \HK$ :I:NQWGI;$ <IBGK<$ U<FF:;<F$ K:BD<K$ BD:I$ GIOGSGOE:N$

J:C]<BF$H\$O:B:$XD<I$BD<$O:B:$:K<$P<GI;$F<IB$HK$K<C<GS<OV$

 

• http://en.wikipedia.org/wiki/Internet_security#Firewalls$
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66V "BDGC:N$':C]GI;$:IO$FHU<$H\$BD<$:IBGSGKEF$J:C]:;<$ZeU[$

• 1I$<BDGC:N$D:C]<K$GF$:$CHUJEB<K$:IO$I<BXHK]$<bJ<KB$XDH$:BB:C]F$:$F<CEKGBQ$FQFB<U$HI$P<D:N\$H\$

GBF$ HXI<KFR$ F<<]GI;$ SENI<K:PGNGBG<F$ BD:B$ :$ U:NGCGHEF$D:C]<K$CHENO$ <bJNHGBV$ %H$ B<FB$ :$ F<CEKGBQ$

FQFB<UR$<BDGC:N$D:C]<KF$EF<$BD<$F:U<$U<BDHOF$:F$BD<GK$N<FF$JKGICGJN<O$CHEIB<KJ:KBFR$PEB$K<JHKB$

JKHPN<UF$ GIFB<:O$ H\$ B:]GI;$ :OS:IB:;<$ H\$ BD<UV$ "BDGC:N$ D:C]GI;$ GF$ :NFH$ ]IHXI$ :F)"+"-$*-%,+#

-"6-%+&R$%+-$'6%,+# -"6-%+&$:IO$$"!# -"*C%+&V$1I$<BDGC:N$D:C]<K$ GF$FHU<BGU<F$C:NN<O$:$XDGB<$D:BR$:$

B<KU$BD:B$CHU<F$\KHU$HNO$!<FB<KI$UHSG<FR$XD<K<$BD<$s;HHO$;EQs$XHK<$:$XDGB<$D:B$:IO$BD<$sP:O$

;EQs$XHK<$:$PN:C]$D:BV$

• )I<$H\$BD<$\GKFB$<b:UJN<F$H\$<BDGC:N$D:C]<KF$:B$XHK]$X:F$GI$BD<$6pL5FR$XD<I$BD<$.IGB<O$/B:B<F$

;HS<KIU<IB$ EF<O$ ;KHEJF$ H\$ <bJ<KBF$ C:NN<O$$"!# -"*C6$BH$ D:C]$ GBF$ HXI$ CHUJEB<K$ FQFB<UFV$

1CCHKOGI;$ BH$ "O$ /]HEOGFR$ >GC<$ 9K<FGO<IB$ H\$ /<CEKGBQ$ /BK:B<;Q$ \HK$ 9K<OGCBGS<$ /QFB<UFr$ +NHP:N$

0IB<;KGBQ$CHIFENBGI;$JK:CBGC<R$<BDGC:N$D:C]GI;$D:F$CHIBGIE<O$BH$;KHX$GI$:I$HBD<KXGF<$N:C]NEFB<K$

0%$ GIOEFBKQR$ :IO$ GF$ P<CHUGI;$ GICK<:FGI;NQ$ CHUUHI$ HEBFGO<$ BD<$ ;HS<KIU<IB$ :IO$ B<CDIHNH;Q$

F<CBHKF$ XD<K<$ GB$ P<;:IV$ =:IQ$ N:K;<$ CHUJ:IG<FR$ FECD$ :F$ 0#=R$ U:GIB:GI$ <UJNHQ<<$ B<:UF$ H\$

<BDGC:N$D:C]<KFV$

• 0I$ :$ FGUGN:K$ PEB$ OGFBGICB$ C:B<;HKQR$ :$D:C]BGSGFB$GF$ UHK<$ H\$ :$ SG;GN:IB<3$ O<B<CBGI;R$ FHU<BGU<F$

K<JHKBGI;$Z:IO$FHU<BGU<F$<bJNHGBGI;[$F<CEKGBQ$SENI<K:PGNGBG<F$:F$:$\HKU$H\$FHCG:N$:CBGSGFUV$

1IBGSGKEF$9:C]:;<F$v9KGIBHEB$:BB:CD<Ow$$

http://searchsecurity.techtarget.com/definition/ethical-hacker$

$

$
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1IF3$ ?//$?GCD$ /GB<$ /EUU:KQ$ZHKG;GI:NNQ$?fa$/GB<$ /EUU:KQR$ H\B<I$ OEPP<O$?<:NNQ$ /GUJN<$

/QIOGC:BGHI[$ GF$ :$ \:UGNQ$ H\X<P$ \<<O$\HKU:BF$ EF<O$ BH$ JEPNGFD$ \K<cE<IBNQ$ EJO:B<O$ XHK]FxFECD$

:F$PNH;$<IBKG<FR$ I<XF$ D<:ONGI<FR$ :EOGHR$ :IO$ SGO<HxGI$ :$ FB:IO:KOGW<O$ \HKU:BVv4w$1I$ ?//$ OHCEU<IB$

ZXDGCD$ GF$ C:NN<O$ :$ s\<<OsR$ sX<P$ \<<OsRv7w$HK$ sCD:II<Ns[$ GICNEO<F$ \ENN$ HK$ FEUU:KGW<O$ B<bBR$

JNEF$U<B:O:B:$FECD$:F$JEPNGFDGI;$O:B<F$:IO$:EBDHKFDGJV$

?//$ \<<OF$ P<I<\GB$ JEPNGFD<KF$ PQ$ N<BBGI;$ BD<U$FQIOGC:B<$CHIB<IB$ :EBHU:BGC:NNQV$ 1$

FB:IO:KOGW<O$y=*$\GN<$ \HKU:B$ :NNHXF$ BD<$ GI\HKU:BGHI$ BH$ P<$ JEPNGFD<O$ HIC<$ :IO$ SG<X<O$ PQ$U:IQ$

OG\\<K<IB$JKH;K:UFV$%D<Q$P<I<\GB$ K<:O<KF$XDH$X:IB$ BH$ FEPFCKGP<$ BH$ BGU<NQ$EJO:B<F$ \KHU$ \:SHKGB<$

X<PFGB<F$HK$BH$:;;K<;:B<$\<<OF$\KHU$U:IQ$FGB<F$GIBH$HI<$JN:C<V$

?//$\<<OF$C:I$P<$K<:O$EFGI;$FH\BX:K<$C:NN<O$:I$s?//$K<:O<KsR$s\<<O$K<:O<KsR$HK$s:;;K<;:BHKsR$XDGCD$

C:I$ P<$X<PYP:F<OR$O<F]BHJYP:F<OR$ HK$ UHPGN<YO<SGC<YP:F<OV$ %D<$ EF<K$ FEPFCKGP<F$ BH$ :$ \<<O$ PQ$

<IB<KGI;$GIBH$BD<$K<:O<K$BD<$\<<OrF$.?0$HK$PQ$CNGC]GI;$:$\<<O$GCHI$GI$:$X<P$PKHXF<K$BD:B$GIGBG:B<F$BD<$

FEPFCKGJBGHI$JKHC<FFV$%D<$?//$K<:O<K$CD<C]F$ BD<$EF<KrF$ FEPFCKGP<O$ \<<OF$K<;EN:KNQ$ \HK$I<X$XHK]R$

OHXINH:OF$:IQ$EJO:B<F$ BD:B$ GB$ \GIOFR$:IO$JKHSGO<F$:EF<K$ GIB<K\:C<$BH$UHIGBHK$:IO$K<:O$ BD<$ \<<OFV$

?//$:NNHXF$EF<KF$BH$:SHGO$U:IE:NNQ$GIFJ<CBGI;$:NN$H\$BD<$X<PFGB<F$BD<Q$:K<$GIB<K<FB<O$GIR$:IO$GIFB<:O$

FEPFCKGP<$BH$X<PFGB<F$FECD$BD:B$:NN$I<X$CHIB<IB$GF$:EBHU:BGC:NNQ$CD<C]<O$\HK$:IO$:OS<KBGF<O$PQ$BD<GK$

PKHXF<KF$:F$FHHI$:F$GB$GF$:S:GN:PN<V$

)?$

RSS is an open method for delivering regularly changing web content. Many news-related sites, weblogs 

and other online publishers syndicate their content as an RSS Feed to whoever wants it. 

Any time you want to retrieve the latest headlines from your favorite sites, you can access the available 

RSS feeds via a desktop RSS reader. You can also make an RSS feed for your own site if your content 

changes frequently. 

In brief: 

• RSS is a protocol that provides an open method of syndicating and aggregating Web content. 

• RSS is a standard for publishing regular updates to web-based content. 

• RSS is a Syndication Standard based on a type of XML file that resides on an internet server. 

• RSS is an XML application, conforms to the W3C's RDF specification and is extensible via 

XML. 
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• You can also download RSS feeds from other sites to display updated news items on your site, or 

use a desktop or online reader to access your favorite RSS feeds. 

What does RSS stand for? It depends on what version of RSS you are using. 

• RSS Version 0.9 - Rich Site Summary 

• RSS Version 1.0 - RDF Site Summary 

• RSS Versions 2.0, 2.0.1 and 0.9x - Really Simple Syndication 

What is RSS Feed? 

• The RSS feed is a text XML file that resides on an Internet server. 

• The RSS feed file includes basic information about a site (title, URL, description), plus one or 

more item entries that include - at a minimum - a title (headline), a URL, and a brief description 

of the linked content.  

• There are various flavors of RSS feed depending on RSS Version. Another XML feed format is 

called ATOM. 

• RSS Feeds are registered with an RSS registry to make them more available to viewers interested 

in your content area. 

• RSS feeds can have links back to your website which will result in a high traffic to your site. 

• RSS feeds are updated hourly (Associated Press and News Groups), some RSS feeds are updated 

daily, and others are updated weekly or irregularly. 

How Does RSS Work? 

This is how RSS works: 

• A website willing to publish their content using RSS, creates one RSS feed and keeps it on an web 

server. RSS Feeds can be created manually or with software. 

• A website visitor will subscribe to read your RSS feed. An RSS feed will be read by a RSS feed 

reader. 

• The RSS Feed Reader reads the RSS Feed file and displays it. The RSS Reader displays only new 

items from the RSS Feed 

• The RSS Feed Reader can be customized to show you content related to one or more RSS feeds 

and based on your own interest. 

Advantages 

RSS gives benefits to both readers (users) and web publishers. 



!"#$%"&'()*)+,$-."/%0)($#1(2$3$4567$ 47$8$9 : ; < $
$

• It gives you the latest updates. Whether it is about the weather, new music, software upgrade, 

local news, or a new posting from a rarely-updates site learn about the latest as soon as it comes 

out. 

• It gives the power of subscription to the user. Users are given a free-hand on which websites to 

subscribe in their RSS aggregators which they can change at any time they decide differently. 

• It saves on surfing time. Since an RSS feed provides a summary of the related article, it saves the 

user’s time by helping s/he decide on which items to prioritize when reading or browsing the net. 

• It is spam free. Unlike email subscriptions, RSS does not make use of your email address to send 

updates thus your privacy is kept safe from spam mails. 

• Unsubscribing is hassle-free. Unlike email subscriptions where the user is asked questions on why 

she/he is unsubscribing and then the user would be asked to confirm unsubscribing, all you have 

to do is to delete the RSS feed from your aggregator. 

• It can be used as an advertising or marketing tool. Users who subscribe or syndicate product 

websites receive the latest news on products and services without the website sending spam mail. 

This is advantageous to both the web user and the website owner since advertising becomes 

targeted; those who are actually interested in their products are kept posted. 

Disadvantages 

The disadvantages of RSS use are brought about by its being a new technology and some user-preference 

concerns. 

• Some users prefer receiving email updates over an RSS feed. 

• Graphics and photos do not appear in all RSS feeds. For conciseness and ease of publication, RSS 

feeds do not display the photos from the original site in announcing the update except for some 

web-based aggregators. 

• The identity of the source website can be confusing. Since RSS feeds do not display the actual 

URL or name of the website, it can sometimes get confusing on what feed a user is actually 

reading. 

• Publishers cannot determine how many users are subscribed to their feed and the frequency of 

their visits. Moreover, they would not know the reasons why users unsubscribe which could be 

important in improving their advertising. 

• RSS feeds create higher traffic and demands on the server. Most readers still prefer the whole 

update over a brief summary of the entry, thus they still access the site. 

• Since it is a new technology, many sites still do not support RSS. 

Example 

<?xml version="1.0" encoding="UTF-8" ?> 



!"#$%"&'()*)+,$-."/%0)($#1(2$3$4567$ 4A$8$9 : ; < $
$

<rss version="2.0"> 

<channel> 

 <title>RSS Title</title> 

 <description>This is an example of an RSS feed</description> 

 <link>http://www.someexamplerssdomain.com/main.html</link> 

 <lastBuildDate>Mon, 06 Sep 2010 00:01:00 +0000 </lastBuildDate> 

 <pubDate>Mon, 06 Sep 2009 16:45:00 +0000 </pubDate> 

 <ttl>1800</ttl> 

  

 <item> 

  <title>Example entry</title> 

  <description>Here is some text containing an interesting 

description.</description> 

  <link>http://www.wikipedia.org/</link> 

  <guid>unique string per item</guid> 

  <pubDate>Mon, 06 Sep 2009 16:45:00 +0000 </pubDate> 

 </item> 

  

</channel> 

</rss> 

• DBBJ3__<IVXG]GJ<OG:VHK;_XG]G_?//$

$

:V 65$&?=$v$9KGIBHEB$1BB:CD<O$w$
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67V 65$"?9$3$DBBJ3__<IVXG]GJ<OG:VHK;_XG]G_*GFBgH\g"?9gFH\BX:K<gJ:C]:;<F$

aK<<$:IO$)J<I$/HEKC<$"?9$FH\BX:K<$

$

";V$

V7>P760$

*726C760$

#740$
*.>0240$ )8Q01$Y2T9$

50/0:9L01$

&9C281D$

16$"?9$ o:S:$

1NNG:IC<$

%<CDIHNH;G<F$ )J<I$

*GC<IF<$

"?9$ \HK$9EPNGC$ /<CBHKR$

1C:O<UG:R$ '<:NBDC:K<R$

*H;GFBGCF$16$"?9$

!HKNOXGO<$

1O:b:$/EGB<$ o:S:$ +9*$
0IB<;K:B<O$ "?9$ PEGNB$

HI$1O<UJG<K<$

1EFBK:NG:_(<X$

n<:N:IO$

1O<UJG<K<$ o:S:$ +9*$
FB:KB<O$ :F$ :$ \HK]$ H\$

&HUJG<K<$
/J:GI$

&HUJG<K<$ o:S:$ +9*_&HUU<KCG:N$

1CcEGK<O$ PQ$&HIFHI:$

&HKJHK:BGHI$GI$ oEI<$

4565$

./$

fHNGP:KK$ 9'9R$=Q/-*$ +9*$ $ $

"?9e$
9QBDHIR$ nHJ<R$

=Q/-*$
+9*$

P:F<O$ HI$ EIG\G<O$

UHO<N$

#K:WGNR$ aK:IC<R$

+<KU:IQR$ o:J:I$

/zIz;:N$

"?9("y%$

9QBDHIR$

o:S:/CKGJBR$

=Q/-*$

+9*$
"?9$ \HK$ FU:NN$ :IO$

U<OGEU$PEFGI<FF<F$
0IOG:$

a<O<I:$ ?EPQR$=Q/-*$ 1J:CD<$*GC<IF<$
"?9$ \HK$

/CDHHNF_.IGS<KFGBG<F$
0IOG:$

+(.$

"IB<KJKGF<$
9QBDHI$ +9*S7$ $ $

'<NGEU>$ o:S:$ 1+9*$
"?9$ \HK$ FU:NN$ :IO$

U<OGEU$PEFGI<FF<F$
1EFBKG:R$+<KU:IQ$

oaGK<$ o:S:$ *+9*$ $ $

2E:NG$

aHEIO:BGHI$
o:S:$ "&*$

\HK$ DG;D<K$ <OEC:BGHIR$

PQ$DG;D<K$<OEC:BGHI$
$
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";V$

V7>P760$

*726C760$

#740$
*.>0240$ )8Q01$Y2T9$

50/0:9L01$

&9C281D$

*<O;<K/=#$
9<KNR$

9HFB;K</-*$
+9*$

FB:KB<O$ :F$ :$ \HK]$ H\$

/-*Y*<O;<K$GI$455M$
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JHFGBGS<$\<<OP:C]$NHHJ$cEGC]NQ$NHC]F$GI$QHEK$CHUJ<BGBGS<$:OS:IB:;<V$$/QFB<UF$H\$BDGF$BQJ<$:K<$H\B<I$

K<\<KK<O$BH$:F$hI<BXHK]$<CHIHUG<FVi$$9HFGBGS<$\<<OP:C]$FQFB<UF$:K<$H\B<I$K<\<KK<O$BH$:F$<bDGPGBGI;$

BD<$h=:BBD<X$<\\<CBGv6wi$ $ \KHU$=:BBD<X$S<KF<F$67364$haHK$XDHFH<S<K$D:BDR$ BH$DGU$FD:NN$P<$;GS<IR$

:IO$D<$FD:NN$D:S<$UHK<$:PEIO:IC<3$PEB$XDHFH<S<K$D:BD$IHBR$ \KHU$DGU$FD:NN$P<$ B:]<I$:X:Q$<S<I$

BD:B$D<$D:BDVi$$9HFGBGS<$\<<OP:C]$FQFB<UF$;GS<$BH$BDHF<$XDH$D:S<$:IO$B:]<$\KHU$BDHF<$XDH$D:S<$IHBV$$

%D:B$GF$H\B<I$DHX$CHUJ<BGBGS<$:OS:IB:;<F$:K<$HPB:GI<O$GI$<#EFGI<FFV$

aK:I]$:IO$&HH]$GI$h%D<$!GII<KY%:]<Y1NN$/HCG<BQi$GO<IBG\Q$:$IEUP<K$H\$\:CBHKF$\HK$BD<$O<S<NHJU<IB$

H\$ XGII<KYB:]<Y:NN$ U:K]<BFVGGv4w$ $ %D<F<$ :K<3$ 9KHOECBGHI$ &NHIGI;R$ (<BXHK]$ "CHIHUG<FR$ *HC]YGI$

BDKHE;D$ *<:KIGI;$ :IO$ 0IS<FBU<IBR$ )BD<K$ F<N\YK<GI\HKCGI;$ JKHC<FF<FR$ f<CGFGHI$ *<S<K:;<R$ $ (:BEK:N$

*GUGBF$HI$ BD<$/GW<$H\$ BD<$1;<IO:R$ $':PGB$ \HKU:BGHI$HK$1CcEGK<O$%:FB<FR$9EK<NQ$9HFGBGHI:N$ Z/B:BEF[$

&HIC<KIFR$$+G\BF$:IO$/J<CG:N$)CC:FGHIFR$1SHGO:IC<$H\$?<;K<BR$:IO$&HIC<IBK:B<O$9EKCD:FGI;$9HX<KV$

=HOG\QGI;$BD:B$NGFB$GI$BD<$NG;DB$H\$BD<$<#EFGI<FF$<bJ<KG<IC<$QG<NOF$BD<$B<I$GUJ<K:BGS<F$\HK$FEFB:GIGI;$

:$CHUJ<BGBGS<$:OS:IB:;<$GI$<#EFGI<FF3$

6V$$$$$$9KHOECBGHI$FC:N<$
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4V$$$$$$(<BXHK]$"CHIHUG<F$

7V$$$$$$*HC]YGI$BDKHE;D$*<:KIGI;$:IO$0IS<FBU<IB$

AV$$$$$$f<CGFGHI$*<S<K:;<$

eV$$$$$$(:BEK:N$*GUGBF$HI$BD<$/GW<$H\$BD<$1;<IO:$

MV$$$$$$':PGB$\HKU:BGHI$HK$1CcEGK<O$%:FB<F$

LV$$$$$$9EK<NQ$9HFGBGHI:N$Z/B:BEF[$&HIC<KIF$

mV$$$$$$1SHGO:IC<$H\$?<;K<B$

pV$$$$$$&HIC<IBK:B<O$9EKCD:FGI;$9HX<K$

$9KHOECBGHI$ &NHIGI;3$ $ &HUJ<BGBGS<$ :OS:IB:;<$ C:I$ H\B<I$ CHU<$ P<C:EF<$ BD<K<$ :K<$ FG;IG\GC:IB$

<CHIHUG<F$ H\$ FC:N<V$ $ )\B<I$ BD<$ \GKFB$ CHJQ$ H\$ FHU<BDGI;$ C:I$ P<$ <IHKUHEFNQ$ <bJ<IFGS<R$ PEB$ <S<KQ$

FECC<<OGI;$CHJQ$C:I$P<$K<JKHOEC<O$:B$:$S<KQ$FU:NN$CHFBV$$%D<$\GKFB$CHJQ$H\$=GCKHFH\B$!GIOHXF$4555R$

BD<$0IB<N$MA$PGB$CDGJR$<BCV$C:I$P<$K<U:K]:PNQ$<bJ<IFGS<R$XDGN<$<S<KQ$FECC<<OGI;$CHJQ$CHFB$J<IIG<FV$$

%DGF$GUJNG<F$DE;<$CHFBF$:OS:IB:;<F$BH$BDHF<$XGBD$BD<$N:K;<FB$U:K]<BF$:IO$DE;<$P:KKG<KF$BH$<IBKQ$\HK$

BDHF<$XGBDHEBV$

(<BXHK]$"CHIHUG<F3$ $%D<$\HKU:BGHI$H\$:ECBGHI$CHUUEIGBG<F$FECD$:F$<#:Q$GNNEFBK:B<F$BD<$GID<K<IB$

:OS:IB:;<F$BH$FGW<V$$)IC<$<#:Q$D:O$<FB:PNGFD<O$:$\GKFB$UHS<K$:OS:IB:;<R$GB$X:F$<IHKUHEFNQ$OG\\GCENB$

\HK$HBD<KF$BH$CHUJ<B<V$$1$F<NN<K$CHENO$\GIO$BD<$UHFB$PEQ<KF$HI$<#:Q$:IO$:$PEQ<K$CHENO$\GIO$BD<$UHFB$

F<NN<KFV$$!DQ$XHENO$:IQHI<$;H$BH$:IHBD<K$:ECBGHI$FGB<j$$<#:Q$JKHSGO<F$:$JN:C<$\HK$PEQ<KF$:IO$F<NN<KF$

BH$U<<B$BH$<bCD:I;<$;HHOF$BDKHE;D$:ECBGHIV$$%D<$UHK<$PEQ<KF$:IO$F<NN<KF$BD:B$J:KBGCGJ:B<R$BD<$UHK<$

NGcEGO$BD<$U:K]<B$:IO$BD<$P<BB<K$HJJHKBEIGBQ$BH$;<B$:$;HHO$O<:N$ GI$PEQGI;$:IO$F<NNGI;$QHEK$;HHOFV$$

%D<$\GKFB$UHS<K$:OS:IB:;<$<IdHQ<O$PQ$<#:Q$U:O<$GB$D:KO$\HK$PEQ<KF$:IO$F<NN<KF$BH$FXGBCD$BH$:IHBD<K$

FGB<$XGBD$\<X<K$J:KBGCGJ:IBFV$ $,:DHH$:IO$=GCKHFH\B$:K<$PHBD$CHUUEIGBG<F$XGBD$NHBF$H\$J:KBGCGJ:IBFR$

PEB$I<GBD<K$D:F$Q<B$P<<I$:PN<$BH$XK<FB$N<:O<KFDGJ$\KHU$<#:Q$GI$HIYNGI<$:ECBGHIFV$

0I$ HKO<K$ BH$ O<\<IO$ HI<`F$ I<BXHK]$ :OS:IB:;<R$ GB$ GF$ GUJHKB:IB$ BH$ BKQ$ BH$ K:GF<$ BD<$ CHFBZJ:GI[$ H\$

FXGBCDGI;$HEBFGO<$H\$BD<$I<BXHK]V$$,HE$X:IB$BH$P<$FEK<$BD:B$QHEK$CEFBHU<KF$\<<N$:$NHFF$G\$BD<Q$N<:S<V$$

0\$ BD<Q$ C:I$ ;<B$ :NN$ BD<$ F:U<$ :OS:IB:;<F$ XDGN<$ IHB$ P<GI;$ J:KB$ H\$ QHEK$ I<BXHK]R$ BD<I$ BD<$ CHFB$ H\$

FXGBCDGI;$ GF$ NHX$ :IO$ QHE$ XGNN$ \GIO$ GB$ OG\\GCENB$ BH$ O<\<IO$ QHEK$ I<BXHK]$ :OS:IB:;<V$ $ 1)*$ D:F$ :I$

<IHKUHEF$I<BXHK]$ :OS:IB:;<$ P<C:EF<$ H\$ GBF$ CHUU:IOGI;$U:K]<B$ FD:K<$ H\$ EF<KFR$ :IO$ HI<$ H\$ BD<$

UHFB$S:NE<O$1)*$J<K]F$GF$BD<$:PGNGBQ$BH$0=$Z0IFB:IB$=<FF:;<[$QHEK$HIYNGI<$\KG<IOFV$$9<HJN<$X:IB$BH$

P<$HI$1)*$FGIC<$FH$U:IQ$HBD<K$J<HJN<$:K<$:NK<:OQ$BD<K<R$:IO$BD<Q$OH$IHB$X:IB$BH$P<$N<\B$HEBV$
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0\$QHE$:K<$BKQGI;$BH$PK<:]$OHXI$FHU<HI<$<NF<`F$I<BXHK]$:OS:IB:;<R$BD<I$QHE$XGNN$BKQ$BH$NHX<K$BD<$

CHFB$H\$FXGBCDGI;V$$9DHI<$CHUJ:IG<F$OH$BDGF$BH$:I$:PFEKO$<bBK<U<$PQ$J:QGI;$CEFBHU<KF$BH$FXGBCD$BH$

BD<GK$I<BXHK]FV$ $ 0\$ QHE$:K<$HI<$H\$ BD<$I<BXHK]F$CHUJ<BGI;$XGBD$1)*$ Z=/(R$,:DHHR$ <BC[$ BD<I$QHE$

D:S<$ B$ \GIO$ :$ X:Q$ BH$ NHX<K$ FXGBCDGI;$ CHFBFV$ $ 1$ ]<Q$ <N<U<IB$ H\$ BD:B$ FBK:B<;Q$ GF$ BH$ :NNHX$ QHEK$

CEFBHU<KF$BH$0=$1)*$CEFBHU<KFV$$%DEF$I<BXHK]F$D:S<$CK<:B<O$BD<GK$HXI$0=$FQFB<UF$BD:B$BD<Q$DHJ<$

BH$U:]<$CHUJ:BGPN<$XGBD$1)*$0=V$$/GIC<$1)*$X:IBF$BH$O<\<IO$GB$:OS:IB:;<$EIO<K$=<BC:N\`F$*:XR$GB$

XHENO$P<$BH$GBF$:OS:IB:;<$G\$BD<GK$KGS:NF$X<K<$EI:PN<$BH$OH$BD:BV$$1)*$D:F$U:O<$:$FQFB<U:BGC$<\\HKB$BH$

\KEFBK:B<$ BDGF$ :CC<FF$ XDGN<$ dEFBG\QGI;$ GBF$ :CBGHIF$ :F$ hO<\<IOGI;$ BD<$ GIB<;KGBQ$ H\$ BD<GK$ EF<K`F$

<bJ<KG<IC<Vi$$=HK<$CQIGC:N$HPF<KS<KF$D:S<$:BBKGPEB<O$BD<GK$:CBGHIF$BH$:$O<FGK<$BH$U:]<$GB$OG\\GCENB$BH$

FXGBCD$HEB$H\$1)*V$

&EUEN:BGS<$:OS:IB:;<$BDKHE;D$N<:KIGI;$:IO$GIS<FBU<IB3$1$CHUJ:IQ$BD:B$<FB:PNGFD<F$:$CHUJ<BGBGS<$

:OS:IB:;<$ C:I$H\B<I$U:GIB:GI$ BD:B$ CHUJ<BGBGS<$:OS:IB:;<$ BDKHE;D$ N<:KIGI;$:IO$ GIS<FBU<IBV$ $%D<$

K:B<$ :B$ XDGCD$ :IQ$ B<CDIHNH;Q$ GF$ GUJKHS<O$ GF$ K<N:B<O$ BH$ DHX$ OHUGI:IB$ GB$ GF$ GI$ BD<$U:K]<BV$ $ %D<$

OHUGI:IB$ B<CDIHNH;G<F$ :K<$ GUJKHS<O$ \:FB<K$ BD:I$ BD<$ :NFHYK:IFV$ $ %DGF$ K<FENBF$ GI$ :$ CEUEN:BGS<$

:OS:IB:;<$ BD:B$ C:I$cEGC]NQ$ P<CHU<$HS<KXD<NUGI;V$ $=GCKHFH\B$!GIOHXF$ GF$ :$ CN:FFGC$ <b:UJN<$ H\$ :$

B<CDIHNH;Q$BD:B$X:F$S<KQ$FNHX$BH$P<$:OHJB<O$EIBGN$GF$D:O$:CDG<S<O$:$C<KB:GI$U:K]<B$J<I<BK:BGHIV$$1B$

BD:B$JHGIB$BD<$CEUEN:BGS<$GIS<FBU<IB$H\$!GIOHXF$O<S<NHJ<KF$CK<:B<O$FECD$:$KGCD$F<B$H\$:JJNGC:BGHIF$

BD:B$IH$HBD<K$HJ<K:BGI;$FQFB<UF$CHENO$CHUJ<B<V$ $/GUGN:KNQR$ BD<$)K:CN<$O:B:P:F<$OGO$IHB$HKG;GI:NNQ$

<IdHQ$ :$ CHUU:IOGI;$ U:K]<B$ JHFGBGHIR$ PEB$ HIC<$ :I$ :OS:IB:;<$ O<S<NHJ<O$ GB$ P<;:I$ BH$ OKGS<$ BD<$

U:K]<B$\HK$O:B:P:F<$:JJNGC:BGHIF$:IO$:BBK:CB$BD<$NGHI`F$FD:K<$H\$GIS<FBU<IBV$

f<CGFGHI$*<S<K:;<3$ $%D<K<$:K<$ BGU<F$XD<I$:$S<KQ$ FU:NN$OG\\<K<IC<$ GI$ :PGNGBQ$UG;DB$ N<:O$ BH$:$S<KQ$

N:K;<$OG\\<K<IC<$GI$S:NE<V$$#Q$:IQ$HPd<CBGS<$U<:FEK<$=GCD:<N$oHKO:I$X:F$HINQ$FNG;DBNQ$P<BB<K$BD:I$DGF$

S<KQ$B:N<IB<O$CHUJ<BGBHKFV$$'<$K<:NNQ$CHENO$IHB$dEUJ$BD:B$UECD$DG;D<K$BD:I$HBD<KFV$$'<$X:F$IHB$BD:B$

UECD$UHK<$;K:C<\ENV$$(HB$BD:B$UECD$\:FB<KV$$#EBR$XD<I$QHE$JEB$GB$:NN$BH;<BD<K$:IO$X:BCD<O$DGU$JN:Q$

:;:GIFB$DGF$CHUJ<BGBHKF$BDHF<$S<KQ$FU:NN$OG\\<K<IC<F$U<:IB$BD:B$D<$:NUHFB$:NX:QF$C:U<$HEB$HI$BHJ$

GI$:IQ$HI<$HI$HI<$P:F]<BP:NN$CHIB<FBV$$'<$U:O<$BD<$HBD<KF$NHH]$NG]<$BD<Q$X<K<$KEIIGI;$GI$UEOu$$'GF$

S<KQ$ FNG;DB$ :OS:IB:;<$X:F$XHKBD$ :NUHFB$ :IQ$ :UHEIB$ GI$ F:N:KQ$ P<C:EF<$ BD<$ CHIF<cE<IC<F$ H\$ DGF$

<bC<NN<IC<$X<K<$FH$OK:U:BGCV$$1I$<b<CEBGS<$NG]<$o:C]$!<NCD$:B$+"$GF$HINQ$FNG;DBNQ$P<BB<K$BD:I$U:IQ$

U:IQ$ HBD<K$ UGOON<$ N<S<N$ <b<CEBGS<F$ :B$ +"R$ PEB$ BD<$ N<S<K:;<$ H\$ DGF$ O<CGFGHIF$ D:S<$ FECD$ DE;<$

GUJNGC:BGHIF$BD:B$IH$HI<$XHENO$F<BBN<$\HK$F<CHIO$P<FB$:B$:IQ$JKGC<u$$

(:BEK:N$*GUGBF$HI$BD<$/GW<$H\$BD<$1;<IO:3$$%D<K<$:K<$HINQ$FH$U:IQ$BDGI;F$BD:B$:$FGI;N<$J<KFHI$C:I$

]<<J$GI$U<UHKQV$$%DEF$BD<$\:UGNG:K$D:F$:I$<IHKUHEF$:OS:IB:;<$HS<K$BD<$EI\:UGNG:KV$$1$J<KFHI$XDH$

GF$ NHH]GI;$\HK$:$PHH]$HIYNGI<$ GF$ NG]<NQ$BH$K<U<UP<K$BD<$:OOK<FF$1U:WHIVCHUR$PEB$\:K$ N<FF$ NG]<NQ$BH$

K<U<UP<K$:IQ$H\$ BD<$U:IQ$HBD<K$FGB<F$ BD:B$:NFH$F<NN$PHH]FV$ $!DQ$FDHENO$ BD<Q$D:S<$ BH$ K<U<UP<K$
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NGFBF$H\$I:U<Fj$$oEFB$BQJ<$GI$1U:WHIVCHU$:IO$\HK;<B$BD<$K<FBu$$1U:WHI`F$\:UGNG:KGBQ$CHU<F$\KHU$GBF$

U:K]<B$JHFGBGHI$:IO$\GKFB$UHS<K$:OS:IB:;<V$

1I$<&HUU<KC<$PEFGI<FF$U:Q$FGUJNQ$P<$\:UGNG:K$P<C:EF<$H\$;<I<K:N$EF<$EIK<N:B<O$BH$BD<$FGB<V$$%D<K<$

X:F$:$NHI;$:IO$PGBB<K$P:BBN<$HS<K$BD<$HXI<KFDGJ$H\$BD<$:OOK<FF$h/<bVCHUi$P<C:EF<$GB$X:F$BD<$<:FG<FB$

BDGI;$BH$GU:;GI<$BQJGI;$GI$G\$QHE$X<K<$:I$GIB<KI<B$EF<K$GIB<K<FB<O$GI$F<bV$$#:BBN<F$HS<K$\:UGNG:K$X<P$

FGB<$I:U<F$D:S<$P<CHU<$CHUUHIJN:C<$GI$<#EFGI<FFV$$"IB<KJKGFGI;$GIOGSGOE:NF$PHE;DB$EJ$BD<$KG;DBF$

BH$U:IQ$OHU:GI$I:U<F$BD:B$:K<$CHUUHI$BK:O<U:K]F$\HK$<FB:PNGFD<O$PEFGI<FF<FV$$0I$U:IQ$C:F<F$BD<$

PEFGI<FF$D:O$BH$J:Q$UGNNGHIF$BH$:CcEGK<$BD<$OHU:GI$I:U<F$\KHU$BD<$HKG;GI:N$HXI<KFV$$0I$HBD<K$C:F<F$

PEFGI<FF<F$\:GN<O$BH$K<CH;IGW<$BD<$S:NE<$GID<K<IB$GI$OHU:GI$I:U<F$:IO$BD<I$X<K<$\HKC<O$BH$:CcEGK<$

BD<$OHU:GI$I:U<$N:B<KV$$!D<I$1NB:$>GFB:$OGFCHS<K<O$BD:B$FHU<HI<$<NF<$BK:O<U:K]<O$BD<$I:U<R$BD<Q$

I<;HBG:B<O$BH$PEQ$BD<$BK:O<U:K]$\KHU$BD<$HXI<KR$PEB$ \:GN<O$BH$K<CH;IGW<$BD<$S:NE<$H\$ BD<$OHU:GI$

I:U<V$$*:B<K$BD<Q$D:O$BH$:CcEGK<$BD<$OHU:GI$I:U<$\HK$UGNNGHIFV$

':PGB$ \HKU:BGHI$ HK$ 1CcEGK<O$ %:FB<F3$ )IC<$ QHE$ D:S<$ N<:KI<O$ BH$ EF<$ :$ F<:KCD$ <I;GI<$ HK$ HBD<K$

:JJNGC:BGHIR$GB$GF$H\B<I$OG\\GCENB$BH$CHISGIC<$QHEKF<N\$BH$CD:I;<$BH$:I$:NB<KI:BGS<V$$,:DHH$<FB:PNGFD<O$:$

FG;IG\GC:IB$\GKFB$UHS<K$:OS:IB:;<$GI$F<:KCD$<I;GI<F$:IO$BD<I$GI$JHKB:NF$PEGNB$:KHEIO$F<:KCD$<I;GI<FV$$

1NBDHE;D$UECD$P<BB<K$JKHOECBF$<S<IBE:NNQ$ C:U<$ BH$U:K]<B$ NG]<$1NB:$>GFB:$:IO$yyyyyR$ BD<Q$CHENO$

IHB$HS<KCHU<$BD<$:OS:IB:;<$BD:B$,:DHH$;:GI<O$PQ$D:SGI;$FH$U:IQ$J<KFHIF$XDH$]I<X$DHX$BH$EF<$

,:DHH$:IO$X<K<$CHU\HKB:PN<$GI$EFGI;$BD<$FGB<V$$

*<:KIGI;$ NHC]$ GI$ GF$ :$ CD:K:CB<KGFBGC$ H\$U:IQ$U:K]<BF$ GI$ BD<$ B<CDIHNH;Q$ :K<:V$ $ 0B$ <bJN:GIF$XDQ$IH$

CHUJ:IQ$ D:F$ P<<I$ :PN<$ BH$ PK<:]$ BD<$ OHUGI:BGHI$ H\$ =GCKHFH\B$ )\\GC<R$ XDQ$ BD<$ 1JJN<$ =:CGIBHFD$

CHIBGIE<F$ BH$ OHUGI:B<$ BD<$ <OEC:BGHI$ U:K]<BR$ :IO$ XDQ$ CHUJEB<K$ ]<QPH:KOF$ FBGNN$ EF<$ :$ ]<Q$

:KK:I;<U<IB$FJ<CG\GC:NNQ$O<FG;I<O$BH$FNHX$OHXI$BQJGFBF$BH$:SHGO$FBEC]$]<QFV$

1SHGO:IC<$H\$?<;K<B3$ $=:IQ$Q<:KF$:;HR$ BD<$P<FB$:OSGC<$;GS<I$BH$I<X$<UJNHQ<<F$ GI$ BD<$ 0%$:K<:F$H\$

CHKJHK:BGHIF$X:F$ h(H$HI<$ <S<K$ ;<BF$ \GK<O$ \HK$PEQGI;$ 0#=Vi$ $ %DGF$JG<C<$H\$ :OSGC<$ GUJNG<F$ BD:B$ BD<$

JEKCD:F<$H\$0#=$<cEGJU<IB$GF$BD<$F:\<$CDHGC<$:IO$BD<$<bJ<CB<O$CDHGC<V$$0\$FHU<HI<$H\\<KF$QHE$:$NGBBN<$

P<BB<K$J<K\HKU:IC<$HK$:$NGBBN<$P<BB<K$JKGC<R$QHE$D:O$P<BB<K$BDGI]$BXGC<$P<\HK<$:CC<JBGI;$BD:B$H\\<KV$$0\$

GB$XHK]F$QHE$U:Q$P<$:$UGIHK$D<KHV$$0\$GB$\:GNFR$QHE$XGNN$FEK<NQ$P<$U:O<$BH$K<;K<B$BD<$JEKCD:F<V$$%HO:Q$

BD<$F:\<$JEKCD:F<$UG;DB$P<$:$=GCKHFH\B$HJ<K:BGI;$FQFB<UR$:$&GFCH$KHEB<KR$:IO$0IB<N$0IFGO<$9&R$HK$:I$

)K:CN<$O:B:P:F<V$$&HUJ<BGBHKF$D:S<$:$DG;D<K$P:K$BH$CN<:KV$

&HIC<IBK:B<O$ 9EKCD:FGI;$ 9HX<K3$ 1\B<K$ oGU$ &N:K]$ \HEIO<O$ /GNGCHI$ +K:JDGCFR$ (<BFC:J<$ :IO$ BD<I$

'<:NBD<HIR$ D<$ C:U<$ EJ$ XGBD$ BD<$ GO<:$ \HK$ UQ&a)VCHUV$ $ 'GF$ JN:I$ X:F$ BH$ EF<$ BD<$ CHIC<IBK:B<O$

JEKCD:FGI;$JHX<K$H\$ BD<$X<:NBDG<FB$J<KFHIF$ GI$ BD<$XHKNO$ BH$;:GI$:OS:IB:;<$HS<K$ BD<$FEJJNG<KF$H\$

BD<$ \GI:ICG:N$:IO$HBD<K$F<KSGC<FV$ $'<$O<\GI<O$ BD<$X<:NBDG<FB$:F$ BDHF<$XGBD$HS<K$k65$UGNNGHI$ GI$I<B$

:FF<BFR$:IO$D<$C:NN<O$BD<U$BD<$hX<:NBDQ$U:FF<FVi$$'<$:FFEU<O$BD<K<$X<K<$HS<K$6m5R555$J<KFHIF$GI$
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BD<$hX<:NBDQ$U:FF<Fi$:IO$BD:B$BD<Q$CHIBKHNN<O$HS<K$6e$BKGNNGHI$OHNN:KF$GI$:FF<BFV$$'<$<bJN:GI<O$BD:B$

h%D<$JHX<K$H\$BD:B$UHI<Q$GF$DE;<V$ $,HE$CHENO$;H$:IO$CEB$O<:NF$XGBD$P:I]F$HK$PKH]<K:;<$\GKUF$HK$

GIFEK:IC<$CHUJ:IG<F$HK$:IQHI<$<NF<$XDH$X:IB<O$BH$OH$PEFGI<FF$XGBD$BD<$UHI<Qi$$'GF$:K;EU<IB$H\$

CHIC<IBK:B<O$JEKCD:FGI;$JHX<K$X:F$FH$J<KFE:FGS<$BD:BR$XGBD$IH$PEFGI<FF$JN:IR$D<$J<KFE:O<O$oHDI$

&D:UP<KFR$&")$H\$&0/&)R$%HU$o<KUHNE]R$&")$H\$Ä'HU<R$oGU$#:K]FO:N<R$&")$H\$(<BFC:J<R$:IO$oHDI$

fH<KKR$H\$BD<$2N<GI<K$9<K]GIF$><IBEK<$&:JGB:N$+KHEJR$BH$\GI:IC<$BD<$S<IBEK<u$

9EK<NQ$9HFGBGHI:N$Z/B:BEF[$&HIC<KIF3$%DGF$C:I$HCCEK$XD<I$BD<K<$GF$:$FB:BEF$BD:B$C:I$:CCKE<$XGBD$HI<$

PK:IO$ BD:B$ GF$ IHB$ <IdHQ<O$ PQ$ :IHBD<KV$ $ %DGF$ <bJN:GIF$ XDQ$ %HUUQ$ 'GN\G;<K$ CNHBDGI;$ P<C:U<$ FH$

EPGcEGBHEF$HI$EKP:I$B<<IF$:IO$QHEI;$:OENBF$GI$BD<$N:B<$p5FV$

+G\BF$ :IO$/J<CG:N$)CC:FGHIF3$!DQ$OH$OG:UHIOF$ <IdHQ$ :$ FJ<CG:N$ JN:C<$ GI$HEK$JEKCD:FGI;$J:BB<KIFj$$

#<C:EF<$BD<Q$D:S<$P<CHU<$BD<$FJ<CG:N$FQUPHN$H\$C<KB:GI$HCC:FGHIF$:IO$IHBDGI;$<NF<$XGNN$K<:NNQ$OHV$

)PB:GIGI;$=:K]<B$*HC]YEJR$$

%D<K<$GF$HI<$FBK:B<;Q$\HK$HPB:GIGI;$U:K]<B$NHC]YEJ$BD:B$GF$J:KBGCEN:KNQ$:OS:IB:;<HEF$BH$<#EFGI<FF<FR$

:IO$BD:B$FBK:B<;Q$FB<UF$OGK<CBNQ$\KHU$BD<$BDK<<$OKGSGI;$N:XFR$=HHK<`F$*:XR$BD<$#:IOXGOBD$*:XR$:IO$

=<BC:N\`F$*:XV$ $"#EFGI<FF$ GF$HI<$:K<:$H\$ BD<$<CHIHUQ$XDGCD$;<I<K:NNQ$<bJ<KG<IC<F$O<CNGIGI;$EIGB$

CHFBF$\HK$U:IQ$H\$BD<$<N<U<IBF$H\$JKHOECBF$:IO$F<KSGC<FV$$%DGF$:NNHXF$:$NHC]YEJ$FBK:B<;Q$P:F<O$EJHI$

CK<:BGS<$EF<$H\$ NHI;YB<KU$CHIBK:CBF$:IO$FQFB<U:BGC$K<I<X:N$H\$CHIBK:CBFV$ $ 0\$:$FEJJNG<K$D:F$:$ NHI;Y

B<KU$CHIBK:CB$XGBD$:$S<IOHKR$BD<I$BD<K<$GF$H\B<I$:I$HJJHKBEIGBQ$\HK$BD<$FEJJNG<K$BH$;H$BH$BD:B$S<IOHK$

:IO$H\\<K$:BBK:CBGS<$ B<KUF$ \HK$<:KNQ$ K<I<X:NV$ $(H$:NB<KI:BGS<$FEJJNG<K$ C:I$U:]<$ BD<$F:U<$H\\<K$:B$

BD:B$ BGU<R$ FGIC<$ BD<$ CHIBK:CB$ :NK<:OQ$ GI$ \HKC<$ U:]<F$ BD<$ CHFBF$ H\$ FXGBCDGI;$ BH$ :$ I<X$ JKHSGO<K$

JKHDGPGBGS<$BH$BD<$CHIFEU<KV$$%D<$FEJJNG<K$GF$:PN<$BH$H\\<K$BD<$CHIFEU<K$:$CHIBK:CB$BD:B$XGNN$K<OEC<$

BD<$ CHIFEU<K`F$ CHFBF$ HS<K$ BD<$ <bGFBGI;$ CHIBK:CB$ FGIC<$ BD<$ EIGB$ CHFB$ H\$ O<NGS<KGI;$ BD<$ JKHOECBF$ HK$

F<KSGC<F$D:F$O<CK<:F<OV$%D<$CHIFEU<KF$D:S<$:$DE;<$GIC<IBGS<$BH$K<I<X$BD<$CHIBK:CB$P<C:EF<$BD<Q$

FB:IO$BH$F:S<$UHI<Q$GUU<OG:B<NQV$

%D<$ :FBEB<$ CHIFEU<K$ XGNN$ K<:NGW<$ XD:B$ GF$ D:JJ<IGI;R$ PEB$ \:C<F$ :$ OG\\GCENB$ CDHGC<V$ $ /EJJHF<$ BD<$

FEJJNG<K$:IO$CHIFEU<K$D:S<$:$BDK<<$Q<:K$CHIBK:CB$\HK$:$C<KB:GI$F<KSGC<V$$/EJJHF<$:NFH$BD:B$BD<$EIGB$

CHFB$H\$JKHSGOGI;$BD:B$F<KSGC<$D:F$D:NS<O$HS<K$BD<$\GKFB$6m$UHIBDF$H\$BD<$CHIBK:CBV$$%D<$FEJJNG<K$C:I$

BD<I$ H\\<K$ BD<$ CHIFEU<K$ :$ I<X$ BDK<<$ Q<:K$ CHIBK:CB$ :B$ :$ FG;IG\GC:IB$ OGFCHEIB$ ZF:Q$ 4el[$ BH$ BD<$

<bGFBGI;$CHIBK:CB$:IO$FBGNN$U:]<$:$JKH\GBV$ $%D<$CHIFEU<K$C:I$<GBD<K$:;K<<$:IO$GUU<OG:B<NQ$K<OEC<$

BD<$CHFBF$H\$BD<$CHIBK:CB$\HK$BD<$K<U:GIGI;$6m$UHIBDF$H\$BD<$CHIBK:CBR$HK$C:I$CDHF<$BH$J:Q$BD<$DG;D<K$

JKGC<$\HK$BD<$K<U:GIGI;$6m$UHIBDF$GI$DHJ<F$H\$HPB:GIGI;$:I$<S<I$NHX<K$CHFB$H\$F<KSGC<$\HK$BD<$I<bB$

BDK<<$Q<:K$CHIBK:CBV$$0\$BD<$CHIFEU<KF$<N<CB$BH$K<I<X$<:KNQR$BD<$FEJJNG<K$D:F$<\\<CBGS<NQ$NHC]<O$GI$BD<$

CHIFEU<KFV$$0\$BD<$CHIFEU<KF$CDHF<$IHB$BH$K<I<XR$BD<Q$J:Q$:$DG;D<K$JKGC<$\HK$BD<$K<U:GIO<K$H\$BD<$

CHIBK:CB$:IO$BD<I$BD<$FEJJNG<K$D:F$BH$U<<B$BD<$U:K]<B$:B$BD<$<IO$H\$BD<$CHIBK:CBV$$%DGF$GF$:NUHFB$:$
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IHYNHF<$ FGBE:BGHI$ \HK$ BD<$ FEJJNG<KR$ P<C:EF<$ BD<$ FEJJNG<K$ XGNN$ CHIBGIE<$ BH$ D:S<$ HBD<K$ :OS:IB:;<F$

P:F<O$EJHI$BD<$CHFB$H\$FXGBCDGI;$:IO$FDHENO$D:S<$:$\:SHK:PN<$JHFGBGHI$SGFYÅYSGF$HBD<K$FEJJNG<KF$BD:B$

:K<$ BKQGI;$ BH$ XGI$ BD<$ PEFGI<FFV$ $ %D<$ HINQ$ JHFFGPN<$ OGF:OS:IB:;<$ GF$ BD<$ CD:IC<$ H\$ EJF<BBGI;$ BD<$

CEFBHU<KR$PEB$CEFBHU<KF$K:K<NQ$P<CHU<$EJF<B$XD<I$H\\<K<O$NHX<K$JKGC<FV$

&HFB$H\$FXGBCDGI;$

1F$X<$D:S<$F<<IR$K:GFGI;$BD<$CHFB$H\$FXGBCDGI;$GF$:I$GUJHKB:IB$:FJ<CB$H\$HPB:GIGI;$U:K]<B$NHC]YEJV$$

)IC<$ QHEK$ HK;:IGW:BGHI$ D:F$ BD<$ :OS:IB:;<$ H\$ =<BC:N\`F$ *:XR$ GB$ I<<OF$ BH$ <IFEK<$ BD:B$ BD<$ CHFB$ H\$

FXGBCDGI;$BH$:IHBD<K$D:F$UHK<$CHFB$:IO$UHK<$J:GI$BD:I$BD<$CEFBHU<K$GF$XGNNGI;$BH$P<:KV$$%DGF$I<<OF$

BH$P<$OHI<$cEGB<$O<NGC:B<NQR$FGIC<$D:U$D:IO<O$:BB<UJBF$BH$BK:J$CEFBHU<KF$:K<$EFE:NNQ$HPSGHEF$:IO$

H\B<I$ N<:O$ BH$ BD<$ HJJHFGB<$ <\\<CB$ H\$ NHX<KGI;$ FXGBCDGI;$ CHFBFV$ $ 1$ CEFBHU<K$ BD:B$ \<<NF$ BK:JJ<O$ GF$

XGNNGI;$BH$J:Q$:$PGB$\HK$\K<<OHUV$$%D<$P<FB$X:Q$BH$]<<J$:$CEFBHU<K$GI$QHEK$I<BXHK]$GF$BH$H\\<K$P<BB<KR$

UHK<R$:IO$N<FB$CHFBNQ$F<KSGC<$BD:I$CHUJ<BGBHKFV$ $0\$BD<$CEFBHU<K$]IHX$BD:B$D<$HK$FD<$C:I$;<B$UHK<$

\KHU$QHEK$\GKU$BD:I$\KHU$:IQ$HBD<KR$BD<I$BD<$CHFB$H\$FXGBCDGI;$XGNN$:NX:QF$P<$BHH$DG;DV$

/BGC]Q$"Q<P:NNF3$$$

%D<$GIS<FBU<IB$CHUUEIGBQ$P<;:I$BH$K<\<K$BH$BD<$CEFBHU<KF$EFGI;$BD<$X<PFGB<F$:F$h<Q<P:NNFVi$$%D<$

dHP$H\$BD<$FGB<F$X:F$BH$h;K:P$<Q<P:NNFVi$ $%D<$UHK<$<Q<P:NNF$BD<$P<BB<K$=<BC:N\`F$N:X$BK<:B<O$QHEV$ $0B$

X:F$ FHHI$ OGFCHS<K<O$ BD:B$ ;K:PPGI;$ BD<U$X:F$ IHB$ <IHE;DV$ $ )IC<$ QHE$ ;HB$ BD<U$ BH$ QHEK$ FGB<$ QHE$

I<<O<O$BH$]<<J$BD<U$BD<K<V$ $0IS<FBHKF$X:IB<O$FGB<F$XGBD$hFBGC]Q$<Q<P:NNFVi$ $%D<$BD<HKQ$X:F$BD:B$G\$

QHE$CHENO$]<<J$BD<U$HI$QHEK$FGB<R$BD<Q$X<K<$NG]<NQ$BH$PKGI;$QHE$K<S<IE<V$$$

#KGC]F$:IO$&NGC]F$

1B$\GKFB$GB$X:F$BDHE;DB$BD:B$HI<$K<:FHI$1U:WHIVCHU$D:O$:$DE;<$:OS:IB:;<$HS<K$#:KI<F$:IO$(HPN<$

X:F$ P<C:EF<$ GB$ OGO$ IHB$ D:S<$ :$ DE;<$ C:JGB:N$ GIS<FBU<IB$ GI$ hPKGC]F$ :IO$UHKB:KVi$ $ )S<K$ BGU<R$ BD:B$

P<C:U<$ N<FF$ CN<:KNQ$ :I$ :OS:IB:;<V$ $ %D<K<$ X:F$ C<KB:GINQ$ BD<$ :OS:IB:;<$ H\$ BD<$ NHX<K$ C:JGB:N$

GIS<FBU<IBR$PEB$BD<K<$X:F$:$OGF:OS:IB:;<$GI$IHB$P<GI;$:PN<$BH$;<B$JKHOECB$GIBH$BD<$CEFBHU<KF$D:IOF$

UHK<$cEGC]NQV$$)S<K$BD<$N:FB$BXH$Q<:KF$X<$D:S<$F<<I$BD<$hPKGC]$:IO$UHKB:Ki$CHUJ:IG<F$N:EICD$BD<GK$

HXI$<&HUU<KC<$:KUF$EFGI;$:$S:KG<BQ$H\$FBK:B<;G<FV$ $/HU<$]<JB$BD<U$:F$J:KB$H\$ BD<$PKGC]FV$ $/HU<$

FJEI$ BD<U$ HEB$ GIBH$ F<J:K:B<$ CHUJ:IG<FV$ $ %D<$ \HKU<K$ D:O$ BD<$ :OS:IB:;<$ H\$ PEGNOGI;$ HI$ BD<$

<FB:PNGFD<O$PK:IO$I:U<$:IO$CNHF<NQ$ GIB<;K:BGI;$ BD<$FBK:B<;G<F$H\$ BD<$ BK:OGBGHIF$K<B:GN$XGBD$ BD:B$H\$

BD<$<#EFGI<FFV$ $%D<$N:BB<K$D:O$BD<$:OS:IB:;<$H\$P<GI;$EI<ICEUP<K<O$PQ$BD<$HNO$X:QF$H\$BDGI]GI;R$

HJ<K:BGI;R$\GI:ICGI;$:IO$FH$HIV$$0I$FHU<$C:F<F$BD<$GO<IBG\GC:BGHI$H\$BD<$<#EFGI<FF$XGBD$BD<$BK:OGBGHI$

PK:IO$U:Q$IHB$D:S<$P<<I$:I$:OS:IB:;<V$
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4V 1o1y$

1FQICDKHIHEF$o:S:/CKGJB$:IO$y=*R$GF$:$;KHEJ$H\$GIB<KK<N:B<O$X<P$O<S<NHJU<IB$B<CDIGcE<F$EF<O$HI$

BD<$CNG<IBYFGO<$BH$CK<:B<$:FQICDKHIHEF$X<P$:JJNGC:BGHIFV$!GBD$1d:bR$X<P$:JJNGC:BGHIF$C:I$F<IO$O:B:$

BHR$:IO$K<BKG<S<$O:B:$ \KHUR$:$F<KS<K$:FQICDKHIHEFNQ$ZGI$ BD<$P:C];KHEIO[$XGBDHEB$ GIB<K\<KGI;$XGBD$

BD<$ OGFJN:Q$ :IO$ P<D:SGHK$ H\$ BD<$ <bGFBGI;$ J:;<V$ f:B:$ C:I$ P<$ K<BKG<S<O$ EFGI;$ BD<$ y=*'BBJ?<cE<FB$

HPd<CBV$ f<FJGB<$ BD<$ I:U<R$ BD<$ EF<$ H\$ y=*$ GF$ IHB$ K<cEGK<O$ Zo/)($ GF$ H\B<I$ EF<O$ GIFB<:O[R$ :IO$ BD<$

K<cE<FBF$OH$IHB$I<<O$BH$P<$:FQICDKHIHEFV$

+HH;N<$U:O<$ :$XGO<$ O<JNHQU<IB$ H\$ FB:IO:KOFYCHUJNG:IBR$ CKHFF$ PKHXF<K$ 1d:b$XGBD$ +U:GN$ Z455A[$

:IO$+HH;N<$=:JF$Z455e[V$

)I$e$1JKGN$455M$BD<$!HKNO$!GO<$!<P$&HIFHKBGEU$Z!7&[$K<N<:F<O$BD<$\GKFB$OK:\B$FJ<CG\GC:BGHI$\HK$

BD<$y=*'BBJ?<cE<FB$HPd<CB$GI$:I$:BB<UJB$BH$CK<:B<$:I$H\\GCG:N$X<P$FB:IO:KOV$

%<CDIHNH;G<F3$$%D<$B<KU$1d:b$D:F$CHU<$BH$K<JK<F<IB$:$PKH:O$;KHEJ$H\$X<P$B<CDIHNH;G<F$BD:B$C:I$P<$

EF<O$BH$GUJN<U<IB$:$X<P$:JJNGC:BGHI$BD:B$CHUUEIGC:B<F$XGBD$:$F<KS<K$GI$BD<$P:C];KHEIOR$XGBDHEB$

GIB<K\<KGI;$ XGBD$ BD<$ CEKK<IB$ FB:B<$ H\$ BD<$ J:;<V$ %D<$ B<KU$ 1d:b$ $ <bJN:GI<O$ BD:B$ BD<$ \HNNHXGI;$

B<CDIHNH;G<F$:K<$GICHKJHK:B<O3$

'%=*$ ZHK$ y'%=*[$ :IO$ &//$ \HK$ JK<F<IB:BGHIR$ $ %D<$ fHCEU<IB$ )Pd<CB$ =HO<N$ Zf)=[$ \HK$ OQI:UGC$

OGFJN:Q$ H\$ :IO$ GIB<K:CBGHI$ XGBD$ O:B:R$ $ y=*$ \HK$ BD<$ GIB<KCD:I;<$ H\$ O:B:R$ :IO$ y/*%$ \HK$ GBF$

U:IGJEN:BGHIR$ %D<$ y=*'BBJ?<cE<FB$ HPd<CB$ \HK$ :FQICDKHIHEF$ CHUUEIGC:BGHI$ :IO$ o:S:/CKGJB$ BH$

PKGI;$BD<F<$B<CDIHNH;G<F$BH;<BD<KV$

fK:XP:C]F3$

6V$ f<J<IOGI;$ HI$ BD<$ I:BEK<$ H\$ BD<$ 1d:b$ :JJNGC:BGHIR$ OQI:UGC$ J:;<$ EJO:B<F$ U:Q$ GIB<K\<K<$

OGFKEJBGS<NQ$XGBD$EF<K$GIB<K:CBGHIFR$<FJ<CG:NNQ$G\$XHK]GI;$HI$:I$EIFB:PN<$0IB<KI<B$CHII<CBGHIV$

4V$fQI:UGC$X<P$J:;<$EJO:B<F$:NFH$U:]<$GB$OG\\GCENB$BH$PHH]U:K]$:IO$K<BEKI$BH$:$J:KBGCEN:K$FB:B<$H\$

BD<$:JJNGC:BGHIV$$

7V$ 0I$ JK<Y'%=*e$ PKHXF<KFR$ J:;<F$ OQI:UGC:NNQ$ CK<:B<O$ EFGI;$ FECC<FFGS<$ 1d:b$ K<cE<FBF$ OGO$ IHB$

:EBHU:BGC:NNQ$ K<;GFB<K$ BD<UF<NS<F$ XGBD$ BD<$ PKHXF<KrF$ DGFBHKQ$ <I;GI<R$ FH$ CNGC]GI;$ BD<$ PKHXF<KrF$

sP:C]s$PEBBHI$U:Q$IHB$D:S<$K<BEKI<O$BD<$PKHXF<K$BH$:I$<:KNG<K$FB:B<$H\$BD<$1d:bY<I:PN<O$J:;<R$PEB$

U:Q$ D:S<$ GIFB<:O$ K<BEKI<O$ BH$ BD<$ N:FB$ \ENN$ J:;<$ SGFGB<O$ P<\HK<$ GBV$ /ECD$ P<D:SGHK$ x$ I:SG;:BGI;$

P<BX<<I$J:;<F$GIFB<:O$H\$I:SG;:BGI;$P<BX<<I$J:;<$FB:B<F$x$U:Q$P<$O<FGK:PN<R$PEB$ G\$ \GI<Y;K:GI<O$

BK:C]GI;$ H\$ J:;<$ FB:B<$ GF$ K<cEGK<O$ BD<I$ :$ JK<Y1d:b$ XHK]:KHEIO$ X:F$ BH$ EF<$ GISGFGPN<$ G\K:U<F$ BH$

BKG;;<K$CD:I;<F$GI$BD<$PKHXF<KrF$DGFBHKQV$
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AV$#<C:EF<$UHFB$X<P$CK:XN<KF$OH$IHB$<b<CEB<$o:S:/CKGJB$CHO<R$JEPNGCNQ$GIO<b:PN<$X<P$:JJNGC:BGHIF$

FDHENO$ JKHSGO<$ :I$ :NB<KI:BGS<$U<:IF$ H\$ :CC<FFGI;$ BD<$ CHIB<IB$ BD:B$XHENO$ IHKU:NNQ$ P<$ K<BKG<S<O$

XGBD$1d:bR$BD<K<PQ$:NNHXGI;$F<:KCD$<I;GI<F$BH$GIO<b$GBV$

eV$ 1IQ$ EF<K$XDHF<$ PKHXF<K$ OH<F$ IHB$ FEJJHKB$ o:S:/CKGJB$ HK$ y=*'BBJ?<cE<FBR$ HK$ FGUJNQ$ D:F$ BDGF$

\EICBGHI:NGBQ$OGF:PN<OR$XGNN$IHB$P<$:PN<$BH$JKHJ<KNQ$EF<$J:;<F$XDGCD$O<J<IO$HI$1d:bV$f<SGC<F$FECD$:F$

FU:KBJDHI<F$ :IO$ 9f1F$ U:Q$ IHB$ D:S<$ FEJJHKB$ \HK$ BD<$ K<cEGK<O$ B<CDIHNH;G<FR$ BDHE;D$ BDGF$ GF$

P<CHUGI;$N<FF$H\$:I$GFFE<V$$

MV$/HU<$X<P$:JJNGC:BGHIF$XDGCD$EF<$1d:b$:K<$PEGNB$GI$:$X:Q$BD:B$C:IIHB$P<$K<:O$PQ$FCK<<IYK<:OGI;$

B<CDIHNH;G<FR$FECD$:F$o1!/V$$

LV$/CK<<I$K<:O<KF$BD:B$:K<$:PN<$BH$EF<$1d:b$U:Q$FBGNN$IHB$P<$:PN<$BH$JKHJ<KNQ$K<:O$BD<$OQI:UGC:NNQ$

;<I<K:B<O$CHIB<IBV$

mV$%D<$F:U<$HKG;GI$JHNGCQ$JK<S<IBF$FHU<$1d:b$B<CDIGcE<F$\KHU$P<GI;$EF<O$:CKHFF$OHU:GIFR$:NBDHE;D$

BD<$!7&$D:F$:$OK:\B$H\$BD<$y=*'BBJ?<cE<FB$HPd<CB$BD:B$XHENO$<I:PN<$BDGF$\EICBGHI:NGBQV$

pV$%D<$:FQICDKHIHEF$C:NNP:C]YFBQN<$H\$JKH;K:UUGI;$K<cEGK<O$C:I$N<:O$BH$CHUJN<b$CHO<$BD:B$GF$D:KO$

BH$U:GIB:GIR$BH$O<PE;$:IO$BH$B<FBV$
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7V a%9$

-.:0$ %1724T01$ V1989>9:$Z-%V[$ GF$ :$ FB:IO:KO$I<BXHK]$ JKHBHCHN$EF<O$ BH$ BK:IF\<K$ \GN<F$ \KHU$

HI<$DHFB$HK$BH$:IHBD<K$DHFB$HS<K$:$%&9YP:F<O$I<BXHK]R$FECD$:F$BD<$0IB<KI<BV$

a%9$GF$PEGNB$HI$:$CNG<IBYF<KS<K$:KCDGB<CBEK<$:IO$EF<F$F<J:K:B<$CHIBKHN$:IO$O:B:$CHII<CBGHIF$P<BX<<I$

BD<$ CNG<IB$ :IO$ BD<$ F<KS<KVv6w$a%9$ EF<KF$ U:Q$ :EBD<IBGC:B<$ BD<UF<NS<F$ EFGI;$ :$CN<:KYB<bB$FG;IYGI$

JKHBHCHNR$IHKU:NNQ$ GI$ BD<$ \HKU$H\$:$EF<KI:U<$:IO$J:FFXHKOR$PEB$C:I$CHII<CB$:IHIQUHEFNQ$ G\$ BD<$

F<KS<K$ GF$ CHI\G;EK<O$ BH$:NNHX$ GBV$ aHK$ F<CEK<$ BK:IFUGFFGHI$ BD:B$DGO<F$ Z<ICKQJBF[$ BD<$EF<KI:U<$:IO$

J:FFXHKOR$:IO$<ICKQJBF$BD<$CHIB<IBR$a%9$GF$H\B<I$F<CEK<O$XGBD$//*_%*/$Zsa%9/s[V$//'$aGN<$%K:IF\<K$

9KHBHCHN$Zs/a%9s[$GF$FHU<BGU<F$:NFH$EF<O$GIFB<:OR$PEB$GF$B<CDIHNH;GC:NNQ$OG\\<K<IBV$

%D<$ \GKFB$ a%9$ CNG<IB$ :JJNGC:BGHIF$ X<K<$CHUU:IOYNGI<$ :JJNGC:BGHIF$O<S<NHJ<O$ P<\HK<$HJ<K:BGI;$

FQFB<UF$D:O$;K:JDGC:N$ EF<K$ GIB<K\:C<FR$ :IO$ :K<$ FBGNN$ FDGJJ<O$ XGBD$ UHFB$!GIOHXFR$.IGbR$

:IO$*GIEb$HJ<K:BGI;$ FQFB<UFVv4wv7w$fHW<IF$H\$ a%9$ CNG<IBF$ :IO$ :EBHU:BGHI$ EBGNGBG<F$ D:S<$ FGIC<$ P<<I$

O<S<NHJ<O$ \HK$ O<F]BHJFR$ F<KS<KFR$UHPGN<$ O<SGC<FR$ :IO$ D:KOX:K<R$ :IO$ a%9$ D:F$ P<<I$ GICHKJHK:B<O$

GIBH$DEIOK<OF$H\$JKHOECBGSGBQ$:JJNGC:BGHIFR$FECD$:F$!<P$J:;<$<OGBHKFV$

'GFBHKQ$

%D<$ HKG;GI:N$ FJ<CG\GC:BGHI$ \HK$ BD<$ aGN<$ %K:IF\<K$ 9KHBHCHN$ X:F$ XKGBB<I$ PQ$1PD:Q$ #DEFD:I$:IO$

JEPNGFD<O$ :F$?a&$ 66A$HI$ 6M$ 1JKGN$ 6pL6$ :IO$ N:B<K$ K<JN:C<O$ PQ$?a&$ LMe$ZoEI<$ 6pm5[$ :IO$?a&$

pep$Z)CBHP<K$ 6pme[R$ BD<$ CEKK<IB$ FJ<CG\GC:BGHIV$ /<S<K:N$ JKHJHF<O$ FB:IO:KOF$ :U<IO$?a&$ pepR$ \HK$

<b:UJN<$?a&$ 444m$ZoEI<$ 6ppL[$ JKHJHF<F$ F<CEKGBQ$ <bB<IFGHIF$ :IO$?a&$ 4A4m$Z/<JB<UP<K$ 6ppm[$

:OOF$FEJJHKB$\HK$09SM$:IO$O<\GI<F$:$I<X$BQJ<$H\$J:FFGS<$UHO<VvAw$

9KHBHCHN$HS<KSG<X$

&9MMC2.>78.92$723$3787$81724T01$

%D<$JKHBHCHN$X:F$\GKFB$FJ<CG\G<O$oEI<$6pm5$:IO$EJO:B<O$GI$?a&$pepRv4w$XDGCD$GF$FEUU:KGW<O$D<K<Vvew$

%D<$ F<KS<K$ K<FJHIOF$ HS<K$ BD<$ CHIBKHN$ CHII<CBGHI$ XGBD$BDK<<YOG;GB$ FB:BEF$ CHO<F$GI$ 1/&00$ XGBD$ :I$

HJBGHI:N$ B<bB$ U<FF:;<V$ aHK$ <b:UJN<$ s455s$ ZHK$ s455$ )2s[$ U<:IF$ BD:B$ BD<$ N:FB$ CHUU:IO$ X:F$

FECC<FF\ENV$ %D<$ IEUP<KF$ K<JK<F<IB$ BD<$ CHO<$ \HK$ BD<$ K<FJHIF<$ :IO$ BD<$ HJBGHI:N$ B<bB$ K<JK<F<IBF$ :$

DEU:IYK<:O:PN<$ <bJN:I:BGHI$ HK$ K<cE<FB$ Z<V;V$ }(<<O$ :CCHEIB$ \HK$ FBHKGI;$ \GN<~[Vv6w$1I$ HI;HGI;$

BK:IF\<K$H\$\GN<$O:B:$HS<K$BD<$O:B:$CHII<CBGHI$C:I$P<$:PHKB<O$EFGI;$:I$GIB<KKEJB$U<FF:;<$F<IB$HS<K$

BD<$CHIBKHN$CHII<CBGHIV$
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0NNEFBK:BGHI$H\$FB:KBGI;$:$J:FFGS<$CHII<CBGHI$EFGI;$JHKB$46$

a%9$ U:Q$ KEI$ GI$*5-%1"$HK$)*66%1"$UHO<R$ XDGCD$ O<B<KUGI<F$ DHX$ BD<$ O:B:$ CHII<CBGHI$ GF$

<FB:PNGFD<OVvMw$0I$:CBGS<$UHO<R$BD<$CNG<IB$CK<:B<F$:$%&9$CHIBKHN$CHII<CBGHI$BH$BD<$F<KS<K$:IO$F<IOF$

BD<$ F<KS<K$ BD<$ CNG<IBrF$ 09$ :OOK<FF$ :IO$ :I$ :KPGBK:KQ$ CNG<IB$ JHKB$ IEUP<KR$ :IO$ BD<I$X:GBF$ EIBGN$ BD<$

F<KS<K$GIGBG:B<F$BD<$O:B:$CHII<CBGHI$HS<K$%&9$BH$BD:B$CNG<IB$09$:OOK<FF$:IO$CNG<IB$JHKB$IEUP<KVvLw$0I$

FGBE:BGHIF$ XD<K<$ BD<$ CNG<IB$ GF$ P<DGIO$ :$\GK<X:NN$:IO$ EI:PN<$ BH$ :CC<JB$ GICHUGI;$ %&9$

CHII<CBGHIFR$)*66%1"#C,!"$U:Q$P<$EF<OV$0I$BDGF$UHO<R$BD<$CNG<IB$EF<F$BD<$CHIBKHN$CHII<CBGHI$BH$F<IO$

:$91/>$CHUU:IO$BH$BD<$F<KS<K$:IO$BD<I$K<C<GS<F$:$F<KS<K$09$:OOK<FF$:IO$F<KS<K$JHKB$IEUP<K$\KHU$

BD<$F<KS<KRvLwvMw$XDGCD$BD<$CNG<IB$BD<I$EF<F$BH$HJ<I$:$O:B:$CHII<CBGHI$\KHU$:I$:KPGBK:KQ$CNG<IB$JHKB$BH$

BD<$F<KS<K$09$:OOK<FF$:IO$F<KS<K$JHKB$IEUP<K$K<C<GS<OVvew$#HBD$UHO<F$X<K<$EJO:B<O$GI$/<JB<UP<K$

6ppm$BH$FEJJHKB$09SMV$aEKBD<K$CD:I;<F$X<K<$GIBKHOEC<O$BH$BD<$J:FFGS<$UHO<$:B$BD:B$BGU<R$EJO:BGI;$

GB$BH$"/-"+!"!#)*66%1"#C,!"Vvmw$

!DGN<$BK:IF\<KKGI;$O:B:$HS<K$BD<$I<BXHK]R$\HEK$O:B:$K<JK<F<IB:BGHIF$C:I$P<$EF<O3$

• 1/&00$UHO<3$ EF<O$ \HK$ B<bBV$ f:B:$ GF$ CHIS<KB<OR$ G\$ I<<O<OR$ \KHU$ BD<$ F<IOGI;$ DHFBrF$ CD:K:CB<K$

K<JK<F<IB:BGHI$ BH$smYPGB$1/&00s$P<\HK<$ BK:IFUGFFGHIR$ :IO$ Z:;:GIR$ G\$ I<C<FF:KQ[$ BH$ BD<$ K<C<GSGI;$

DHFBrF$ CD:K:CB<K$ K<JK<F<IB:BGHIV$ 1F$ :$ CHIF<cE<IC<R$ BDGF$ UHO<$ GF$ GI:JJKHJKG:B<$ \HK$ \GN<F$ BD:B$

CHIB:GI$O:B:$HBD<K$BD:I$JN:GI$B<bBV$

• 0U:;<$UHO<$ZCHUUHINQ$C:NN<O$#GI:KQ$UHO<[3$BD<$F<IOGI;$U:CDGI<$F<IOF$<:CD$\GN<$PQB<$\HK$PQB<R$

:IO$ BD<$ K<CGJG<IB$ FBHK<F$ BD<$PQB<FBK<:U$:F$ GB$ K<C<GS<F$ GBV$ Z0U:;<$ UHO<$ FEJJHKB$ D:F$ P<<I$

K<CHUU<IO<O$\HK$:NN$GUJN<U<IB:BGHIF$H\$a%9[V$
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• "#&f0&$UHO<3$EF<$ \HK$JN:GI$ B<bB$P<BX<<I$DHFBF$EFGI;$ BD<$"#&f0&$CD:K:CB<K$ F<BV$%DGF$UHO<$ GF$

HBD<KXGF<$NG]<$1/&00$UHO<V$

• *HC:N$UHO<3$1NNHXF$BXH$CHUJEB<KF$XGBD$GO<IBGC:N$F<BEJF$BH$F<IO$O:B:$GI$:$JKHJKG<B:KQ$\HKU:B$

XGBDHEB$BD<$I<<O$BH$CHIS<KB$GB$BH$1/&00$

aHK$ B<bB$ \GN<FR$OG\\<K<IB$ \HKU:B$ CHIBKHN$ :IO$ K<CHKO$ FBKECBEK<$HJBGHIF$:K<$JKHSGO<OV$%D<F<$ \<:BEK<F$

X<K<$O<FG;I<O$BH$\:CGNGB:B<$\GN<F$CHIB:GIGI;$%<NI<B$HK$1/1$

f:B:$BK:IF\<K$C:I$P<$OHI<$GI$:IQ$H\$BDK<<$UHO<F3v6wv4w$

• /BK<:U$UHO<3$f:B:$ GF$ F<IB$ :F$ :$ CHIBGIEHEF$ FBK<:UR$ K<NG<SGI;$a%9$ \KHU$OHGI;$ :IQ$JKHC<FFGI;V$

?:BD<KR$ :NN$ JKHC<FFGI;$ GF$ N<\B$ EJ$ BH$%&9V$(H$ "IOYH\Y\GN<$ GIOGC:BHK$ GF$ I<<O<OR$ EIN<FF$ BD<$ O:B:$ GF$

OGSGO<O$GIBH$K<CHKOFV$

• #NHC]$UHO<3$a%9$PK<:]F$BD<$O:B:$GIBH$F<S<K:N$PNHC]F$ZPNHC]$D<:O<KR$PQB<$CHEIBR$:IO$O:B:$\G<NO[$

:IO$BD<I$J:FF<F$GB$HI$BH$%&9VvAw$

• &HUJK<FF<O$UHO<3$f:B:$GF$CHUJK<FF<O$EFGI;$:$FGI;N<$:N;HKGBDU$ZEFE:NNQ$KEIYN<I;BD$<ICHOGI;[V$

*96.2$

a%9$NH;GI$EBGNGW<F$:$IHKU:N$EF<KI:U<F$:IO$J:FFXHKO$FCD<U<$\HK$;K:IBGI;$:CC<FFVv4w$%D<$EF<KI:U<$

GF$ F<IB$ BH$ BD<$ F<KS<K$ EFGI;$ BD<$ ./"?$ CHUU:IOR$ :IO$ BD<$ J:FFXHKO$ GF$ F<IB$ EFGI;$ BD<$ 91//$

CHUU:IOVv4w$0\$BD<$GI\HKU:BGHI$JKHSGO<O$PQ$BD<$CNG<IB$GF$:CC<JB<O$PQ$BD<$F<KS<KR$BD<$F<KS<K$XGNN$F<IO$

:$;K<<BGI;$ BH$ BD<$CNG<IB$:IO$ BD<$F<FFGHI$XGNN$ CHUU<IC<Vv4w$0\$ BD<$ F<KS<K$ FEJJHKBF$ GBR$EF<KF$U:Q$ NH;$

GI$XGBDHEB$JKHSGOGI;$ NH;GI$CK<O<IBG:NFR$PEB$ BD<$F:U<$F<KS<K$U:Q$:EBDHKGW<$HINQ$ NGUGB<O$:CC<FF$ \HK$

FECD$F<FFGHIFVv4w$

F292DM9C4$-%V$

1$DHFB$BD:B$JKHSGO<F$:I$a%9$F<KSGC<$U:Q$JKHSGO<$:IHIQUHEF$a%9$:CC<FFVv4w$.F<KF$BQJGC:NNQ$NH;$GIBH$

BD<$ F<KSGC<$ XGBD$ :I$ r:IHIQUHEFr$ ZNHX<KYC:F<$ :IO$ C:F<YF<IFGBGS<$ GI$ FHU<$ a%9$ F<KS<KF[$ :CCHEIB$

XD<I$ JKHUJB<O$ \HK$ EF<K$ I:U<V$ 1NBDHE;D$ EF<KF$ :K<$ CHUUHINQ$ :F]<O$ BH$ F<IO$ BD<GK$<U:GN$:OOK<FF$

GIFB<:O$ H\$ :$ J:FFXHKORv7w$IH$ S<KG\GC:BGHI$ GF$ :CBE:NNQ$ J<K\HKU<O$ HI$ BD<$ FEJJNG<O$ O:B:Vvpw$=:IQ$ a%9$

DHFBF$XDHF<$JEKJHF<$GF$BH$JKHSGO<$FH\BX:K<$EJO:B<F$XGNN$JKHSGO<$:IHIQUHEF$NH;GIFVv7w$

(F%$723$T.10<7::$817/0147:$

a%9$ IHKU:NNQ$ BK:IF\<KF$ O:B:$ PQ$ D:SGI;$ BD<$ F<KS<K$ CHII<CB$ P:C]$ BH$ BD<$ CNG<IBR$ :\B<K$ BD<$ 9)?%$

CHUU:IO$GF$F<IB$PQ$BD<$CNG<IBV$%DGF$GF$JKHPN<U:BGC$\HK$PHBD$(1%F:IO$\GK<X:NNFR$XDGCD$OH$IHB$:NNHX$

CHII<CBGHIF$ \KHU$ BD<$ 0IB<KI<B$ BHX:KOF$ GIB<KI:N$DHFBFVv65w$aHK$(1%FR$ :I$ :OOGBGHI:N$ CHUJNGC:BGHI$ GF$

BD:B$ BD<$ K<JK<F<IB:BGHI$H\$ BD<$ 09$ :OOK<FF<F$ :IO$JHKB$IEUP<K$ GI$ BD<$9)?%$CHUU:IO$ K<\<K$ BH$ BD<$

GIB<KI:N$DHFBrF$09$:OOK<FF$:IO$JHKBR$K:BD<K$BD:I$BD<$JEPNGC$09$:OOK<FF$:IO$JHKB$H\$BD<$(1%V$

%D<K<$:K<$BXH$:JJKH:CD<F$BH$BDGF$JKHPN<UV$)I<$GF$BD:B$BD<$a%9$CNG<IB$:IO$a%9$F<KS<K$EF<$BD<$91/>$

CHUU:IOR$ XDGCD$ C:EF<F$ BD<$ O:B:$ CHII<CBGHI$ BH$ P<$ <FB:PNGFD<O$ \KHU$ BD<$ a%9$ CNG<IB$ BH$ BD<$
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F<KS<KVv65w$%DGF$GF$XGO<NQ$EF<O$PQ$UHO<KI$a%9$CNG<IBFV$1IHBD<K$:JJKH:CD$GF$\HK$BD<$(1%$BH$:NB<K$BD<$

S:NE<F$H\$BD<$9)?%$CHUU:IOR$EFGI;$:I$:JJNGC:BGHIYN<S<N$;:B<X:Q$\HK$BDGF$JEKJHF<Vv65w$

5.TT0102>04$T19M$'%%V$

a%9$GF$CHIFGO<K<O$:I$,'-2,K2E*+!$JKHBHCHNR$:F$HJJHF<O$BH$:I$%+2E*+!$JKHBHCHN$FECD$:F$'%%9Vv66w$

!<P$PKHXF<K$FEJJHKB$

=HFB$ CHUUHI$X<P$ PKHXF<KF$C:I$ K<BKG<S<$ \GN<F$ DHFB<O$ HI$ a%9$ F<KS<KFR$ :NBDHE;D$ BD<Q$ U:Q$ IHB$

FEJJHKB$ JKHBHCHN$ <bB<IFGHIF$ FECD$ :F$a%9/Vv7wv64w$!D<I$ :I$ a%9xK:BD<K$ BD:I$ :I$ '%%9x.?*$GF$

FEJJNG<OR$BD<$:CC<FFGPN<$CHIB<IBF$HI$BD<$K<UHB<$F<KS<K$:K<$JK<F<IB<O$GI$:$U:II<K$BD:B$GF$FGUGN:K$BH$

BD:B$EF<O$\HK$HBD<K$!<P$CHIB<IBV$1$\ENNY\<:BEK<O$a%9$CNG<IB$C:I$P<$KEI$XGBDGI$aGK<\Hb$GI$BD<$\HKU$H\$

:I$<bB<IFGHI$C:NN<O$aGK<a%9$

GD287=$

a%9$ .?*$ FQIB:b$ GF$ O<FCKGP<O$ GI$ ?a&6L7mRv67w$B:]GI;$ BD<$

\HKU3$\BJ3__v}EF<K~v3}J:FFXHKO~wÄw}DHFB~v3}JHKB~w_}EKNYJ:BD~v67w$Z%D<$ PK:C]<B<O$ J:KBF$ :K<$

HJBGHI:NV[$aHK$<b:UJN<3$\BJ3__JEPNGCV\BJYF<KS<KFV<b:UJN<VCHU_UQOGK<CBHKQ_UQ\GN<VBbB$

HK3$\BJ3__EF<K5563F<CK<BJ:FFXHKOÄJKGS:B<V\BJYF<KS<KFV<b:UJN<VCHU_UQOGK<CBHKQ_UQ\GN<VBbB$

=HK<$ O<B:GNF$ HI$ FJ<CG\QGI;$ :$ EF<KI:U<$ :IO$ J:FFXHKO$ U:Q$ P<$ \HEIO$ GI$ BD<$ PKHXF<KFr$

OHCEU<IB:BGHIR$ FECD$ :FR$ \HK$ <b:UJN<R$aGK<\Hb$v6Aw$:IO$0IB<KI<B$ "bJNHK<KVv6ew#Q$ O<\:ENBR$ UHFB$ X<P$

PKHXF<KF$EF<$J:FFGS<$Z91/>[$UHO<R$XDGCD$UHK<$<:FGNQ$BK:S<KF<F$<IOYEF<K$\GK<X:NNFV$

/<CEKGBQ$

a%9$X:F$ IHB$ O<FG;I<O$ BH$ P<$ :$ F<CEK<$ JKHBHCHNx<FJ<CG:NNQ$ PQ$ BHO:QrF$ FB:IO:KOFx:IO$ D:F$U:IQ$

F<CEKGBQ$X<:]I<FF<FVv6Mw$0I$=:Q$6pppR$BD<$:EBDHKF$H\$?a&$4eLL$NGFB<O$:$SENI<K:PGNGBQ$BH$BD<$\HNNHXGI;$

JKHPN<UF3$ Brute force attacks, Bounce attacks, Packet capture (sniffing), Port stealing, Spoof attacks & 

Username protection.$

a%9$GF$IHB$:PN<$BH$<ICKQJB$GBF$BK:\\GC^$:NN$BK:IFUGFFGHIF$:K<$GI$CN<:K$B<bBR$:IO$EF<KI:U<FR$J:FFXHKOFR$

CHUU:IOF$:IO$O:B:$C:I$P<$<:FGNQ$K<:O$PQ$:IQHI<$:PN<$BH$J<K\HKU$J:C]<B$C:JBEK<$ZFIG\\GI;[$HI$BD<$

I<BXHK]Vv4wv6Mw$%DGF$ JKHPN<U$ GF$ CHUUHI$ BH$ U:IQ$ H\$ BD<$ 0IB<KI<B$ 9KHBHCHN$ FJ<CG\GC:BGHIF$ ZFECD$

:F$/=%9R$%<NI<BR$ 9)9$ :IO$ 0=19[$ BD:B$ X<K<$ O<FG;I<O$ JKGHK$ BH$ BD<$ CK<:BGHI$ H\$ <ICKQJBGHI$

U<CD:IGFUF$FECD$:F$%*/$HK$//*VvAw$1$CHUUHI$FHNEBGHI$BH$BDGF$JKHPN<U$GF$BH$EF<$BD<$sF<CEK<sR$%*/Y

JKHB<CB<O$ S<KFGHIF$ H\$ BD<$ GIF<CEK<$ JKHBHCHNF$ Z<V;V$a%9/$\HK$ a%9R$ %<NI<B/$ \HK$%<NI<BR$ <BCV[$ HK$ :$

OG\\<K<IBR$UHK<$F<CEK<$JKHBHCHN$BD:B$C:I$D:ION<$BD<$dHPR$FECD$:F$BD<$/a%9_/&9$BHHNF$GICNEO<O$XGBD$

UHFB$GUJN<U<IB:BGHIF$H\$BD<$/<CEK<$/D<NN$JKHBHCHNV$
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G0>C10$-%V$

%D<K<$:K<$F<S<K:N$U<BDHOF$H\$F<CEK<NQ$BK:IF\<KKGI;$\GN<F$BD:B$D:S<$P<<I$C:NN<O$s/<CEK<$a%9s$:B$HI<$

JHGIB$HK$:IHBD<KV$

!"#$%

"bJNGCGB$a%9/$GF$:I$<bB<IFGHI$BH$BD<$a%9$FB:IO:KO$BD:B$:NNHXF$CNG<IBF$BH$K<cE<FB$BD:B$BD<$a%9$F<FFGHI$

P<$ <ICKQJB<OV$ %DGF$ GF$ OHI<$ PQ$ F<IOGI;$ BD<$ s1.%'$ %*/s$ CHUU:IOV$ %D<$ F<KS<K$ D:F$ BD<$ HJBGHI$ H\$

:NNHXGI;$HK$O<IQGI;$CHII<CBGHIF$BD:B$OH$IHB$K<cE<FB$%*/V$%DGF$JKHBHCHN$<bB<IFGHI$GF$O<\GI<O$GI$BD<$

JKHJHF<O$FB:IO:KO3?a&$A46LV$0UJNGCGB$a%9/$GF$:$O<JK<C:B<O$FB:IO:KO$\HK$a%9$BD:B$K<cEGK<O$BD<$EF<$

H\$:$//*$HK$%*/$CHII<CBGHIV$0B$X:F$FJ<CG\G<O$BH$EF<$OG\\<K<IB$JHKBF$BD:I$JN:GI$a%9V$

$!"#%

/a%9R$BD<$s//'$aGN<$%K:IF\<K$9KHBHCHNRs$ GF$IHB$K<N:B<O$BH$a%9$<bC<JB$BD:B$ GB$:NFH$BK:IF\<KF$\GN<F$:IO$

D:F$:$FGUGN:K$CHUU:IO$F<B$\HK$EF<KFV$/a%9R$HK$F<CEK<$a%9R$GF$:$JKH;K:U$BD:B$EF<F$/<CEK<$/D<NN$Z//'[$

BH$BK:IF\<K$\GN<FV$.ING]<$FB:IO:KO$a%9R$GB$<ICKQJBF$PHBD$CHUU:IOF$:IO$O:B:R$JK<S<IBGI;$J:FFXHKOF$

:IO$F<IFGBGS<$GI\HKU:BGHI$\KHU$P<GI;$BK:IFUGBB<O$HJ<INQ$HS<K$BD<$I<BXHK]V$0B$GF$\EICBGHI:NNQ$FGUGN:K$

BH$a%9R$PEB$P<C:EF<$GB$EF<F$:$OG\\<K<IB$JKHBHCHNR$FB:IO:KO$a%9$CNG<IBF$C:IIHB$P<$EF<O$BH$B:N]$BH$:I$

/a%9$F<KS<KR$IHK$C:I$HI<$CHII<CB$BH$:I$a%9$F<KS<K$XGBD$:$CNG<IB$BD:B$FEJJHKBF$HINQ$/a%9V$

!"#%&'()%$$*%+,&-%$!"#.%

a%9$ HS<K$ //'$ ZIHB$ /a%9[$ K<\<KF$ BH$ BD<$ JK:CBGC<$ H\$ BEII<NGI;$ :$ IHKU:N$ a%9$ F<FFGHI$ HS<K$

:I$//'$CHII<CBGHIVv6Mw$#<C:EF<$a%9$EF<F$UENBGJN<$%&9$CHII<CBGHIF$ ZEIEFE:N$ \HK$:$%&9_09$JKHBHCHN$

BD:B$GF$FBGNN$GI$EF<[R$GB$GF$J:KBGCEN:KNQ$OG\\GCENB$BH$BEII<N$HS<K$//'V$!GBD$U:IQ$//'$CNG<IBFR$:BB<UJBGI;$

BH$ F<B$ EJ$ :$ BEII<N$ \HK$ BD<$5,+-$,8# 5.*++"8$ZBD<$ GIGBG:N$ CNG<IBYBHYF<KS<K$ CHII<CBGHI$ HI$JHKB$ 46[$XGNN$

JKHB<CB$HINQ$BD:B$CD:II<N^$XD<I$O:B:$GF$BK:IF\<KK<OR$BD<$a%9$FH\BX:K<$:B$<GBD<K$<IO$XGNN$F<B$EJ$I<X$

%&9$ CHII<CBGHIF$ Z!*-*# 5.*++"86[R$ XDGCD$ PQJ:FF$ BD<$ //'$ CHII<CBGHI$ :IO$ BDEF$ D:S<$

IH$CHI\GO<IBG:NGBQ$HK$GIB<;KGBQ$JKHB<CBGHIR$<BCV$

)BD<KXGF<R$ GB$ GF$ I<C<FF:KQ$ \HK$ BD<$ //'$ CNG<IB$ FH\BX:K<$ BH$ D:S<$ FJ<CG\GC$ ]IHXN<O;<$ H\$ BD<$ a%9$

JKHBHCHNR$ BH$ UHIGBHK$ :IO$ K<XKGB<$ a%9$ CHIBKHN$ CD:II<N$ U<FF:;<F$ :IO$ :EBHIHUHEFNQ$ HJ<I$

I<X$J:C]<B$\HKX:KOGI;F$\HK$a%9$O:B:$CD:II<NFV$/H\BX:K<$J:C]:;<F$BD:B$FEJJHKB$BDGF$UHO<$GICNEO<3$

• %<CBG:$&HII<CB/<CEK<$Z!GI_*GIEb_.IGb[$H\$//'$&HUUEIGC:BGHIF$/<CEKGBQrF$FH\BX:K<$FEGB<$

• %<CBG:$/<KS<K$\HK$0#=$W_)/$H\$//'$&HUUEIGC:BGHIF$/<CEKGBQrF$FH\BX:K<$FEGB<$

• a)(&$ZBD<$+9*$NGC<IF<O[$

• &H3n$a%9//'$9KHbQ$

a%9$ HS<K$ //'$ GF$ FHU<BGU<F$ K<\<KK<O$ BH$ :F$6"5'$"# IBD^$ BDGF$ FDHENO$ IHB$ P<$ CHI\EF<O$ XGBD$ HBD<K$

U<BDHOF$H\$ F<CEKGI;$a%9R$ FECD$:F$//*_%*/$ Za%9/[V$)BD<K$U<BDHOF$H\$ BK:IF\<KKGI;$ \GN<F$EFGI;$//'$
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BD:B$ :K<$ IHB$ K<N:B<O$ BH$ a%9$ GICNEO<$ /a%9$ :IO$/&9^$ GI$ <:CD$ H\$ BD<F<R$ BD<$ <IBGK<$ CHIS<KF:BGHI$

ZCK<O<IBG:NF$:IO$O:B:[$GF$:NX:QF$JKHB<CB<O$PQ$BD<$//'$JKHBHCHNV$

 

AV '%%9$

%D<$ 'QJ<KB<bB$ %K:IF\<K$ 9KHBHCHN$ GF$ :I$ :JJNGC:BGHI$ JKHBHCHN$ \HK$ OGFBKGPEB<OR$ CHNN:PHK:BGS<R$

DQJ<KU<OG:$ GI\HKU:BGHI$ FQFB<UFV$ '%%9$ GF$ BD<$ \HEIO:BGHI$ H\$ O:B:$ CHUUEIGC:BGHI$ \HK$ BD<$!HKNO$

!GO<$!<PV$

'QJ<KB<bB$ GF$ :$UENBGYNGI<:K$ F<B$H\$HPd<CBFR$PEGNOGI;$:$I<BXHK]$PQ$EFGI;$ NH;GC:N$ NGI]F$ ZBD<$ FHYC:NN<O$

DQJ<KNGI]F[$P<BX<<I$BD<$IHO<F$Z<V;V$ B<bB$HK$XHKOF[V$'%%9$ GF$ BD<$JKHBHCHN$ BH$<bCD:I;<$HK$ BK:IF\<K$

DQJ<KB<bBV$

'%%9$ \EICBGHIF$ :F$ :$ K<cE<FBYK<FJHIF<$ JKHBHCHN$ GI$ BD<$ CNG<IBYF<KS<K$ CHUJEBGI;$ UHO<NV$ 1$ X<P$

PKHXF<KR$\HK$<b:UJN<R$U:Q$P<$BD<$CNG<IB$:IO$:I$:JJNGC:BGHI$KEIIGI;$HI$:$CHUJEB<K$DHFBGI;$:$X<P$

FGB<$U:Q$P<$BD<$F<KS<KV$

1$X<P$PKHXF<K$GF$:I$<b:UJN<$H\$:$EF<K$:;<IB$Z.1[V$)BD<K$BQJ<F$H\$EF<K$:;<IB$GICNEO<$BD<$GIO<bGI;$

FH\BX:K<$EF<O$PQ$F<:KCD$JKHSGO<KF$ZX<P$CK:XN<KF[R$SHGC<$PKHXF<KFR$UHPGN<$:JJF$:IO$HBD<K$FH\BX:K<$

BD:B$:CC<FF<FR$CHIFEU<F$HK$OGFJN:QF$X<P$CHIB<IBV$

'%%9$GF$O<FG;I<O$BH$J<KUGB$GIB<KU<OG:B<$I<BXHK]$<N<U<IBF$BH$GUJKHS<$HK$<I:PN<$CHUUEIGC:BGHIF$

P<BX<<I$CNG<IBF$:IO$F<KS<KFV$'G;DYBK:\\GC$X<PFGB<F$H\B<I$P<I<\GB$\KHU$X<P$C:CD<$F<KS<KF$BD:B$O<NGS<K$

CHIB<IB$HI$P<D:N\$H\$EJFBK<:U$F<KS<KF$BH$GUJKHS<$K<FJHIF<$BGU<V$!<P$PKHXF<KF$C:CD<$JK<SGHEFNQ$

:CC<FF<O$ X<P$ K<FHEKC<F$ :IO$ K<EF<$ BD<U$ XD<I$ JHFFGPN<$ BH$ K<OEC<$ I<BXHK]$ BK:\\GCV$ '%%9$ JKHbQ$

F<KS<KF$:B$JKGS:B<$I<BXHK]$PHEIO:KG<F$C:I$\:CGNGB:B<$CHUUEIGC:BGHI$\HK$CNG<IBF$XGBDHEB$:$;NHP:NNQ$

KHEB:PN<$:OOK<FFR$PQ$K<N:QGI;$U<FF:;<F$XGBD$<bB<KI:N$F<KS<KFV$

?<cE<FB$U<BDHOF$

1I$ '%%9$ K<cE<FB$ U:O<$ EFGI;$ B<NI<BV$ %D<$ K<cE<FBR$ K<FJHIF<$ D<:O<KF$ :IO$ K<FJHIF<$ PHOQ$ :K<$

DG;DNG;DB<OV$

'%%9$ O<\GI<F$ U<BDHOF$ ZFHU<BGU<F$ K<\<KK<O$ BH$ :F$ S<KPF[$ BH$ GIOGC:B<$ BD<$ O<FGK<O$ :CBGHI$ BH$ P<$

J<K\HKU<O$HI$BD<$GO<IBG\G<O$K<FHEKC<V$!D:B$BDGF$K<FHEKC<$K<JK<F<IBFR$XD<BD<K$JK<Y<bGFBGI;$O:B:$HK$

O:B:$ BD:B$ GF$ ;<I<K:B<O$ OQI:UGC:NNQR$ O<J<IOF$ HI$ BD<$ GUJN<U<IB:BGHI$ H\$ BD<$ F<KS<KV$ )\B<IR$ BD<$

K<FHEKC<$CHKK<FJHIOF$BH$:$\GN<$HK$BD<$HEBJEB$H\$:I$<b<CEB:PN<$K<FGOGI;$HI$BD<$F<KS<KV$

+"%$'"1f$9)/%$$9.%$f"*"%"$%?1&"$)9%0)(/$&)(("&%$91%&'$

/:\<$U<BDHOF$
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/HU<$U<BDHOF$Z\HK$<b:UJN<R$'"1fR$+"%R$)9%0)(/$:IO$%?1&"[$:K<$O<\GI<O$:F$F:\<R$XDGCD$U<:IF$

BD<Q$:K<$GIB<IO<O$HINQ$\HK$ GI\HKU:BGHI$K<BKG<S:N$:IO$FDHENO$IHB$CD:I;<$BD<$FB:B<$H\$BD<$F<KS<KV$ 0I$

HBD<K$XHKOFR$BD<Q$FDHENO$IHB$D:S<$FGO<$<\\<CBFR$P<QHIO$K<N:BGS<NQ$D:KUN<FF$<\\<CBF$FECD$:F$NH;;GI;R$

C:CDGI;R$BD<$F<KSGI;$H\$P:II<K$:OS<KBGF<U<IBF$HK$GICK<U<IBGI;$:$X<P$CHEIB<KV$

#Q$CHIBK:FBR$U<BDHOF$FECD$:F$9)/%R$9.%$:IO$f"*"%"$:K<$GIB<IO<O$\HK$:CBGHIF$BD:B$U:Q$C:EF<$FGO<$

<\\<CBF$<GBD<K$HI$BD<$F<KS<KR$HK$<bB<KI:N$FGO<$<\\<CBF$FECD$:F$\GI:ICG:N$BK:IF:CBGHIF$HK$BK:IFUGFFGHI$H\$

<U:GNV$

'%%9$F<FFGHI$FB:B<$Y$'%%9$GF$:$FB:B<N<FF$JKHBHCHNV$1$FB:B<N<FF$JKHBHCHN$OH<F$IHB$K<cEGK<$BD<$'%%9$

F<KS<K$ BH$ K<B:GI$ GI\HKU:BGHI$ HK$ FB:BEF$ :PHEB$ <:CD$ EF<K$ \HK$ BD<$ OEK:BGHI$ H\$ UENBGJN<$ K<cE<FBFV$

'HX<S<KR$FHU<$X<P$:JJNGC:BGHIF$GUJN<U<IB$FB:B<F$HK$F<KS<K$FGO<$F<FFGHIF$EFGI;$HI<$HK$UHK<$H\$BD<$

\HNNHXGI;$U<BDHOF3$

'%%9$CHH]G<FV$

-E<KQ$FBKGI;$J:K:U<B<KFR$\HK$<b:UJN<R$_GIO<bVJDJjF<FFGHIgGO|FHU<gEIGcE<gF<FFGHIgCHO<V$

'GOO<I$S:KG:PN<F$XGBDGI$X<P$\HKUFV$

/<CEK<$'%%9$ Y$%D<K<$:K<$ BDK<<$U<BDHOF$H\$<FB:PNGFDGI;$:$F<CEK<$'%%9$CHII<CBGHI3$'%%9$/<CEK<R$

/<CEK<$'QJ<KB<bB$%K:IF\<K$9KHBHCHN$:IO$BD<$'%%9_6V6$.J;K:O<$D<:O<KV$

?<cE<FB$U<FF:;<$Y$%D<$K<cE<FB$U<FF:;<$CHIFGFBF$H\$BD<$\HNNHXGI;3$

1$ K<cE<FB$ NGI<R$ \HK$ <b:UJN<$ +"%$ _GU:;<F_NH;HVJI;$ '%%9_6V6R$ XDGCD$ K<cE<FBF$ :$ K<FHEKC<$ C:NN<O$

_GU:;<F_NH;HVJI;$\KHU$BD<$F<KS<KV$

?<FJHIF<$U<FF:;<$Y$%D<$K<FJHIF<$U<FF:;<$CHIFGFBF$H\$BD<$\HNNHXGI;3$

1$/B:BEFY*GI<$Z\HK$<b:UJN<$'%%9_6V6$455$)2R$XDGCD$GIOGC:B<F$BD:B$BD<$CNG<IBrF$K<cE<FB$FECC<<O<O[V$
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eV /)19$

/GUJN<$)Pd<CB$1CC<FF$9KHBHCHNR$GF$:$JKHBHCHN$FJ<CG\GC:BGHI$\HK$<bCD:I;GI;$FBKECBEK<O$GI\HKU:BGHI$GI$

BD<$ GUJN<U<IB:BGHI$ H\$ !<P$ /<KSGC<F$ GI$ CHUJEB<K$ I<BXHK]FV$ 0B$ K<NG<F$ HI$ "bB<IFGPN<$ =:K]EJ$

*:I;E:;<$ Zy=*[$ \HK$ GBF$U<FF:;<$ \HKU:BR$ :IO$EFE:NNQ$ K<NG<F$ HI$HBD<K$1JJNGC:BGHI$*:Q<K$JKHBHCHNFR$

UHFB$ IHB:PNQ$ 'QJ<KB<bB$ %K:IF\<K$ 9KHBHCHN$ Z'%%9[$ HK$ /GUJN<$=:GN$ %K:IF\<K$ 9KHBHCHN$ Z/=%9[R$ \HK$

U<FF:;<$I<;HBG:BGHI$:IO$BK:IFUGFFGHIV$

&D:K:CB<KGFBGCF$

/)19$C:I$\HKU$BD<$\HEIO:BGHI$N:Q<K$H\$:$X<P$F<KSGC<F$JKHBHCHN$FB:C]R$JKHSGOGI;$:$P:FGC$U<FF:;GI;$

\K:U<XHK]$EJHI$XDGCD$X<P$F<KSGC<F$C:I$P<$PEGNBV$%DGF$y=*$P:F<O$JKHBHCHN$CHIFGFBF$H\$BDK<<$J:KBF3$

:I$<IS<NHJ<R$XDGCD$O<\GI<F$XD:B$GF$GI$BD<$U<FF:;<$:IO$DHX$BH$JKHC<FF$GBR$:$F<B$H\$<ICHOGI;$KEN<F$\HK$

<bJK<FFGI;$ GIFB:IC<F$ H\$ :JJNGC:BGHIYO<\GI<O$ O:B:BQJ<FR$ :IO$ :$ CHIS<IBGHI$ \HK$ K<JK<F<IBGI;$

JKHC<OEK<$C:NNF$:IO$K<FJHIF<FV$$

/)19$D:F$BDK<<$U:dHK$CD:K:CB<KGFBGCF3$$

"bB<IFGPGNGBQ$ZF<CEKGBQ$:IO$!/YKHEBGI;$:K<$:UHI;$BD<$<bB<IFGHIF$EIO<K$O<S<NHJU<IB[R$$

(<EBK:NGBQ$Z/)19$C:I$P<$EF<O$HS<K$:IQ$BK:IFJHKB$JKHBHCHN$FECD$:F$'%%9R$/=%9R$%&9R$HK$o=/[$$

0IO<J<IO<IC<$Z/)19$:NNHXF$\HK$:IQ$JKH;K:UUGI;$UHO<N[V$$

$

/)19$ HKG;GI:NNQ$ FBHHO$ \HK$ r/GUJN<$ )Pd<CB$ 1CC<FF$ 9KHBHCHNr$ PEB$ BDGF$ :CKHIQU$ X:F$ OKHJJ<O$ XGBD$

><KFGHI$6V4$H\$BD<$FB:IO:KOV$

1\B<K$ /)19$X:F$ \GKFB$ GIBKHOEC<OR$ GB$ P<C:U<$ BD<$ EIO<KNQGI;$ N:Q<K$ H\$ :$UHK<$ CHUJN<b$ F<B$ H\$!<P$

/<KSGC<FR$ P:F<O$ HI$ !<P$ /<KSGC<F$ f<FCKGJBGHI$ *:I;E:;<$ Z!/f*[$ :IO$ .IGS<KF:N$ f<FCKGJBGHI$

fGFCHS<KQ$:IO$0IB<;K:BGHI$Z.ff0[V$

/J<CG\GC:BGHI$

%D<$/)19$FJ<CG\GC:BGHI$O<\GI<F$BD<$U<FF:;GI;$\K:U<XHK]$XDGCD$CHIFGFBF$H\3$

%D<$/)19$JKHC<FFGI;$UHO<N$O<\GIGI;$BD<$KEN<F$\HK$JKHC<FFGI;$:$/)19$U<FF:;<$

%D<$/)19$<bB<IFGPGNGBQ$UHO<N$O<\GIGI;$BD<$CHIC<JBF$H\$/)19$\<:BEK<F$:IO$/)19$UHOEN<F$

%D<$/)19$EIO<KNQGI;$JKHBHCHN$PGIOGI;$\K:U<XHK]$O<FCKGPGI;$BD<$KEN<F$\HK$O<\GIGI;$:$PGIOGI;$BH$:I$

EIO<KNQGI;$JKHBHCHN$BD:B$C:I$P<$EF<O$\HK$<bCD:I;GI;$/)19$U<FF:;<F$P<BX<<I$/)19$IHO<F$

%D<$/)19$U<FF:;<$CHIFBKECB$O<\GIGI;$BD<$FBKECBEK<$H\$:$/)19$U<FF:;<V$
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9KHC<FFGI;$UHO<N$

%D<$ /)19$JKHC<FFGI;$UHO<N$O<FCKGP<F$ :$OGFBKGPEB<O$JKHC<FFGI;$UHO<NR$ GBF$ J:KBGCGJ:IBFR$ BD<$ /)19$

IHO<FR$:IO$DHX$:$/)19$K<C<GS<K$JKHC<FF<F$:$/)19$U<FF:;<V$%D<$\HNNHXGI;$/)19$IHO<F$:K<$O<\GI<O3$

/)19$F<IO<K3$1$/)19$IHO<$BD:B$BK:IFUGBF$:$/)19$U<FF:;<V$

/)19$K<C<GS<K3$1$/)19$IHO<$BD:B$:CC<JBF$:$/)19$U<FF:;<V$

/)19$U<FF:;<$J:BD3$%D<$F<B$H\$/)19$IHO<F$BDKHE;D$XDGCD$:$FGI;N<$/)19$U<FF:;<$J:FF<FV$

0IGBG:N$/)19$F<IO<K$Z)KG;GI:BHK[3$%D<$/)19$F<IO<K$BD:B$HKG;GI:B<F$:$/)19$U<FF:;<$:B$BD<$FB:KBGI;$

JHGIB$H\$:$/)19$U<FF:;<$J:BDV$

/)19$ GIB<KU<OG:KQ3$ 1$ /)19$ GIB<KU<OG:KQ$ GF$ PHBD$ :$ /)19$ K<C<GS<K$ :IO$ :$ /)19$ F<IO<K$ :IO$ GF$

B:K;<B:PN<$\KHU$XGBDGI$:$/)19$U<FF:;<V$0B$JKHC<FF<F$BD<$/)19$D<:O<K$PNHC]F$B:K;<B<O$:B$GB$:IO$:CBF$

BH$\HKX:KO$:$/)19$U<FF:;<$BHX:KOF$:I$ENBGU:B<$/)19$K<C<GS<KV$

.NBGU:B<$ /)19$ K<C<GS<K3$ %D<$ /)19$ K<C<GS<K$ BD:B$ GF$ :$ \GI:N$ O<FBGI:BGHI$ H\$ :$ /)19$ U<FF:;<V$ 0B$ GF$

K<FJHIFGPN<$\HK$JKHC<FFGI;$BD<$CHIB<IBF$H\$BD<$/)19$PHOQ$:IO$:IQ$/)19$D<:O<K$PNHC]F$B:K;<B<O$:B$

GBV$0I$FHU<$CGKCEUFB:IC<FR$:$/)19$U<FF:;<$UG;DB$IHB$K<:CD$:I$ENBGU:B<$/)19$K<C<GS<KR$\HK$<b:UJN<$

P<C:EF<$H\$ :$JKHPN<U$:B$:$/)19$ GIB<KU<OG:KQV$1I$ENBGU:B<$/)19$K<C<GS<K$ C:IIHB$:NFH$P<$:$/)19$

GIB<KU<OG:KQ$\HK$BD<$F:U<$/)19$U<FF:;<V$

%K:IFJHKB$U<BDHOF$

#HBD$/=%9$:IO$'%%9$:K<$S:NGO$:JJNGC:BGHI$N:Q<K$JKHBHCHNF$EF<O$:F$%K:IFJHKB$\HK$/)19R$PEB$'%%9$

D:F$ ;:GI<O$ XGO<K$ :CC<JB:IC<$ :F$ GB$ XHK]F$ X<NN$ XGBD$ BHO:QrF$ 0IB<KI<B$ GI\K:FBKECBEK<^$ FJ<CG\GC:NNQR$

'%%9$XHK]F$X<NN$XGBD$I<BXHK]$\GK<X:NNFV$/)19$U:Q$:NFH$P<$EF<O$HS<K$'%%9/V$

=<FF:;<$\HKU:B$

y=*$ X:F$ CDHF<I$ :F$ BD<$ FB:IO:KO$ U<FF:;<$ \HKU:B$ P<C:EF<$ H\$ GBF$ XGO<FJK<:O$ EF<$ PQ$ U:dHK$

CHKJHK:BGHIF$:IO$HJ<I$FHEKC<$O<S<NHJU<IB$<\\HKBFV$

1OS:IB:;<F3$

6V$ /)19$ GF$ S<KF:BGN<$ <IHE;D$ BH$ :NNHX$ \HK$ BD<$ EF<$ H\$ OG\\<K<IB$ BK:IFJHKB$ JKHBHCHNFV$ %D<$ FB:IO:KO$

FB:C]F$EF<$'%%9$:F$:$BK:IFJHKB$JKHBHCHNR$PEB$HBD<K$JKHBHCHNF$FECD$:F$o=/$:IO$/=%9$:K<$:NFH$EF:PN<V$

4V$/GIC<$BD<$/)19$UHO<N$ BEII<NF$ \GI<$ GI$ BD<$'%%9$JHFB_K<FJHIF<$UHO<NR$ GB$C:I$BEII<N$<:FGNQ$HS<K$

<bGFBGI;$\GK<X:NNF$:IO$JKHbG<FR$XGBDHEB$UHOG\GC:BGHIF$BH$BD<$/)19$JKHBHCHNR$:IO$C:I$EF<$BD<$<bGFBGI;$

GI\K:FBKECBEK<V$$
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fGF:OS:IB:;<F3$

6V$ #<C:EF<$ H\$ BD<$ S<KPHF<$ y=*$ \HKU:BR$ /)19$ C:I$ P<$ CHIFGO<K:PNQ$ FNHX<K$ BD:I$ CHUJ<BGI;$

UGOON<X:K<$ B<CDIHNH;G<F$ FECD$ :F$ &)?#1$ HK$ 0&"V$ %DGF$ U:Q$ IHB$ P<$ :I$ GFFE<$ XD<I$ HINQ$ FU:NN$

U<FF:;<F$:K<$F<IBV$

4V$!D<I$K<NQGI;$HI$'%%9$:F$:$BK:IFJHKB$JKHBHCHN$:IO$IHB$EFGI;$!/Y1OOK<FFGI;$HK$:I$"/#R$BD<$KHN<F$

H\$BD<$GIB<K:CBGI;$J:KBG<F$:K<$\Gb<OV$)INQ$HI<$J:KBQ$ZBD<$CNG<IB[$C:I$EF<$BD<$F<KSGC<F$H\$BD<$HBD<KV$$

$

$

MV >:KGHEF$9KHBHCHNF$GI$%&9_09$=HO<N3$

%&9_09$GF$P:F<O$HI$:$\HEKYN:Q<K$K<\<K<IC<$UHO<NV$1NN$JKHBHCHNF$BD:B$P<NHI;$BH$BD<$%&9_09$JKHBHCHN$

FEGB<$:K<$NHC:B<O$GI$BD<$BHJ$BDK<<$N:Q<KF$H\$BDGF$UHO<NV$

1F$FDHXI$GI$BD<$\HNNHXGI;$GNNEFBK:BGHIR$<:CD$N:Q<K$H\$BD<$%&9_09$UHO<N$CHKK<FJHIOF$BH$HI<$HK$UHK<$

N:Q<KF$ H\$ BD<$ F<S<IYN:Q<K$ )J<I$ /QFB<UF$ 0IB<KCHII<CBGHI$ Z)/0[$ K<\<K<IC<$UHO<N$ JKHJHF<O$ PQ$ BD<$

0IB<KI:BGHI:N$/B:IO:KOF$)K;:IGW:BGHI$Z0/)[V$

$

%D<$ BQJ<F$ H\$ F<KSGC<F$ J<K\HKU<O$ :IO$ JKHBHCHNF$ EF<O$ :B$ <:CD$ N:Q<K$XGBDGI$ BD<$ %&9_09$UHO<N$ :K<$

O<FCKGP<O$GI$UHK<$O<B:GN$P<NHX3$

6V$1JJNGC:BGHI$

f<\GI<F$ %&9_09$ :JJNGC:BGHI$ JKHBHCHNF$ :IO$ DHX$ DHFB$ JKH;K:UF$ GIB<K\:C<$ XGBD$ BK:IFJHKB$ N:Q<K$

F<KSGC<F$BH$EF<$BD<$I<BXHK]V$

'%%9R$%<NI<BR$a%9R$%a%9R$/(=9R$f(/R$/=%9R$y$!GIOHXFR$HBD<K$:JJNGC:BGHI$JKHBHCHNF$

4V$%K:IFJHKB$
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9KHSGO<F$CHUUEIGC:BGHI$F<FFGHI$U:I:;<U<IB$P<BX<<I$DHFB$CHUJEB<KFV$f<\GI<F$BD<$N<S<N$H\$F<KSGC<$

:IO$FB:BEF$H\$BD<$CHII<CBGHI$EF<O$XD<I$BK:IFJHKBGI;$O:B:V$

%&9R$.f9R$?%9$

7V$0IB<KI<B$

9:C]:;<F$O:B:$GIBH$09$O:B:;K:UFR$XDGCD$CHIB:GI$FHEKC<$:IO$O<FBGI:BGHI$:OOK<FF$GI\HKU:BGHI$BD:B$GF$

EF<O$ BH$ \HKX:KO$ BD<$ O:B:;K:UF$ P<BX<<I$ DHFBF$ :IO$ :CKHFF$ I<BXHK]FV$ 9<K\HKUF$ KHEBGI;$ H\$ 09$

O:B:;K:UFV$

09R$0&=9R$1?9R$?1?9$

AV$(<BXHK]$GIB<K\:C<$

/J<CG\G<F$ O<B:GNF$ H\$ DHX$ O:B:$ GF$ JDQFGC:NNQ$ F<IB$ BDKHE;D$ BD<$ I<BXHK]R$ GICNEOGI;$ DHX$ PGBF$ :K<$

<N<CBKGC:NNQ$FG;I:N<O$PQ$D:KOX:K<$O<SGC<F$ BD:B$ GIB<K\:C<$OGK<CBNQ$XGBD$:$I<BXHK]$U<OGEUR$FECD$:F$

CH:bG:N$C:PN<R$HJBGC:N$\GP<KR$HK$BXGFB<OYJ:GK$CHJJ<K$XGK<V$

"BD<KI<BR$%H]<I$?GI;R$aff0R$yV4eR$aK:U<$?<N:QR$?/Y474R$SV7eV$



!"#$%"&'()*)+,$-."/%0)($#1(2$3$4567$ eL$8$9 : ; < $
$

!""%&

!Q78$.4$BV([$

1$>GKBE:N$9KGS:B<$(<BXHK]$Z>9([$GF$:$I<BXHK]$B<CDIHNH;Q$BD:B$CK<:B<F$:$F<CEK<$I<BXHK]$CHII<CBGHI$

HS<K$:$JEPNGC$I<BXHK]$FECD$:F$BD<$0IB<KI<B$HK$:$JKGS:B<$I<BXHK]$HXI<O$PQ$:$F<KSGC<$JKHSGO<KV$*:K;<$

CHKJHK:BGHIFR$ <OEC:BGHI:N$ GIFBGBEBGHIFR$ :IO$ ;HS<KIU<IB$ :;<ICG<F$ EF<$ >9($ B<CDIHNH;Q$ BH$ <I:PN<$

K<UHB<$EF<KF$BH$F<CEK<NQ$CHII<CB$BH$:$JKGS:B<$I<BXHK]V$

1$>9($C:I$CHII<CB$UENBGJN<$FGB<F$HS<K$:$N:K;<$OGFB:IC<$dEFB$NG]<$:$!GO<$1K<:$(<BXHK]$Z!1([V$>9(F$

:K<$H\B<I$EF<O$BH$<bB<IO$GIBK:I<BF$XHKNOXGO<$BH$OGFF<UGI:B<$GI\HKU:BGHI$:IO$I<XF$BH$:$XGO<$EF<K$

P:F<V$ "OEC:BGHI:N$ GIFBGBEBGHIF$ EF<$ >9(F$ BH$ CHII<CB$ C:UJEF<F$ BD:B$ C:I$ P<$ OGFBKGPEB<O$ :CKHFF$ BD<$

CHEIBKQ$HK$:KHEIO$BD<$XHKNOV$

0I$ HKO<K$ BH$ ;:GI$ :CC<FF$ BH$ BD<$ JKGS:B<$ I<BXHK]R$ :$ EF<K$ UEFB$ P<$ :EBD<IBGC:B<O$ EFGI;$ :$ EIGcE<$

GO<IBG\GC:BGHI$ :IO$ :$ J:FFXHKOV$ 1I$ :EBD<IBGC:BGHI$ BH]<I$ GF$ H\B<I$ EF<O$ BH$ ;:GI$ :CC<FF$ BH$ :$ JKGS:B<$

I<BXHK]$BDKHE;D$:$J<KFHI:N$GO<IBG\GC:BGHI$IEUP<K$Z90([$BD:B$:$EF<K$UEFB$<IB<KV$%D<$90($GF$:$EIGcE<$

:EBD<IBGC:BGHI$CHO<$BD:B$CD:I;<F$:CCHKOGI;$BH$:$FJ<CG\GC$\K<cE<ICQR$EFE:NNQ$<S<KQ$75$F<CHIOF$HK$FHV$

V1989>9:4$

%D<K<$:K<$:$IEUP<K$H\$>9($JKHBHCHNF$GI$EF<$BD:B$F<CEK<$BD<$BK:IFJHKB$H\$O:B:$BK:\\GC$HS<K$:$JEPNGC$

I<BXHK]$GI\K:FBKECBEK<V$":CD$JKHBHCHN$S:KG<F$FNG;DBNQ$GI$BD<$X:Q$BD:B$O:B:$GF$]<JB$F<CEK<V$

09$F<CEKGBQ$Z09/<C[$GF$EF<O$BH$F<CEK<$CHUUEIGC:BGHIF$HS<K$BD<$0IB<KI<BV$09/<C$BK:\\GC$C:I$EF<$<GBD<K$

BK:IFJHKB$ UHO<$ HK$ BEII<NGI;$ BH$ <ICKQJB$ O:B:$ BK:\\GC$ GI$ :$ >9(V$ %D<$ OG\\<K<IC<$ P<BX<<I$ BD<$ BXH$

UHO<F$GF$BD:B$BK:IFJHKB$UHO<$<ICKQJBF$HINQ$BD<$U<FF:;<$XGBDGI$BD<$O:B:$J:C]<B$Z:NFH$]IHXI$:F$BD<$

J:QNH:O[$XDGN<$BEII<NGI;$<ICKQJBF$BD<$<IBGK<$O:B:$J:C]<BV$ 09/<C$GF$H\B<I$K<\<KK<O$BH$:F$:$sF<CEKGBQ$

HS<KN:Qs$P<C:EF<$H\$GBF$EF<$:F$:$F<CEKGBQ$N:Q<K$\HK$HBD<K$JKHBHCHNFV$

/<CEK<$ /HC]<BF$ *:Q<K$ Z//*[$ :IO$ %K:IFJHKB$ *:Q<K$ /<CEKGBQ$ Z%*/[$ EF<$ CKQJBH;K:JDQ$ BH$ F<CEK<$

CHUUEIGC:BGHIF$HS<K$BD<$0IB<KI<BV$#HBD$JKHBHCHNF$EF<$:$sD:IOFD:]<s$U<BDHO$H\$:EBD<IBGC:BGHI$BD:B$

GISHNS<F$ :$ I<;HBG:BGHI$ H\$ I<BXHK]$ J:K:U<B<KF$ P<BX<<I$ BD<$ CNG<IB$ :IO$ F<KS<K$ U:CDGI<FV$ %H$

FECC<FF\ENNQ$ GIGBG:B<$ :$ CHII<CBGHIR$ :I$ :EBD<IBGC:BGHI$ JKHC<FF$ GISHNSGI;$ C<KBG\GC:B<F$ GF$ EF<OV$

&<KBG\GC:B<F$:K<$CKQJBH;K:JDGC$]<QF$BD:B$:K<$FBHK<O$HI$PHBD$BD<$F<KS<K$:IO$CNG<IBV$

9HGIBY%HY9HGIB$%EII<NGI;$9KHBHCHN$Z99%9[$GF$:IHBD<K$BEII<NGI;$JKHBHCHN$EF<O$BH$CHII<CB$:$K<UHB<$

CNG<IB$ BH$ :$ JKGS:B<$ F<KS<K$ HS<K$ BD<$ 0IB<KI<BV$ 99%9$ GF$ HI<$ H\$ BD<$UHFB$XGO<NQ$ EF<O$>9($JKHBHCHNF$
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P<C:EF<$H\$GBrF$FBK:G;DB\HKX:KO$CHI\G;EK:BGHI$:IO$U:GIB<I:IC<$:IO$:NFH$P<C:EF<$GB$GF$GICNEO<O$XGBD$

BD<$!GIOHXF$HJ<K:BGI;$FQFB<UV$

*:Q<K$ 4$ %EII<NGI;$ 9KHBHCHN$ Z*4%9[$ GF$ :$ JKHBHCHN$ EF<O$ BH$ BEII<N$ O:B:$ CHUUEIGC:BGHIF$ BK:\\GC$

P<BX<<I$ BXH$ FGB<F$ HS<K$ BD<$ 0IB<KI<BV$ *4%9$ GF$ H\B<I$ EF<O$ GI$ B:IO<U$XGBD$ 09/<C$ ZXDGCD$ :CBF$ :F$ :$

F<CEKGBQ$ N:Q<K[$BH$F<CEK<$BD<$BK:IF\<K$H\$*4%9$O:B:$J:C]<BF$HS<K$BD<$0IB<KI<BV$.ING]<$99%9R$:$>9($

GUJN<U<IB:BGHI$EFGI;$*4%9_09/<C$K<cEGK<F$:$FD:K<O$]<Q$HK$BD<$EF<$H\$C<KBG\GC:B<FV$

>9($ B<CDIHNH;Q$ <UJNHQF$ FHJDGFBGC:B<O$ <ICKQJBGHI$ BH$ <IFEK<$ F<CEKGBQ$ :IO$ JK<S<IB$ :IQ$

EIGIB<IBGHI:N$ GIB<KC<JBGHI$H\$O:B:$P<BX<<I$JKGS:B<$FGB<FV$1NN$ BK:\\GC$HS<K$:$>9($GF$<ICKQJB<O$EFGI;$

:N;HKGBDUF$BH$F<CEK<$O:B:$GIB<;KGBQ$:IO$JKGS:CQV$>9($:KCDGB<CBEK<$GF$;HS<KI<O$PQ$:$FBKGCB$F<B$H\$KEN<F$

:IO$ FB:IO:KOF$ BH$ <IFEK<$ :$ JKGS:B<$ CHUUEIGC:BGHI$ CD:II<N$ P<BX<<I$ FGB<FV$ &HKJHK:B<$ I<BXHK]$

:OUGIGFBK:BHKF$:K<$K<FJHIFGPN<$\HK$O<CGOGI;$BD<$FCHJ<$H\$:$>9(R$GUJN<U<IBGI;$:IO$O<JNHQGI;$:$>9(R$

:IO$ HI;HGI;$ UHIGBHKGI;$ H\$ I<BXHK]$ BK:\\GC$ :CKHFF$ BD<$ I<BXHK]$ \GK<X:NNV$ 1$ >9($ K<cEGK<F$

:OUGIGFBK:BHKF$ BH$ P<$ CHIBGIE:NNQ$ P<$ :X:K<$ H\$ BD<$ HS<K:NN$ :KCDGB<CBEK<$ :IO$ FCHJ<$ H\$ BD<$ >9($ BH$

<IFEK<$CHUUEIGC:BGHIF$:K<$]<JB$JKGS:B<V$

F3/7287604$

1$>9($GF$:$GI<bJ<IFGS<$<\\<CBGS<$X:Q$H\$PEGNOGI;$:$JKGS:B<$I<BXHK]V$%D<$EF<$H\$BD<$0IB<KI<B$:F$BD<$

U:GI$ CHUUEIGC:BGHIF$ CD:II<N$ P<BX<<I$ FGB<F$ GF$ :$ CHFB$ <\\<CBGS<$ :NB<KI:BGS<$ BH$ <bJ<IFGS<$ N<:F<O$

JKGS:B<$NGI<FV$%D<$CHFBF$BH$:$CHKJHK:BGHI$GICNEO<$BD<$I<BXHK]$:EBD<IBGC:BGHI$D:KOX:K<$:IO$FH\BX:K<$

EF<O$BH$:EBD<IBGC:B<$EF<KF$:IO$:IQ$:OOGBGHI:N$U<CD:IGFUF$FECD$:F$:EBD<IBGC:BGHI$BH]<IF$HK$HBD<K$

F<CEK<$O<SGC<FV$%D<$K<N:BGS<$<:F<R$FJ<<OR$:IO$\N<bGPGNGBQ$H\$>9($JKHSGFGHIGI;$GI$CHUJ:KGFHI$BH$N<:F<O$

NGI<F$U:]<F$>9(F$:I$GO<:N$CDHGC<$\HK$CHKJHK:BGHIF$XDH$K<cEGK<$\N<bGPGNGBQV$aHK$<b:UJN<R$:$CHUJ:IQ$

C:I$:OdEFB$BD<$IEUP<K$H\$FGB<F$GI$BD<$>9($:CCHKOGI;$BH$CD:I;GI;$K<cEGK<U<IBFV$

5.473/7287604$

%D<K<$ :K<$ F<S<K:N$ JHB<IBG:N$ OGF:OS:IB:;<F$ XGBD$ >9($ EF<V$ %D<$ N:C]$ H\$ -E:NGBQ$ H\$ /<KSGC<$ Z-H/[$

U:I:;<U<IB$ HS<K$ BD<$ 0IB<KI<B$ C:I$ C:EF<$ J:C]<B$ NHFF$ :IO$ HBD<K$ J<K\HKU:IC<$ GFFE<FV$ 1OS<KF<$

I<BXHK]$ CHIOGBGHIF$ BD:B$ HCCEK$ HEBFGO<$ H\$ BD<$ JKGS:B<$ I<BXHK]$ GF$ P<QHIO$ BD<$ CHIBKHN$ H\$ BD<$ >9($

:OUGIGFBK:BHKV$aHK$BDGF$K<:FHIR$U:IQ$N:K;<$CHKJHK:BGHIF$J:Q$\HK$BD<$EF<$H\$BKEFB<O$>9(F$BD:B$EF<$:$

JKGS:B<$ I<BXHK]$ BH$ ;E:K:IB<<$ -H/V$ ><IOHK$ GIB<KHJ<K:PGNGBQ$ GF$ :IHBD<K$ JHB<IBG:N$ OGF:OS:IB:;<$ :F$

>9($ B<CDIHNH;G<F$ \KHU$ HI<$ S<IOHK$U:Q$ IHB$ P<$ CHUJ:BGPN<$XGBD$ >9($ B<CDIHNH;G<F$ \KHU$ :IHBD<K$

S<IOHKV$(<GBD<K$H\$BD<F<$OGF:OS:IB:;<F$D:S<$JK<S<IB<O$BD<$XGO<FJK<:O$:CC<JB:IC<$:IO$O<JNHQU<IB$

H\$>9($B<CDIHNH;QV$
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'GFBHKQ$H\$BD<$0IB<KI<B$

%D<$DGFBHKQ$H\$BD<$0IB<KI<B$P<;:I$XGBD$BD<$O<S<NHJU<IB$H\$<N<CBKHIGC$CHUJEB<KF$GI$BD<$6pe5FV$%D<$

JEPNGC$X:F$ \GKFB$ GIBKHOEC<O$ BH$ BD<$ CHIC<JBF$ BD:B$XHENO$ N<:O$ BH$ BD<$ 0IB<KI<B$XD<I$:$U<FF:;<$X:F$

F<IB$ HS<K$ BD<$ 1?91(<B$ \KHU$ CHUJEB<K$ FCG<IC<$ 9KH\<FFHK$ *<HI:KO$ 2N<GIKHC]rF$ N:PHK:BHKQ$ :B$

.IGS<KFGBQ$ H\$ &:NG\HKIG:R$ *HF$ 1I;<N<F$ Z.&*1[R$ :\B<K$ BD<$ F<CHIO$ JG<C<$ H\$ I<BXHK]$ <cEGJU<IB$ X:F$

GIFB:NN<O$:B$/B:I\HKO$?<F<:KCD$0IFBGBEB<$Z/?0[V$9:C]<B$FXGBCD<O$I<BXHK]F$FECD$:F$1?91("%R$=:K]$0$

:B$ (9*$ GI$ BD<$ .2R$ &,&*1f"/R$ =<KGB$ (<BXHK]R$ %QUI<BR$ :IO$ %<N<I<BR$ X<K<$ O<S<NHJ<O$ GI$ BD<$ N:B<$

6pM5F$ :IO$ <:KNQ$ 6pL5F$ EFGI;$ :$ S:KG<BQ$ H\$ JKHBHCHNFV$ %D<$ 1?91("%$ GI$ J:KBGCEN:K$ N<O$ BH$ BD<$

O<S<NHJU<IB$H\$JKHBHCHNF$\HK$GIB<KI<BXHK]GI;R$XD<K<$UENBGJN<$F<J:K:B<$I<BXHK]F$CHENO$P<$dHGI<O$

BH;<BD<K$GIBH$:$I<BXHK]$H\$I<BXHK]FV$

0I$6pm4R$BD<$0IB<KI<B$JKHBHCHN$FEGB<$Z%&9_09[$X:F$FB:IO:KOGW<OR$:IO$CHIF<cE<IBNQR$BD<$CHIC<JB$H\$:$

XHKNOYXGO<$ I<BXHK]$ H\$ GIB<KCHII<CB<O$ %&9_09$ I<BXHK]FR$ C:NN<O$ BD<$ 0IB<KI<BR$ X:F$ GIBKHOEC<OV$

1CC<FF$ BH$ BD<$ 1?91("%$ X:F$ <bJ:IO<O$ GI$ 6pm6$ XD<I$ BD<$ (:BGHI:N$ /CG<IC<$ aHEIO:BGHI$ Z(/a[$

O<S<NHJ<O$ BD<$ &HUJEB<K$ /CG<IC<$ (<BXHK]$ Z&/("%[$ :IO$ :;:GI$ GI$ 6pmM$ XD<I$ (/a("%$ JKHSGO<O$

:CC<FF$ BH$ FEJ<KCHUJEB<K$ FGB<F$ GI$ BD<$ .IGB<O$ /B:B<F$ \KHU$ K<F<:KCD$ :IO$ <OEC:BGHI$ HK;:IGW:BGHIFV$

&HUU<KCG:N$0IB<KI<B$F<KSGC<$JKHSGO<KF$Z0/9F[$P<;:I$BH$<U<K;<$GI$BD<$N:B<$6pm5F$:IO$<:KNQ$6pp5FV$

%D<$ 1?91("%$ X:F$ O<CHUUGFFGHI<O$ GI$ 6pp5V$ %D<$ 0IB<KI<B$ X:F$ CHUU<KCG:NGW<O$ GI$ 6ppe$ XD<I$

(/a("%$X:F$ O<CHUUGFFGHI<OR$ K<UHSGI;$ BD<$ N:FB$ K<FBKGCBGHIF$ HI$ BD<$ EF<$ H\$ BD<$ 0IB<KI<B$ BH$ C:KKQ$

CHUU<KCG:N$BK:\\GCV$

/GIC<$ BD<$ UGOY6pp5FR$ BD<$ 0IB<KI<B$ D:F$ D:O$ :$ K<SHNEBGHI:KQ$ GUJ:CB$ HI$ CENBEK<$ :IO$ CHUU<KC<R$

GICNEOGI;$BD<$KGF<$H\$I<:KYGIFB:IB$CHUUEIGC:BGHI$PQ$<N<CBKHIGC$U:GNR$GIFB:IB$U<FF:;GI;R$>HGC<$HS<K$

0IB<KI<B$9KHBHCHN$ Z>H09[$sJDHI<$C:NNFsR$ BXHYX:Q$ GIB<K:CBGS<$SGO<H$C:NNFR$:IO$ BD<$!HKNO$!GO<$!<P$

XGBD$ GBF$OGFCEFFGHI$ \HKEUFR$PNH;FR$ FHCG:N$I<BXHK]GI;R$:IO$HINGI<$FDHJJGI;$FGB<FV$%D<$K<F<:KCD$:IO$

<OEC:BGHI$ CHUUEIGBQ$ CHIBGIE<F$ BH$ O<S<NHJ$ :IO$EF<$ :OS:IC<O$I<BXHK]F$ FECD$ :F$(/arF$ S<KQ$ DG;D$

FJ<<O$#:C]PHI<$(<BXHK]$/<KSGC<$ZS#(/[R$0IB<KI<B4R$:IO$(:BGHI:N$*:UPO:?:GNV$0ICK<:FGI;$:UHEIBF$

H\$O:B:$:K<$BK:IFUGBB<O$:B$DG;D<K$:IO$DG;D<K$FJ<<OF$HS<K$\GP<K$HJBGC$I<BXHK]F$HJ<K:BGI;$:B$6Y+PGB_FR$

65Y+PGB_FR$HK$UHK<V$%D<$0IB<KI<BrF$B:]<HS<K$HS<K$BD<$;NHP:N$CHUUEIGC:BGHI$N:IOFC:J<$X:F$:NUHFB$

GIFB:IB$GI$DGFBHKGC:N$B<KUF3$GB$HINQ$CHUUEIGC:B<O$6l$H\$BD<$GI\HKU:BGHI$\NHXGI;$BDKHE;D$BXHYX:Q$

B<N<CHUUEIGC:BGHIF$I<BXHK]F$GI$BD<$Q<:K$6pp7R$:NK<:OQ$e6l$PQ$4555R$:IO$UHK<$BD:I$pLl$H\$BD<$

B<N<CHUUEIGC:B<O$ GI\HKU:BGHI$ PQ$ 455LV$ %HO:Q$ BD<$ 0IB<KI<B$ CHIBGIE<F$ BH$ ;KHXR$ OKGS<I$ PQ$ <S<K$

;K<:B<K$:UHEIBF$H\$HINGI<$GI\HKU:BGHIR$CHUU<KC<R$<IB<KB:GIU<IBR$:IO$FHCG:N$I<BXHK]GI;V$
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aGN<$%K:IF\<K$9KHBHCHN$Za%9[$GF$:$FB:IO:KO$I<BXHK]$JKHBHCHN$EF<O$BH$BK:IF\<K$\GN<F$\KHU$HI<$DHFB$HK$

BH$:IHBD<K$DHFB$HS<K$:$%&9YP:F<O$I<BXHK]R$FECD$:F$BD<$0IB<KI<BV$

a%9$GF$PEGNB$HI$:$CNG<IBYF<KS<K$:KCDGB<CBEK<$:IO$EF<F$F<J:K:B<$CHIBKHN$:IO$O:B:$CHII<CBGHIF$P<BX<<I$

BD<$CNG<IB$:IO$BD<$F<KS<KV$a%9$EF<KF$U:Q$:EBD<IBGC:B<$BD<UF<NS<F$EFGI;$:$CN<:KYB<bB$FG;IYGI$JKHBHCHNR$

IHKU:NNQ$ GI$ BD<$ \HKU$H\$:$EF<KI:U<$:IO$J:FFXHKOR$PEB$C:I$CHII<CB$:IHIQUHEFNQ$ G\$ BD<$F<KS<K$ GF$

CHI\G;EK<O$BH$:NNHX$GBV$aHK$F<CEK<$BK:IFUGFFGHI$BD:B$DGO<F$Z<ICKQJBF[$BD<$EF<KI:U<$:IO$J:FFXHKOR$

:IO$<ICKQJBF$BD<$CHIB<IBR$a%9$GF$H\B<I$F<CEK<O$XGBD$//*_%*/$Zsa%9/s[V$//'$aGN<$%K:IF\<K$9KHBHCHN$

Zs/a%9s[$GF$FHU<BGU<F$:NFH$EF<O$GIFB<:OR$PEB$GF$B<CDIHNH;GC:NNQ$OG\\<K<IBV$

%D<$ \GKFB$ a%9$ CNG<IB$ :JJNGC:BGHIF$ X<K<$ CHUU:IOYNGI<$ :JJNGC:BGHIF$ O<S<NHJ<O$ P<\HK<$ HJ<K:BGI;$

FQFB<UF$D:O$;K:JDGC:N$EF<K$ GIB<K\:C<FR$:IO$:K<$FBGNN$ FDGJJ<O$XGBD$UHFB$!GIOHXFR$.IGbR$:IO$*GIEb$

HJ<K:BGI;$FQFB<UFVv4wv7w$fHW<IF$H\$a%9$CNG<IBF$:IO$:EBHU:BGHI$EBGNGBG<F$D:S<$FGIC<$P<<I$O<S<NHJ<O$

\HK$O<F]BHJFR$F<KS<KFR$UHPGN<$O<SGC<FR$:IO$D:KOX:K<R$:IO$a%9$D:F$P<<I$GICHKJHK:B<O$GIBH$DEIOK<OF$

H\$JKHOECBGSGBQ$:JJNGC:BGHIFR$FECD$:F$!<P$J:;<$<OGBHKFV$

a%9$U:Q$KEI$GI$:CBGS<$HK$J:FFGS<$UHO<R$XDGCD$O<B<KUGI<F$DHX$BD<$O:B:$CHII<CBGHI$GF$<FB:PNGFD<OV$

0I$:CBGS<$UHO<R$BD<$CNG<IB$CK<:B<F$:$%&9$CHIBKHN$CHII<CBGHI$BH$BD<$F<KS<K$:IO$F<IOF$BD<$F<KS<K$BD<$

CNG<IBrF$09$:OOK<FF$:IO$:I$:KPGBK:KQ$CNG<IB$JHKB$IEUP<KR$:IO$BD<I$X:GBF$EIBGN$BD<$F<KS<K$GIGBG:B<F$BD<$

O:B:$CHII<CBGHI$HS<K$%&9$BH$BD:B$CNG<IB$09$:OOK<FF$:IO$CNG<IB$JHKB$IEUP<KV$0I$FGBE:BGHIF$XD<K<$BD<$

CNG<IB$ GF$P<DGIO$:$ \GK<X:NN$:IO$EI:PN<$ BH$:CC<JB$ GICHUGI;$%&9$CHII<CBGHIFR$J:FFGS<$UHO<$U:Q$P<$

EF<OV$ 0I$BDGF$UHO<R$ BD<$CNG<IB$EF<F$BD<$CHIBKHN$CHII<CBGHI$BH$F<IO$:$91/>$CHUU:IO$BH$BD<$F<KS<K$

:IO$ BD<I$ K<C<GS<F$ :$ F<KS<K$ 09$ :OOK<FF$ :IO$ F<KS<K$JHKB$IEUP<K$ \KHU$ BD<$ F<KS<KR$XDGCD$ BD<$ CNG<IB$

BD<I$ EF<F$ BH$ HJ<I$ :$ O:B:$ CHII<CBGHI$ \KHU$ :I$ :KPGBK:KQ$ CNG<IB$ JHKB$ BH$ BD<$ F<KS<K$ 09$ :OOK<FF$ :IO$

F<KS<K$JHKB$IEUP<K$K<C<GS<OV$
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F>8./0$G01/01$V7604$ZFGV[$

1CBGS<$/<KS<K$9:;<F$Z1/9[R$:NFH$]IHXI$:F$&N:FFGC$1/9$HK$1/9$&N:FFGCR$X:F$=GCKHFH\BrF$ \GKFB$F<KS<KY

FGO<$FCKGJB$<I;GI<$\HK$OQI:UGC:NNQ$;<I<K:B<O$X<P$J:;<FV$0IGBG:NNQ$K<N<:F<O$:F$:I$:OOYHI$BH$0IB<KI<B$

0I\HKU:BGHI$ /<KSGC<F$ Z00/[$ SG:$ BD<$!GIOHXF$(%$ AV5$ )JBGHI$ 9:C]$ ZC:V$ 6ppM[R$ GB$ X:F$ FEPF<cE<IBNQ$

GICNEO<O$ :F$ :$ \K<<$ CHUJHI<IB$ H\$ !GIOHXF$ /<KS<K$ ZFGIC<$ BD<$ GIGBG:N$ K<N<:F<$ H\$ !GIOHXF$ 4555$

/<KS<K[V$1/9V("%$D:F$FEJ<KF<O<O$1/9V$

0B$ GF$:$ F<KS<KYFGO<$FCKGJBGI;$<ISGKHIU<IB$ BD:B$QHE$C:I$EF<$ BH$CK<:B<$:IO$KEI$OQI:UGCR$ GIB<K:CBGS<$

!<P$ F<KS<K$ :JJNGC:BGHIFV$ !GBD$ 1/9R$ QHE$ C:I$ CHUPGI<$ '%=*$ J:;<FR$ FCKGJB$ CHUU:IOFR$ :IO$ &)=$

CHUJHI<IBF$BH$CK<:B<$GIB<K:CBGS<$!<P$J:;<F$:IO$JHX<K\EN$!<PYP:F<O$:JJNGC:BGHIF$BD:B$:K<$<:FQ$BH$

O<S<NHJ$:IO$UHOG\QV$

/<KS<KYFGO<$FCKGJBGI;$GF$:$B<CDIGcE<$EF<O$GI$X<PFGB<$O<FG;I$XDGCD$GISHNS<F$<UP<OOGI;$FCKGJBF$GI$:I$

'%=*$FHEKC<$CHO<$XDGCD$K<FENBF$GI$:$EF<KrF$ZCNG<IBrF[$K<cE<FB$BH$BD<$F<KS<K$X<PFGB<$P<GI;$D:ION<O$

PQ$:$FCKGJB$KEIIGI;$F<KS<KYFGO<$P<\HK<$BD<$F<KS<K$K<FJHIOF$BH$BD<$CNG<IBrF$K<cE<FBV$%D<$FCKGJBF$C:I$P<$

XKGBB<I$ GI$ :IQ$ H\$ :$ IEUP<K$ H\$ F<KS<KYFGO<$ FCKGJBGI;$ N:I;E:;<F$ :S:GN:PN<$ ZF<<$ P<NHX[V$ /<KS<KYFGO<$

FCKGJBGI;$ OG\\<KF$ \KHU$ CNG<IBYFGO<$ FCKGJBGI;$ XD<K<$ <UP<OO<O$ FCKGJBFR$ FECD$ :F$ o:S:/CKGJBR$ :K<$ KEI$

CNG<IBYFGO<$GI$BD<$X<P$PKHXF<KV$

/<KS<KYFGO<$FCKGJBGI;$GF$EFE:NNQ$EF<O$BH$JKHSGO<$:I$GIB<K\:C<$:IO$BH$NGUGB$CNG<IB$:CC<FF$BH$JKHJKG<B:KQ$

O:B:P:F<F$ HK$ HBD<K$ O:B:$ FHEKC<FV$ %D<F<$ FCKGJBF$ U:Q$ :FF<UPN<$ CNG<IB$ CD:K:CB<KGFBGCF$ \HK$ EF<$ GI$

CEFBHUGWGI;$BD<$K<FJHIF<$P:F<O$HI$BDHF<$CD:K:CB<KGFBGCFR$BD<$EF<KrF$K<cEGK<U<IBFR$:CC<FF$KG;DBFR$<BCV$

/<KS<KYFGO<$FCKGJBGI;$:NFH$<I:PN<F$ BD<$X<PFGB<$HXI<K$ BH$K<OEC<$EF<K$:CC<FF$ BH$ BD<$FHEKC<$CHO<$H\$

F<KS<KYFGO<$ FCKGJBF$XDGCD$U:Q$P<$JKHJKG<B:KQ$ :IO$S:NE:PN<$ GI$ GBF<N\V$ %D<$OHXIYFGO<$ BH$ BD<$EF<$H\$

F<KS<KYFGO<$FCKGJBGI;$GF$BD:B$BD<$F<KS<K$X<PFGB<$CHUJEB<K$I<<OF$BH$JKHSGO<$UHFB$H\$BD<$CHUJEBGI;$

K<FHEKC<F$P<\HK<$F<IOGI;$:$J:;<$BH$BD<$CNG<IB$CHUJEB<K$\HK$OGFJN:Q$SG:$GBF$X<P$PKHXF<KV$

!D<I$BD<$F<KS<K$F<KS<F$O:B:$ GI$:$CHUUHINQ$EF<O$U:II<KR$ \HK$<b:UJN<$:CCHKOGI;$BH$BD<$'%%9$HK$

a%9$ JKHBHCHNFR$ EF<KF$U:Q$ D:S<$ BD<GK$ CDHGC<$ H\$ :$ IEUP<K$ H\$ CNG<IB$ JKH;K:UF$ ZUHFB$UHO<KI$X<P$

PKHXF<KF$ C:I$ K<cE<FB$ :IO$ K<C<GS<$ O:B:$ EFGI;$ PHBD$ H\$ BDHF<$ JKHBHCHNF[V$ 0I$ BD<$ C:F<$ H\$ UHK<$

FJ<CG:NGW<O$ :JJNGC:BGHIFR$ JKH;K:UU<KF$ U:Q$ XKGB<$ BD<GK$ HXI$ F<KS<KR$ CNG<IBR$ :IO$ CHUUEIGC:BGHIF$

JKHBHCHNR$BD:B$C:I$HINQ$P<$EF<O$XGBD$HI<$:IHBD<KV$

/HU<$H\$BD<$:OS:IB:;<F$H\$F<KS<KYFGO<$FCKGJBGI;$:K<3$

6V$0B$OH<F$IHB$K<cEGK<$BD<$EF<K$BH$OHXINH:O$JNE;GIF$NG]<$o:S:$HK$aN:FD$ZCNG<IBYFGO<$FCKGJBGI;[V$

4V$ ,HE$ C:I$ CK<:B<$ :$ FGI;N<$X<PFGB<$ B<UJN:B<$ \HK$ BD<$ <IBGK<$X<PFGB<V$ ":CD$ I<X$OQI:UGC$ J:;<$ QHE$

CK<:B<$XGNN$:EBHU:BGC:NNQ$EF<$GBV$

7V$ ,HE$ C:I$ CHI\G;EK<$ :$ FGB<$ BH$ EF<$ :$ CHIB<IB$ U:I:;<U<IB$ FQFB<UR$ XDGCD$ FGUJNG\G<F$ BD<$ <OGBGI;R$

JEPNGFDGI;R$:OOGI;$H\$GU:;<FR$:IO$CK<:BGHI$H\$X<P$:JJNGC:BGHIFV$=:IQ$:JJF$:K<$H\B<I$:S:GN:PN<$GI$BD<$

\HKU$H\$<bB<IFGHIF$HK$:OOHIFV$
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AV$*H:O$BGU<F$:K<$;<I<K:NNQ$\:FB<K$BD:I$CNG<IBYFGO<$FCKGJBGI;V$

eV$,HEK$FCKGJBF$:K<$DGOO<I$ \KHU$SG<XV$.F<KF$HINQ$F<<$ BD<$'%=*$HEBJEBR$<S<I$XD<I$BD<Q$SG<X$BD<$

FHEKC<V$

$

$

$

O7/7$V:78T91M$.230L023028$[$

o:S:$FHNS<F$BD<$JKHPN<U$H\$JN:B\HKUYGIO<J<IO<IC<$PQ$EFGI;$PQB<$CHO<V$%D<$o:S:$CHUJGN<K$OH<F$IHB$

JKHOEC<$ I:BGS<$ <b<CEB:PN<$ CHO<$ \HK$ :$ J:KBGCEN:K$ U:CDGI<$ NG]<$ :$ &$ CHUJGN<K$ XHENOV$ 0IFB<:O$ GB$

JKHOEC<F$ :$ FJ<CG:N$ \HKU:B$ C:NN<O$PQB<$ CHO<V$ o:S:$PQB<$ CHO<$XKGBB<I$ GI$D<b:O<CGU:NR$ PQB<$PQ$PQB<R$

NHH]F$ NG]<$ BDGF3$

&1$ a"$ #1$ #"$ 55$ 57$ 55$ 4f$ 55$ 7"$ 5m$ 55$ 7#$ 5m$ 55$ 56$ 5m$ 55$ 45$ 5m$

$

%DGF$ NHH]F$:$ NHB$ NG]<$U:CDGI<$ N:I;E:;<R$PEB$EING]<$U:CDGI<$ N:I;E:;<$o:S:$PQB<$CHO<$ GF$<b:CBNQ$BD<$

F:U<$HI$<S<KQ$JN:B\HKUV$%DGF$PQB<$CHO<$\K:;U<IB$U<:IF$BD<$F:U<$BDGI;$HI$:$/HN:KGF$XHK]FB:BGHI$:F$

GB$OH<F$HI$:$=:CGIBHFD$9HX<K#HH]V$o:S:$JKH;K:UF$BD:B$D:S<$P<<I$CHUJGN<O$GIBH$PQB<$CHO<$FBGNN$I<<O$

:I$ GIB<KJK<B<K$ BH$ <b<CEB<$ BD<U$ HI$ :IQ$ ;GS<I$ JN:B\HKUV$ %D<$ GIB<KJK<B<K$ K<:OF$ BD<$ PQB<$ CHO<$ :IO$

BK:IFN:B<F$ GB$ GIBH$ BD<$ I:BGS<$ N:I;E:;<$ H\$ BD<$ DHFB$ U:CDGI<$ HI$ BD<$ \NQV$ %D<$ UHFB$ CHUUHI$ FECD$

GIB<KJK<B<K$ GF$ /EIrF$ JKH;K:U$ d:S:$ ZXGBD$ :$ NGBBN<d[V$ /GIC<$ BD<$ PQB<$ CHO<$ GF$ CHUJN<B<NQ$ JN:B\HKU$

GIO<J<IO<IBR$HINQ$BD<$GIB<KJK<B<K$:IO$:$\<X$I:BGS<$NGPK:KG<F$I<<O$BH$P<$JHKB<O$BH$;<B$o:S:$BH$KEI$HI$

:$I<X$CHUJEB<K$HK$HJ<K:BGI;$FQFB<UV$%D<$K<FB$H\$BD<$KEIBGU<$<ISGKHIU<IB$GICNEOGI;$BD<$CHUJGN<K$

:IO$UHFB$H\$BD<$CN:FF$NGPK:KG<F$:K<$XKGBB<I$GI$o:S:V$

-078C104$

6V &HUJGN<O$:IO$ 0IB<KJK<B<K3Y$D:F$PHBD$&HUJGN<O$:IO$ 0IB<KJK<B<K$a<:BEK<$9KH;K:U$H\$ d:S:$ GF$

aGKFB$ &HUJGN<O$ :IO$ %D<I$ GB$ GF$ UEFB$ BH$ 0IB<KJK<B$ GB$ VaGKFB$ H\$ :NN$ %D<$ 9KH;K:U$ H\$ d:S:$ GF$

&HUJGN<O$BD<I$:\B<K$&HUJGN:BGHI$GB$CK<:B<F$#QB<F$&HO<F$K:BD<K$BD:I$=:CDGI<$*:I;E:;<V$%D<I$

1\B<K$#QB<F$&HO<F$:K<$&HIS<KB<O$GIBH$BD<$=:CDGI<$*:I;E:;<$GF$&HIS<KB<O$GIBH$BD<$=:CDGI<$

*:I;E:;<$XGBD$BD<$D<NJ$H\$BD<$0IB<KJK<B<K$/H$aHK$"b<CEBGI;$BD<$d:S:$9KH;K:U$aGKFB$H\$:NN$GB$GF$

I<C<FF:KQ$BH$&HUJGN<$GB$BD<I$GB$UEFB$P<$0IB<KJK<B<K$

4V 9N:B\HKU$ 0IO<J<IO<IB3Y$ o:S:$ *:I;E:;<$ GF$ 9N:B\HKU$ 0IO<J<IO<IB$U<:IF$ JKH;K:U$H\$ d:S:$ GF$

":FGNQ$ BK:IF\<K:PN<$ P<C:EF<$ :\B<K$ &HUJGN:BGHI$ H\$ d:S:$ JKH;K:U$ PQB<F$ CHO<$XGNN$ P<$ CK<:B<O$

BD<I$X<$D:S<$BH$dEFB$BK:IF\<K$BD<$&HO<$H\$#QB<$&HO<$BH$:IHBD<K$&HUJEB<KV$
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7V )Pd<CBY)KG<IB<O3Y$!<$ 2IHX$ BD:B$ GF$ JEK<NQ$ ))9$ *:I;E:;<$ BD:B$ GF$ :NN$ BD<$ &HO<$ H\$ BD<$ d:S:$

*:I;E:;<$ GF$!KGBB<I$ GIBH$ BD<$ CN:FF<F$:IO$)Pd<CBF$/H$aHK$%DGF$ \<:BEK<$ d:S:$ GF$=HFB$9HJEN:K$

*:I;E:;<$P<C:EF<$GB$:NFH$/EJJHKBF$&HO<$?<EF:PGNGBQR$=:GIB:GI:PGNGBQ$<BCV$

AV ?HPEFB$:IO$/<CEK<3Y$%D<$&HO<$H\$d:S:$GF$?HPEFB$:IO=<:IF$HB$\GKFB$CD<C]F$BD<$K<NG:PGNGBQ$H\$BD<$

CHO<$P<\HK<$"b<CEBGHI$!D<I$!<$BKQGI;$BH$&HIS<KB$BD<$'G;D<K$O:B:$BQJ<$GIBH$BD<$*HX<K$%D<I$

GB$&D<C]F$BD<$f<UHBGHI$H\$BD<$&HO<$BD<$0B$!GNN$!:KIF$:$.F<K$BH$(HB$BH$OH$BDGF$/H$GB$GF$C:NN<O$:F$

?HPEFB$

/<CEK<$3$!D<I$!<$CHIS<KB$BD<$&HO<$\KHU$)I<$=:CDGI<$BH$1IHBD<K$BD<$aGKFB$&D<C]$BD<$&HO<$

<GBD<K$GB$GF$"\\<CB<O$PQ$BD<$>GKEF$HK$IHB$HK$GB$&D<C]F$BD<$/:\<BQ$H\$BD<$&HO<$G\$CHO<$CHIB:GIF$BD<$

>GKEF$BD<I$GB$XGNN$I<S<K$"b<CEB<O$BD:B$CHO<$HI$BH$BD<$=:CDGI<V$

eV fGFBKGPEB<O3Y$ o:S:$ GF$fGFBKGPEB<O$*:I;E:;<$=<:IF$P<C:EF<$ BD<$JKH;K:U$H\$ d:S:$ GF$CHUJGN<O$

HIBH$ HI<$ U:CDGI<$ C:I$ P<$ <:FGNQ$ BK:IF\<KK<O$ BH$ U:CDGI<$ :IO$ "b<CEB<F$ BD<U$ HI$ :IHBD<K$

U:CDGI<$ P<C:EF<$ \:CGNGBQ$ H\$ #QB<F$ &HO<F$ /H$ d:S:$ GF$ /J<CG:NNQ$ O<FG;I<O$ aHK$ 0IB<KI<B$ .F<KF$

XDGCD$ EF<F$ BD<$ ?<UHB<$ &HUJEB<KF$ aHK$ "b<CEBGI;$ BD<GK$ 9KH;K:UF$ HI$ NHC:N$ U:CDGI<$ :\B<K$

BK:IF\<KKGI;$BD<$9KH;K:UF$\KHU$?<UHB<$&HUJEB<KF$HK$<GBD<K$\KHU$BD<$GIB<KI<BV$

MV /GUJN<$/U:NN$:IO$a:UGNG:K3Y$GF$:$FGUJN<$*:I;E:;<$#<C:EF<$GB$CHIB:GIF$U:IQ$\<:BEK<F$H\$HBD<K$

*:I;E:;<F$ NG]<$ C$ :IO$ &{{$ :IO$ o:S:$ ?<UHS<F$ &HUJN<bGBQ$ P<C:EF<$ GB$ OH<FI`B$ EF<$ JHGIB<KFR$

/BHK:;<$&N:FF<F$:IO$+H$BH$/B:B<U<IBF$:IO$d:S:$fH<FI`B$FEJJHKB$=ENBGJN<$0ID<KGB:IC<$

LV =ENBGBDK<:O<O$ :IO$ 0IB<K:CBGS<3Y$ o:S:$EF<F$=ENBGBDK<:O<O$%<CDIGcE<F$ aHK$"b<CEBGHI$=<:IF$

*G]<$GI$HBD<K$GI$/BKECBEK<$*:I;E:;<F$&HO<$GF$fGSGO<O$GIBH$BD<$/U:NN$9:KBF$*G]<$%D<F<$&HO<$H\$

d:S:$ GF$OGSGO<O$ GIBH$ BD<$ /U:NN<K$J:KBF$ BDHF<$ :K<$"b<CEB<O$PQ$ d:S:$ GI$ /<cE<IC<$ :IO$%GUGI;$

=:II<K$BDGF$GF$&:NN<O$:F$=ENBGBDK<:O<O$0I$BDGF$9KH;K:U$H\$d:S:$GF$OGSGO<O$GIBH$BD<$/U:NN$J:KBF$

BDHF<$:K<$"b<CEB<O$PQ$&HUJGN<K$H\$ d:S:$ GBF<N\$ o:S:$ GF$&:NN<O$:F$ 0IB<K:CBGS<$P<C:EF<$&HO<$H\$

d:S:$/EJJHKBF$1NFH$&.0$:IO$1NFH$+.0$9KH;K:UF$

mV fQI:UGC$:IO$"bB<IFGPN<$&HO<3Y$o:S:$D:F$fQI:UGC$:IO$"bB<IFGPN<$&HO<$=<:IF$!GBD$BD<$'<NJ$

H\$))9/$d:S:$9KHSGO<F$0ID<KGB:IC<$:IO$!GBD$BD<$'<NJ$H\$0ID<KGB:IC<$X<$?<EF<$BD<$&HO<$BD:B$

GF$9K<YO<\GI<O$:IO$1NFH$EF<F$:NN$BD<$PEGNB$GI$aEICBGHIF$H\$d:S:$:IO$&N:FF<F$

pV fGFBKGPEB<O3Y$o:S:$GF$:$OGFBKGPEB<O$N:I;E:;<$XDGCD$U<:IF$BD:B$BD<$JKH;K:U$C:I$P<$O<FG;I$BH$

KEI$HI$CHUJEB<K$I<BXHK]FV$o:S:$JKHSGO<F$:I$<bB<IFGS<$NGPK:KQ$H\$CN:FF<F$\HK$CHUUEIGC:BGI;$

REFGI;$%&9_09$JKHBHCHNF$ FECD$:F$'%%9$:IO$a%9V$%DGF$U:]<F$CK<:BGI;$I<BXHK]$CHII<CBGHIF$

UECD$<:FG<K$BD:I$GI$&_&{{V$,HE$C:I$K<:O$:IO$XKGB<$HPd<CBF$HI$BD<$K<UHB<$FGB<F$SG:$.?*$XGBD$

BD<$F:U<$<:F<$BD:B$JKH;K:UU<KF$:K<$EF<O$BH$XD<I$K<:O$:IO$XKGB<$O:B:$\KHU$:IO$BH$:$ \GN<V$

%DGF$D<NJF$BD<$JKH;K:UU<KF$:B$K<UHB<$NHC:BGHIF$BH$XHK]$BH;<BD<K$HI$BD<$F:U<$JKHd<CBV$

65V /<CEK<3$ o:S:$ X:F$ O<FG;I<O$ XGBD$ F<CEKGBQ$ GI$ UGIOV$ 1F$ o:S:$ GF$ GIB<IO<O$ BH$ P<$ EF<O$ GI$

I<BXHK]<O_OGFBKGPEBHK$ <ISGKHIU<IBF$ FH$ GB$ GUJN<U<IBF$ F<S<K:N$ F<CEKGBQ$ U<CD:IGFUF$ BH$

JKHB<CB$QHE$:;:GIFB$U:NGCGHEF$CHO<$BD:B$UG;DB$BKQ$BH$GIS:O<$QHEK$\GN<$FQFB<UV$
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66V 1KCDGB<CBEK:N$ (<EBK:N3$ )I<$ H\$ BD<$ ]<Q$ \<:BEK<$ H\$ o:S:$ BD:B$ U:]<F$ GB$ OG\\<K<IB$ \KHU$ HBD<K$

JKH;K:UUGI;$N:I;E:;<F$GF$:KCDGB<CBEK:N$I<EBK:N$ZHK$JN:B\HKU$GIO<J<IO<IB[V$%DGF$U<:IF$BD:B$

BD<$ JKH;K:UF$XKGBB<I$ HI$ HI<$ JN:B\HKU$ C:I$ KEI$ HI$ :IQ$ HBD<K$ JN:B\HKU$XGBDHEB$ D:SGI;$ BH$

K<XKGB<$HK$K<CHUJGN<$BD<UV$0I$HBD<K$XHKOFR$GB$\HNNHXF$r!KGB<YHIC<YKEIY:IQXD<K<r$:JJKH:CDV$

o:S:$JKH;K:UF$:K<$CHUJGN<O$GIBH$PQB<YCHO<$\HKU:B$XDGCD$OH<F$IHB$O<J<IO$HI$:IQ$U:CDGI<$

:KCDGB<CBEK<$PEB$C:I$P<$<:FGNQ$ BK:IFN:B<O$ GIBH$:$FJ<CG\GC$U:CDGI<$PQ$:$ o:S:$>GKBE:N$=:CDGI<$

Zo>=[$ \HK$ BD:B$ U:CDGI<V$ %DGF$ GF$ :$ FG;IG\GC:IB$ :OS:IB:;<$ XD<I$ O<S<NHJGI;$ :JJN<BF$ HK$

:JJNGC:BGHIF$ BD:B$ :K<$ OHXINH:O<O$ \KHU$ BD<$ 0IB<KI<B$ :IO$ :K<$ I<<O<O$ BH$ KEI$ HI$ OG\\<K<IB$

FQFB<UFV$

64V 9HKB:PN<$3$%D<$JHKB:PGNGBQ$:CBE:NNQ$CHU<F$\KHU$:KCDGB<CBEK<YI<EBK:NGBQV$0I$&_&{{R$FHEKC<$CHO<$

U:Q$KEI$FNG;DBNQ$OG\\<K<IBNQ$HI$OG\\<K<IB$D:KOX:K<$JN:B\HKUF$P<C:EF<$H\$DHX$BD<F<$JN:B\HKUF$

GUJN<U<IB$:KGBDU<BGC$HJ<K:BGHIFV$0I$o:S:R$GB$D:F$P<<I$FGUJNG\G<OV$

67V 0IB<KJK<B<O$ 3$ .ING]<$ UHFB$ H\$ BD<$ JKH;K:UUGI;$ N:I;E:;<F$ XDGCD$ :K<$ <GBD<K$ CHUJNG<O$ HK$

GIB<KJK<B<OR$ o:S:$ GF$ PHBD$ CHUJNG<O$ :IO$ GIB<KJK<B<O$ %D<$ o:S:$ CHUJGN<K$ BK:IFN:B<F$ :$ d:S:$

FHEKC<$\GN<$BH$PQB<CHO<F$:IO$BD<$o:S:$GIB<KJK<B<K$<b<CEB<F$BD<$BK:IFN:B<O$PQB<$CHO<F$OGK<CBNQ$

HI$BD<$FQFB<U$BD:B$GUJN<U<IBF$BD<$o:S:$>GKBE:N$=:CDGI<V$%D<F<$BXH$FB<JF$H\$CHUJGN:BGHI$:IO$

GIB<KJK<B:BGHI$:NNHX$<bB<IFGS<$CHO<$CD<C]GI;$:IO$GUJKHS<O$F<CEKGBQV$

6AV 'G;D$ J<K\HKU:IC<3$ o:S:$ JKH;K:UF$ :K<$ CHUJNG<O$ BH$ JHKB:PN<$ GIB<KU<OG:B<$ \HKU$ ]IHX$ :F$

PQB<CHO<FR$K:BD<K$BD:I$BH$I:BGS<$U:CDGI<$N<S<N$GIFBKECBGHIF$:IO$o>=$<b<CEB<F$o:S:$PQB<CHO<$

HIV$1IQ$U:CDGI<$ HI$XDGCD$ GB$ GF$ GIFB:NN<OV$ %DGF$ :KCDGB<CBEK<$U<:IF$ BD:B$ o:S:$ JKH;K:UF$ :K<$

\:FB<K$ BD:I$JKH;K:U$HK$ FCKGJBF$XKGBB<I$ GI$ JEK<NQ$ GIB<KJK<B<O$ N:I;E:;<F$ PEB$ FNHX<K$ BD:I$&$

:IO$&{{$JKH;K:UF$BD:B$CHUJGN<O$BH$I:BGS<$U:CDGI<$N:I;E:;<FV$

%DL04$9T$O7/7$V19617M$

%D<K<$:K<$BXH$BQJ<F$H\$o:S:$JKH;K:UF$

$$$$$$$$$6V$1JJNGC:BGHI$9KH;K:UF$

$$$$$$$$$4V$1JJN<B$9KH;K:UF$

FLL:.>78.92$V19617M4$

1JJNGC:BGHI$JKH;K:UF$:K<$FB:IOY:NHI<$JKH;K:UF$BD:B$:K<$XKGBB<I$BH$C:KKQ$HEB$C<KB:GI$B:F]F$HI$NHC:N$

CHUJEB<K$ FECD$ :F$ FHNSGI;$ <cE:BGHIFR$ K<:OGI;$ :IO$ XKGBGI;$ \GN<F$ <BCV$

%D<$:JJNGC:BGHI$JKH;K:UF$C:I$P<$<b<CEB<O$EFGI;$BXH$FB<JF$

6V &HUJGN<$FHEKC<$CHO<$BH$;<I<K:B<$#QB<$CHO<$EFGI;$o:S:C$CHUJGN<KV$$

4V "b<CEB<$BD<$PQB<$CHO<$JKH;K:U$EFGI;$o:S:$GIB<KJK<B<KV$

GUJHKB$d:S:VGHVÇ^$

$
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JEPNGC$CN:FF$"b:UJN<$É$

$

JEPNGC$FB:BGC$SHGO$U:GIZ/BKGI;vw$:K;F[$É$

$

__O<FGK<O$CHO<$

Ñ$

Ñ$$$$$$$$$$$$$$$$$$

FLL:08$L19617M4S$

1JJN<BF$:K<$FU:NN$ o:S:$JKH;K:UF$O<S<NHJ<O$\HK$0IB<KI<B$:JJNGC:BGHIFV$1I$:JJN<B$ NHC:B<O$ GI$OGFB:IB$

CHUJEB<K$ C:I$ P<$ OHXINH:O<O$ SG:$ 0IB<KI<B$ :IO$ <b<CEB<O$ HI$ :$ NHC:N$ CHUJEB<K$ EFGI;$ o:S:$ C:J:PN<$

PKHXF<KV$%D<$o:S:$:JJN<BF$C:I$:NFH$P<$<b<CEB<O$GI$BD<$CHUU:IO$NGI<$EFGI;$:JJN<BSG<X<KR$XDGCD$GF$

J:KB$H\$BD<$of2V$

aHNNHXGI;$<b:UJN<$O<UHIFBK:B<F$DHX$BH$CK<:B<$:$P:FGC$1JJN<B$PQ$<bB<IOGI;$1JJN<B$&N:FFV$,HE$XGNN$

I<<O$BH$<UP<O$:IHBD<K$'%=*$CHO<$BH$KEI$BDGF$JKH;K:UV$

GUJHKB$d:S:V:JJN<BVÇ^$

GUJHKB$d:S:V:XBVÇ^$

$

JEPNGC$CN:FF$=:GI$<bB<IOF$1JJN<BÉ$

$$$JEPNGC$SHGO$J:GIBZ+K:JDGCF$;[É$

$$$$$$;VOK:X/BKGI;Zs!<NCHU<$GI$o:S:$1JJN<BVsRA5R45[^$

$$$Ñ$

Ñ$

(HX$CHUJGN<$BD<$:PHS<$CHO<$:IO$C:NN$BD<$;<I<K:B<O$CN:FF$GI$QHEK$'%=*$CHO<$:F$\HNNHXF3$

}'%=*~$

}'"1f~$

}_'"1f~$

}#)f,~$

}OGS$~$

}199*"%$&)f"|s=:GIVCN:FFs$!0f%'|sm55s$'"0+'%|se55s~$

}_199*"%~$

}_OGS~$
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}_#)f,~$

}_'%=*~$

GDMM081.>$723$F4DMM081.>$"2>1DL8.92$$

GDMM081.>$"2>1DL8.92$

/QUU<BKGC$ <ICKQJBGHI$ GF$ BD<$ HNO<FB$ :IO$ P<FBY]IHXI$ B<CDIGcE<V$ 1$ F<CK<B$ ]<QR$ XDGCD$ C:I$ P<$ :$

IEUP<KR$:$XHKOR$HK$dEFB$:$FBKGI;$H\$K:IOHU$N<BB<KFR$GF$:JJNG<O$BH$BD<$B<bB$H\$:$U<FF:;<$BH$CD:I;<$BD<$

CHIB<IB$GI$:$J:KBGCEN:K$X:QV$%DGF$UG;DB$P<$:F$FGUJN<$:F$FDG\BGI;$<:CD$N<BB<K$PQ$:$IEUP<K$H\$JN:C<F$GI$

BD<$ :NJD:P<BV$ 1F$ NHI;$ :F$ PHBD$ F<IO<K$ :IO$ K<CGJG<IB$ ]IHX$ BD<$ F<CK<B$ ]<QR$ BD<Q$ C:I$ <ICKQJB$ :IO$

O<CKQJB$:NN$U<FF:;<F$BD:B$EF<$BDGF$]<QV$$

F4DMM081.>$"2>1DL8.92$

%D<$ JKHPN<U$ XGBD$ F<CK<B$ ]<QF$ GF$ <bCD:I;GI;$ BD<U$ HS<K$ BD<$ 0IB<KI<B$ HK$ :$ N:K;<$ I<BXHK]$ XDGN<$

JK<S<IBGI;$BD<U$\KHU$\:NNGI;$GIBH$BD<$XKHI;$D:IOFV$1IQHI<$XDH$]IHXF$BD<$F<CK<B$]<Q$C:I$O<CKQJB$

BD<$U<FF:;<V$)I<$:IFX<K$GF$:FQUU<BKGC$<ICKQJBGHIR$GI$XDGCD$BD<K<$:K<$BXH$K<N:B<O$]<QFYY:$]<Q$J:GKV$

1$JEPNGC$]<Q$GF$U:O<$\K<<NQ$:S:GN:PN<$BH$:IQHI<$XDH$UG;DB$X:IB$BH$F<IO$QHE$:$U<FF:;<V$1$F<CHIOR$

JKGS:B<$ ]<Q$ GF$ ]<JB$ F<CK<BR$ FH$ BD:B$ HINQ$ QHE$ ]IHX$ GBV$$

$

1IQ$U<FF:;<$ZB<bBR$PGI:KQ$\GN<FR$HK$OHCEU<IBF[$BD:B$:K<$<ICKQJB<O$PQ$EFGI;$BD<$JEPNGC$]<Q$C:I$HINQ$

P<$O<CKQJB<O$PQ$:JJNQGI;$BD<$F:U<$:N;HKGBDUR$PEB$PQ$EFGI;$BD<$U:BCDGI;$JKGS:B<$]<QV$1IQ$U<FF:;<$

BD:B$GF$<ICKQJB<O$PQ$EFGI;$BD<$JKGS:B<$]<Q$C:I$HINQ$P<$O<CKQJB<O$PQ$EFGI;$BD<$U:BCDGI;$JEPNGC$]<QV$$

$

%DGF$U<:IF$BD:B$QHE$OH$IHB$D:S<$BH$XHKKQ$:PHEB$J:FFGI;$JEPNGC$]<QF$HS<K$BD<$0IB<KI<B$ZBD<$]<QF$:K<$

FEJJHF<O$BH$P<$JEPNGC[V$1$JKHPN<U$XGBD$:FQUU<BKGC$<ICKQJBGHIR$DHX<S<KR$GF$BD:B$GB$GF$FNHX<K$BD:I$

FQUU<BKGC$ <ICKQJBGHIV$ 0B$ K<cEGK<F$ \:K$ UHK<$ JKHC<FFGI;$ JHX<K$ BH$ PHBD$ <ICKQJB$ :IO$ O<CKQJB$ BD<$

CHIB<IB$H\$BD<$U<FF:;<V$
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$

&9:3-C4.92$

&9:3-C4.92$GF$BD<$I:U<$H\$:$CHUU<KCG:N$K:JGO$X<P$:JJNGC:BGHI$O<S<NHJU<IB$JN:B\HKU$GIS<IB<O$PQ$

o<K<UQ$ :IO$ oo$ 1NN:GK<$ GI$ 6ppeV$ Z%D<$ JKH;K:UUGI;$ N:I;E:;<$ EF<O$ XGBD$ BD:B$ JN:B\HKU$ GF$ :NFH$

CHUUHINQ$ C:NN<O$ &HNOaEFGHIR$ BDHE;D$ GF$ UHK<$ :CCEK:B<NQ$ ]IHXI$ :F$ &a=*V[$ &HNOaEFGHI$ X:F$

HKG;GI:NNQ$O<FG;I<O$BH$U:]<$GB$<:FG<K$BH$CHII<CB$FGUJN<$'%=*$J:;<F$BH$:$O:B:P:F<V$

X7.2$T078C104$

&HNOaEFGHI$JKHSGO<F$:$IEUP<K$H\$:OOGBGHI:N$\<:BEK<F$HEB$H\$BD<$PHbV$1UHI;$BD<U3$

Ö$ /GUJNG\G<O$O:B:P:F<$:CC<FF$

Ö$ &NG<IB$:IO$F<KS<K$C:CD<$U:I:;<U<IB$

Ö$ &NG<IBYFGO<$CHO<$;<I<K:BGHIR$<FJ<CG:NNQ$\HK$\HKU$XGO;<BF$:IO$S:NGO:BGHI$

Ö$ &HIS<KFGHI$\KHU$'%=*$BH$9fa$:IO$aN:FD9:J<K$

Ö$ f:B:$K<BKG<S:N$\KHU$CHUUHI$<IB<KJKGF<$FQFB<UF$FECD$:F$1CBGS<$fGK<CBHKQR$*f19R$/=%9R$9)9R$

'%%9R$a%9R$=GCKHFH\B$"bCD:I;<$/<KS<K$:IO$CHUUHI$O:B:$\HKU:BF$FECD$:F$?//$:IO$1BHU$

Ö$ aGN<$GIO<bGI;$:IO$F<:KCDGI;$F<KSGC<$P:F<O$HI$1J:CD<$/HNK$

Ö$ +.0$:OUGIGFBK:BGHI$

Ö$ /<KS<KR$:JJNGC:BGHIR$CNG<IBR$F<FFGHIR$:IO$K<cE<FB$FCHJ<F$

Ö$ y=*$J:KFGI;R$cE<KQGI;$Zy9:BD[R$S:NGO:BGHI$:IO$BK:IF\HKU:BGHI$Zy/*%[$

Ö$ /<KS<K$CNEFB<KGI;$

Ö$ %:F]$FCD<OENGI;$

Ö$ +K:JDGI;$:IO$K<JHKBGI;$

Ö$ /GUJNG\G<O$ \GN<$ U:IGJEN:BGHI$ GICNEOGI;$ K:FB<K$ ;K:JDGCF$ Z:IO$ &19%&'1[$ :IO$ WGJ$ :KCDGS<F$

ZGIBKHOECBGHI$H\$SGO<H$U:IGJEN:BGHI$GF$JN:II<O$GI$:$\EBEK<$K<N<:F<[$

Ö$ /GUJNG\G<O$X<P$F<KSGC<$GUJN<U<IB:BGHI$$

&HNOaEFGHI$=:K]EJ$ *:I;E:;<R$UHK<$ CHUUHINQ$ ]IHXI$ :F$ &a=*R$ GF$ :$ FCKGJBGI;$ N:I;E:;<$ \HK$X<P$

O<S<NHJU<IB$ BD:B$ KEIF$ HI$ BD<$ o>=R$ BD<$ V("%$ \K:U<XHK]R$ :IO$ +HH;N<$ 1JJ$ "I;GI<V$ =ENBGJN<$

CHUU<KCG:N$ :IO$ HJ<I$ FHEKC<$ GUJN<U<IB:BGHIF$ H\$ &a=*$ <I;GI<F$ :K<$ :S:GN:PN<R$ GICNEOGI;$ 1OHP<$

&HNOaEFGHIR$ (<X$1BN:IB:$ #NE<fK:;HI$ ZXDH$U:]<F$ PHBD$ :$ o:S:YP:F<O$ :IO$ :$ V("%YP:F<O$ S<KFGHI[R$

?:GNHR$:IO$)J<I$#NE<fK:;HI$:F$X<NN$:F$HBD<K$&a=*$F<KS<K$<I;GI<FV$

&a=*$B:;F$D:S<$:$FGUGN:K$\HKU:B$BH$'%=*$B:;FV$%D<Q$:K<$<ICNHF<O$GI$:I;N<$PK:C]<BF$Z}$:IO$~[$:IO$

;<I<K:NNQ$ D:S<$ W<KH$ HK$ UHK<$ I:U<O$ :BBKGPEB<FR$ BDHE;D$ FHU<$ B:;F$ Z<V;V$ C\F<BR$ C\G\[$ CHIB:GI$ :I$

<bJK<FFGHI$K:BD<K$ BD:I$:BBKGPEB<FV$=:IQ$&a=*$B:;F$D:S<$PHOG<F^$ BD:B$ GFR$ BD<Q$D:S<$P<;GIIGI;$:IO$

<IO$B:;F$XGBD$B<bB$BH$P<$JKHC<FF<O$P<BX<<I$BD<UV$aHK$<b:UJN<3$

}C\HEBJEB~$

$$$ÜS:NE<Ü$#HPu$
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}_C\HEBJEB~$

)BD<K$B:;FR$FECD$:F$C\F<B$:IO$C\\BJR$I<S<K$D:S<$PHOG<F^$:NN$BD<$K<cEGK<O$GI\HKU:BGHI$;H<F$P<BX<<I$BD<$

P<;GIIGI;$ Z}[$ CD:K:CB<K$ :IO$ BD<$ <IOGI;$ Z~[$ CD:K:CB<K$ GI$ BD<$ \HKU$ H\$ B:;$ :BBKGPEB<F$ ZI:U<_S:NE<$

J:GKF[R$:F$GI$BD<$<b:UJN<$P<NHXV$0\$GB$GF$N<;:N$\HK$B:;F$IHB$BH$D:S<$:$PHOQR$GB$GF$FQIB:CBGC:NNQ$:CC<JB:PN<$

BH$N<:S<$BD<U$EICNHF<O$:F$GI$BD<$\GKFB$<b:UJN<R$BDHE;D$U:IQ$&a=*$O<S<NHJ<KF$CDHHF<$BH$F<N\YCNHF<$

B:;F$:F$GI$BD<$F<CHIO$<b:UJN<$BH$Z:K;E:PNQ[$U:]<$BD<$CHO<$UHK<$N<;GPN<V$

}C\F<B$S:NE<$|$s'<NNHs~$

}C\F<B$S:NE<$|$s'<NNHs$_~$

"S<I$G\$BD<$B:;$C:I$D:S<$:$PHOQR$GICNEOGI;$:$PHOQ$U:Q$IHB$P<$I<C<FF:KQ$GI$FHU<$GIFB:IC<F$P<C:EF<$

BD<$ :BBKGPEB<F$ FJ<CG\Q$ :NN$ BD<$ K<cEGK<O$ GI\HKU:BGHIV$ 0I$ BD<F<$ C:F<FR$ :F$ XGBD$ BD<$ F<CHIO$ <b:UJN<$

:PHS<R$BD<$<IO$B:;$Z:IO$D<IC<R$BD<$B:;$PHOQ[$U:Q$P<$HUGBB<O$:IO$BD<$B:;$U:Q$P<$F<N\YCNHFGI;$:F$GI$

BD<$\HNNHXGI;$<b:UJN<3$

}C\<b<CEB<$ I:U<|s&3ááXGI(%áá/QFB<U74ááI<BFB:BV<b<s$ :K;EU<IBF|sY<s$

HEBJEB\GN<|s&3áá%<UJááHEBVBbBs$BGU<HEB|s6s$_~$

>:KGHEF$ B:;F$ H\\<K$ BD<$ :PGNGBQ$ BH$ BQJ<YCD<C]$ GIJEB$ J:K:U<B<KF$ Z<V;V$ C\\EICBGHIR$ C\J:K:UR$

C\cE<KQJ:K:U[$ G\$ BD<$JKH;K:UU<K$O<CN:K<F$ BD<GK$ BQJ<$ FJ<CG\GC:NNQV$%DGF$ \EICBGHI:NGBQ$ GF$EF<O$XGBD$

C\cE<KQJ:K:U$BH$F<CEK<$X<P$:JJNGC:BGHIF$:IO$O:B:P:F<F$\KHU$D:C]<KF$:IO$U:NGCGHEF$X<P$K<cE<FBF$

FECD$:F$/-*$GId<CBGHIV$

&a=*$ :NNHXF$ N:I;E:;<$ <bB<IFGHIF$ GI$ BD<$ \HKU$ H\$ CEFBHU$ B:;FR$ XDGCD$ :K<$ B:;F$ CK<:B<O$ PQ$ BD<$

O<S<NHJ<K$BD:B$:K<$IHB$J:KB$H\$BD<$&a=*$N:I;E:;<$GBF<N\V$&EFBHU$B:;F$:K<$K<;EN:K$&a=*$\GN<F$XDGCD$

:K<$GIB<IO<O$BH$P<$GISH]<O$:F$B:;FR$:NBDHE;D$GB$GF$JHFFGPN<$BH$BK<:B$:$B<UJN:B<$:F$PHBD$:$CEFBHU$B:;$

:IO$:$K<;EN:K$B<UJN:B<V$&EFBHU$B:;F$:K<$XKGBB<I$GI$&a=*$:IO$:K<$BQJGC:NNQ$GISH]<O$PQ$JK<\GbGI;$BD<$

CEFBHU$B:;rF$\GN<$I:U<$XGBD$5KQR$:NBDHE;D$BD<K<$:K<$HBD<K$X:QF$BH$GISH]<$CEFBHU$B:;FV$

0\$:$B<UJN:B<$GF$GISH]<O$:F$:$CEFBHU$B:;R$BD<$:BBKGPEB<F$EF<O$BH$GISH]<$BD:B$B:;$:K<$:S:GN:PN<$XGBDGI$

BD<$ B:;$ GI$ :$ FJ<CG:N$ *--$%E'-"6$ FBKECBEK<$ :IO$ BD<$ S:KG:PN<F$ CHIB:GI<O$ GI$ BD<$ C:NNGI;$ J:;<$ :K<$

:CC<FFGPN<$SG:$BD<$5*88"$$FBKECBEK<V$

aHK$<b:UJN<R$G\$XKGBGI;$:I$*!!$B:;$XDGCD$B:]<F$BXH$:BBKGPEB<F$:IO$:OOF$BD<U$BH;<BD<KR$BD<$FEUVC\U$

J:;<$XHENO$NHH]$NG]<$BDGF3$

}C\F<B$C:NN<KVFEU$|$:BBKGPEB<FV\GKFB${$:BBKGPEB<FVF<CHIO$_~$

1FFEUGI;$BD<$B<UJN:B<$:IO$B:;$:K<$GI$BD<$F:U<$OGK<CBHKQR$BD<$B:;$C:I$P<$GISH]<O$BDEF3$

}C\gFEU$\GKFB|s6s$F<CHIO|s4s~ 
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G8D:0$4Q0084$

/BQN<$ FD<<BF$ K<JK<F<IB$ :$U:dHK$ PK<:]BDKHE;D$ \HK$!<P$ J:;<$ O<FG;I<KFR$ <bJ:IOGI;$ BD<GK$ :PGNGBQ$ BH$

GUJKHS<$ BD<$ :JJ<:K:IC<$ H\$ BD<GK$ J:;<FV$ 0I$ BD<$ FCG<IBG\GC$ <ISGKHIU<IBF$ GI$ XDGCD$ BD<$ !<P$ X:F$

CHIC<GS<OR$J<HJN<$:K<$UHK<$CHIC<KI<O$XGBD$BD<$CHIB<IB$H\$BD<GK$OHCEU<IBF$BD:I$BD<$JK<F<IB:BGHIV$

1F$J<HJN<$\KHU$XGO<K$X:N]F$H\$NG\<$OGFCHS<K<O$BD<$!<PR$BD<$NGUGB:BGHIF$H\$'%=*$P<C:U<$:$FHEKC<$H\$

CHIBGIEGI;$\KEFBK:BGHI$:IO$:EBDHKF$X<K<$\HKC<O$BH$FGO<FB<J$'%=*rF$FBQNGFBGC$NGUGB:BGHIFV$!DGN<$BD<$

GIB<IBGHIF$D:S<$P<<I$;HHO$YY$BH$GUJKHS<$BD<$JK<F<IB:BGHI$H\$!<P$J:;<F$YY$BD<$B<CDIGcE<F$\HK$OHGI;$

FH$D:S<$D:O$EI\HKBEI:B<$FGO<$<\\<CBFV$%D<F<$ B<CDIGcE<F$XHK]$ \HK$FHU<$H\$ BD<$J<HJN<R$FHU<$H\$ BD<$

BGU<R$PEB$IHB$\HK$:NN$H\$BD<$J<HJN<R$:NN$H\$BD<$BGU<V$%D<Q$GICNEO<3$

• .FGI;$JKHJKG<B:KQ$'%=*$<bB<IFGHIF$

• &HIS<KBGI;$B<bB$GIBH$GU:;<F$

• .FGI;$GU:;<F$\HK$XDGB<$FJ:C<$CHIBKHN$

• .F<$H\$B:PN<F$\HK$J:;<$N:QHEB$

• !KGBGI;$:$JKH;K:U$GIFB<:O$H\$EFGI;$'%=*$

%D<F<$B<CDIGcE<F$CHIFGO<K:PNQ$GICK<:F<$BD<$CHUJN<bGBQ$H\$!<P$J:;<FR$H\\<K$NGUGB<O$\N<bGPGNGBQR$FE\\<K$

\KHU$GIB<KHJ<K:PGNGBQ$JKHPN<UFR$:IO$CK<:B<$D:KOFDGJF$\HK$J<HJN<$XGBD$OGF:PGNGBG<FV$

/BQN<$ FD<<BF$ FHNS<$ BD<F<$ JKHPN<UF$ :B$ BD<$ F:U<$ BGU<$ BD<Q$ FEJ<KF<O<$ BD<$ NGUGB<O$ K:I;<$ H\$

JK<F<IB:BGHI$U<CD:IGFUF$GI$'%=*V$/BQN<$FD<<BF$U:]<$GB$<:FQ$BH$FJ<CG\Q$BD<$:UHEIB$H\$XDGB<$FJ:C<$

P<BX<<I$B<bB$NGI<FR$BD<$:UHEIB$NGI<F$:K<$GIO<IB<OR$BD<$CHNHKF$EF<O$\HK$BD<$B<bB$:IO$BD<$P:C];KHEIOFR$

BD<$\HIB$FGW<$:IO$FBQN<R$:IO$:$DHFB$H\$HBD<K$O<B:GNFV$

aHK$<b:UJN<R$BD<$\HNNHXGI;$FDHKB$&//$FBQN<$FD<<B$ZFBHK<O$GI$BD<$\GN<$sFJ<CG:NVCFFs[R$F<BF$BD<$B<bB$CHNHK$

H\$:$J:K:;K:JD$BH$;K<<I$:IO$FEKKHEIOF$GB$XGBD$:$FHNGO$K<O$PHKO<K3$

9VFJ<CG:N$É$

CHNHK$3$;K<<I^$

PHKO<K3$FHNGO$K<O^$

Ñ$

1EBDHKF$U:Q$NGI]$BDGF$FBQN<$FD<<B$BH$BD<GK$FHEKC<$'%=*$OHCEU<IB$XGBD$BD<$*0(2$<N<U<IB3$

}uf)&%,9"$'%=*$9.#*0&$sY__!7&__f%f$'%=*$AV56__"(s$

$$$sDBBJ3__XXXVX7VHK;_%?_DBUNA_FBKGCBVOBOs~$

}'%=*~$
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$$}'"1f~$

$$$$}*0(2$DK<\|sFJ<CG:NVCFFs$K<N|sFBQN<FD<<Bs$BQJ<|sB<bB_CFFs~$

$$}_'"1f~$

$$}#)f,~$

$$$$}9$CN:FF|sFJ<CG:Ns~%DGF$J:K:;K:JD$FDHENO$D:S<$FJ<CG:N$;K<<I$B<bBV$

$$}_#)f,~$

}_'%=*~$

'%=*$A$JKHSGO<F$FEJJHKB$\HK$BD<$\HNNHXGI;$FBQN<$FD<<B$\<:BEK<F3$

-:0=.K:0$L:7>0M028$9T$48D:0$.2T91M78.92$

9N:CGI;$ FBQN<$ FD<<BF$ GI$ F<J:K:B<$ \GN<F$U:]<F$ BD<U$ <:FQ$ BH$ K<EF<V$ /HU<BGU<F$ GBrF$ EF<\EN$ BH$

GICNEO<$K<IO<KGI;$GIFBKECBGHIF$XGBDGI$BD<$OHCEU<IB$BH$XDGCD$BD<Q$:JJNQR$<GBD<K$;KHEJ<O$:B$

BD<$ FB:KB$ H\$ BD<$ OHCEU<IBR$ HK$ GI$ :BBKGPEB<F$ H\$ BD<$ <N<U<IBF$ BDKHE;DHEB$ BD<$ PHOQ$ H\$ BD<$

OHCEU<IBV$%H$U:]<$GB$<:FG<K$BH$U:I:;<$FBQN<$HI$:$FGB<$P:FGFR$BDGF$FJ<CG\GC:BGHI$O<FCKGP<F$DHX$

BH$EF<$'%%9$D<:O<KF$BH$F<B$BD<$FBQN<$FD<<BF$BH$P<$:JJNG<O$BH$:$OHCEU<IBV$

Y230L02302>0$T19M$4L0>.T.>$48D:0$4Q008$:726C7604$

%DGF$FJ<CG\GC:BGHI$OH<FIrB$BG<$'%=*$BH$:IQ$J:KBGCEN:K$FBQN<$FD<<B$N:I;E:;<V$%DGF$:NNHXF$\HK$:$

K:I;<$H\$FECD$ N:I;E:;<F$BH$P<$EF<OR$ \HK$ GIFB:IC<$FGUJN<$HI<F$\HK$BD<$U:dHKGBQ$H\$EF<KF$:IO$

UECD$ UHK<$ CHUJN<b$ HI<F$ \HK$ BD<$ UGIHKGBQ$ H\$ EF<KF$ XGBD$ DG;DNQ$ FJ<CG:NGW<O$ I<<OFV$ %D<$

<b:UJN<F$GICNEO<O$P<NHX$:NN$EF<$BD<$&//$Z&:FC:OGI;$/BQN<$/D<<BF[$N:I;E:;<R$PEB$HBD<K$FBQN<$

FD<<B$N:I;E:;<F$XHENO$P<$JHFFGPN<V$

&74>73.26$

%DGF$ GF$ BD<$ C:J:PGNGBQ$ JKHSGO<O$ PQ$ FHU<$ FBQN<$ FD<<B$ N:I;E:;<F$ FECD$ :F$ &//$ BH$ :NNHX$ FBQN<$

GI\HKU:BGHI$ \KHU$ F<S<K:N$ FHEKC<F$ BH$ P<$ PN<IO<O$ BH;<BD<KV$ %D<F<$ CHENO$ P<R$ \HK$ GIFB:IC<R$

CHKJHK:B<$FBQN<$;EGO<NGI<FR$FBQN<F$CHUUHI$BH$:$;KHEJ$H\$OHCEU<IBFR$:IO$FBQN<F$FJ<CG\GC$BH$:$

FGI;N<$ OHCEU<IBV$ #Q$ FBHKGI;$ BD<F<$ F<J:K:B<NQR$ FBQN<$ FD<<BF$ C:I$ P<$ K<EF<OR$ FGUJNG\QGI;$

:EBDHKGI;$ :IO$ U:]GI;$ UHK<$ <\\<CBGS<$ EF<$ H\$ I<BXHK]$ C:CDGI;V$ %D<$ C:FC:O<$ O<\GI<F$ :I$

HKO<K<O$F<cE<IC<$H\$FBQN<$FD<<BF$XD<K<$KEN<F$GI$N:B<K$FD<<BF$D:S<$;K<:B<K$JK<C<O<IC<$BD:I$

<:KNG<K$HI<FV$(HB$:NN$FBQN<$FD<<B$N:I;E:;<F$FEJJHKB$C:FC:OGI;V$

X03.7$30L02302>.04$

'%=*$:NNHXF$:EBDHKF$BH$FJ<CG\Q$OHCEU<IBF$GI$:$U<OG:YGIO<J<IO<IB$X:QV$%DGF$:NNHXF$EF<KF$

BH$:CC<FF$!<P$J:;<F$EFGI;$:$XGO<$S:KG<BQ$H\$O<SGC<F$:IO$U<OG:R$<V;VR$;K:JDGC:N$OGFJN:QF$\HK$

CHUJEB<KF$ KEIIGI;$!GIOHXFR$=:CGIBHFD$)/R$:IO$y66R$O<SGC<F$ \HK$ B<N<SGFGHI$F<BFR$ FJ<CG:NNQ$

:O:JB<O$JDHI<F$:IO$9f1YP:F<O$JHKB:PN<$O<SGC<FR$FJ<<CDYP:F<O$PKHXF<KFR$:IO$PK:GNN<YP:F<O$

B:CBGN<$O<SGC<FV$$
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/BQN<$FD<<BFR$PQ$CHIBK:FBR$:JJNQ$BH$FJ<CG\GC$U<OG:$HK$U<OG:$;KHEJFV$1$FBQN<$FD<<B$GIB<IO<O$\HK$

FCK<<I$EF<$U:Q$P<$:JJNGC:PN<$XD<I$JKGIBGI;R$PEB$GF$H\$NGBBN<$EF<$\HK$FJ<<CDYP:F<O$PKHXF<KFV$

%DGF$FJ<CG\GC:BGHI$:NNHXF$QHE$BH$O<\GI<$BD<$PKH:O$C:B<;HKG<F$H\$U<OG:$:$;GS<I$FBQN<$FD<<B$ GF$

:JJNGC:PN<$ BHV$%DGF$ :NNHXF$EF<K$ :;<IBF$ BH$ :SHGO$ K<BKG<SGI;$ GI:JJKHJKG:B<$ FBQN<$ FD<<BFV$ /BQN<$

FD<<B$ N:I;E:;<F$U:Q$ GICNEO<$ \<:BEK<F$ \HK$O<FCKGPGI;$U<OG:$O<J<IO<ICG<F$XGBDGI$ BD<$ F:U<$

FBQN<$FD<<BV$

F:8012780$48D:04$

1EBDHKF$U:Q$XGFD$ BH$H\\<K$ K<:O<KF$F<S<K:N$X:QF$ BH$SG<X$:$OHCEU<IBV$aHK$ GIFB:IC<R$:$ FBQN<$

FD<<B$\HK$K<IO<KGI;$CHUJ:CB$OHCEU<IBF$XGBD$FU:NN$ \HIBFR$HK$HI<$BD:B$FJ<CG\G<F$ N:K;<K$\HIBF$

\HK$GICK<:F<O$N<;GPGNGBQV$%DGF$FJ<CG\GC:BGHI$:NNHXF$:EBDHKF$BH$FJ<CG\Q$:$JK<\<KK<O$FBQN<$FD<<B$:F$

X<NN$ :F$ :NB<KI:B<F$ BD:B$ B:K;<B$ FJ<CG\GC$ EF<KF$ HK$ U<OG:V$ .F<K$ :;<IBF$ FDHENO$ ;GS<$ EF<KF$ BD<$

HJJHKBEIGBQ$ BH$ F<N<CB$ \KHU$ :UHI;$ :NB<KI:B<$ FBQN<$ FD<<BF$ HK$ BH$ FXGBCD$ H\\$ FBQN<$ FD<<BF$

:NBH;<BD<KV$

V01T91M72>0$>92>0124$

/HU<$J<HJN<$D:S<$SHGC<O$CHIC<KIF$HS<K$J<K\HKU:IC<$ GFFE<F$ \HK$FBQN<$FD<<BFV$aHK$ GIFB:IC<R$

K<BKG<SGI;$ :I$ <bB<KI:N$ FBQN<$ FD<<B$ U:Q$ O<N:Q$ BD<$ \ENN$ JK<F<IB:BGHI$ \HK$ BD<$ EF<KV$ 1$ FGUGN:K$

FGBE:BGHI$:KGF<F$G\$BD<$OHCEU<IB$D<:O$GICNEO<F$:$N<I;BDQ$F<B$H\$FBQN<$KEN<FV$$

%D<$ CEKK<IB$ JKHJHF:N$ :OOK<FF<F$ BD<F<$ GFFE<F$ PQ$ :NNHXGI;$ :EBDHKF$ BH$ GICNEO<$ K<IO<KGI;$

GIFBKECBGHIF$XGBDGI$<:CD$'%=*$<N<U<IBV$%D<$K<IO<KGI;$GI\HKU:BGHI$GF$BD<I$:NX:QF$:S:GN:PN<$

PQ$BD<$BGU<$BD<$EF<K$:;<IB$X:IBF$BH$K<IO<K$<:CD$<N<U<IBV$

0I$ U:IQ$ C:F<FR$ :EBDHKF$ XGNN$ B:]<$ :OS:IB:;<$ H\$ :$ CHUUHI$ FBQN<$ FD<<B$ \HK$ :$ ;KHEJ$ H\$

OHCEU<IBFV$0I$BDGF$C:F<R$OGFBKGPEBGI;$FBQN<$KEN<F$BDKHE;DHEB$BD<$OHCEU<IB$XGNN$:CBE:NNQ$N<:O$

BH$XHKF<$J<K\HKU:IC<$ BD:I$EFGI;$:$ NGI]<O$FBQN<$FD<<BR$ FGIC<$ \HK$UHFB$OHCEU<IBFR$ BD<$FBQN<$

FD<<B$XGNN$:NK<:OQ$P<$JK<F<IB$GI$BD<$NHC:N$C:CD<V$%D<$JEPNGC$:S:GN:PGNGBQ$H\$;HHO$FBQN<$FD<<BF$

XGNN$<ICHEK:;<$BDGF$<\\<CBV$
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V19>044$X930:4$

%D<$ N:K;<$ :IO$ ;KHXGI;$ PHOQ$ H\$ FH\BX:K<$ O<S<NHJU<IB$ HK;:IGW:BGHIF$ GUJN<U<IB$ JKHC<FF$

U<BDHOHNH;G<FV$=:IQ$H\$BD<U$:K<$GI$BD<$O<\<IF<$GIOEFBKQR$XDGCD$GI$BD<$.V/V$K<cEGK<F$:$K:BGI;$P:F<O$

HI$rJKHC<FF$UHO<NFr$BH$HPB:GI$CHIBK:CBFV$

%D<$ GIB<KI:BGHI:N$ FB:IO:KO$ \HK$O<FCKGPGI;$ BD<$U<BDHO$H\$ F<N<CBGI;R$ GUJN<U<IBGI;$:IO$UHIGBHKGI;$

BD<$NG\<$CQCN<$\HK$FH\BX:K<$GF$0/)_0"&$6445LV$

1$O<C:O<FYNHI;$;H:N$D:F$P<<I$BH$ \GIO$K<J<:B:PN<R$JK<OGCB:PN<$JKHC<FF<F$BD:B$ GUJKHS<$JKHOECBGSGBQ$

:IO$cE:NGBQV$ /HU<$ BKQ$ BH$ FQFB<U:BGW<$HK$ \HKU:NGW<$ BD<$ F<<UGI;NQ$EIKENQ$ B:F]$H\$XKGBGI;$ FH\BX:K<V$

)BD<KF$ :JJNQ$ JKHd<CB$U:I:;<U<IB$ B<CDIGcE<F$ BH$XKGBGI;$ FH\BX:K<V$!GBDHEB$ JKHd<CB$U:I:;<U<IBR$

FH\BX:K<$ JKHd<CBF$ C:I$ <:FGNQ$ P<$ O<NGS<K<O$ N:B<$ HK$ HS<K$ PEO;<BV$ !GBD$ N:K;<$ IEUP<KF$ H\$ FH\BX:K<$

JKHd<CBF$ IHB$ U<<BGI;$ BD<GK$ <bJ<CB:BGHIF$ GI$ B<KUF$ H\$ \EICBGHI:NGBQR$ CHFBR$ HK$ O<NGS<KQ$ FCD<OEN<R$

<\\<CBGS<$JKHd<CB$U:I:;<U<IB$:JJ<:KF$BH$P<$N:C]GI;V$

)K;:IGW:BGHIF$U:Q$CK<:B<$:$/H\BX:K<$"I;GI<<KGI;$9KHC<FF$+KHEJ$Z/"9+[R$XDGCD$ GF$ BD<$ \HC:N$JHGIB$

\HK$JKHC<FF$GUJKHS<U<IBV$&HUJHF<O$H\$NGI<$JK:CBGBGHI<KF$XDH$D:S<$S:KG<O$F]GNNFR$BD<$;KHEJ$GF$:B$BD<$

C<IB<K$ H\$ BD<$ CHNN:PHK:BGS<$ <\\HKB$ H\$ <S<KQHI<$ GI$ BD<$ HK;:IGW:BGHI$XDH$ GF$ GISHNS<O$XGBD$ FH\BX:K<$

<I;GI<<KGI;$JKHC<FF$GUJKHS<U<IBV$

G9T8<710$30/0:9LM028$7>8./.8.04$

V:722.26$

9N:IIGI;$GF$:I$HPd<CBGS<$H\$<:CD$:IO$<S<KQ$:CBGSGBQR$XD<K<$X<$X:IB$BH$OGFCHS<K$BDGI;F$BD:B$P<NHI;$BH$

BD<$ JKHd<CBV$ 1I$ GUJHKB:IB$ B:F]$ GI$ CK<:BGI;$ :$ FH\BX:K<$ JKH;K:U$ GF$ <bBK:CBGI;$ BD<$ K<cEGK<U<IBF$ HK$

K<cEGK<U<IBF$ :I:NQFGFV$ &EFBHU<KF$ BQJGC:NNQ$ D:S<$ :I$ :PFBK:CB$ GO<:$ H\$ XD:B$ BD<Q$ X:IB$ :F$ :I$ <IO$

K<FENBR$ PEB$ IHB$ XD:B$ 6,K-G*$"$ FDHENO$ OHV$ /]GNN<O$ :IO$ <bJ<KG<IC<O$ FH\BX:K<$ <I;GI<<KF$ K<CH;IGW<$

GICHUJN<B<R$ :UPG;EHEFR$ HK$ <S<I$ CHIBK:OGCBHKQ$ K<cEGK<U<IBF$ :B$ BDGF$ JHGIBV$ aK<cE<IBNQ$

O<UHIFBK:BGI;$NGS<$CHO<$U:Q$D<NJ$K<OEC<$BD<$KGF]$BD:B$BD<$K<cEGK<U<IBF$:K<$GICHKK<CBV$

)IC<$ BD<$ ;<I<K:N$ K<cEGK<U<IBF$ :K<$ ;:BD<K<O$ \KHU$ BD<$ CNG<IBR$ :I$ :I:NQFGF$ H\$ BD<$ FCHJ<$ H\$ BD<$

O<S<NHJU<IB$FDHENO$P<$O<B<KUGI<O$:IO$CN<:KNQ$FB:B<OV$%DGF$GF$H\B<I$C:NN<O$:$FCHJ<$OHCEU<IBV$

&<KB:GI$\EICBGHI:NGBQ$U:Q$P<$HEB$H\$FCHJ<$H\$BD<$JKHd<CB$:F$:$\EICBGHI$H\$CHFB$HK$:F$:$K<FENB$H\$EICN<:K$

K<cEGK<U<IBF$:B$BD<$FB:KB$H\$O<S<NHJU<IBV$0\$BD<$O<S<NHJU<IB$GF$OHI<$<bB<KI:NNQR$BDGF$OHCEU<IB$C:I$

P<$ CHIFGO<K<O$ :$ N<;:N$ OHCEU<IB$ FH$ BD:B$ G\$ BD<K<$ :K<$ <S<K$ OGFJEB<FR$ :IQ$ :UPG;EGBQ$ H\$ XD:B$ X:F$

JKHUGF<O$BH$BD<$CNG<IB$C:I$P<$CN:KG\G<OV$

YML:0M02878.92I$8048.26$723$39>CM028.26$

0UJN<U<IB:BGHI$GF$BD<$J:KB$H\$BD<$JKHC<FF$XD<K<$FH\BX:K<$<I;GI<<KF$:CBE:NNQ$JKH;K:U$BD<$CHO<$\HK$

BD<$JKHd<CBV$
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/H\BX:K<$B<FBGI;$GF$:I$GIB<;K:N$:IO$GUJHKB:IB$JD:F<$H\$BD<$FH\BX:K<$O<S<NHJU<IB$JKHC<FFV$%DGF$J:KB$

H\$BD<$JKHC<FF$<IFEK<F$BD:B$O<\<CBF$:K<$K<CH;IGW<O$:F$FHHI$:F$JHFFGPN<V$

fHCEU<IBGI;$ BD<$ GIB<KI:N$ O<FG;I$ H\$ FH\BX:K<$ \HK$ BD<$ JEKJHF<$ H\$ \EBEK<$ U:GIB<I:IC<$ :IO$

<ID:IC<U<IB$ GF$OHI<$BDKHE;DHEB$O<S<NHJU<IBV$%DGF$U:Q$:NFH$ GICNEO<$BD<$XKGBGI;$H\$:I$190R$P<$ GB$

<bB<KI:N$ HK$ GIB<KI:NV$ %D<$ FH\BX:K<$ <I;GI<<KGI;$ JKHC<FF$ CDHF<I$ PQ$ BD<$ O<S<NHJGI;$ B<:U$ XGNN$

O<B<KUGI<$ DHX$ UECD$ GIB<KI:N$ OHCEU<IB:BGHI$ ZG\$ :IQ[$ GF$ I<C<FF:KQV$ 9N:IYOKGS<I$ UHO<NF$ Z<V;VR$

!:B<K\:NN[$;<I<K:NNQ$JKHOEC<$UHK<$OHCEU<IB:BGHI$BD:I$1;GN<$UHO<NFV$

50L:9DM028$723$M7.280272>0$

f<JNHQU<IB$ FB:KBF$ :\B<K$ BD<$ CHO<$ GF$ :JJKHJKG:B<NQ$ B<FB<OR$ :JJKHS<O$ \HK$ K<N<:F<R$ :IO$ FHNO$ HK$

HBD<KXGF<$OGFBKGPEB<O$GIBH$:$JKHOECBGHI$<ISGKHIU<IBV$%DGF$U:Q$GISHNS<$GIFB:NN:BGHIR$CEFBHUGW:BGHI$

ZFECD$:F$PQ$F<BBGI;$J:K:U<B<KF$BH$BD<$CEFBHU<KrF$S:NE<F[R$B<FBGI;R$:IO$JHFFGPNQ$:I$<bB<IO<O$J<KGHO$

H\$<S:NE:BGHIV$

/H\BX:K<$BK:GIGI;$:IO$FEJJHKB$GF$GUJHKB:IBR$:F$FH\BX:K<$GF$HINQ$<\\<CBGS<$G\$GB$GF$EF<O$CHKK<CBNQV$

=:GIB:GIGI;$:IO$<ID:ICGI;$FH\BX:K<$BH$CHJ<$XGBD$I<XNQ$OGFCHS<K<O$\:ENBF$HK$K<cEGK<U<IBF$C:I$B:]<$

FEPFB:IBG:N$BGU<$:IO$<\\HKBR$:F$UGFF<O$K<cEGK<U<IBF$U:Q$\HKC<$K<O<FG;I$H\$BD<$FH\BX:K<V$

!7801T7::$M930:U$73/7287604I$3.473/7287604$$

%D<$!:B<K\:NN$=HO<N$X:F$ \GKFB$9KHC<FF$=HO<N$ BH$P<$ GIBKHOEC<OV$ 0B$ GF$ :NFH$ K<\<KK<O$ BH$ :F$ :$ :.2071U

40_C028.7:$:.T0$>D>:0$M930:V$ $0B$ GF$S<KQ$FGUJN<$BH$EIO<KFB:IO$:IO$EF<V$$ 0I$:$X:B<K\:NN$UHO<NR$<:CD$

JD:F<$UEFB$P<$CHUJN<B<O$\ENNQ$P<\HK<$BD<$I<bB$JD:F<$C:I$P<;GIV$$$1B$BD<$<IO$H\$<:CD$JD:F<R$:$K<SG<X$

B:]<F$ JN:C<$ BH$ O<B<KUGI<$ G\$ BD<$ JKHd<CB$ GF$ HI$ BD<$ KG;DB$ J:BD$ :IO$ XD<BD<K$ HK$ IHB$ BH$ CHIBGIE<$ HK$

OGFC:KO$BD<$JKHd<CBV$0I$X:B<K\:NN$UHO<N$JD:F<F$OH$IHB$HS<KN:JV$

5.7617M$9T$!7801T7::UM930:S$$$

$
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F3/7287604$9T$<7801T7::$M930:S$

• /GUJN<$:IO$<:FQ$BH$EIO<KFB:IO$:IO$EF<V$

• ":FQ$BH$U:I:;<$OE<$BH$BD<$KG;GOGBQ$H\$BD<$UHO<N$@$<:CD$JD:F<$D:F$FJ<CG\GC$O<NGS<K:PN<F$:IO$:$

K<SG<X$JKHC<FFV$

• 9D:F<F$:K<$JKHC<FF<O$:IO$CHUJN<B<O$HI<$:B$:$BGU<V$

• !HK]F$X<NN$\HK$FU:NN<K$JKHd<CBF$XD<K<$K<cEGK<U<IBF$:K<$S<KQ$X<NN$EIO<KFBHHOV$

$5.473/7287604$9T$<7801T7::$M930:S$

• )IC<$ :I$ :JJNGC:BGHI$ GF$ GI$ BD<$ B<FBGI;$ FB:;<R$ GB$ GF$ S<KQ$ OG\\GCENB$ BH$ ;H$ P:C]$ :IO$ CD:I;<$

FHU<BDGI;$BD:B$X:F$IHB$X<NNYBDHE;DB$HEB$GI$BD<$CHIC<JB$FB:;<V$

• (H$XHK]GI;$FH\BX:K<$GF$JKHOEC<O$EIBGN$N:B<$OEKGI;$BD<$NG\<$CQCN<V$

• 'G;D$:UHEIBF$H\$KGF]$:IO$EIC<KB:GIBQV$

• (HB$:$;HHO$UHO<N$\HK$CHUJN<b$:IO$HPd<CBYHKG<IB<O$JKHd<CBFV$

• 9HHK$UHO<N$\HK$NHI;$:IO$HI;HGI;$JKHd<CBFV$

• (HB$FEGB:PN<$\HK$BD<$JKHd<CBF$XD<K<$K<cEGK<U<IBF$:K<$:B$:$UHO<K:B<$BH$DG;D$KGF]$H\$CD:I;GI;V$

!Q02$89$C40$8Q0$<7801T7::$M930:S$

• ?<cEGK<U<IBF$:K<$S<KQ$X<NN$]IHXIR$CN<:K$:IO$\Gb<OV$

• 9KHOECB$O<\GIGBGHI$GF$FB:PN<V$

• %<CDIHNH;Q$GF$EIO<KFBHHOV$

• %D<K<$:K<$IH$:UPG;EHEF$K<cEGK<U<IBF$

• 1UJN<$K<FHEKC<F$XGBD$K<cEGK<O$<bJ<KBGF<$:K<$:S:GN:PN<$\K<<NQ$

• %D<$JKHd<CB$GF$FDHKBV$

!Q78$.4$V19898DL.26$X930:$G5*&[$

0I$ 9KHBHBQJGI;$ UHO<NR$ :$ JKHBHBQJ<$ GF$ U:O<$ \GKFB$ :IO$ P:F<O$ HI$ GB$ \GI:N$ JKHOECB$ GF$ O<S<NHJ<OV$ 1$

JKHBHBQJ<$ GF$ :$ UHO<N$ HK$ :$ JKH;K:U$ XDGCD$ GF$ IHB$ P:F<O$ HI$ FBKGCB$ JN:IIGI;R$ PEB$ GF$ :I$ <:KNQ$

:JJKHbGU:BGHI$ H\$ BD<$ \GI:N$ JKHOECB$ HK$ FH\BX:K<$ FQFB<UV$1$ JKHBHBQJ<$ :CBF$ :F$ :$ F:UJN<$ BH$ B<FB$ BD<$

JKHC<FFV$ aKHU$ BDGF$ F:UJN<$X<$ N<:KI$ :IO$ BKQ$ BH$ PEGNO$ :$ P<BB<K$ \GI:N$ JKHOECBV$ 9N<:F<$IHB<$ BD:B$ BDGF$

JKHBHBQJ<$U:Q$HK$U:Q$IHB$P<$CHUJN<B<NQ$OG\\<K<IB$\KHU$BD<$\GI:N$FQFB<U$X<$:K<$BKQGI;$BH$O<S<NHJV$$

%D<K<$:K<$F<S<K:N$FB<JF$GI$BD<$9KHBHBQJGI;$=HO<N3$$

6V %D<$ I<X$ FQFB<U$ K<cEGK<U<IBF$ :K<$ O<\GI<O$ GI$ :F$ UECD$ O<B:GN$ :F$ JHFFGPN<V$ %DGF$ EFE:NNQ$

GISHNS<F$GIB<KSG<XGI;$:$IEUP<K$H\$EF<KF$K<JK<F<IBGI;$:NN$BD<$O<J:KBU<IBF$HK$:FJ<CBF$H\$BD<$

<bGFBGI;$FQFB<UV$



!"#$%"&'()*)+,$-."/%0)($#1(2$3$4567$ Le$8$9 : ; < $
$

4V 1$JK<NGUGI:KQ$O<FG;I$GF$CK<:B<O$\HK$BD<$I<X$FQFB<UV$

7V 1$ \GKFB$ JKHBHBQJ<$ H\$ BD<$ I<X$ FQFB<U$ GF$ CHIFBKECB<O$ \KHU$ BD<$ JK<NGUGI:KQ$ O<FG;IV$ %DGF$ GF$

EFE:NNQ$:$FC:N<OYOHXI$FQFB<UR$:IO$K<JK<F<IBF$:I$:JJKHbGU:BGHI$H\$BD<$CD:K:CB<KGFBGCF$H\$BD<$

\GI:N$JKHOECBV$

AV %D<$ EF<KF$ BDHKHE;DNQ$ <S:NE:B<$ BD<$ \GKFB$ JKHBHBQJ<R$ IHBGI;$ GBF$ FBK<I;BDF$ :IO$ X<:]I<FF<FR$

XD:B$ I<<OF$ BH$ P<$ :OO<OR$ :IO$ XD:B$ FDHENO$ BH$ P<$ K<UHS<OV$ %D<$ O<S<NHJ<K$ CHNN<CBF$ :IO$

:I:NQW<F$BD<$K<U:K]F$\KHU$BD<$EF<KFV$

eV %D<$\GKFB$JKHBHBQJ<$GF$UHOG\G<OR$P:F<O$HI$BD<$CHUU<IBF$FEJJNG<O$PQ$BD<$EF<KFR$:IO$:$F<CHIO$

JKHBHBQJ<$H\$BD<$I<X$FQFB<U$GF$CHIFBKECB<OV$

MV %D<$F<CHIO$JKHBHBQJ<$GF$<S:NE:B<O$GI$BD<$F:U<$U:II<K$:F$X:F$BD<$\GKFB$JKHBHBQJ<V$

LV %D<$JK<C<OGI;$ FB<JF$:K<$ GB<K:B<O$:F$U:IQ$ BGU<F$:F$I<C<FF:KQR$EIBGN$ BD<$EF<KF$ :K<$ F:BGF\G<O$

BD:B$BD<$JKHBHBQJ<$K<JK<F<IBF$BD<$\GI:N$JKHOECB$O<FGK<OV$

mV %D<$\GI:N$FQFB<U$GF$CHIFBKECB<OR$P:F<O$HI$BD<$\GI:N$JKHBHBQJ<V$

pV %D<$\GI:N$FQFB<U$GF$BDHKHE;DNQ$<S:NE:B<O$:IO$B<FB<OV$?HEBGI<$U:GIB<I:IC<$GF$C:KKG<O$HEB$HI$:$

CHIBGIEGI;$P:FGF$BH$JK<S<IB$N:K;<YFC:N<$\:GNEK<F$:IO$BH$UGIGUGW<$OHXIBGU<V$

(003$9T$V19898DL.26$X930:$

%DGF$ BQJ<$ H\$ /QFB<U$ f<S<NHJU<IB$ =<BDHO$ GF$ <UJNHQ<O$ XD<I$ GB$ GF$ S<KQ$ OG\\GCENB$ BH$ HPB:GI$ <b:CB$

K<cEGK<U<IBF$ \KHU$ BD<$ CEFBHU<KZEING]<$ X:B<K\:NN$ UHO<NR$ XD<K<$ K<cEGK<U<IBF$ :K<$ CN<:K[V$ !DGN<$

U:]GI;$BD<$UHO<NR$EF<K$]<<JF$;GSGI;$ \<<OP:C]F$ \KHU$BGU<$BH$ BGU<$:IO$P:F<O$HI$ GBR$:$JKHBHBQJ<$ GF$

U:O<V$&HUJN<B<NQ$PEGNB$F:UJN<$UHO<N$GF$FDHXI$BH$EF<K$:IO$P:F<O$HI$DGF$\<<OP:C]R$BD<$/?/Z/QFB<U$

?<cEGK<U<IBF$/J<CG\GC:BGHIF[$OHCEU<IB$GF$JK<J:K<OV$1\B<K$CHUJN<BGHI$H\$BDGFR$:$UHK<$:CCEK:B<$/?/$

GF$ JK<J:K<OR$ :IO$ IHX$ O<S<NHJU<IB$ XHK]$ C:I$ FB:KB$ EFGI;$ !:B<K\:NN$ =HO<NV$$

(HX$ N<BF$ OGFCEFF$ BD<$ OGF:OS:IB:;<F$ $:IO$ :OS:IB:;<F$ H\$ BD<$ 9KHBHBQJ<$ UHO<N$ GI$ /H\BX:K<$

f<S<NHJU<IB$=<BDHOV$

$

9KHBHBQJGI;$9KHC<FF$=HO<N$

F3/7287604$9T$V19898DL.26$X930:$

?A$!D<I$JKHBHBQJ<$GF$FDHXI$BH$BD<$EF<KR$D<$;<BF$:$JKHJ<K$CN:KGBQ$:IO$r\<<Nr$H\$BD<$\EICBGHI:NGBQ$H\$BD<$

FH\BX:K<$:IO$D<$C:I$FE;;<FB$CD:I;<F$:IO$UHOG\GC:BGHIFV$$

EA$%DGF$BQJ<$H\$:JJKH:CD$H\$O<S<NHJGI;$BD<$FH\BX:K<$GF$EF<O$\HK$IHIY0%YNGB<K:B<$J<HJN<V$%D<Q$EFE:NNQ$

:K<$IHB$;HHO$:B$FJ<CG\QGI;$BD<GK$K<cEGK<U<IBFR$IHK$C:I$B<NN$JKHJ<KNQ$:PHEB$XD:B$BD<Q$<bJ<CB$\KHU$

BD<$FH\BX:K<V$
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HA$$!D<I$CNG<IB$GF$IHB$CHI\GO<IB$:PHEB$BD<$O<S<NHJ<KrF$C:J:PGNGBG<FR$D<$:F]F$\HK$:$FU:NN$JKHBHBQJ<$BH$

P<$PEGNBV$#:F<O$HI$BDGF$UHO<NR$D<$dEO;<F$C:J:PGNGBG<F$H\$O<S<NHJ<KV$$

JA$$/HU<BGU<F$GB$D<NJF$BH$O<UHIFBK:B<$BD<$CHIC<JB$BH$JKHFJ<CBGS<$GIS<FBHKF$BH$;<B$\EIOGI;$\HK$

JKHd<CBV$

RA$$0B$K<OEC<F$KGF]$H\$\:GNEK<R$:F$JHB<IBG:N$KGF]F$C:I$P<$GO<IBG\G<O$<:KNQ$:IO$UGBG;:BGHI$FB<JF$C:I$P<$

B:]<IV$

`A$$0B<K:BGHI$P<BX<<I$O<S<NHJU<IB$B<:U$:IO$CNG<IB$JKHSGO<F$:$S<KQ$;HHO$:IO$CHIOECBGS<$

<ISGKHIU<IB$OEKGI;$JKHd<CBV$

aA$$%GU<$K<cEGK<O$BH$CHUJN<B<$BD<$JKHd<CB$:\B<K$;<BBGI;$\GI:N$BD<$/?/$K<OEC<FR$FGIC<$BD<$O<S<NHJ<K$

D:F$:$P<BB<K$GO<:$:PHEB$DHX$D<$FDHENO$:JJKH:CD$BD<$JKHd<CBV$

5.473/7287604$9T$V19898DL.26$X930:S$

$

?A$$9KHBHBQJGI;$GF$EFE:NNQ$OHI<$:B$BD<$CHFB$H\$BD<$O<S<NHJ<KV$/H$GB$FDHENO$P<$OHI<$EFGI;$UGIGU:N$

K<FHEKC<FV$0B$C:I$P<$OHI<$EFGI;$?:JGO$1JJNGC:BGHI$f<S<NHJU<IB$Z?1f[$BHHNFV$9N<:F<$IHB<$FHU<BGU<F$

BD<$FB:KBYEJ$CHFB$H\$PEGNOGI;$BD<$O<S<NHJU<IB$B<:UR$\HCEF<O$HI$U:]GI;$JKHBHBQJ<R$GF$DG;DV$

EA$$)IC<$X<$;<B$JKHJ<K$K<cEGK<U<IBF$\KHU$CNG<IB$:\B<K$FDHXGI;$JKHBHBQJ<$UHO<NR$GB$U:Q$P<$H\$IH$

EF<V$%D:B$GF$XDQR$FHU<BGU<F$X<$K<\<K$BH$BD<$JKHBHBQJ<$:F$s%DKHXY:X:Qs$JKHBHBQJ<V$$

HA$$0B$GF$:$FNHX$JKHC<FFV$

JA$$%HH$UECD$GISHNS<U<IB$H\$CNG<IBR$GF$IHB$:NX:QF$JK<\<KK<O$PQ$BD<$O<S<NHJ<KV$

RA$$%HH$U:IQ$CD:I;<F$C:I$OGFBEKP$BD<$KDQBDU$H\$BD<$O<S<NHJU<IB$B<:UV$

V10:.M.271D$727:D4.4$

%D<$U:GI$ HPd<CBGS<F$ H\$ JK<NGUGI:KQ$ :I:NQFGF$ GF$ BH$ GO<IBG\Q$ BD<$ CEFBHU<KrF$ I<<OFR$ <S:NE:B<$ FQFB<U$

CHIC<JB$\HK$\<:FGPGNGBQR$J<K\HKU$<CHIHUGC$:IO$B<CDIGC:N$:I:NQFGFR$J<K\HKU$CHFB$P<I<\GB$:I:NQFGF$:IO$

CK<:B<$ FQFB<U$ O<\GIGBGHI$ BD:B$ \HKUF$ BD<$ \HEIO:BGHI$ \HK$ :NN$ FEPF<cE<IB$ <I;GI<<KGI;$XHK]FV$ %D<K<$

FDHENO$P<$<IHE;D$<bJ<KBGF<$:S:GN:PN<$\HK$D:KOX:K<$:IO$FH\BX:K<$\HK$OHGI;$:I:NQFGFV$$

!DGN<$J<K\HKUGI;$:I:NQFGFR$BD<$\HNNHXGI;$cE<FBGHIF$:KGF<V$

• 'HX$ UECD$ BGU<$ FDHENO$ P<$ FJ<IB$ HI$ GBj$

1F$ FECDR$ BD<K<$ :K<$ IH$ KEN<F$ HK$ \HKUEN:F$ :S:GN:PN<$ BH$ O<CGO<$ HI$ BDGFV$ 'HX<S<KR$ FGW<R$

CHUJN<bGBQR$:JJNGC:BGHI$\G<NOR$<IOYEF<R$CHIBK:CBE:N$HPNG;:BGHI$:K<$\<X$J:K:U<B<KF$HI$XDGCD$GB$

FDHENO$P<$O<CGO<OV$

• )BD<K$ U:dHK$ cE<FBGHI$ BD:B$ :KGF<F$ GF$ XDH$ FDHENO$ OH$ GBV$

!<NN$ :I$ <bJ<KG<IC<O$X<NNYBK:GI<O$ :I:NQFB$ FDHENO$ OH$ GBV$ aHK$ N:K;<$ JKHd<CBR$ BD<K<$ C:I$ P<$ :I$

:I:NQFGF$B<:UV$
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1\B<K$ BD<$ JK<NGUGI:KQ$ :I:NQFGFR$ BD<$ :I:NQFB$ FDHENO$ K<JHKB$ BD<$ \GIOGI;F$ BH$ U:I:;<U<IBR$ XGBD$

K<CHUU<IO:BGHIF$HEBNGIGI;$BD<$:CC<JB:IC<$HK$K<d<CBGHI$H\$BD<$JKHJHF:NV$

&10780$7$<0K$L760$

B7:.3780$8Q0$<0K$L760$

*726C7604$91$80>Q29:96.04$C403$

%0>Q2._C04$89$M7.287.2$40>10>D$723$40>C1.8D$9T$3787$

5.4P$"2>1DL8.92$

fGF]$ <ICKQJBGHI$ K<\<KF$ BH$ <ICKQJBGHI$ B<CDIHNH;Q$ BD:B$ <ICKQJBF$ O:B:$ HI$ :$ D:KO$ OGF]$ OKGS<V$ fGF]$

<ICKQJBGHI$BQJGC:NNQ$B:]<F$\HKU$GI$<GBD<K$FH\BX:K<$ZF<<$OGF]$<ICKQJBGHI$FH\BX:K<w$HK$D:KOX:K<$ZF<<$

OGF]$<ICKQJBGHI$D:KOX:K<[V$fGF]$<ICKQJBGHI$GF$H\B<I$K<\<KK<O$BH$:F$HIYBD<Y\NQ$<ICKQJBGHI$Zs)%a"s[$

HK$BK:IFJ:K<IB$<ICKQJBGHIV$

'713<710$K7403$X0>Q72.4M4$T91$V1980>8.26$5787$

/H\BX:K<$P:F<O$F<CEKGBQ$FHNEBGHIF$<ICKQJB$BD<$O:B:$BH$JK<S<IB$O:B:$\KHU$P<GI;$FBHN<IV$'HX<S<KR$:$

U:NGCGHEF$JKH;K:U$HK$:$D:C]<K$U:Q$CHKKEJB$BD<$O:B:$GI$HKO<K$BH$U:]<$GB$EIK<CHS<K:PN<R$U:]GI;$BD<$

FQFB<U$EIEF:PN<V$':KOX:K<YP:F<O$F<CEKGBQ$FHNEBGHIF$C:I$JK<S<IB$K<:O$:IO$XKGB<$:CC<FF$BH$O:B:$:IO$

D<IC<$H\\<KF$S<KQ$FBKHI;$JKHB<CBGHI$:;:GIFB$B:UJ<KGI;$:IO$EI:EBDHKGW<O$:CC<FFV$

':KOX:K<$ P:F<O$ HK$ :FFGFB<O$ CHUJEB<K$ F<CEKGBQ$ H\\<KF$ :I$ :NB<KI:BGS<$ BH$ FH\BX:K<YHINQ$ CHUJEB<K$

F<CEKGBQV$ /<CEKGBQ$ BH]<IF$ FECD$ :F$ BDHF<$ EFGI;$ 92&/Z)'E8%523"4# 5$4)-,&$*).4# 6-*+!*$!6[$ U:Q$ P<$

UHK<$ F<CEK<$ OE<$ BH$ BD<$ JDQFGC:N$ :CC<FF$ K<cEGK<O$ GI$ HKO<K$ BH$ P<$ CHUJKHUGF<OV$1CC<FF$ GF$ <I:PN<O$

HINQ$ XD<I$ BD<$ BH]<I$ GF$ CHII<CB<O$ :IO$ CHKK<CB$ 90($ GF$ <IB<K<O$ ZF<<$ BXH$ \:CBHK$ :EBD<IBGC:BGHI[V$

'HX<S<KR$OHI;N<F$C:I$P<$EF<O$PQ$:IQHI<$XDH$C:I$;:GI$JDQFGC:N$:CC<FF$BH$GBV$(<X<K$B<CDIHNH;G<F$GI$

D:KOX:K<$P:F<O$F<CEKGBQ$FHNS<F$BDGF$JKHPN<U$H\\<KGI;$\HHN$JKHH\$F<CEKGBQ$\HK$O:B:V$

!HK]GI;$H\$':KOX:K<$P:F<O$F<CEKGBQ3$1$D:KOX:K<$O<SGC<$:NNHXF$:$EF<K$BH$NH;$GIR$NH;$HEB$:IO$BH$F<B$

OG\\<K<IB$JKGSGN<;<$N<S<NF$PQ$OHGI;$U:IE:N$:CBGHIFV$%D<$O<SGC<$EF<F$PGHU<BKGC$B<CDIHNH;Q$BH$JK<S<IB$

U:NGCGHEF$EF<KF$ \KHU$ NH;;GI;$ GIR$ NH;;GI;$HEBR$:IO$CD:I;GI;$JKGSGN<;<$ N<S<NFV$%D<$CEKK<IB$FB:B<$H\$:$

EF<K$H\$BD<$O<SGC<$GF$K<:O$PQ$CHIBKHNN<KF$GI$J<KGJD<K:N$O<SGC<F$FECD$:F$D:KOOGF]FV$0NN<;:N$:CC<FF$PQ$:$

U:NGCGHEF$ EF<K$ HK$ :$ U:NGCGHEF$ JKH;K:U$ GF$ GIB<KKEJB<O$ P:F<O$ HI$ BD<$ CEKK<IB$ FB:B<$ H\$ :$ EF<K$ PQ$

D:KOOGF]$ :IO$ f>f$ CHIBKHNN<KF$ U:]GI;$ GNN<;:N$ :CC<FF$ BH$ O:B:$ GUJHFFGPN<V$ ':KOX:K<$ P:F<O$ :CC<FF$

CHIBKHN$GF$UHK<$F<CEK<$BD:I$JKHB<CBGHI$JKHSGO<O$PQ$BD<$HJ<K:BGI;$FQFB<UF$:F$HJ<K:BGI;$FQFB<UF$:K<$

SENI<K:PN<$ BH$U:NGCGHEF$ :BB:C]F$PQ$ SGKEF<F$ :IO$D:C]<KFV$ %D<$O:B:$ HI$D:KOOGF]F$ C:I$P<$ CHKKEJB<O$

:\B<K$:$U:NGCGHEF$:CC<FF$GF$HPB:GI<OV$!GBD$D:KOX:K<$P:F<O$JKHB<CBGHIR$FH\BX:K<$C:IIHB$U:IGJEN:B<$

BD<$ EF<K$ JKGSGN<;<$ N<S<NFR$ GB$ GF$ GUJHFFGPN<$ \HK$ :$ D:C]<K$ HK$ :$U:NGCGHEF$ JKH;K:U$ BH$ ;:GI$ :CC<FF$ BH$

F<CEK<$O:B:$JKHB<CB<O$PQ$D:KOX:K<$HK$J<K\HKU$EI:EBDHKGW<O$JKGSGN<;<O$HJ<K:BGHIFV$%D<$D:KOX:K<$
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JKHB<CBF$BD<$HJ<K:BGI;$FQFB<U$GU:;<$:IO$\GN<$FQFB<U$JKGSGN<;<F$\KHU$P<GI;$B:UJ<K<OV$%D<K<\HK<R$:$

CHUJN<B<NQ$ F<CEK<$ FQFB<U$ C:I$ P<$ CK<:B<O$ EFGI;$ :$ CHUPGI:BGHI$ H\$ D:KOX:K<$ P:F<O$ F<CEKGBQ$ :IO$

F<CEK<$FQFB<U$:OUGIGFBK:BGHI$JHNGCG<FV$

#7>PCL4$

#:C]EJF$:K<$EF<O$BH$<IFEK<$O:B:$XDGCD$GF$NHFB$C:I$P<$K<CHS<K<OV$

5787$X74P.26$

f:B:$ =:F]GI;$ H\$ FBKECBEK<O$ O:B:$ GF$ BD<$ JKHC<FF$ H\$ HPFCEKGI;$ ZU:F]GI;[$ FJ<CG\GC$ O:B:$ XGBDGI$ :$

O:B:P:F<$ B:PN<$HK$ C<NN$ BH$<IFEK<$ BD:B$O:B:$ F<CEKGBQ$ GF$U:GIB:GI<O$:IO$F<IFGBGS<$ GI\HKU:BGHI$ GF$IHB$

<bJHF<O$BH$EI:EBDHKGW<O$J<KFHII<NV$%DGF$U:Q$GICNEO<$U:F]GI;$BD<$O:B:$\KHU$EF<KF$Z\HK$<b:UJN<$FH$

P:I]GI;$ CEFBHU<K$ K<JK<F<IB:BGS<F$ C:I$ HINQ$ F<<$ BD<$ N:FB$ A$ OG;GBF$ H\$ :$ CEFBHU<KF$ I:BGHI:N$ GO<IBGBQ$

IEUP<K[R$O<S<NHJ<KF$ZXDH$I<<O$K<:N$JKHOECBGHI$O:B:$BH$B<FB$I<X$FH\BX:K<$K<N<:F<F$PEB$FDHENO$IHB$

P<$:PN<$BH$F<<$F<IFGBGS<$\GI:ICG:N$O:B:[R$HEBFHEKCGI;$S<IOHKFR$<BCV$

5787$"174C10$

f:B:$<K:FEK<$GF$:$U<BDHO$H\$FH\BX:K<YP:F<O$HS<KXKGBGI;$BD:B$CHUJN<B<NQ$O<FBKHQF$:NN$<N<CBKHIGC$O:B:$

K<FGOGI;$HI$:$D:KO$OKGS<$HK$HBD<K$OG;GB:N$U<OG:$BH$<IFEK<$BD:B$IH$F<IFGBGS<$O:B:$GF$N<:]<O$XD<I$:I$

:FF<B$GF$K<BGK<O$HK$K<EF<OV$

1NFH$K<:O$<ICKQJBGHI$:PHS<$

b2724<0103S$

"=L724.92$ T19M$ Y23.7$ 89$ bGFI$ (91<7D$ 723$ F16028.27@$ *067:$ 723$ 73M.2.48178./0$ QC13:04$

T7>03[$G9:C8.924$T91$.ML:0M02878.92[$
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-6$$"bJN:GI$:[y=*3$$

y=*$ GF$:$FGUJNG\G<O$S<KFGHI$H\$/+=*$:IO$:$CHEFGI$H\$'%=*V$ 0B$X:F$O<S<NHJ<O$PQ$U<UP<KF$H\$ BD<$

!7&$:IO$K<N<:F<O$:F$:$K<CHUU<IO:BGHI$PQ$BD<$!7&$GI$a<PKE:KQ$6ppmV$$

/+=*R$BD<$J:K<IB$H\$y=*R$GF$:I$GIB<KI:BGHI:N$FB:IO:KO$BD:B$D:F$P<<I$GI$EF<$:F$:$U:K]EJ$N:I;E:;<$

JKGU:KGNQ$ \HK$ B<CDIGC:N$OHCEU<IB:BGHI$:IO$;HS<KIU<IB$:JJNGC:BGHIF$FGIC<$BD<$<:KNQ$6pm5FV$ 0B$X:F$

O<S<NHJ<O$BH$FB:IO:KOGW<$BD<$JKHOECBGHI$JKHC<FF$\HK$N:K;<$OHCEU<IB$F<BFV$

$

y=*$GF$:$X:Q$H\$:OOGI;$GIB<NNG;<IC<$BH$QHEK$OHCEU<IBFV$

0B$ N<BF$ QHE$ GO<IBG\Q$ <:CD$ <N<U<IB$ EFGI;$ U<:IGI;\EN$ B:;F$ :IO$ GB$ N<BF$ QHE$ :OO$ GI\HKU:BGHI$

ZsU<B:BO:B:s[$:PHEB$<:CD$<N<U<IBV$$

y=*$GF$S<KQ$UECD$:$J:KB$H\$BD<$\EBEK<$H\$!<PR$:IO$J:KB$H\$BD<$\EBEK<$\HK$:NN$<N<CBKHIGC$GI\HKU:BGHIV$$

y=*$ GF$ :$ FQIB:b$ \HK$U:K]GI;$ EJ$ O:B:$ :IO$ GB$XHK]F$XGBD$U:IQ$ HBD<K$ B<CDIHNH;G<F$ BH$ OGFJN:Q$ :IO$

JKHC<FF$GI\HKU:BGHIV$0B$NHH]F$:IO$\<<NF$S<KQ$UECD$NG]<$'%=*V$$

,HErNN$FBGNN$I<<O$BH$EF<$&//YY&:FC:OGI;$/BQN<$/D<<BFYY$ZXGBD$y=*[$BH$O<\GI<$\HIB$CHNHKF$HK$o:S:/CKGJB$

Z:;:GIR$XGBD$y=*[$BH$U:]<$QHEK$GU:;<F$\NQ$:KHEIOV$$

y=*$N<BF$QHE$U:]<$OHCEU<IBF$FU:KB<KR$UHK<$JHKB:PN<R$:IO$UHK<$JHX<K\ENV$

y=*$:NNHXF$QHE$BH$EF<$QHEK$HXI$B:;F$BH$O<\GI<$J:KBF$H\$:$OHCEU<IBV$%D:B$ GFR$y=*$O<FCKGP<F$XD:B$

FHU<BDGI;$GF$K:BD<K$BD:I$J<K\HKUGI;$:I$:CBGHIV$$

$

aHK$<b:UJN<R$B:]<$:$NHH]$:B$BD<$\KHIB$J:;<$H\$:$I<XFJ:J<KV$,HErNN$F<<$OG\\<K<IB$\HIB$FGW<FR$OG\\<K<IB$

F<CBGHIFR$:IO$CHNEUIFV$

0\$QHE$X<K<$ BH$CK<:B<$:$!<P$J:;<$ \HK$ BD:B$I<XFJ:J<KYYEFGI;$ BD<$F:U<$\HKU:BBGI;$:IO$FBQN<FYYQHE$

XHENO$EF<$B:;F$FECD$:F$}'6~$:IO$}\HIB$CHNHK|sK<Os~$BH$O<\GI<$BD<$FGW<$:IO$CHNHK$H\$:$N:K;<$D<:ONGI<R$

HK$}G~$BH$GB:NGCGW<$:$XHKO$FECD$:F$:$PQNGI<R$GI$HKO<K$BH$OGFBGI;EGFD$GB$\KHU$BD<$K<FB$H\$BD<$B<bBV$$

#EB$dEFB$BKQ$BH$XKGB<$B:;F$BD:B$:CBE:NNQ$<bJN:GI$BD:B$QHErS<$;HB$:$'<:ONGI<$:IO$BD:B$BD<$XHKOF$soHDI$

/UGBDs$U:]<$EJ$:$PQNGI<V$'%=*$XHIrB$]IHX$XD:B$QHErK<$ B:N]GI;$:PHEB$ G\$QHE$CK<:B<$ B:;F$FECD$:F$

}'<:ONGI<~$HK$}PQNGI<~$HK$}:OS<KBGF<U<IB~V$$

y=*R$XGBD$D<NJ$\KHU$HBD<K$B<CDIHNH;G<F$FECD$:F$&//R$EIO<KFB:IOF$XD:B$BD<$<N<U<IBF$:K<$:IO$DHX$BH$

OGFJN:Q$BD<UV$$

%D:B$U<:IFR$GI$BD<$\EBEK<R$XD<I$QHErK<$F<:KCDGI;$HI$BD<$X<P$\HK$F:QR$:$#:KPG<$OHNN$\HK$QHEK$IG<C<rF$

PGKBDO:QR$QHErNN$;<B$#:KPG<$BD<$f)**$GIFB<:O$H\$FHU<$HBD<K$BQJ<$H\$#:KPG<R$P<C:EF<$BD<$#:KPG<$OHNN$

J:;<$UG;DB$P<$U:K]<O$EJ$NG]<$BDGF3$$

}f)**~#:KPG<}_f)**~V$

$
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y=*$OHCEU<IBF$C:I$P<$UHS<O$BH$:IQ$\HKU:B$HI$:IQ$JN:B\HKU$YY$XGBDHEB$BD<$<N<U<IBF$NHFGI;$BD<GK$

U<:IGI;V$%D:B$U<:IF$QHE$C:I$JEPNGFD$BD<$F:U<$GI\HKU:BGHI$BH$:$X<P$PKHXF<KR$:$9f1R$HK$:$I<BXHK]Y

<I:PN<O$PK<:O$U:CDGI<$:IO$<:CD$O<SGC<$XHENO$EF<$BD<$GI\HKU:BGHI$:JJKHJKG:B<NQV$

 

%D<$O<FG;I$;H:NF$H\$y=*R$B:]<I$\KHU$BD<$y=*$GL0>.T.>78.92$:K<3$$

• y=*$FD:NN$P<$FBK:G;DB\HKX:KONQ$EF:PN<$HS<K$BD<$0IB<KI<BV$$

• y=*$FD:NN$FEJJHKB$:$XGO<$S:KG<BQ$H\$:JJNGC:BGHIFV$$

• y=*$FD:NN$P<$CHUJ:BGPN<$XGBD$/+=*V$$

• 0B$FD:NN$P<$<:FQ$BH$XKGB<$JKH;K:UF$XDGCD$JKHC<FF$y=*$OHCEU<IBFV$$

• %D<$IEUP<K$H\$HJBGHI:N$\<:BEK<F$GI$y=*$GF$BH$P<$]<JB$BH$BD<$:PFHNEB<$UGIGUEUR$GO<:NNQ$W<KHV$$

• y=*$OHCEU<IBF$FDHENO$P<$DEU:IYN<;GPN<$:IO$K<:FHI:PNQ$CN<:KV$$

• %D<$y=*$O<FG;I$FDHENO$P<$JK<J:K<O$cEGC]NQV$$

• %D<$O<FG;I$H\$y=*$FD:NN$P<$\HKU:N$:IO$CHICGF<V$$

• y=*$OHCEU<IBF$FD:NN$P<$<:FQ$BH$CK<:B<V$$

• %<KF<I<FF$GI$y=*$U:K]EJ$GF$H\$UGIGU:N$GUJHKB:IC<V$$

0I$HBD<K$XHKOFR$y=*$GF$<:FQ$BH$CK<:B<R$<:FQ$BH$K<:OR$:IO$O<FG;I<O$\HK$EF<$HS<K$BD<$0IB<KI<BV$!D:B$

UHK<$CHENO$:$!<P$O<FG;I<K$:F]$\HKj$$

 

!D:B$fH<F$y=*$*HH]$*G]<j$

}jbUN$S<KFGHI|s6V5sj~$
}&1(%"?#.?,Y%1*"/~$
}/"&%0)($I:U<|sJDQFGCG:Is~$
%D<$9DQFGCG:IrF$%:N<$
}*0("$IEUP<K|s4m4s~$
%D:B$IH$U:I$XHHB$BD<KH\$PEB$+HO$:IO$D<V$
}_*0("~$
}_/"&%0)(~$
}_&1(%"?#.?,Y%1*"/~$
$

$

%D<$B:;F$FGUJNQ$O<\GI<$BD:B3$$

6[$%DGF$OHCEU<IB$GF$BD<$&:IB<KPEKQ$%:N<FV$$

4[$%DGF$F<CBGHI$GF$BD<$9DQFGCG:IrF$%:N<V$$

7[$":CD$NGI<$H\$BD<$9DQFGCG:IrF$%:N<$GF$O<\GI<OV$$

A[$":CD$NGI<$<IOFR$:IO$BD<$9DQFGCG:IrF$%:N<$:IO$%D<$&:IB<KPEKQ$%:N<F$<IOV$$

0\$ BD<$ <IBGK<$ OHCEU<IB$X<K<$U:K]<O$ EJ$ FECD$ :F$ BDGFR$ QHE$ CHENO$ <:FGNQ$ dEUJ$ BH$ :$ C<KB:GI$ NGI<$ HK$

F<CBGHIV$%D<$<IBGK<$OHCEU<IB$GF$:IIHB:B<O$\HK$<:FQ$K<\<K<IC<$:IO$F<:KCDGI;R$:IO$GIFB<:O$H\$SG<XGI;$
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BD<$<IBGK<$OHCEU<IBR$EF<KF$CHENO$K<cE<FB$HINQ$FJ<CG\GC$F<CBGHIF$H\$:$OHCEU<IBYYFGUJNQ$PQ$C:NNGI;$BD<$

FJ<CG\GC$B:;F$BD<Q$X:IBV$$

y=*$/QIB:b$

%:;;GI;$:I$y=*$OHCEU<IB$GFR$GI$U:IQ$X:QFR$FGUGN:K$BH$B:;;GI;$:I$'%=*$OHCEU<IBV$'<K<$:K<$FHU<$

H\$BD<$UHFB$GUJHKB:IB$;EGO<NGI<F$BH$\HNNHXV$

?EN<$Ü63$?<U<UP<K$BD<$y=*$O<CN:K:BGHI$

%DGF$O<CN:K:BGHI$;H<F$:B$BD<$P<;GIIGI;$H\$BD<$\GN<$:IO$:N<KBF$BD<$PKHXF<K$HK$HBD<K$JKHC<FFGI;$BHHNF$

BD:B$BDGF$OHCEU<IB$CHIB:GIF$y=*$B:;FV$%D<$O<CN:K:BGHI$NHH]F$NG]<$BDGF3$$

}jbUN$S<KFGHI|s6V5s$FB:IO:NHI<|sQ<F_IHs$<ICHOGI;|s.%aYmsj~$$

,HE$C:I$N<:S<$HEB$BD<$<ICHOGI;$:BBKGPEB<$:IO$BD<$JKHC<FFHK$XGNN$EF<$BD<$.%aYm$O<\:ENBV$$

?EN<$Ü43$fH$XD:B$BD<$f%f$GIFBKECBF$

0\$QHE$:K<$CK<:BGI;$:$S:NGO$y=*$\GN<R$HI<$BD:B$GF$CD<C]<O$:;:GIFB$:$f%fR$U:]<$FEK<$QHE$2IHX$XD:B$

B:;F$:K<$J:KB$H\$BD<$f%f$:IO$EF<$BD<U$:JJKHJKG:B<NQ$GI$QHEK$OHCEU<IBV$.IO<KFB:IO$XD:B$<:CD$OH<F$

:IO$XD<I$ BH$ EF<$ GBV$ 2IHX$XD:B$ BD<$ :NNHX:PN<$ S:NE<F$ :K<$ \HK$ <:CDV$ aHNNHX$ BDHF<$ KEN<FV$ %D<$ y=*$

OHCEU<IB$XGNN$S:NGO:B<$:;:GIFB$BD<$FJ<CG\G<O$f%fV$$

?EN<$Ü73$!:BCD$QHEK$C:JGB:NGW:BGHI$

y=*$GF$C:F<YF<IFGBGS<V$}9~$GF$IHB$BD<$F:U<$:F$}J~V$#<$CHIFGFB<IB$GI$DHX$QHE$O<\GI<$<N<U<IB$I:U<FV$

aHK$<b:UJN<R$EF<$1**$&19/R$HK$EF<$0IGBG:N$C:JFR$HK$EF<$:NN$ NHX<KC:F<V$0B$ GF$S<KQ$<:FQ$BH$CK<:B<$UGFY

U:BCDGI;$C:F<$<KKHKFV$$

1NFHR$U:]<$FEK<$FB:KBGI;$:IO$<IOGI;$B:;F$EF<$U:BCDGI;$C:JGB:NGW:BGHIR$BHHV$0\$QHE$FB:KB$:$J:K:;K:JD$

XGBD$BD<$}9~$B:;R$QHE$UEFB$<IO$GB$XGBD$BD<$}_9~$B:;R$IHB$:$}_J~V$$

?EN<$ÜA3$-EHB<$:BBKGPEB<$S:NE<F$

0I$'%=*$BD<K<$GF$FHU<$CHI\EFGHI$HS<K$XD<I$BH$<ICNHF<$:BBKGPEB<$S:NE<F$GI$cEHB<FV$0I$y=*$BD<$KEN<$GF$

FGUJN<3$<ICNHF<$:NN$:BBKGPEB<$S:NE<F$GI$cEHB<FR$NG]<$BDGF3$$

}(1="$OHP|s6pM5s~#<I$oHDIFHI}_(1="~$$

?EN<$Üe3$&NHF<$:NN$B:;F$

0I$ y=*$ QHE$ UEFB$ CNHF<$ :NN$ B:;FV$ %DGF$ U<:IF$ BD:B$ J:K:;K:JDF$ UEFB$ D:S<$ CHKK<FJHIOGI;$ <IO$

J:K:;K:JD$B:;FV$1ICDHK$I:U<F$UEFB$D:S<$CHKK<FJHIOGI;$:ICDHK$<IO$B:;FV$1$FBKGCB$GIB<KJK<B:BGHI$H\$

'%=*$F:QF$X<$FDHENO$D:S<$P<<I$OHGI;$BDGF$:NN$:NHI;R$PEB$GI$K<:NGBQR$UHFB$H\$EF$D:S<IrBV$$
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?EN<$ÜM3$&NHF<$"UJBQ$B:;FR$BHH$

0I$'%=*R$<UJBQ$ B:;FR$ FECD$:F$}PK~$HK$}GU;~R$OH$IHB$CNHF<V$ 0I$y=*R$<UJBQ$ B:;F$OH$CNHF<V$,HE$C:I$

CNHF<$BD<U$<GBD<K$PQ$:OOGI;$:$F<J:K:B<$CNHF<$B:;$Z}_B:;I:U<~[$HK$PQ$CHUPGIGI;$BD<$HJ<I$:IO$CNHF<$

B:;F$GIBH$HI<$B:;V$,HE$CK<:B<$BD<$HJ<I_CNHF<$B:;$PQ$:OOGI;$:$FN:FDR$_R$BH$BD<$<IO$H\$BD<$B:;R$NG]<$BDGF3$$

}PK_~$$

"b:UJN<F$

%DGF$B:PN<$FDHXF$FHU<$'%=*$CHUUHI$B:;F$:IO$DHX$BD<Q$XHENO$P<$BK<:B<O$GI$y=*V$$

%:;$$ &HUU<IB$$ "IOY%:;$$

<P>$ Technically, in HTML, you're supposed to close 

this tag. In XML, it's essential to close it.$

}_9~$

<ELEMENT>$ All Elements in XML must have a Start-tag and 

an end-tag. $

</ELEMENT>$

<LI>$ This tag must be closed in XML in order to ensure 

a Well-Formed XML document.$

</LI>$

<META name="keywords" 

content="XML, SGML, 

HTML">$

META tags are considered empty elements in 

XML, and they must close.$

<META 

name="keywords" 

content="XML, SGML, 

HTML"/>$

<BR>$ Break tags are considered empty elements. $ <BR/>$

<IMG src= 

"coolpictures.html">$

This is an empty element tag.$ <IMG src= 

"coolpictures.html"/>$

/HEKC<$3$JHKB:NV::EdV<OE_JHKB:NgK<FHEKC<F_OHXINH:OF_bUN_XD:BgGFgbUNVOHC$

$

-4[$%<CDIHNH;Q$GI$BG<KF$\KHU$=GCKHFH\B$:IO$d:S:$

1IF$3$=GCKHFH\B$3$(Y%G<K$f:B:$1JJNGC:BGHIF$)S<KSG<X$

(YBG<K$O:B:$ :JJNGC:BGHIF$ :K<$ O:B:$ :JJNGC:BGHIF$ BD:B$ :K<$ F<J:K:B<O$ GIBH$ UENBGJN<$BG<KFV$ 1NFH$ C:NN<O$

sOGFBKGPEB<O$:JJNGC:BGHIFs$:IO$sUENBGBG<K$:JJNGC:BGHIFRs$IYBG<K$:JJNGC:BGHIF$F<J:K:B<$JKHC<FFGI;$GIBH$

OGFCK<B<$BG<KF$BD:B$:K<$OGFBKGPEB<O$P<BX<<I$BD<$CNG<IB$:IO$BD<$F<KS<KV$!D<I$QHE$O<S<NHJ$:JJNGC:BGHIF$
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BD:B$ :CC<FF$O:B:R$ QHE$ FDHENO$D:S<$:$ CN<:K$ F<J:K:BGHI$P<BX<<I$ BD<$S:KGHEF$ BG<KF$ BD:B$U:]<$EJ$ BD<$

:JJNGC:BGHIV$

1$BQJGC:N$IYBG<K$:JJNGC:BGHI$GICNEO<F$:$JK<F<IB:BGHI$BG<KR$:$UGOON<$BG<KR$:IO$:$O:B:$BG<KV$%D<$<:FG<FB$

X:Q$BH$F<J:K:B<$BD<$S:KGHEF$BG<KF$GI$:I$IYBG<K$:JJNGC:BGHI$GF$BH$CK<:B<$OGFCK<B<$JKHd<CBF$\HK$<:CD$BG<K$

BD:B$ QHE$ X:IB$ BH$ GICNEO<$ GI$ QHEK$ :JJNGC:BGHIV$ aHK$ <b:UJN<R$ BD<$ JK<F<IB:BGHI$ BG<K$ UG;DB$ P<$ :$

!GIOHXF$aHKUF$:JJNGC:BGHIR$XD<K<:F$BD<$O:B:$:CC<FF$ NH;GC$UG;DB$P<$:$CN:FF$ NGPK:KQ$ NHC:B<O$GI$BD<$

UGOON<$ BG<KV$1OOGBGHI:NNQR$ BD<$JK<F<IB:BGHI$ N:Q<K$UG;DB$CHUUEIGC:B<$XGBD$ BD<$O:B:$:CC<FF$ NH;GC$ GI$

BD<$ UGOON<$ BG<K$ BDKHE;D$ :$ F<KSGC<$ FECD$ :F$ :$ F<KSGC<V$ /<J:K:BGI;$ :JJNGC:BGHI$ CHUJHI<IBF$ GIBH$

F<J:K:B<$ BG<KF$ GICK<:F<F$ BD<$ U:GIB:GI:PGNGBQ$ :IO$ FC:N:PGNGBQ$ H\$ BD<$ :JJNGC:BGHIV$ 0B$ OH<F$ BDGF$ PQ$

<I:PNGI;$ <:FG<K$ :OHJBGHI$ H\$ I<X$ B<CDIHNH;G<F$ BD:B$ C:I$ P<$ :JJNG<O$ BH$ :$ FGI;N<$ BG<K$ XGBDHEB$ BD<$

K<cEGK<U<IB$BH$K<O<FG;I$BD<$XDHN<$FHNEBGHIV$0I$:OOGBGHIR$IYBG<K$:JJNGC:BGHIF$BQJGC:NNQ$FBHK<$F<IFGBGS<$

GI\HKU:BGHI$GI$BD<$UGOON<YBG<KR$XDGCD$U:GIB:GIF$GFHN:BGHI$\KHU$BD<$JK<F<IB:BGHI$BG<KV$

>GFE:N$/BEOGH$CHIB:GIF$F<S<K:N$\<:BEK<F$BH$D<NJ$O<S<NHJ<KF$CK<:B<$IYBG<K$:JJNGC:BGHIF3$

• %D<$5787408$504.6201$JKHSGO<F$:$f:B:/<B$9KHd<CB$JKHJ<KBQ$BD:B$<I:PN<F$QHE$BH$F<J:K:B<$BD<$

O:B:F<B$ZO:B:$<IBGBQ$N:Q<K[$:IO$%:PN<1O:JB<KF$ZO:B:$:CC<FF$N:Q<K[$GIBH$OGFCK<B<$JKHd<CBFV$

• %D<$)Kc0>8$ ;0:78.927:$ 504.6201$ W)];$ 504.6201A$JKHSGO<F$ F<BBGI;F$ BH$ ;<I<K:B<$ BD<$

f:B:&HIB<bB$:IO$O:B:$CN:FF<F$ GIBH$F<J:K:B<$I:U<FJ:C<FV$%DGF$<I:PN<F$ NH;GC:N$F<J:K:BGHI$H\$

BD<$O:B:$:CC<FF$:IO$O:B:$<IBGBQ$BG<KFV$

• *Y(d$ 89$ Gd*$JKHSGO<F$ BD<$F887>Q$U<BDHO$ BD:B$ <I:PN<F$ QHE$ BH$ PKGI;$ BH;<BD<K$ BD<$

f:B:&HIB<bB$ \KHU$ OG\\<K<IB$ BG<KF$ GI$ :I$ :JJNGC:BGHIV$ aHK$UHK<$ GI\HKU:BGHIR$ F<<$(U%.01$ 723$

;0M980$FLL:.>78.924$<.8Q$*Y(d$89$Gd*V$

9K<F<IB:BGHI$%G<K$

%D<$JK<F<IB:BGHI$ BG<K$GF$ BD<$ BG<K$ GI$ XDGCD$ EF<KF$ GIB<K:CB$ XGBD$ :I$ :JJNGC:BGHIV$ 0B$ H\B<I$ CHIB:GIF$

:OOGBGHI:N$:JJNGC:BGHI$NH;GC$:NFHV$%QJGC:N$JK<F<IB:BGHI$BG<K$CHUJHI<IBF$GICNEO<$BD<$\HNNHXGI;3$

• f:B:$PGIOGI;$CHUJHI<IBFR$FECD$:F$BD<$#.23.26G9C1>0$:IO$#.23.26(7/.67891V$

• )Pd<CB$ K<JK<F<IB:BGHIF$ H\$ O:B:R$ FECD$ :F$*Y(d$ 89$ Gd*$<IBGBQ$ CN:FF<F$ \HK$ EF<$ GI$ BD<$

JK<F<IB:BGHI$BG<KV$

%D<$JK<F<IB:BGHI$BG<K$BQJGC:NNQ$:CC<FF<F$BD<$UGOON<$BG<K$PQ$EFGI;$:$F<KSGC<$K<\<K<IC<$Z\HK$<b:UJN<R$

:$!.239<4$ &9MMC2.>78.92$ -9C2378.92$ G01/.>04$ 723$ !&-$ 5787$ G01/.>04$ .2$ B.4C7:$

G8C3.9$:JJNGC:BGHI[V$%D<$JK<F<IB:BGHI$BG<K$OH<F$IHB$OGK<CBNQ$:CC<FF$BD<$O:B:$BG<KV$%D<$JK<F<IB:BGHI$

BG<K$CHUUEIGC:B<F$XGBD$BD<$O:B:$BG<K$PQ$X:Q$H\$BD<$O:B:$:CC<FF$CHUJHI<IB$GI$BD<$UGOON<$BG<KV$

=GOON<$%G<K$
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%D<$UGOON<$ BG<K$GF$ BD<$ N:Q<K$ BD:B$ BD<$JK<F<IB:BGHI$ BG<K$:IO$ BD<$O:B:$ BG<K$EF<$ BH$ CHUUEIGC:B<$XGBD$

<:CD$HBD<KV$%QJGC:N$UGOON<$BG<K$CHUJHI<IBF$GICNEO<$BD<$\HNNHXGI;3$

• #EFGI<FF$NH;GCR$FECD$:F$PEFGI<FF$KEN<F$:IO$O:B:$S:NGO:BGHIV$

• f:B:$:CC<FF$CHUJHI<IBF$:IO$NH;GCR$FECD$:F$BD<$\HNNHXGI;3$

o %7K:0F37L8014$:IO$5787F37L8014$723$5787;073014$WF5)@("%AV$

o )Pd<CB$K<JK<F<IB:BGHIF$H\$O:B:R$FECD$:F$*Y(d$89$Gd*$<IBGBQ$CN:FF<FV$

o &HUUHI$ :JJNGC:BGHI$ F<KSGC<FR$ FECD$ :F$ :EBD<IBGC:BGHIR$ :EBDHKGW:BGHIR$ :IO$

J<KFHI:NGW:BGHIV$

%D<$\HNNHXGI;$GNNEFBK:BGHI$FDHXF$\<:BEK<F$:IO$B<CDIHNH;G<F$BD:B$:K<$:S:GN:PN<$ GI$>GFE:N$/BEOGH$:IO$

XD<K<$BD<Q$UG;DB$\GB$GI$BH$BD<$UGOON<$BG<K$H\$:I$IYBG<K$:JJNGC:BGHIV$

=GOON<$BG<K$

$

%D<$UGOON<$BG<K$BQJGC:NNQ$CHII<CBF$BH$BD<$O:B:$BG<K$PQ$EFGI;$:$O:B:$CHII<CBGHIV$%DGF$O:B:$CHII<CBGHI$

GF$BQJGC:NNQ$FBHK<O$GI$BD<$O:B:$:CC<FF$CHUJHI<IBV$

f:B:$%G<K$

%D<$O:B:$BG<K$GF$P:FGC:NNQ$BD<$F<KS<K$BD:B$FBHK<F$:I$:JJNGC:BGHIrF$O:B:$Z\HK$<b:UJN<R$:$F<KS<K$KEIIGI;$

/-*$/<KS<K[V$

%D<$\HNNHXGI;$GNNEFBK:BGHI$FDHXF$\<:BEK<F$:IO$B<CDIHNH;G<F$BD:B$:K<$:S:GN:PN<$ GI$>GFE:N$/BEOGH$:IO$

XD<K<$BD<Q$UG;DB$\GB$GI$BH$BD<$O:B:$BG<K$H\$:I$IYBG<K$:JJNGC:BGHIV$

f:B:$BG<K$
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$

$

%D<$O:B:$BG<K$C:IIHB$P<$:CC<FF<O$OGK<CBNQ$\KHU$BD<$CNG<IB$GI$BD<$JK<F<IB:BGHI$BG<KV$0IFB<:OR$BD<$O:B:$

:CC<FF$CHUJHI<IB$GI$BD<$UGOON<$BG<K$GF$EF<O$\HK$CHUUEIGC:BGHI$P<BX<<I$BD<$JK<F<IB:BGHI$:IO$O:B:$

BG<KFV$

/HEKC<$3$=/f($

$

-7[$fG\\<K<IC<$P<BX<<I$&NG<IBY/<KS<K$:JJNGC:BGHI$:IO$X<P$P:F<O$:JJNGC:BGHIFj$

1IF3$&NG<IB_/<KS<K$:JJNGC:BGHI3$

6V$1JJNGC:BGHI$KEIF$GI$BXH$HK$UHK<$U:CDGI<F$

4V$1JJNGC:BGHI$GF$:$U<IEYOKGS<I$

7V$&HII<CB<O$UHO<$ZCHII<CBGHI$<bGFBF$:NX:QF$EIBGN$NH;HEB[$

AV$*GUGB<O$IEUP<K$H\$EF<KF$

eV$*<FF$IEUP<K$H\$I<BXHK]$GFFE<F$XD<I$CHUJ:K<O$BH$X<P$:JJV$

!<P$:JJNGC:BGHI3$

6V$1JJNGC:BGHI$KEIF$GI$BXH$HK$UHK<$U:CDGI<F$

4V$.?*YOKGS<I$

7V$fGFCHII<CB<O$UHO<$ZFB:B<$N<FF[$

AV$.INGUGB<O$IEUP<K$H\$EF<KF$

eV$=:IQ$GFFE<F$NG]<$D:KOX:K<$CHUJ:BGPGNGBQR$PKHXF<K$CHUJ:BGPGNGBQR$S<KFGHI$CHUJ:BGPGNGBQR$F<CEKGBQ$

GFFE<FR$J<K\HKU:IC<$GFFE<F$<BCV$

$

1KCDGB<CBEK:N$fG\\<K<IC<F$

• 1CCHKOGI;$ BH$ 0I\HKU:BGHIY=:I:;<U<IBVCHUR$ CNG<IBYF<KS<K$ :JJNGC:BGHIF$ :K<$ BQJGC:NNQ$ BXHYBG<K<OR$

CHIFGFBGI;$ H\$ :I$ GIYDHEF<$ F<KS<K$ NH:O<O$ XGBD$ BD<$ HJ<K:BGI;$ FQFB<UR$ :$ O:B:P:F<$ :IO$ :JJNGC:BGHI$

FH\BX:K<$:IO$:$CNG<IB$J<KFHI:N$CHUJEB<K$NH:O<O$XGBD$:$FH\BX:K<$:JJNGC:BGHI$BD:B$GIB<K:CBF$XGBD$BD<$

F<KS<KV$!<PYP:F<O$ :JJNGC:BGHIF$ :K<$ EFE:NNQ$ BDK<<YBG<K<OR$ CHIFGFBGI;$ H\$ :$ O:B:P:F<$ F<KS<KR$ :$!<P$

F<KS<K$:IO$JHFFGPNQ$:$F<J:K:B<$:JJNGC:BGHI$F<KS<KV$,HE$EF<$:I$0IB<KI<B$PKHXF<K$BH$CHII<CB$BH$:IO$

EF<$BD<$:JJNGC:BGHIV$



!"#$%"&'()*)+,$-."/%0)($#1(2$3$4567$ mM$8$9 : ; < $
$

aGI:ICG:N$&HIC<KIF$

• &HUJ:IG<F$ J:Q$ \HK$ !<PYP:F<O$ :JJNGC:BGHIF$ HI$ :$ FEPFCKGJBGHI$ HK$ EF:;<$ P:FGFV$ &NG<IBYF<KS<K$

:JJNGC:BGHIFR$ DHX<S<KR$ :K<$ JEKCD:F<O$ EJ$ \KHIBR$ EFE:NNQ$ XGBD$ :$ DE;<$ GIGBG:N$ CHFB$ :IO$ HI;HGI;$

NGC<IFGI;$:IO$U:GIB<I:IC<$\<<FR$XDGCD$C:I$XGIO$EJ$CHFBGI;$:F$UECD$:F$45$J<KC<IB$J<K$Q<:K$H\$BD<$

HKG;GI:N$\<<$:CCHKOGI;$BH$%D<$0-$+KHEJV$

• /EJJHKB$&HIFGO<K:BGHIF$

• /<KS<KF$I<<O$K<;EN:K$U:GIB<I:IC<$FECD$:F$EJ;K:O<FR$J:BCD<F$:IO$D:KOX:K<$U:GIB<I:IC<V$1NN$CHFBF$

BH$JEKCD:F<R$U:GIB:GI$ :IO$EJ;K:O<$ BD<$I<BXHK]$ \HK$ CNG<IBYF<KS<K$ :JJNGC:BGHIF$ :K<$ BD<$ CHUJ:IQrF$

K<FJHIFGPGNGBQV$1$CHUJ:IQ$EFGI;$:$!<PYP:F<O$:JJNGC:BGHI$BDKHE;D$:I$1JJNGC:BGHI$/<KSGC<$9KHSGO<KR$

DHX<S<KR$GF$NGBBN<$GISHNS<O$XGBD$FEJJHKBV$

/HEKC<3$

Q88LS]]<<<@49T8<7108048.26Q0:L@>9M]<Q78U.4U>:.028U401/01U723U<0KUK7403U8048.26U723U

Q9<U89U8048U8Q040U7LL:.>78.924]$

Q88LS]]<<<@0Q9<@>9M]T7>84eaHHff`Je3.TT0102>0UK08<002U<0KeK7403U>:.028e401/01U

7LL:.>78.924@Q8M:$

-$e[$'GFBHKQ$H\$BD<$0IB<KI<B$v+?).9$4$9K<F<IB:BGHIw$HK$$

/HEKC<$Y$Q88LS]]<<<@>9MLC801Q.4891D@916].2801208eQ.4891D].230=@Q8M:$

$

-M[$0/9$F<KSGC<F$:IO$\<:BEK<Fj$+GS<$HJBGHI:N$\<:BEK<F$BHHV$

0I$BDGF$O:Q$:IO$:;<R$IH$PEFGI<FF$C:I$FECC<<O$XGBDHEB$P<GI;$CHII<CB<O$BH$BD<$0IB<KI<BV$#EFGI<FF<F$H\$

:NN$FGW<F$EF<$BD<$0IB<KI<B$BH$CHII<CB$XGBD$BD<GK$CEFBHU<KFR$BH$FB:Q$GI$BHECD$XGBD$BD<GK$S<IOHKFR$:IO$BH$

N<B$BD<$JEPNGC$]IHX$XD:B$GF$D:JJ<IGI;$GI$BD<GK$XHKNOV$

0IB<KI<B$ :CC<FF$ CHUJ:IG<F$:K<$ CHUUHINQ$]IHXI$:F$ 0IB<KI<B$ F<KSGC<$JKHSGO<KFR$ HK$ 0/9F$ \HK$ FDHKBV$

%D<K<$:K<$NGB<K:NNQ$BDHEF:IOF$H\$0/9F$JKHSGOGI;$:$XGO<$K:I;<$H\$0IB<KI<B$F<KSGC<FR$FH$XD<I$QHE$:K<$

FDHJJGI;$ :KHEIOR$ GB$ J:QF$ BH$ OH$ QHEK$ DHU<XHK]$ :D<:O$ H\$ BGU<V$ ,HE$ FDHENO$ ]IHX$ XD:B$ QHEK$

CHUJ:IQ$I<<OF$ GI$B<KUF$H\$ 0IB<KI<B$:CC<FF$:IO$\<:BEK<FR$:IO$ NHH]$\HK$:$JKHSGO<K$BD:B$U<<BF$QHEK$

PEFGI<FF$;H:NF$:IO$PEO;<BV$

!D<I$FDHJJGI;$\HK$:I$0/9R$U:]<$FEK<$BD<Q$GICNEO<$BD<F<$P:FGC$\<:BEK<F3$

• "YU:GN$ :CCHEIBFV$*HH]$ \HK$ 0/9F$ BD:B$ H\\<K$ BD<$ P<FB$ J:C]:;<F$ HI$ <YU:GN$ :CCHEIBFR$ GICNEOGI;$

\<:BEK<F$:IO$IEUP<K$H\$<YU:GN$:NG:F<FV$
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• &EFBHU<K$F<KSGC<$:IO$FEJJHKBV$!DGN<$U:IQ$0/9$CHUJ:IG<F$:K<$FBGNN$UHUY:IOYJHJ$FDHJFR$NHH]$

\HK$ :$ JKHSGO<K$ BD:B$ C:I$ JKHSGO<$ BD<$ F<KSGC<$ :IO$ FEJJHKB$ BD:B$ QHEK$ PEFGI<FF$ I<<OFV$ 1NX:QF$

CHIFGO<K$BD<$XHKFB$C:F<$FC<I:KGHR$:IO$P<$FEK<$QHE$D:S<$FHU<HI<$QHE$C:I$CHIB:CB$G\$BD<K<$:K<$

JKHPN<UFV$

• 'G;DYFJ<<O$:CC<FFV$,HE$C:I$CHII<CB$BH$BD<$0IB<KI<B$GI$:$IEUP<K$H\$OG\\<K<IB$X:QFR$ GICNEOGI;$

OG:NEJR$f/*R$C:PN<R$:IO$<S<I$XGK<N<FFV$)S<K$BD<$J:FB$O<C:O<R$BDHEF:IOF$H\$UGN<F$H\$\GP<KYHJBGC$

C:PN<$D:S<$P<<I$GIFB:NN<O$:NN$:CKHFF$BD<$CHEIBKQR$:NNHXGI;$UHK<$PEFGI<FF<F$:IO$DHEF<DHNOF$BH$

CHII<CB$BH$BD<$0IB<KI<B$:B$:$UECD$\:FB<K$FJ<<OV$!GK<N<FF$HJBGHIF$:K<$:NFH$GICK<:FGI;R$:IO$UHK<$

PEFGI<FF<F$:K<$GICNEOGI;$BD:B$\<:BEK<$:F$J:KB$H\$BD<GK$0IB<KI<B$F<KSGC<$J:C]:;<V$

• 1OS:IC<O$ FJ:UYPNHC]GI;$ \<:BEK<FV$1$ \<X$ Q<:KF$ :;HR$ FJ:U$ PNHC]GI;$ \<:BEK<F$ CHFB$ <bBK:R$ PEB$

BD<F<$O:QF$BD<Q$:K<$UHK<$NG]<NQ$BH$P<$J:KB$H\$BD<$P:FGC$\<:BEK<F$J:C]:;<V$

0I$:OOGBGHI$BH$BD<$K<;EN:K$F<KSGC<FR$FHU<$0/9`F$H\\<K$:OOGBGHI:N$S:NE<Y:OO<O$F<KSGC<FR$GICNEOGI;3$

• fHU:GI$I:U<$K<;GFBK:BGHIV$=:IQ$0/9F$XGNN$GICNEO<$BD<$CHFB$H\$K<;GFB<KGI;$:$OHU:GI$I:U<$GIBH$

BD<GK$ :CC<FF$ HK$ DHFBGI;$ J:C]:;<FV$ 9KGC<F$ \HK$ OHU:GI$ I:U<$ K<;GFBK:BGHIF$ :IO$ :EBHU:BGC$

K<I<X:NF$XGNN$:NFH$S:KQR$FH$U:]<$FEK<$QHE$;<B$BD<$P<FB$JKGC<$:S:GN:PN<V$

• !<P$DHFBGI;V$,HEK$0/9$:IO$QHEK$!<P$DHFB$OHIrB$D:S<$BH$P<$HI<$:IO$BD<$F:U<R$PEB$QHE$U:Q$P<$

:PN<$BH$F:S<$UHI<Q$:IO$FGUJNG\Q$QHEK$PHH]]<<JGI;$PQ$;<BBGI;$PHBD$F<KSGC<F$\KHU$HI<$JN:C<V$

0\$QHE$\GIO$QHEKF<N\$;<BBGI;$HS<KXD<NU<O$PQ$BD<$UQKG:O$0/9$HJBGHIF$:S:GN:PN<R$CHIFGO<K$K<B:GIGI;$:$

B<CDIHNH;Q$CHIFENB:IBV$1$NGBBN<$BGU<$:IO$UHI<Q$FJ<IB$IHX$U:Q$F:S<$QHE$NHBF$H\$UHI<Q$GI$BD<$\EBEK<V$

!D<BD<K$QHE$OH$GB$QHEKF<N\$:IO$DGK<$:$CHIFENB:IBR$BD<$BGU<$BH$OH$QHEK$K<F<:KCD$:IO$OE<$OGNG;<IC<$GF$

IHX$x$IHB$HIC<$QHErK<$NHC]<O$GI$BH$:I$EI\:SHK:PN<$NHI;YB<KU$CHIBK:CBV$

!D:B$0F$1I$0/9$Z0IB<KI<B$/<KSGC<$9KHSGO<K[j$!D:B$fH<F$0B$fHj$

1I$0/9$GF$:$CHUJ:IQ$BD:B$JKHSGO<F$:CC<FF$BH$BD<$GIB<KI<B$BDKHE;D$UHO<UFR$0/f(R$%6FR$<BCV$0B$ GF$:I$

HK;:IGW:BGHI$ BD:B$ JKHSGO<F$ :IO$ F<NNF$ JDQFGC:N$ GIB<KI<B$ :CC<FF$ \HK$ ;NHP:N$ EF<KFV$ 1I$ 0/9$ :KK:I;<F$

:CC<FF$BH$BD<$0IB<KI<B$\HK$HK;:IGW:BGHIF$:IO_HK$GIOGSGOE:NFV$1CC<FF$F<KSGC<F$JKHSGO<O$PQ$0/9F$U:Q$

GICNEO<$X<P$ DHFBGI;R$ <YU:GNR$ >H09$ ZSHGC<$ HS<K$ 09[R$ :IO$ FEJJHKB$ \HK$U:IQ$ HBD<K$ :JJNGC:BGHIFV$ ,HE$

U:Q$D:S<$BKG<O$HI<$H\$BD<$BK:OGBGHI:NNQ$PG;$HINGI<$F<KSGC<F$FECD$:F$1)*R$=/(R$9KHOG;QR$&HUJEF<KS<R$

HK$!<P%>$BH$;<B$:CC<FF$BH$BD<$0IB<KI<BV$%D<Q$:JJ:K<IBNQ$U:]<$<S<KQ$<\\HKB$BH$:FFEK<$BD:B$QHEK$\GKFB$

0IB<KI<B$<bJ<KG<IC<F$;GS<$QHE$FECC<FF\EN$:CC<FF$BH$BD<$!!!V$1$BGU<$U:Q$CHU<$XD<I$QHE$XGNN$X:IB$

BH$ D:S<$ QHEK$ HXI$X<PFGB<R$ XGBD$ QHEK$ HXI$ OHU:GIR$ :IO$ D:S<$ GB$ DHFB<O$XGBD$ :I$ 0IB<KI<B$ /<KSGC<$

9KHSGO<K$ Z0/9[V$ %D<$ PG;$ HINGI<$ F<KSGC<F$ C:I$ CHII<CB$ QHE$ BH$ BD<$ GIB<KI<BR$ FH$ OH$ 0/9FV$ %D<$ PG;$

OG\\<K<IC<$ P<BX<<I$ BD<$ BXH$ GF$ BD<$ ]GIO$ H\$CHIB<IBu$ %D<$ HINGI<$ F<KSGC<F$ JKHSGO<$ JKHJKG<B:KQ$

ZCHUJ:IQ$HXI<O[$CHIB<IB^$ BD:B$ GFR$N:K;<$cE:IBGBG<F$H\$U:B<KG:NF$ BD:B$ GICNEO<$:OF$:IO$JKHUHBGHI:N$

JK<F<IB:BGHIFV$=HFB$0/9F$GICNEO<$S<KQ$NGBBN<$ZG\$:IQ[$HKG;GI:N$HK$JKHUHBGHI:N$CHIB<IB^$:IO$BD<Q$U:Q$

OH$FH$HINQ$XD<I$GB$ GF$h\K<<i$HK$:B$:$S<KQ$ NHX$JKGC<V$,HE$:K<$<bJ<CB<O$BH$JKHSGO<$QHEK$HXI$FEPd<CB$
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U:BB<K^$K<;:KON<FF$H\$cE:NGBQV$,HE$XGNN$JKHP:PNQ$OGFCHS<K$BD:B$:I$0/9$C:I$JKHSGO<$QHE$XGBD$F<KSGC<F$

BD:B$:K<$dEFB$:F$;HHOR$HK$P<BB<KR$:B$BD<$F:U<$JKGC<$HK$N<FF$BD:I$BD<$PG;$HINGI<$F<KSGC<FV$(HB$:NN$0/9F$:K<$

CK<:B<O$ XGBD$ BD<$ F:U<$ CD:K:CB<KGFBGCFV$ /HU<$ :K<$ S<KQ$ ;HHOR$ FHU<$ :K<$ S<KQ$ P:OR$ :IO$ FHU<$

:K<$PHBD$;HHO$:IO$P:OV$

/HU<$%DGI;F$%D:B$1I$0IB<KI<B$/<KSGC<$9KHSGO<K$&:I$fH3$

• 0IB<KI<B$ /<KSGC<$ 9KHSGO<KF$ Z0/9F[$ <cEGJ$ EF<KF$ XGBD$ :CC<FF$ BH$ BD<$ GIB<KI<B$ BDKHE;D$ :$

CHII<CBGHI$BH$BD<$0/9F$CHUJEB<K$I<BXHK]V$

• 0/9F$XGNN$F<B$EJ$:$EF<K$XGBD$:I$:CCHEIB$EF<K$I:U<$:IO$J:FFXHKO$:IO$BD<$:CCHEIB$DHNO<K$C:I$

CHII<CB$BH$BD<$0/9F$CHUJEB<K$BDKHE;D$:I$GIB<KI<B$CHII<CBGHI$ZEFE:NNQ$OG:N$EJ$UHO<UF[V$

• )IC<$BD<$CHII<CBGHI$D:F$P<<I$:CDG<S<OR$BD<$:CCHEIB$DHNO<K$GF$:PN<$BH$FEK\$BD<$GIB<KI<B$:IO$BH$

EJNH:O$J:;<F$H\$CHIB<IB$BH$:$X<PFGB<V$

• 0/9F$ SGKBE:NNQ$ :NX:QF$ F<B$ BD<$ EF<K$ EJ$ XGBD$ HI<$ HK$ UHK<$ <YU:GN$ :OOK<FF<F^$ O<J<IOGI;$ HI$

XDGCD$F<KSGC<$JKH;K:U$GF$CDHF<IV$

• 0/9F$ XGNN$ :NFH$ FEJJNQ$ BD<$ :CCHEIB$ DHNO<K$ XGBD$ X<P$ FJ:C<$ \HK$ DGF_D<K$ X<PFGB<V$$

$

0I$FEUU:KQR$BD<$F<KSGC<F$BD:B$:I$0/9$H\\<KF$S:KQ$CHIFGO<K:PNQ$:IO$0IB<KI<B$EF<KF$FDHENO$P<$

UGIO\EN$H\$BD<$\HNNHXGI;3$$

• &D:K;<F$\HK$BD<$F<KSGC<R$F<B$EJR$:IO$HIY;HGI;$CHFBFV$

• &EFBHU<K$/<KSGC<$HK$N<S<N$H\$FEJJHKBR$FDHENO$BDGI;F$;H$XKHI;V$

• %D<$]GIOF$H\$F<KSGC<F$BD:B$:K<$JKHSGO<OR$FECD$:F$X<PFJ:C<R$<YU:GN$:OOK<FF<FR$a%9$EJNH:OGI;R$

:IO$UECD$UHK<V$

• %D<$CHII<CBGHI$FJ<<OF$BD:B$:K<$JKHSGO<OV$

• %D<$]GIOF$H\$J:QU<IB$JN:IF$BD:B$:K<$:S:GN:PN<V$

• 1CC<FF$BD:B$GF$K<NG:PN<V$/HU<$0/9F$FE\\<K$XGBD$CHIFB:IBNQ$PEFQ$FQFB<UFV$%DGF$GF$:$P:O$FG;Iu$

'<K<$1K<$/HU<$-E<FBGHIF$%D:B$,HE$/DHENO$1F]$H\$1IQ$9HB<IBG:N$0/9$#<\HK<$,HE$/G;I$.J3$

• 'HX$UECD$OH<F$GB$CHFBj$%DGF$U:Q$IHB$P<$BD<$UHFB$GUJHKB:IB$\:CBHK$PEB$GB`F$:$;HHO$JN:C<$BH$

FB:KBV$/DHJ$:KHEIO$\HK$BD<$JKGC<$BD:B$GF$P<FB$\HK$QHEV$

• fH<F$ GB$ H\\<K$ OGFCHEIBF$ G\$ QHE$ JK<J:Q$ BD<$ <IBGK<$ Q<:K$ EJ$ \KHIBj$%DGF$ GF$ :$ ;HHO$ HJBGHIR$

JKHSGOGI;$BD:B$GB$\GBF$GIBH$QHEK$PEO;<BR$:IO$G\$QHE$CDHHF<$:$;HHO$0/9V$0B`F$:$P:O$HJBGHI$G\$BD<$

0/9$BEKIF$HEB$BH$P<$N<FF$BD:I$O<FGK:PN<V$

• fH<F$GB$H\\<K$:$\K<<$BKG:Nj$%KQYP<\HK<YQHEYPEQ$GF$:NX:QF$:$;HHO$BDGI;V$
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• !D:B$FH\BX:K<$OH<F$BD<$0/9$FEJJNQj$!D:B$FH\BX:K<$XGNN$QHE$I<<Oj$0F$BD<K<$:I$<bBK:$CD:K;<$G\$

BD<$ 0/9$FEJJNG<F$ BD<$FH\BX:K<j$=HFB$H\$ BD<$FH\BX:K<$ BD:B$QHE$I<<O$C:I$P<$HPB:GI<O$HI$ BD<$

GIB<KI<B$HK$GF$GICNEO<O$:F$J:KB$H\$QHEK$CHIBK:CBV$

• 'HX$;HHO$GF$BD<$CEFBHU<K$FEJJHKBj$/HU<$XGNN$JKHSGO<$CEFBHU<K$FEJJHKB$h4A$DHEKF$:$O:QR$L$

O:QF$ :$ X<<]^i$ XGBD$ :$ FJ<CG:N$ BHNNY\K<<$ IEUP<KV$ =HFB$ :K<I`B$ cEGB<$ BD:B$ ;HHOV$$

$

/HEKC<$Y$Q88LS]]<<<@7::KC4.2044@>9M]80>Q29:96D]80>Q29:96DU401/.>04]??gEaU?@Q8M:$

Q88LS]]<<<@7::KC4.2044@>9M]80>Q29:96D]80>Q29:96DU401/.>04]??gEaU?@Q8M:$

$

-L[$7$BG<K$X<P$:JJNGC:BGHIF$:IO$GBF$:O:S:IB:;<$HS<K$4$BG<K$X<P$:JJNGC:BGHIFj$

$$
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$

%<CDIGC:N$ :KCDGB<CBEK<$ GF$ CHIC<KI<O$ :PHEB$ DHX$ N:K;<$ FH\BX:K<$ :JJNGC:BGHIF$ C:I$ P<$ HK$ FDHENO$ P<$

HK;:IGW<O$\HK$P<BB<K$J<K\HKU:IC<$:IO$<:F<$H\$O<S<NHJU<IBV$%D<$CHUUHINQ$EF<O$HJBGHI$GF$:$7$HK$I$

BG<K$:KCDGB<CBEK<V$

9K<F<IB:BGHI$%G<K$ZHK$&NG<IBYBG<K[$ZF<<$!0K$504.62[$

0B$ GUJN<U<IBF$ BD<$ sNHH]$:IO$ \<<Ns$H\$:I$:JJNGC:BGHIV$ 0B$ GF$ K<FJHIFGPN<$ \HK$ BD<$JK<F<IB:BGHI$H\$O:B:R$

K<C<GSGI;$ EF<K$ <S<IBF$ :IO$ CHIBKHNNGI;$ BD<$ EF<K$ GIB<K\:C<V$=HFB$ <CHUU<KC<$ :JJNGC:BGHIF$ :K<$X<PY

P:F<OV$%D<$JKH;K:UUGI;$N:I;E:;<F$EF<O$:K<$BD<$CHUPGI:BGHI$H\$'%=*R$&//$:IO$o:S:FCKGJBV$o/9$HK$

1/9$:K<$EF<O$\HK$OQI:UGC$CHIB<IBV$

• '%=*$GF$:$!<P$:EBDHKGI;$U:K]EJ$N:I;E:;<$\HK$O<\GIGI;$CHIB<IB$FBKECBEK<F$:IO$K<IO<KGI;$:$

X<P$J:;<V$

• o:S:FCKGJB$GF$ CHUUHINQ$ EF<O$ \HK$ CNG<IBYFGO<$ S:NGO:BGHIV$ o:S:FCKGJB$ OH<F$ D:S<$ FHU<$ CHIBKHN$

HS<K$BD<$NHH]Y:IOY\<<N$H\$:$J:;<$GI$OQI:UGC$'%=*V$

1JJNGC:BGHI$%G<K$ZF<<$FLL:.>78.92$50/0:9LM028[$

%DGF$ N:Q<K$ GUJN<U<IBF$ BD<$ PEFGI<FF$ NH;GC$ H\$ BD<$ :JJNGC:BGHIFV$ 0B$ GF$ EFE:NNQ$ JHX<K<O$ PQ$ :$ o:S:$

1JJNGC:BGHI$/<KS<K$ Z!<P*H;GC$HK$!<P/JD<K<[V$%D<K<rK<$ F<S<K:N$ FEPYN:Q<KF$XGBDGI$ BD<$:JJNGC:BGHI$

N:Q<KV$

• &HIBKHN$ *:Q<K$GF$ BD<$ GIB<K\:C<$ N:Q<K$ P<BX<<I$ JK<F<IB:BGHI$ BG<K$ :IO$ :JJNGC:BGHI$ BG<KV$ %D<$

GUJN<U<IB:BGHI$ H\$ BDGF$ N:Q<K$ GF$ O<J<IO<IB$ HI$ BD<$ N:I;E:;<F$ EF<O$ \HK$ GUJN<U<IBGI;$ BD<$

JK<F<IB:BGHI$BG<KV$

• %K:IF:CBGHI$*:Q<K$EFE:NNQ$ GUJN<U<IBF$PEFGI<FF$JKHC<FF<F$BD:B$U:Q$GISHNS<$U:IQ$PEFGI<FF$

HPd<CBFV$ 0I$ o4""$ :KCDGB<CBEK<R$ F<FFGHI$ P<:IF$ :K<$ CHUUHINQ$ EF<O$ \HK$ GUJN<U<IBGI;$ BD<$
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BK:IF:CBGHI$ N:Q<KV$%K:IF:CBGHI$*:Q<K$:IO$#EFGI<FF$)Pd<CB$*:Q<K$:K<$IHB$CHIFBK:GI<O$PQ$BD<$

JKH;K:UUGI;$N:I;E:;<F$\HK$BD<$JK<F<IB:BGHI$:IO$BD<$O:B:P:F<$EF<O$\HK$J<KFGFB<IC<V$

• #EFGI<FF$ )Pd<CB$ *:Q<K$CHIFGFBF$ H\$ HPd<CBF$ BD:B$ K<JK<F<IB$ PEFGI<FF$ <IBGBG<F$ XDGCD$ :NX:QF$

FDHENO$P<$655l$GIO<J<IO<IB$H\$O:B:P:F<$EF<O$\HK$O:B:$J<KFGFB<IC<V$

• f:B:$1CC<FF$)Pd<CB$Zf1)[$*:Q<K$GF$BD<$GIB<K\:C<$P<BX<<I$BD<$:JJNGC:BGHI$BG<K$:IO$J<KFGFB<IC<$

BG<KV$#<FGO<F$BD<$U<BDHOF$\HK$sCK<:BGI;sR$sK<BKG<SGI;sR$sEJO:BGI;s$:IO$sK<UHSGI;s$:$PEFGI<FF$

HPd<CB$\KHU$O:B:P:F<R$f1)$HPd<CBF$GUJN<U<IB$HBD<K$PEFGI<FFYFJ<CG\GC$U<BDHOF$:F$X<NNV$"S<I$

XGBD$of#&R$f1)$HPd<CBF$U:Q$IHB$P<$655l$O:B:P:F<$GIO<J<IO<IBV$

f:B:$%G<K$

%DGF$GF$BD<$N:Q<K$BD:B$U:I:;<F$BD<$J<KFGFB<IC<$H\$:JJNGC:BGHI$GI\HKU:BGHIV$0B$GF$EFE:NNQ$JHX<K<O$PQ$:$

K<N:BGHI:N$O:B:P:F<$F<KS<K$Z)K:CN<$HK$=/$/-*/<KS<K[V$

• /BHK<O$ 9KHC<OEK<F$ :IO$ aEICBGHIF$:K<$ EF<O$ BH$ <b<CEB<$ O:B:P:F<$ F<KS<KYFGO<$ JKHC<FF<F$

J<KBGI<IB$ BH$O:B:$ GIB<;KGBQV$#EFGI<FF$ NH;GC$JKHC<FF<F$ FDHENO$P<$J:KB$H\$ :JJNGC:BGHI$ N:Q<K$ GI$

;<I<K:NR$IHB$J:KB$H\$O:B:$N:Q<KV$

• >G<XF$:K<$P<BB<K$CDHGC<$BD:I$B:PN<F$\HK$JK<F<IBGI;$O:B:$BH$:JJNGC:BGHIFV$%D<Q$H\\<K$FHU<$N<S<N$

H\$F<CEKGBQ$:IO$C:I$P<$EF<O$:F$:NG:F$BH$DGO<$JDQFGC:N$FBKECBEK<F$H\$O:B:P:F<$B:PN<FV$

• f:B:P:F<$%:PN<F$:K<$EF<O$JKGU:KGNQ$\HK$FBHKGI;$O:B:V$
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$

/HEKC<$ 3$ Q88LS]]_C0024@3K@8919289@03C]hL7L7660:]>9C1404]>4>Hgf]39>4]:0>8C104]<0KU

71>Q.80>8C104@L3T$

Q88LS]]0>9MM01>0@.24.6Q8.2@>9M]71>Q.80>8C10]80>Q2.>7:e71>Q.80>8C10@Q8M:$

$
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-$m$[$9)9$R$/=%9j$fG\\<K<IC<$P<BX<<I$0=19$:IO$9)9j$

fG\\<K<IB$B<CDIHNH;G<F$EF<O$\HK$U:GNGI;V$

/=%9$Y$%D<$/GUJN<$=:GN$%K:IF\<K$9KHBHCHN$Z/=%9[$B<CDIHNH;Q$J<KB:GIF$FJ<CG\GC:NNQ$BH$HEB;HGI;$U:GN$

F<KS<KF$P<C:EF<$BDGF$JKHBHCHN$HINQ$:NNHXF$\HK$F<IOGI;$<N<CBKHIGC$U:GN^$GB$OH<F$IHB$JKHSGO<$:$EF<K$BD<$

C:J:PGNGBQ$H\$:CC<FFGI;$GICHUGI;$U:GNR$:F$O<FCKGP<O$:B$BD<$"U:GN$1OOK<FF$=:I:;<K$X<PFGB<V$1IHBD<K$

NGUGB:BGHI$XGBD$/=%9$GF$BD:BR$O<J<IOGI;$HI$QHEK$0IB<KI<B$F<BBGI;F$:IO$BD<$F<BEJ$H\$QHEK$I<BXHK]R$

QHE$U:Q$D:S<$BD<$K<FBKGCBGHI$H\$EFGI;$/=%9$HINQ$EIO<K$FJ<CG\GC$CHIOGBGHIFV$

9)97$Y$%D<$9HFB$)\\GC<$9KHBHCHN$7$Z9)97[$:\\HKOF$BDHF<$XDHF<$<YU:GN$\:CGNGBQ$EF<F$BDGF$\EICBGHI$

BD<$ HJBGHI$ H\$ <GBD<K$ OHXINH:OGI;$ :NN$ <YU:GN$U<FF:;<F$ BH$ :$ NHC:N$ CHUJEB<K$ \KHU$ BD<$ F<KS<K$ HK$

N<:SGI;$ CHJG<F$ H\$ BD<$ <YU:GNF$ HI$ BD<$ F<KS<KV$ %DGF$ JKHBHCHN$ H\\<KF$ PHBD$ :I$ :OS:IB:;<$ :IO$ :$

OGF:OS:IB:;<V$ %D<$ :OS:IB:;<$ :JJNG<F$ BH$ <YU:GN$ \:CGNGBG<F$ BD:B$ CD:K;<$ GI$ BGU<$ EIGBFR$ P<C:EF<$

OHXINH:OGI;$<YU:GNF$:NNHXF$QHE$BH$K<:O$BD<U$XGBDHEB$K<U:GIGI;$CHII<CB<O$BH$BD<$<YU:GN$F<KS<KV$

%D<$ OGF:OS:IB:;<$ GF$ BD:B$ QHE$U:Q$ :NFH$ BK:IF\<K$ EIX:IB<O$ <YU:GN$ CHIB<IB$ FECD$ :F$ SGKEF<F$ :IO$

FJ:UV$

0=19$Y$0IB<KI<B$=<FF:;<$1CC<FF$9KHBHCHN$Z0=19[$K<B:GIF$:NN$<YU:GN$HI$BD<$HEB;HGI;$F<KS<K$EIBGN$

BD<$<YU:GN$:CCHEIB$DHNO<K$K<cE<FBF$BH$K<:O$:$FJ<CG\GC$<YU:GN$U<FF:;<V$%DGF$JKHBHCHN$:NFH$:NNHXF$

BD<$<YU:GN$:CCHEIB$DHNO<K$ BH$CK<:B<$:IO$HK;:IGW<$ \HNO<KF$HI$ BD<$HEB;HGI;$U:GN$ F<KS<KV$#<C:EF<$

BD<$0=19$JKHBHCHN$U:]<F$EF<$H\$HINQ$FU:NN$O:B:$BK:IF\<KFR$BDGF$<YU:GN$JKHBHCHN$GF$<\\<CBGS<$HS<K$

FNHX$CHII<CBGHIF$FECD$:F$OG:NYEJ$0IB<KI<B$F<KSGC<V$

'%%9$ Y$ %D<$ 'QJ<KB<bB$ %K:IF\<K$ 9KHBHCHN$ Z'%%9[$ HKG;GI:NNQ$ :NNHX<O$ BDHF<$ XHK]GI;$ XGBD$

'QJ<KB<bB$ =:K]EJ$ *:I;E:;<$ Z'%=*[$ J:;<F$ :$ U<:IF$ BH$ JEPNGFD$ :IO$ K<C<GS<$ FECD$ J:;<FR$ :IO$

<SHNS<O$BH$BD<$JKGU:KQ$U<:IF$H\$GI\HKU:BGHI$BK:IF\<K$HI$BD<$XHKNOXGO<$X<PR$:F$O<FCKGP<O$:B$BD<$

!HKO0-$X<PFGB<V$ 1F$ FECDR$ FHU<$ HEB;HGI;$U:GN$ F<KS<KF$ EF<$ BDGF$ CHUUEIGC:BGHIF$ JKHBHCHN$ :F$ :$

U<:IF$\HK$:CCHEIB$DHNO<KF$BH$:CC<FF$BD<GK$U:GNPHb$:CCHEIBV$0I$K<\<K<IC<$BH$<YU:GNR$QHE$XGNN$:NFH$

\GIO$'%%9$C:NN<O$X<P$P:F<O$<YU:GN^$BD<$\K<<$'HBU:GN$<YU:GN$F<KSGC<$JKHSGO<F$:I$<b:UJN<$H\$BD<$

EF<$H\$'%%9$GI$:I$<YU:GN$:JJNGC:BGHI$:F$GIOGC:B<O$:B$BD<$"U:GN:OOK<FFU:I:;<K$X<PFGB<V$

$

6V 0=19$:IO$9)9$:K<$ BD<$JKHBHCHNF$HK$ B<CDIHNH;G<F$EFGI;$XDGCD$QHE$C:I$OHXINH:O$U<FF:;<F$

\KHU$U:GN$F<KS<KF$HI$QHEK$CHUJEB<K$:IO$:CC<FF$BD<U$XGBD$BD<$D<NJ$H\$U:GN$CNG<IBF$FECD$:F$

=GCKHFH\B$)EBNHH]R$=HWGNN:$%DEIO<KPGKO$<BCV$%D<$U:GI$:OS:IB:;<$H\$ BDGF$ B<CDIHNH;Q$ GF$ BD:B$

QHE$ C:I$ :CC<FF$ QHEK$ <U:GNF$ SG:$ :$ \<:BEK<YKGCD$ PKHXF<KYGIO<J<IO<IB$U:GN$ CNG<IBV$ 0I$ C:F<$ H\$

9)9R$QHE$;<B$H\\NGI<$:CC<FF$BH$HNO$U:GNF$BHHV$
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4V fG\\<K<IC<$P<BX<<I$0=19$:IO$9)9$

7V 0=19$:IO$9)9$:K<$BXH$OG\\<K<IB$JKHBHCHNFV$%D<K<$:K<$U:IQ$OG\\<K<IC<F$P<BX<<I$BD<F<$BXHV$

%D<$U:GI$ OG\\<K<IC<$ GF$ BD:B$ 0=19Z0IB<KI<B$ =<FF:;<O$ 1CC<FF$ 9KHBHCHN[$ :NX:QF$ FQICF$ XGBD$

U:GN$ F<KS<K$ FH$ BD:B$ :IQ$ CD:I;<F$ QHE$ U:]<$ GI$ QHEK$ U:GN$ CNG<IB$ Z=GCKHFH\B$ )EBNHH]R$

%DEIO<KPGKO[$XGNN$GIFB:IBNQ$:JJ<:K$HI$QHEK$X<PU:GN$GIPHbV$

AV )I$BD<$HBD<K$D:IOR$GI$9)9Z9HFB$)\\GC<$9KHBHCHN[R$QHEK$U:GN$CNG<IB$:CCHEIB$:IO$U:GN$F<KS<K$:K<$

IHB$FQIC<OV$ 0B$U<:IF$XD:B<S<K$CD:I;<F$QHE$U:]<$ BH$QHEK$<U:GN$:CCHEIB$ GI$ BD<$U:GN$CNG<IB$

XGNN$IHB$P<$BK:IF\<KK<O$BH$BD<$X<PU:GN$GIPHbV$

eV 0I$FGUJN<$ B<KUFR$ G\$QHE$:K<$EFGI;$ 0=19$:IO$U:K]$:$U:GN$:F$K<:OR$ GB$;<BF$U:K]<O$:F$K<:O$ GI$

QHEK$X<P$P:F<O$GIPHb$BHH$ZP<C:EF<$BD<$CD:I;<F$:K<$D:JJ<IGI;$HI$BD<$F<KS<K[V$'HX<S<KR$BDGF$

XHI`B$P<$BD<$C:F<$G\$QHE$:K<$EFGI;$9)9R$P<C:EF<$BD<$U:GNF$:K<$OHXINH:O<O$BH$QHEK$9&$:IO$BD<$

CD:I;<F$XHI`B$K<\N<CB$HI$BD<$F<KS<KV$

%D<$ EFGI;$ H\$0=19$BH$ :CC<FF$ QHEK$U:GNPHb$ D:F$ :OS:IB:;<F$ HS<K$9)97$:IO$ BD<$ OG\\<K<IC<$ H\$ BD<GK$

XHK]GI;$U<CD:IGFU$C:I$P<$FEUU:KGW<O$GI$BD<$\HNNHXGI;$B:PN<V$

$
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9)97$ 0=19$

/GIC<$ <U:GN$ I<<OF$ BH$ P<$ OHXINH:O<O$ GIBH$

O<F]BHJ$ 9&$ P<\HK<$ P<GI;$ OGFJN:Q<OR$ QHE$ U:Q$

D:S<$BD<$\HNNHXGI;$JKHPN<UF$\HK$9)97$:CC<FF3$

• ,HE$ I<<O$ BH$ OHXINH:O$ :NN$ <U:GN$ :;:GI$

XD<I$ EFGI;$ :IHBD<K$ O<F]BHJ$ 9&$ BH$

CD<C]$QHEK$<U:GNV$

• =:Q$ ;<B$ CHI\EF<O$ G\$ QHE$ I<<O$ BH$ CD<C]$

<U:GN$PHBD$GI$BD<$H\\GC<$:IO$:B$DHU<V$

%D<$ OHXINH:O<O$ <U:GN$ U:Q$ P<$ O<N<B<O$ \KHU$

BD<$ F<KS<K$ O<J<IOGI;$ HI$ BD<$ F<BBGI;$ H\$ QHEK$

<U:GN$CNG<IBV$

/GIC<$<U:GN$ GF$ ]<JB$HI$ F<KS<KR$ GB$XHENO$;:GI$ BD<$

\HNNHXGI;$P<I<\GBF$\HK$0=19$:CC<FF3$

• (H$ I<<O$ BH$ OHXINH:O$ :NN$ <U:GN$ XD<I$

EFGI;$ HBD<K$ O<F]BHJ$ 9&$ BH$ CD<C]$ QHEK$

<U:GNV$

• ":FG<K$BH$GO<IBG\Q$BD<$EIK<:O$<U:GNV$

1NN$U<FF:;<F$:F$X<NN$:F$ BD<GK$:BB:CDU<IBF$XGNN$

P<$ OHXINH:O<O$ GIBH$ O<F]BHJ$ 9&$ OEKGI;$ BD<$

rCD<C]$I<X$<U:GNr$JKHC<FFV$

1$XDHN<$U<FF:;<$XGNN$P<$OHXINH:O<O$HINQ$XD<I$

GB$GF$HJ<I<O$\HK$OGFJN:Q$\KHU$GBF$CHIB<IBV$

=:GNPHb<F$C:I$HINQ$P<$CK<:B<O$HI$O<F]BHJ$9&V$

%D<K<$ GF$ HINQ$ HI<$ U:GNPHb$ Z0(#)y[$ <bGFBF$ HI$

BD<$F<KS<KV$

=ENBGJN<$ U:GNPHb<F$ C:I$ P<$ CK<:B<O$ HI$ BD<$

O<F]BHJ$9&$:F$X<NN$:F$HI$BD<$F<KS<KV$

aGNB<KF$ C:I$ BK:IF\<K$ GICHUGI;_HEB;HGI;$

U<FF:;<F$HINQ$BH$NHC:N$U:GNPHb<FV$

aGNB<KF$ C:I$ BK:IF\<K$ GICHUGI;_HEB;HGI;$

U<FF:;<F$ BH$ HBD<K$ U:GNPHb<F$ IH$ U:BB<K$ XD<K<$

BD<$U:GNPHb<F$NHC:B<$ZHI$BD<$F<KS<K$HK$BD<$9&[V$

)EB;HGI;$ <U:GN$ GF$ FBHK<O$ HINQ$ NHC:NNQ$ HI$ BD<$

O<F]BHJ$9&V$

)EB;HGI;$ <U:GN$ C:I$ P<$ \GNB<K<O$ BH$ :$U:GNPHb$ HI$

F<KS<K$\HK$:CC<FFGPGNGBQ$\KHU$HBD<K$U:CDGI<V$

=<FF:;<F$ :K<$ O<N<B<O$ HI$ BD<$ O<F]BHJ$ 9&V$

&HUJ:K:BGS<NQR$ GB$ GF$ GICHIS<IG<IB$ BH$ CN<:I$ EJ$

QHEK$U:GNPHb$HI$BD<$F<KS<KV$

=<FF:;<F$ C:I$ P<$ O<N<B<O$ OGK<CBNQ$ HI$ BD<$ F<KS<K$

BH$ U:]<$ GB$ UHK<$ CHIS<IG<IB$ BH$ CN<:I$ EJ$ QHEK$

U:GNPHb$HI$BD<$F<KS<KV$

=<FF:;<F$ U:Q$ P<$ K<NH:O<O$ HIBH$ O<F]BHJ$ 9&$

F<S<K:N$ BGU<F$OE<$ BH$ BD<$ CHKKEJBGHI$H\$ FQFB<U$

\GN<FV$

%D<$HCCEKK<IC<$H\$ K<NH:OGI;$U<FF:;<F$ \KHU$BD<$

F<KS<K$ BH$ 9&$ GF$ UECD$ N<FF$ XD<I$ CHUJ:K<O$ BH$

9)97V$
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$$/HEKC<$Q88LS]]<<<@6C.3.2680>Q@>9M]EEga]3.TT0102>0UK08<002UL9LU723U.M7L]$

Q88LS]]0M7.:@>.8DC@03C@QP]T7_]L9L.M7L@Q8M$

$

$

-$p[$!19$GI$PEFGI<FFj$

!GK<N<FF$1JJNGC:BGHI$9KHBHCHN$CHUUHINQ$]IHXI$:F$!19$GF$EF<O$BH$<I:PN<$BD<$:CC<FF$H\$GIB<KI<B$GI$

BD<$UHPGN<$JDHI<F$HK$9f1FV$!19$GF$:I$GIB<KI:BGHI:N$FB:IO:KO$\HK$BD<$O<SGC<F$BD:B$EF<$BD<$XGK<N<FF$

CHUUEIGC:BGHIFV$(HX:O:QF$GIB<KI<B$D:F$JK<S:GN<O$GI$HEK$NGS<F$FH$UECD$BD:B$GB$D:F$P<CHU<$OG\\GCENB$

BH$ NGS<$XGBDHEB$ GB$<S<I$ \HK$:$XDGN<V$#EB$X<$C:I$IHB$D:S<$:CC<FF$ BH$HEK$J<KFHI:N$CHUJEB<KF$:NN$ BD<$

BGU<$BH$CHII<CB$BH$BD<$GIB<KI<BR$NG]<$XD<I$X<$:K<$HI$BD<$;H$HK$X<$:K<$HEB$H\$BHXI$\HK$XDGN<$:IO$X<$

X:IB$ BH$ CD<C]$ HEK$U:GN$ HK$X:IB$ BH$U:]<$ :$ \NG;DBYK<F<KS:BGHI$ HINGI<$ HK$ CD:B$ BH$ :I$ :FFHCG:B<$ HK$ :$

\KG<IOV$ 0I$ BD<$ FGBE:BGHIF$ NG]<$ BD<F<R$ !19$ CHU<F$ GI$ D:IOQV$ 1NN$ X<$ D:S<$ BH$ OH$ GF$ BH$ C:KKQ$ :$!19$

<I:PN<O$UHPGN<$JDHI<$HK$9f1V$1JJKHbGU:B<NQ$:NN$BD<$UHPGN<$JDHI<$C:KKG<KF$D:S<$BD<$!19$F<KSGC<$

BD<F<$O:QFR$ BD<K<\HK<$:NN$QHE$I<<O$ BH$;<B$!19$HI$QHEK$O<SGC<$ GF$ BH$;<B$ BD<$CHI\G;EK:BGHI$F<BBGI;F$

\KHU$QHEK$XGK<N<FF$C:KKG<K$:IO$QHE$:K<$GI$PEFGI<FFV$#EB$BD<$EF<$H\$!19$C:I$P<$:$PGB$BKGC]Q$\HK$BD<$

P<;GII<KF$:F$ BD<$J:;<F$HJ<I$ GI$QHEK$UHPGN<$JDHI<$:K<$IHB$cEG<B$ F:U<$ BH$ BD<$HI<F$HI$QHEK$JC$HK$

N:JBHJ$P<C:EF<$BD<F<$J:;<F$:K<$HJBGUGW<O$\HK$UHPGN<$JDHI<F$:IO$9f1F$:IO$BD<$GU:;<F$:IO$B<bB$GF$

cEG<B$FU:NNV$

!19Y1JJNGC:BGHIF$

$

%D<K<$GF$:$I<<O$H\$C<KB:GI$:JJNGC:BGHIF$BH$U:]<$BD<$\ENN$EF<$H\$!19$GI$QHEK$O<SGC<V$%D<$\GKFB$BDGI;$

QHE$I<<O$ GF$:$!19$PKHXF<K$ BH$:CC<FF$OG\\<K<IB$X:JYFGB<FV$=HFB$!19Y<I:PN<O$UHPGN<$JDHI<F$:IO$

9f1F$ D:S<$ :$ PEGNBYGI$!19$ PKHXF<K$ PEB$ QHE$ C:I$ :NFH$ EF<$ :$ BDGKO$ J:KBQ$ X:JYPKHXF<KV$ 1$ \:UHEF$

PKHXF<K$ GI$)J<K:YUGIG$XDGCD$ GF$:S:GN:PN<$ \K<<$H\$CHFB$ \HK$UHFB$H\$ BD<$UHO<NF$:S:GN:PN<$:IO$H\\<KF$

U:IQ$ \<:BEK<F$ BD:B$ BD<$ PEGNBYGI$ PKHXF<KF$ OH$ IHBV$

1IHBD<K$:JJNGC:BGHI$BD:B$J<HJN<$X:IB$BH$EF<$GI$BD<GK$X:JY<I:PN<O$JDHI<F$GF$:I$GIFB:IB$U<FF<I;<KV$

1I$ GIFB:IB$U<FF<I;<K$ <I:PN<F$ QHE$ BH$ OH$ :$ NGS<$ CD:BV$ %D<$ \:UHEF$ GIFB:IB$U<FF:;GI;$ F<KSGC<F$ :K<$

=/(R$,1'))R$1)*$:IO$+))+*"V$%D<$EF<O$H\$ BD<F<$F<KSGC<F$ GI$QHEK$UHPGN<$JDHI<$<I:PN<F$QHE$BH$

CD:B$NGS<$XGBD$QHEK$\KG<IOF$:IO$\:UGNQ$:NN$:KHEIO$BD<$XHKNOV$%D<K<$:K<$IEUP<K$H\$X:J$U<FF<I;<KF$

BD:B$<I:PN<$QHE$BH$:S:GN$BDGF$F<KSGC<$:IO$FHU<$H\$BD<U$:K<$<S<I$\K<<V$%D<$GIFB:IB$U<FF:;GI;$GF$HI<$H\$

BD<$ PG;;<FB$ :OS:IB:;<F$ HI<$ C:I$ :S:GN$ EFGI;$ :$ C<NNEN:K$ JDHI<V$

%D<K<$:K<$C<KB:GI$:JJNGC:BGHIF$BD:B$CHII<CB$QHE$BH$BD<$;NHP:N$JHFGBGHIGI;$FQFB<U$CHUUHINQ$]IHXI$

:F$ +9/$ FH$ BD:B$ QHE$ C:I$ IHB$ ;<B$ NHFB$ :IO$ QHE$ C:I$ <:FGNQ$ \GIO$ QHEK$ O<FBGI:BGHIF$ :NN$ :KHEIO$XHKNOV$
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$

!19Y/GB<F$

$

!GBD$BD<$EF<$H\$QHEK$!19$PKHXF<K$GI$QHEK$UHPGN<$JDHI<$QHE$C:I$HINQ$:CC<FF$BD<$X:JYFGB<FR$XDGCD$

U<:IF$QHE$OH$IHB$D:S<$:CC<FF$BH$BD<$XDHN<$!HKNO$!GO<$!<PV$%DGF$GF$:$OK:XP:C]$H\$BD<$X:J$:F$HI<$

C:IB$:CC<FF$:NN$ BD<$X<P$ \KHU$DGF$O<SGC<V$#EB$XGBD$ BDGF$ B<CDIHNH;QR$:NN$ BD<$U:dHK$HINGI<$CHUJ:IG<F$

D:S<$HJ<I<O$BD<GK$X:J$FGB<F$:NHI;$XGBD$BD<GK$X<PFGB<F$:IO$BD<$CHEIB$GF$GICK<:FGI;$<S<KQ$FGI;N<$O:Q$

P<C:EF<$ BD<$ EF<$ H\$ X:J$ :NN$ :KHEIO$ BD<$ XHKNO$ D:F$ P<CHU<$ S<KQ$ JHJEN:KV$

$

!GK<N<FF$1JJNGC:BGHI$9KHBHCHN3$

1F$BD<$PHBBHU$NGI<R$GB$GF$BH$P<$F:GO$BD:B$BD<$EF<$H\$!19$D:F$U:O<$BD<$:CC<FF$BH$X<P$S<KQ$<:FQV$%D<$

:CC<FF$ BH$ BD<$ GIB<KI<B$ D:F$ P<CHU<$ S<KQ$ <:FQ$XD<I$ QHE$ :K<$ HI$ BD<$UHS<$ :IO$ BD<$ EF<$ H\$UHPGN<$

JDHI<F$D:S<$P<CHU<$UECD$UHK<$XHKBDQV$

/HEKC<$ Y$

Q88LS]]<<<@4810083.10>891D@>9M]817/0:e6C.30]??aHHg]>0::eLQ9204]C40e9Te<7Le<.10:044e7

LL:.>78.92eL1989>9:e.2e>0::eLQ9204@Q8M:$

$

-65$[$fG;GB:N$C<KBG\GC:B<F$:IO$GBF$EF<Fj$

%D<$ CHIB<IBF$ H\$ :$ OG;GB:N$ C<KBG\GC:B<$ :K<$ JK<FCKGP<O$ PQ$ BD<$ yVe5p$ FB:IO:KOR$ O<S<NHJ<O$ PQ$ BD<$

0IB<KI:BGHI:N$ /B:IO:KOF$ )K;:IGW:BGHI$ Z0/)[$ :IO$ :OHJB<O$ PQ$ BD<$ 1U<KGC:I$ (:BGHI:N$ /B:IO:KOF$

0IFBGBEB<$Z1(/0[$:IO$BD<$0IB<KI<B$"I;GI<<KGI;$%:F]$aHKC<$Z0"%a[V$%D<$N:B<FB$S<KFGHI$GF$IHX$ye5p$S7V$

%D<$JKGICGJ:N$<N<U<IBF$H\$:$OG;GB:N$C<KBG\GC:B<$:K<$:F$\HNNHXF3$

Ö$><KFGHI$IEUP<K$H\$BD<$C<KBG\GC:B<$\HKU:B$

Ö$/<KG:N$IEUP<K$H\$BD<$C<KBG\GC:B<$

Ö$/G;I:BEK<$:N;HKGBDU$GO<IBG\G<K$

Ö$0FFE<K$H\$OG;GB:N$C<KBG\GC:B<3$:$C<KBG\GC:B<$:EBDHKGBQ$XGBD$.?*$

Ö$>:NGOGBQ$J<KGHO$

Ö$.IGcE<$GO<IBG\GC:BGHI$H\$C<KBG\GC:B<$DHNO<K$

Ö$9EPNGC$]<Q$GI\HKU:BGHI$
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1JJNGC:BGHIF$EFGI;$JEPNGCY]<Q$CKQJBH;K:JDQ$FQFB<UF$\HK$]<Q$<bCD:I;<$HK$OG;GB:N$FG;I:BEK<F$I<<O$BH$

EF<$ OG;GB:N$ C<KBG\GC:B<F$ BH$ HPB:GI$ BD<$ I<<O<O$ JEPNGC$ ]<QFV$ 0IB<KI<B$ :JJNGC:BGHIF$ H\$ BDGF$ ]GIO$ :K<$

IEU<KHEFV$ aHNNHXGI;$ :K<$PKG<\$ O<FCKGJBGHIF$H\$ :$ \<X$H\$ BD<$ CHUUHINQ$EF<O$ 0IB<KI<B$ :JJNGC:BGHIF$

BD:B$EF<$JEPNGCY]<Q$CKQJBH;K:JDQ3$

//*$

1$JKHBHCHN$BD:B$JKHSGO<F$JKGS:CQ$:IO$GIB<;KGBQ$\HK$CHUUEIGC:BGHIFV$%DGF$JKHBHCHN$GF$EF<O$PQ$3$

• !<P$ F<KS<KF$ BH$ JKHSGO<$ F<CEKGBQ$ \HK$ CHII<CBGHIF$ P<BX<<I$ !<P$ F<KS<KF$ :IO$ !<P$

PKHXF<KFR$

• *f19$BH$JKHSGO<$F<CEKGBQ$\HK$CHII<CBGHIF$P<BX<<I$*f19$CNG<IBF$:IO$*f19$F<KS<KFR$

• 'HFBYHIYf<U:IO$>4$BH$JKHSGO<$F<CEKGBQ$ \HK$CHII<CBGHIF$P<BX<<I$BD<$CNG<IB$:IO$BD<$

DHFB$FQFB<UV$

1OOGBGHI:N$:JJNGC:BGHIF$P:F<O$HI$BDGF$JKHBHCHN$:K<$GI$O<S<NHJU<IBV$

//*$ EF<F$ OG;GB:N$ C<KBG\GC:B<F$ \HK$ ]<Q$ <bCD:I;<R$ F<KS<K$ :EBD<IBGC:BGHIR$ :IO$ HJBGHI:NNQR$ CNG<IB$

:EBD<IBGC:BGHIV$

&NG<IB$1EBD<IBGC:BGHI$

&NG<IB$ :EBD<IBGC:BGHI$ GF$ :I$ HJBGHI$ GI$ //*$ BD:B$ K<cEGK<F$ :$ F<KS<K$ BH$ :EBD<IBGC:B<$ :$ CNG<IBrF$

OG;GB:N$C<KBG\GC:B<$P<\HK<$:NNHXGI;$BD<$CNG<IB$BH$NH;$HI$HK$:CC<FF$C<KB:GI$K<FHEKC<FV$%D<$F<KS<K$

K<cE<FBF$:IO$:EBD<IBGC:B<F$BD<$CNG<IBrF$OG;GB:N$C<KBG\GC:B<$OEKGI;$BD<$//*$D:IOFD:]<V$1B$BD:B$

BGU<$BD<$F<KS<K$C:I$:NFH$O<B<KUGI<$XD<BD<K$GB$BKEFBF$BD<$&1$BD:B$GFFE<O$BD<$OG;GB:N$C<KBG\GC:B<$

BH$BD<$CNG<IBV$

/<CEK<$"N<CBKHIGC$=:GN$

=:IQ$ <N<CBKHIGC$ U:GN$ FQFB<UFR$ EFGI;$ FB:IO:KOF$ FECD$ :F$9KGS:CQ$ "ID:IC<O$ =:GN$Z9"=[$

HK$/<CEK<_=ENBGJEKJHF<$ 0IB<KI<B$=:GN$"bB<IFGHIF$Z/_=0="[$ \HK$ F<CEK<$<N<CBKHIGC$U:GNR$ EF<$

OG;GB:N$C<KBG\GC:B<F$\HK$OG;GB:N$FG;I:BEK<F$:IO$\HK$BD<$<bCD:I;<$H\$]<QF$BH$<ICKQJB$:IO$O<CKQJB$

U<FF:;<FV$

>GKBE:N$9KGS:B<$(<BXHK]F$Z>9(F[$

>GKBE:N$ JKGS:B<$ I<BXHK]FR$ :NFH$ C:NN<O$F<CEK<$ BEII<NFR$ C:I$ P<$ F<B$ EJ$ P<BX<<I$ \GK<X:NNF$ BH$

<I:PN<$JKHB<CB<O$CHII<CBGHIF$P<BX<<I$F<CEK<$I<BXHK]F$HS<K$GIF<CEK<$CHUUEIGC:BGHI$NGI]FV$

1NN$BK:\\GC$O<FBGI<O$BH$BD<F<$I<BXHK]F$GF$<ICKQJB<O$P<BX<<I$BD<$\GK<X:NNFV$

%D<$ JKHBHCHNF$ EF<O$ GI$ BEII<NGI;$ \HNNHX$ BD<$09$ /<CEKGBQ$Z09F<C[$ FB:IO:KOV$ aHK$ BD<$ ]<Q$

<bCD:I;<$P<BX<<I$J:KBI<K$ \GK<X:NNFR$ BD<$ 0IB<KI<B$]<Q$<bCD:I;<$ Z02"[$FB:IO:KOR$JK<SGHEFNQ$

]IHXI$:F$0/12=9_):]N<QR$D:F$P<<I$O<\GI<OV$
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%D<$ FB:IO:KOF$:NFH$:NNHX$ \HK$:$ F<CEK<R$ <ICKQJB<O$CHII<CBGHI$P<BX<<I$:$ K<UHB<$ CNG<IB$ Z\HK$

<b:UJN<R$:I$<UJNHQ<<$XHK]GI;$\KHU$DHU<[$:IO$:$F<CEK<$DHFB$HK$I<BXHK]V$

/<CEK<$"N<CBKHIGC$%K:IF:CBGHI$Z/"%[$

/"%$ GF$ :$ FB:IO:KO$ O<FG;I<O$ \HK$ F<CEK<$ CK<OGB$ C:KO$ J:QU<IBF$ EFGI;$ GIF<CEK<$ I<BXHK]FR$ \HK$

<b:UJN<R$BD<$0IB<KI<BV$fG;GB:N$C<KBG\GC:B<F$:K<$EF<O$\HK$C:KO$DHNO<KF$Z<N<CBKHIGC$CK<OGB$C:KOF[$

:IO$U<KCD:IBFV$%D<$EF<$H\$OG;GB:N$C<KBG\GC:B<F$GI$/"%$:NNHXF$\HK$F<CEK<R$JKGS:B<$CHII<CBGHIF$

P<BX<<I$ C:KO$ DHNO<KFR$ U<KCD:IBFR$ :IO$ P:I]FV$ %D<$ BK:IF:CBGHIF$ CK<:B<O$ :K<$ F<CEK<$ :IO$

GIOGFJEB:PN<R$:IO$BD<Q$C:IIHB$P<$\HK;<OV$%D<$U<KCD:IBF$K<C<GS<$IH$CK<OGB$C:KO$GI\HKU:BGHI$

BD:B$C:I$P<$UGFEF<O$HK$FBHN<IV$

/HEKC<$@$Q88LS]]<<<@>102@208]>102>7]39>4]>102U3:T@L3T$

Q88LS]]L.>@3Q0@.KM@>9M].2T9>02801]8./.Q0:L]/E1?].230=@c4L[89L.>ijE->9M@.KM@.87M0E@39>

eR@?jE-44a7CM48?R@Q8M$

$$

$

$

$

$

$

$
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!"#$%"&'()*)+,$$8$$1JKGN$!""'$

d?$k$&9ML710$>9ML08.26$401/01$4.30$80>Q29:96.04$W$72D$EA$

F$_C.>P$.28193C>8.92$89$401/01U4.30$80>Q29:96D$

&DHHFGI;$XDGCD$F<KS<KYFGO<$B<CDIHNH;Q$BH$EF<$GF$:I$GUJHKB:IB$O<CGFGHIV$1NN$H\$BD<$B<CDIHNH;G<F$D:S<$

FGUGN:K$C:J:PGNGBG<F$:IO$\<:BEK<FR$PEB$XDGN<$FXGBCDGI;$:$JKHd<CB$ \KHU$HI<$B<CDIHNH;Q$BH$:IHBD<K$ GF$

JHFFGPN<R$GB$GF$:NFH$BGU<$CHIFEUGI;$:IO$H\B<I$\K:E;DB$XGBD$OG\\GCENBQV$0BrF$GUJHFFGPN<$BH$F:Q$G\$HI<$GF$

:IQ$E"--"$$BD:I$:IHBD<KR$PEB$BD<K<$:K<$C<KB:GI$:FJ<CBF$H\$<:CD$B<CDIHNH;QR$FECD$:F$<:F<$H\$N<:KIGI;R$

:S:GN:PGNGBQR$CHFBR$:IO$FH\BX:K<$FEJJHKBR$BD:B$C:I$D<NJ$QHE$U:]<$EJ$QHEK$UGIOV$

U<KGBF$H\$BD<$UHFB$XGO<NQ$EF<O$F<KS<KYFGO<$B<CDIHNH;G<FR$I:U<NQ$ZGI$:NJD:P<BGC:N$HKO<K[3$

• 1CBGS<$/<KS<K$9:;<F$Z1/9[$

• 1/9V("%$

• &HNOaEFGHI$

• o:S:/<KS<K$9:;<F$Zo/9[$

• 9'9$

• 9QBDHI$

• ?EPQ$HI$?:GNF$

!Q78$M7P04$7$<0K4.80$3D27M.>[$

%D<$ XHKO$!4+*C%5$GF$ H\B<I$ EF<O$ BH$ O<FCKGP<$ X<PFGB<F$ BD:B$ EF<$ :$ F<KS<KYFGO<$ B<CDIHNH;QV$ %DGF$ GF$

P<C:EF<$BD<$CHIB<IB$H\$<:CD$J:;<$H\B<I$CD:I;<F$GI$K<FJHIF<$BH$EF<K$GIJEBR$FECD$:F$BDKHE;D$:$F<:KCD$

\HKUV$%D<$B<KUR$!4+*C%5$GF$:NFH$:JJNG<O$BH$X<P$J:;<F$BD:B$EF<$<\\<CBF$NG]<$KHNNHS<KFR$OK:;Y:IOYOKHJR$

:IO$ \:O<FR$ HK$XGO;<BF$ NG]<$:CCHKOGHI$J:I<NF$ BD:B$ FNGO<$HJ<I$:IO$ CNHF<O$ BH$ K<S<:N$HK$DGO<$ CHIB<IBV$

%D<F<$OQI:UGC$<\\<CBF$:IO$XGO;<BF$:K<$CHIBKHNN<O$PQ$o:S:/CKGJB$GI$BD<$PKHXF<KR$:IO$:K<$IHB$K<N:B<O$

GI$ :IQ$ X:Q$ BH$ F<KS<KYFGO<$ B<CDIHNH;QV$ #<C:EF<$ BD<Q$ B:]<$ JN:C<$ GI$ BD<$ PKHXF<K$ HI$ BD<$ EF<KrF$

CHUJEB<K$ZBD<$58%"+-[R$BD<Q$:K<$]IHXI$:F$58%"+-26%!"#-"5.+,8,&4V$

)I$BD<$HBD<K$D:IOR$:F$GBF$I:U<$FE;;<FBFR$F<KS<KYFGO<$B<CDIHNH;Q$HJ<K:B<F$<IBGK<NQ$HI$BD<$X<P$F<KS<K$

:IO$F<IOF$BD<$K<FENBF$BH$BD<$PKHXF<KV$

!Q78$Q7LL024$92$8Q0$401/01[$

/<KS<KYFGO<$B<CDIHNH;Q$C:I$P<$EF<O$GI$BD<$\HNNHXGI;$U:GI$X:QF3$

• %H$PEGNO$X<P$J:;<F$XGBD$'%=*$
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• %H$F<KS<$O:B:$BH$:$KGCD$0IB<KI<B$:JJNGC:BGHI$Z?01[R$FECD$:F$:$/!a$\GN<$PEGNB$GI$aN:FD$#EGNO<K$A$HK$

aN:FD$9KH\<FFGHI:N$

• %H$JKHC<FF$EF<K$GIJEB$:IO$F<IO$GB$PQ$<U:GN$HK$EJO:B<$BD<$CHIB<IBF$H\$:$O:B:P:F<$

%D<$ GUJHKB:IB$ BDGI;$ BH$ EIO<KFB:IO$ :PHEB$ EFGI;$ F<KS<KYFGO<$ B<CDIHNH;Q$ GF$ BD:B$ <S<KQBDGI;$ B:]<F$

JN:C<$ HI$ BD<$ F<KS<KR$ :IO$ BD<$ K<FENBF$ :K<$ F<IB$ BH$ BD<$ PKHXF<K$ HK$ BD<$?01V$ 0\$ \EKBD<K$ JKHC<FFGI;$ HK$

O:B:P:F<$cE<KG<F$:K<$K<cEGK<OR$ GB$:NX:QF$GISHNS<F$:$KHEIOYBKGJ$BH$BD<$F<KS<KV$0B$UG;DB$FHEIO$NG]<$:$

FB:B<U<IB$H\$ BD<$HPSGHEFR$ PEB$ GBrF$ <:FQ$ BH$ \HK;<B$XD<I$QHE$ F<<$ :$X<NNYO<FG;I<O$OQI:UGC$X<PFGB<R$

XDGCD$XGNN$:NUHFB$C<KB:GINQ$EF<$:$CHUPGI:BGHI$H\$CNG<IBYFGO<$:IO$F<KS<KYFGO<$B<CDIHNH;G<FV$

F>8./0$G01/01$V7604$WFGVA$

1/9$ ZH\B<I$ K<\<KK<O$ BH$ :F$ &N:FFGC$ 1/9[$ GF$=GCKHFH\BrF$ HKG;GI:N$ F<KS<KYFGO<$ B<CDIHNH;QR$ K<N<:F<O$ GI$

6ppLV$1\B<K$1/9$7V5$X:F$N:EICD<O$GI$4555R$=GCKHFH\B$O<CGO<O$BH$:P:IOHI$:NN$\EKBD<K$O<S<NHJU<IBR$

:IO$ \HCEF$ GIFB<:O$ HI$ 1/9V("%V$ (<S<KBD<N<FFR$ &N:FFGC$ 1/9$ K<U:GI<O$ S<KQ$ JHJEN:K$ :IO$ GF$ FBGNN$ GI$

XGO<FJK<:O$EF<V$

&HIBK:KQ$BH$CHUUHI$P<NG<\R$1/9$GF$IHB$:$N:I;E:;<V$1CBGS<$/<KS<K$9:;<F$C:I$P<$CK<:B<O$EFGI;$<GBD<K$

>#/CKGJB$HK$o:S:/CKGJBV$)NO<K$S<KFGHIF$H\$fK<:UX<:S<K$GICNEO<$F<KS<K$P<D:SGHKF$GI$PHBD$N:I;E:;<FV$

'HX<S<KR$BD<$1/9$o:S:/CKGJB$F<KS<K$P<D:SGHKF$D:S<$P<<I$K<UHS<O$\KHU$fK<:UX<:S<K$&/eR$XDGCD$

IHX$FEJJHKBF$HINQ$1/9$>#/CKGJBV$

&N:FFGC$1/9$GF$NG]<NQ$BH$K<U:GI$GI$EF<$\HK$U:IQ$UHK<$Q<:KF^$PEB$GB$GF$:$FB:;I:IB$B<CDIHNH;QR$:IO$OH<F$

IHB$ U:]<$ :$ XGF<$ CDHGC<$ \HK$ :IQHI<$ CEKK<IBNQ$ CHIB<UJN:BGI;$ N<:KIGI;$ :$ F<KS<KYFGO<$ B<CDIHNH;QV$

><KFGHIF$H\$1/9$O<FG;I<O$BH$KEI$HI$IHIY!GIOHXF$F<KS<KF$:K<$IH$NHI;<K$H\\GCG:NNQ$FEJJHKB<OV$

FGV@("%$

%D<$K<JN:C<U<IB$\HK$&N:FFGC$1/9$P<:KF$NGBBN<$K<F<UPN:IC<$BH$GB$:J:KB$\KHU$BD<$I:U<V$%D<$OG\\<K<IC<$

GF$FH$U:K]<O$BD:B$JK<SGHEF$<bJ<KG<IC<$H\$&N:FFGC$1/9$OH<F$NGBBN<$BH$FUHHBD$BD<$BK:IFGBGHI$\KHU$HI<$

B<CDIHNH;Q$BH$BD<$HBD<KV$1/9V("%$EF<F$BD<$=GCKHFH\B$V("%$\K:U<XHK]R$:IO$C:I$P<$XKGBB<I$GI$U:IQ$

OG\\<K<IB$CHUJEB<K$N:I;E:;<FR$BD<$UHFB$JHJEN:K$P<GI;$&Ü$:IO$>#V("%V$

1$U:dHK$\<:BEK<$H\$1/9V("%$GF$BD<$EF<$H\$CHIBKHNFR$FECD$:F$O:B:$;KGOF$:IO$I:SG;:BGHI$CHIBKHNFV$%DGF$

U:]<F$GB$:$S<KQ$JHX<K\EN$F<KS<KYFGO<$B<CDIHNH;QR$XDGCD$GF$J:KBGCEN:KNQ$FEGB<O$BH$N:K;<YFC:N<$JKHd<CBFV$

'HX<S<KR$ BD<$ JHX<K$ CHU<F$ :B$ BD<$ <bJ<IF<$ H\$ :$ FB<<J$ N<:KIGI;$ CEKS<V$ 1/9V("%$ GF$ XHKBD$ F<KGHEF$

CHIFGO<K:BGHI$G\$QHE$JN:I$:$C:K<<K$:F$:$JKH;K:UU<K$GI$X<P$:JJNGC:BGHI$O<S<NHJU<IBV$)I$BD<$HBD<K$

D:IOR$G\$QHE$FGUJNQ$X:IB$BH$:OO$O:B:P:F<$\EICBGHI:NGBQ$BH$FU:NNY$BH$U<OGEUYFGW<$X<PFGB<FR$1/9V("%$

UG;DB$P<$HS<K]GNNVV$



!"#$%"&'()*)+,$-."/%0)($#1(2$3$4567$ 657$8$9 : ; < $
$

F39K0$&9:3-C4.92$

&HNOaEFGHI$ GF$ 1OHP<rF$ :JJNGC:BGHI$ F<KS<K$ BD:B$ KEIF$ HI$ !GIOHXFR$ =:C$ )/$ yR$ :IO$ *GIEbV$ 0I$ BD<$

P:C];KHEIOR$GB$EF<F$o:S:R$:$JHX<K\EN$JKH;K:UUGI;$N:I;E:;<$BD:BR$GI$FJGB<$H\$GBF$I:U<R$GF$EIK<N:B<O$

BH$ o:S:/CKGJBV$ aKHU$ :$ X<P$ O<S<NHJ<KrF$ SG<XJHGIBR$ &HNOaEFGHI$ GF$ S<KQ$ <:FQ$ BH$ EF<$ P<C:EF<$ BD<$

:JJNGC:BGHI$F<KS<K$B:]<F$C:K<$H\$UHFB$H\$BD<$CHUJN<b$JKH;K:UUGI;V$&HUU:IOF$:K<$XKGBB<I$EFGI;$:$

B:;YP:F<O$N:I;E:;<R$&HNOaEFGHI$=:K]EJ$*:I;E:;<$Z&a=*[R$BD:B$NHH]F$S<KQ$FGUGN:K$BH$'%=*V$%H$;GS<$

:$FGUJN<$<b:UJN<R$G\$QHE$D:S<$:$\HKU$HI$QHEK$FGB<$XD<K<$SGFGBHKF$C:I$<IB<K$BD<GK$I:U<R$BD<$\HNNHXGI;$

CHO<$OGFJN:QF$BD<$I:U<$XD<I$BD<$\HKU$GF$FEPUGBB<O3$

}C\HEBJEB~'<NNHR$Üa)?=VI:U<Üu}_C\HEBJEB~$

1$U:dHK$FBK<I;BD$H\$&HNOaEFGHI$ GF$ GBF$ GIB<;K:BGHI$XGBD$ o:S:V$!DGN<$UHFB$EF<KF$OH$<S<KQBDGI;$XGBD$

&a=*R$:IO$I<<O$IH$]IHXN<O;<$H\$o:S:R$:OS:IC<O$JKH;K:UU<KF$C:I$:CC<FF$JK<Y<bGFBGI;$o:S:$HPd<CBF$
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)/0$(<BXHK]$=HO<N$ H\3$FLL:.>78.92R$%1724L918R(08<91PR$5787:.2P$:IO$VQD4.>7:R$XD<K<$ :UHI;FB$

BDGF$ C:I$F<CEKGBQ$P<$O<JNHQ<Oj$/DHENO$<S<KQBDGI;$P<$CHIC<IBK:B<O$:B$ BD<$O:B:$ NGI]$HK$I<BXHK]$HK$

BK:IFJHKBt$ N:Q<KFj$HK$ FDHENO$:$50T0240$ .2$50L8Q$FBK:B<;Q$P<$<UJNHQ<Oj$%D<F<$IHB<F$O<B:GNF$ BD<$

S:KGHEF$X:QF$GI$XDGCD$I<BXHK]F$C:I$P<$U:O<$F<CEK<V$%D<$K<U:GIO<K$H\$BDGF$CD:JB<K$JKHSGO<F$FHU<$

GIBKHOECBHKQ$U:B<KG:N$GI$K<N:BGHI$BH$I<BXHK]F$:IO$BD<GK$F<CEKGBQV$aGKFBR$FHU<$B<KUGIHNH;Q3$

• G0>C1.8D$F887>P3$1IQ$:CBGHI$ BD:B$ CHUJKHUGF<F$ BD<$ F<CEKGBQ$H\$ GI\HKU:BGHI$<bCD:I;<F$ :IO$

FQFB<UFV$

• G0>C1.8D$ G01/.>03$ 1$ F<KSGC<$ BD:B$ <ID:IC<F$ BD<$ F<CEKGBQ$ H\$ GI\HKU:BGHI$ <bCD:I;<F$ :IO$

FQFB<UFV$1$F<KCEKGBQ$F<KSGC<$U:]<F$EF<$H\$HI<$HK$UHK<$F<CEKGBQ$U<CD:IGFUFV$

• G0>C1.8D$X0>Q72.4MÇ3$1$U<CD:IGFU$BD:B$ GF$O<FG;I<O$BH$O<B<CBR$JK<S<IB$HK$K<CHS<K$\KHU$:$

F<CEKGBQ$:BB:C]V$

/<CEKGBQ$1BB:C]F$

%D<K<$ <bGFB$ F<S<K:N$ :BB:C]$ BQJ<F$ :IO$ BD<Q$ C:I$ P<$ OGSGO<O$ GIBH$ BXH$ OGFBGICB$

C:B<;HKQ`F3$V744./0$:IO$F>8./0R$BD<Q$O<IHB<$BD<$:UHEIB$H\$XHK]$BD:B$:I$:BB:C]<K$UEFB$OHV$

$9:FFGS<$1BB:C]F$

1$V744./0$ F887>P$GF$ HI<$ BD:B$ GISHNS<F$ <GBD<K$ BD<$ <:S<FOKHJJGI;$ HK$ UHIGBHKGI;$ H\$ O:B:$

CHUUEIGC:BGHIFV$%D<$;H:N$H\$BD<$U:NGCGHEF$<IBGBQ$GF$BH$:CcEGK<$BD<$GI\HKU:BGHI$HK$N<:KI$UHK<$:PHEB$

BD<$CHUUEIGC:BGHIV$



!"#$%"&'()*)+,$-."/%0)($#1(2$3$4567$ 65m$8$9 : ; < $
$

• ;0:0740$9T$X044760$&92802843$%DGF$GF$XD<I$OEKGI;$BD<$BK:IFUGFFGHI$H\$O:B:$\KHU$HI<$J:KBQ$

BH$:IHBD<KR$:$BDGKO$:IO$U:NGCGHEF$J:KBQ$GIB<KC<JBF$BD<$U<FF:;<$:IO$N<:KIF$GBF$CHIB<IBFV$

• %17TT.>$F27:D4.43$ %K:\\GC$ :I:NQFGF$ GF$ CHIC<KI<O$XGBD$ BD<$ :I:NQFGF$ H\$ J:BB<KIF$ ;<I<K:B<O$PQ$

BD<$:CBGHIF$H\$ BD<$J:KBG<F$ GISHNS<OV$%DGF$U:Q$FGUJNQ$ GISHNS<$ BD<$O<B<CBGHI$H\$:I$<ICKQJB<O$

U<FF:;<$P<GI;$F<IB$\KHU$:$FGI;N<$J:KBQV$

/ECD$:BB:C]F$:K<$OG\\GCENB$BH$O<B<CBR$OE<$BH$BD<GK$GID<K<IB$I:BEK<V$%DHE;D$HI<$C:I$EF<$<ICKQJBGHI$GI$

HKO<K$BH$GIDGPGB$BD<$FECC<FFY\ENNI<FF$H\$FECD$:BB:C]FV$

$1CBGS<$1BB:C]F$

F>8./0$F887>P4$:K<$BDHF<$BD:B$ GISHNS<$BD<$UHOG\GC:BGHI$H\$ BD<$CHUUEIGC:BGHI$CD:II<N$HK$BD<$O:B:$

P<GI;$F<IB$:CKHFF$BD<$CD:II<NV$

• X74_C017303$ %DGF$ GF$ FGUJNQ$ BD<$ GUJ<KFHI:BGHI$ H\$ :$ N<;GBGU:B<$ <IBGBQ$ GI$ HKO<K$ BH$

:PEF<$HK$:CC<FF$BD<$K<FHEKC<F$:CC<FFGPN<$PQ$BD<$<IBGBQV$

• ;0L:7D3$ 0ISHNS<F$ BD<$ K<BK:IFUGFFGHI$ H\$ <bGFBGI;$ :IO$ :NK<:OQ$ BK:IFUGBB<O$ O:B:$ GI$

HKO<K$BH$JKHOEC<$:I$EI:EBDHKGF<O$<\\<CBV$

• X044760$ X93.T.>78.923$ %D<$ O<N:QR$ UHOG\GC:BGHIR$ K<HKO<K$ HI$ :$ N<;GBGU:B<$ U<FF:;<$

FECD$BD:B$GB$JKHOEC<F$:I$EI:EBDHKGF<O$<\\<CBV$

• 502.7:$ 9T$ G01/.>03$ %DGF$ GISHNS<F$ BD<$ JK<S<IBGHI$ H\$ HK$ K<OECBGHI$ GI$ cE:NGBQR$ H\$ :$

N<;GBGU:B<$F<KSGC<V$/ECD$:BB:C]F$U:Q$B:K;<B$FJ<CG\GC$DHFBF$HK$<IBGK<$I<BXHK]FV$

0I$ CHIBK:FB$ BH$ J:FFGS<$ :BB:C]FR$ :CBGS<$ HI<F$ :K<$ <:FQ$ BH$ O<B<CB$ PEB$ D:KO<K$ BH$ CHEIB<KR$ :F$ GB$XHENO$

GISHNS<$BD<$JKHB<CBGHI$H\$7::$BD<$CHUUEIGC:BGHI$F<KSGC<F$H\\<K<OV$

/<CEKGBQ$/<KSGC<F$

1$G0>C1.8D$G01/.>0R$:F$O<\GI<O$PQ$yVm55R$GF$:$F<KSGC<$JKHSGO<O$PQ$:$JKHBHCHN$N:Q<K$H\$CHUUEIGC:BGI;$

HJ<I$ FQFB<UFR$XDGCD$ <IFEK<F$ :O<cE:B<$ F<CEKGBQ$ H\$ BD<$ FQFB<UF$ HK$ O:B:$ BK:IF\<KFV$ %D<K<$ :K<$ \GS<$

C:B<;HKG<F$U<IBGHI<OR$BH;<BD<K$XGBD$:S:GN:PGNGBQ3$

1S:GN:PGNGBQ$

%D<$JKHJ<KBQ$H\$:$FQFB<U$HK$:$FQFB<U$K<FHEKC<$P<GI;$:CC<FFGPN<$:IO$EF:PN<$EJHI$O<U:IO$PQ$

:I$:EBDHKGF<O$FQFB<U$<IBGBQR$:CCHKOGI;$BH$J<K\HKU:IC<$FJ<CG\GC:BGHIF$\HK$BD<$FQFB<UV$

1CC<FF$&HIBKHN$

%D<$JK<S<IBGHI$H\$EI:EBDHKGF<O$EF<$H\$:$K<FHEKC<V$

1EBD<IBGC:BGHI$
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%DGF$GF$BD<$:FFEK:IC<$BD:B$BD<$CHUUEIGC:BGI;$<IBGBQ$GF$BD<$HI<$BD:B$GB$CN:GUF$BH$P<V$%D<K<$:K<$

BXH$CN:FF<F$H\$:EBD<IBGC:BGHI3$

• V001$ "28.8D!x!GISHNS<F$ BD<$ :EBD<IBGC:BGHI$ H\$ :$ NH;GC:N$ <IBGBQ$ GI$ :$ CHUUEIGC:BGHI$

JKHC<FF^$:IO$

• 5787$)1.6.2!x!GISHNS<F$ :FFEK:IC<F$ K<N:BGI;$ BH$ BD<$ HKG;GI$ H\$ BD<$ FHEKC<$ H\$ K<C<GS<O$

O:B:V$

f:B:$&HI\GO<IBG:NGBQ$

%D<$JKHB<CBGHI$H\$O:B:$\KHU$EI:EBDHKGF<O$OGFCNHFEK<V$%DGF$C:I$P<$\EKBD<K$FJ<CG\G<O$:F3$

• &9220>8.92$&92T.3028.7:.8D!x!%D<$JKHB<CBGHI$H\$:NN$EF<K$O:B:$HI$:$CHII<CBGHIV$

• &9220>8.92:044$&92T.3028.7:.8D!x!%D<$JKHB<CBGHI$H\$:NN$EF<K$O:B:$ GI$:F$ FGI;N<$O:B:$

PNHC]V$

• G0:0>8./0U-.0:3$ &92T.3028.7:.8D!x!%D<$ CHI\GO<IBG:NGBQ$ H\$ F<N<CB<O$ \G<NOF$ XGBDGI$ BD<$

EF<K$O:B:$HI$:$CHII<CBGHI$HK$GI$:$FGI;N<$O:B:$PNHC]V$

• %17TT.>U-:9<$ &92T.3028.7:.8D!x!%D<$ JKHB<CBGHI$ H\$ BD<$ GI\HKU:BGHI$ BD:B$ UG;DB$ P<$

O<KGS<O$\KHU$HPF<KS:BGHI$H\$BK:\\GC$\NHXFV$

f:B:$0IB<;KGBQ$

%D<$ :FFEK:IC<$ BD:B$ O:B:$ K<C<GS<O$ GF$ GI$ BD<$ <b:CB$ F:U<$ \HKU:B$ :F$ GB$ X:F$XD<I$ F<IB$ PQ$ :I$

:EBDHKGF<O$<IBGBQV$%DGF$C:I$P<$CHIFGO<K<O$GI$B<KUF$H\$&9220>8.92$Y28061.8D3$

• &9220>8.92$Y28061.8D$<.8Q$;0>9/01D!x!9KHSGO<O$\HK$BD<$GIB<;KGBQ$H\$:NN$EF<K$O:B:$HI$

:$CHII<CBGHI$:IO$O<B<CBF$:IQ$UHOG\GC:BGHIR$ GIF<KBGHIR$O<N<BGHI$HK$K<JN:Q$H\$:IQ$O:B:$

XGBDGI$:I$<IBGK<$O:B:$F<cE<IC<R$XGBD$K<CHS<KQ$:BB<UJB<OV$

• &9220>8.92$ Y28061.8D$ <.8Q9C8$ ;0>9/01D!x!1F$ JK<SGHEFNQ$ PEB$ JKHSGO<F$ HINQ$

O<B<CBGHI$XGBDHEB$K<CHS<KQV$

• G0:0>8./0U-.0:3$&9220>8.92$ Y28061.8D!x!9KHSGO<F$ \HK$ BD<$ GIB<;KGBQ$H\$ F<N<CB<O$ \G<NO$

XGBDGI$BD<$EF<K$O:B:$H\$:$O:B:$PNHC]$BK:IF\<KK<O$HS<K$:$CHII<CBGHI$:IO$B:]<F$BD<$\HKU$

H\$O<B<KUGI:BGHI$H\$XD<BD<K$BD<$F<N<CB<O$\G<NOF$D:S<$P<<I$UHOG\G<OR$GIF<KB<OR$O<N<B<O$

HK$K<JN:Q<OV$

• &9220>8.92:044$ Y28061.8D!x!9KHSGO<F$ \HK$ BD<$ GIB<;KGBQ$ H\$ :$ FGI;N<$ CHII<CBGHIN<FF$

O:B:$PNHC]$:IO$U:Q$B:]<$BD<$\HKU$H\$:$O<B<CBGHI$H\$O:B:$UHOG\GC:BGHIV$1OOGBGHI:NNQ$:$

NGUGB<O$\HKU$H\$K<JN:Q$O<B<CBGHI$U:Q$P<$JKHSGO<OV$
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• G0:0>8./0U-.0:3$ &9220>8.92:044$ Y28061.8D!x!9KHSGO<F$ \HK$ BD<$ GIB<;KGBQ$ H\$ F<N<CB<O$

\G<NOF$XGBDGI$:$ FGI;N<$CHII<CBGHIN<FF$O:B:$PNHC]^$ B:]<F$ BD<$ \HKU$H\$O<B<KUGI:BGHI$H\$

XD<BD<K$BD<$F<N<CB<O$\G<NOF$D:S<$P<<I$UHOG\G<OV$

(HIYK<JEOG:BGHI$

9KHSGO<F$ JKHB<CBGHI$ :;:GIFB$ O<IG:N$ PQ$ HI<$ H\$ BD<$ <IBGBG<F$ GISHNS<O$ GI$ :$ CHUUEIGC:BGHI$ H\$

D:SGI;$J:KBGCGJ:B<O$GI$:NN$HK$J:KB$H\$BD<$CHUUEIGC:BGHIV$%DGF$C:I$GUJNQ3$

• )1.6.2$(92U10LC3.78.92!x!9KHH\$BD:B$BD<$U<FF:;<$X:F$F<IB$PQ$BD<$FJ<CG\G<O$J:KBQV$

• 5048.278.92$ (92U10LC3.78.92!x!9KHH\$ BD:B$ BD<$ U<FF:;<$ X:F$ K<C<GS<O$ PQ$ BD<$

FJ<CG\G<O$J:KBQV$

$/<CEKGBQ$=<CD:IGFUF$

G0>C1.8D$ X0>Q72.4M4$K<\<K$ BH$ BHHNF$ :IO$ B<CDIGcE<F$ BD:B$ C:I$ P<$ GUJN<U<IB<O$ XGBDGI$ :$ FJ<CG\GC$

JKHBHCHN$N:Q<K$HK$HEBXGBD$BD<$N:Q<K$BD:B$JKHSGO<O$FHU<$\HKU$H\$F<CEKGBQV$/HU<$<b:UJN<F$:K<$NGFB<O$

P<NHXV$

/J<CG\GC$=<CD:IGFUF$

"ICKQJBGHIR$ fG;GB:N$ /G;I:BEK<FR$ 1CC<FF$ &HIBKHNR$ f:B:$ 0IB<;KGBQR$ 1EBD<IBGC:BGHI$ "bCD:I;<R$

%K:\\GC$9:OOGI;R$?HEBGI;$&HIBKHNR$(HB:KGF:BGHI$

9<KS:FGS<$=<CD:IGFUF$

%KEFB<O$ aEICBGHI:NGBQR$ /<CEKGBQ$ *:P<NR$ "S<IB$ f<B<CBGHIR$ /<CEKGBQ$ 1EOGB$ %K:GNR$ /<CEKGBQ$

?<CHS<KQ$

/<CEKGBQ$=HO<NF$

%D<K<$ :K<$ BXH$U:GI$ F<CEKGBQ$UHO<NF$ BD:B$ :K<$ EF<O$XD<I$ O<:NGI;$XGBD$ I<BXHK]$ F<CEKGBQ3$G0>C10$

&9MMC2.>78.92$:IO$G0>C10$GD480M4V$

6V/<CEK<$&HUUEIGC:BGHI$

$

-.6C10$?@$G0>C10$&9MMC2.>78.92$
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0I$BDGF$UHO<NR$BD<K<$:K<$BXH$JKGICGJ:N$:;<IBF$GV<V$1NGC<$:IO$#HPR$XDH$XGFD$BH$F<IO$:$U<FF:;<$SG:$:$

GI\HKU:BGHI$CD:II<N$ BH$<:CD$HBD<K$ BD:B$CHIB:GIF$FHU<$F<CK<B$ GI\HKU:BGHIV$ 0I$HKO<K$ BH$JKHB<CB$ BD<$

F<CK<B$ GI\HKU:BGHI$ BD<$ J:KBG<F$ GISHNS<O$ XGNN$ J<K\HKU$ FHU<$ \HKU$ H\$G0>C1.8D$ ;0:7803$

%1724T91M78.92$HI$ BD<$ GI\HKU:BGHI$ BH$P<$ F<IBR$EFGI;$ FHU<$ \HKU$H\$4Q7103$40>108$BD:B$ GF$]IHXI$

HINQ$PQ$BD<$J:KBG<F$GISHNS<OV$/ECD$:CBGSGBG<F$U:Q$GISHNS<$BD<$EF<$H\$:$%1C4803$%Q.13$V718D$BH$XDHU$

FHU<$ K<FJHIFGPGNGBG<F$ FECD$ :F$ OGFBKGPEBGHI$ H\$ F<CK<B$ GI\HKU:BGHI$ HK$ :EBDHKGF:BGHI_:EBD<IBGC:BGHIR$

:K<$ <IBKEFB<O$ BHV$ %DGF$ GF$ FEUU:KGF<O$ GI$ BD<$ \G;EK<$ :PHS<V$ %DGF$UHO<N$ GF$ EF<O$ \HK$UHFB$ :K<:F$ H\$

I<BXHK]$F<CEKGBQ$XD<I$BD<$BK:IFUGFFGHI$H\$O:B:$GF$CHIC<KI<OV$v/B:NNGI;F455mw$U<IBGHIF$BD:B$BD<K<$

:K<$\HEK$P:FGC$B:F]$GISHNS<O$GI$O<FG;IGI;$:$F<CEKGBQ$F<KSGC<$EFGI;$BDGF$UHO<N3$

6V f<FG;I$:I$:N;HKGBDU$\HK$J<K\HKUGI;$BD<$F<CEKGBQ$K<N:B<O$BK:IF\HKU:BGHIV$

4V +<I<K:B<$BD<$F<CK<B$GI\HKU:BGHI$BD:B$GF$BH$P<$EF<OV$

7V f<S<NHJ$U<BDHO$\HK$OGFBKGPEBGHI$:IO$FD:KGI;$H\$BD<$F<CK<B$GI\HKU:BGHIV$

AV /J<CG\Q$:$JKHBHCHN$BH$P<$EF<O$PQ$BD<$BXH$JKGICGJ:NF$BD:B$EBGNGF<F$BD<$F<CEKGBQ$:N;HKGBDU$:IO$

F<CK<B$GI\HKU:BGHI$BH$:CDG<S<$:$J:KBGCEN:K$F<CEKGBQ$F<KSGC<V$

4V$/<CEK<$/QFB<UF$

$

-.6C10$E@$G0>C10$GD480M$

%D<$ HBD<K$ UHO<N$ K<\N<CBF$ BD<$ K<U:GIO<K$ H\$ BD<$ F<CEKGBQ$ JKHPN<UF$ BD:B$ :K<$ :FFHCG:B<O$ XGBD$ BD<$

JKHB<CBGHI$H\$:I$GI\HKU:BGHI$FQFB<U$GV<V$:$I<BXHK]R$\KHU$U:NGCGHEF$<IBGBG<FV$/ECD$<IBGBG<F$C:I$P<$:$

D:C]<K$BD:B$:GUF$BH$;:GI$:CC<FF$BH$:$FQFB<U$\HK$TC2$723$L19T.8R$:$OGF;KEIBN<O$<UJNHQ<<$XDH$XGFD<F$

BH$C:EF<$O:U:;<$HK$:$CKGUGI:N$XDH$XGFD<F$BH$<bJNHGB$BD<$K<FHEKC<F$\HK$\GI:ICG:N$;:GIV$aEKBD<KUHK<$

BDGF$UHO<N$GICHKJHK:B<F$BD<$IHBGHI$H\$:OOGBGHI:N$FH\BX:K<$BD:B$:GUF$BH$<bJNHGB$SENI<K:PGNGBG<F$GI$BD<$

FQFB<U$:IO$B:K;<BF$:JJNGC:BGHIF$:IO$EBGNGBQ$JKH;K:UFV$%D<Q$C:I$P<$CN:FF<O$:F3$Y2T91M78.92$7>>044$

8Q10784!x!GIB<KC<JBGHI_UHOG\GC:BGHI$H\$O:B:^$:IO$G01/.>0$%Q10784YY$<bJNHGB:BGHI$H\$ F<KSGC<$ \N:XFV$

=HK<HS<K$ GI$HKO<K$ BH$JKHB<CB$ BD<$ GI\HKU:BGHI$FQFB<U$:$+780P00L01$-C2>8.92$GF$EF<O$ BH$J<K\HKU$

:CC<FF$CHIBKHN$:IO$K<FBKGCB$ BD<$:CC<FFGPGNGBQ$H\$ BD<$FQFB<UV$ 0\$ BDGF$ \:GNF$ BD<I$FHU<$ \HKU$H\$ GIB<KI:N$

F<CEKGBQ$CHIBKHNF$:K<$I<<O<O$BH$GO<IBG\Q$:IQR$FBHJ$BD<$:CBGHIF$H\$:IO$K<J:GK$:IQ$O:U:;<$:F$C:EF<O$

PQR$GIBKEO<KFV$
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dJ$ S$"/9:C8.92$723$30/0:9LM028$9T$ .2801208$L1989>9:4$ .2$ :.6Q8$9T$>92/01602>0$80>Q29:96D$k$

3787$I$/.309$I$/9.>0$9/01@$

/HEKC<$3$DBBJ3__SN:EKG<VCHU_CHUJEB<KF4_1KBGCN<F_JKHBHCHNVDBU$

DBBJ3__XXXV<DHXVCHU_:PHEBgeAmmAM4gBQJ<FYGIB<KI<BYJKHBHCHNVDBUN$

Y2$91301$T91$>9MLC8014$89$>9MMC2.>780$<.8Q$920$7298Q01I$48723713$M08Q934$9T$.2T91M78.92$

81724T01$723$L19>044.26$Q7/0$K002$30/.403@$%Q040$710$10T01103$89$74$mL1989>9:4m$723$49M0$9T$

8Q0$M910$>9MM92$9204$4C>Q$74$%&VI$YVI$b5VI$V)VI$GX%VI$'%%VI$723$-%V$710$3.4>C4403$Q010@$

!D<I$ BXH$ DEU:IF$ CHIS<KF<R$ BD<Q$ U:Q$ D:S<$ BH$ EF<$ BD<$ F:U<$ N:I;E:;<$ PEB$ BD<Q$ ;<I<K:NNQ$

EIO<KFB:IO$ <:CD$ HBD<K$ XGBDHEB$ D:SGI;$ BH$ :OD<K<$ BH$ KG;GO$ KEN<F$ H\$ ;K:UU:K$ HK$ \HKU:N$ N:I;E:;<$

\K:U<XHK]FV$ &HUJEB<KFR$ HI$ BD<$ HBD<K$ D:IOR$ D:S<$ BH$ D:S<$ <S<KQBDGI;$ <bJNGCGBNQ$ O<\GI<O$ :IO$

FBKECBEK<OV$ 0\$ CHUJEB<KF$XGFD$ BH$ CHUUEIGC:B<$XGBD$ HI<$ :IHBD<KR$ BD<Q$ D:S<$ BH$ ]IHX$ GI$ :OS:IC<$

<b:CBNQ$ DHX$ GI\HKU:BGHI$ GF$ BH$ P<$ <bCD:I;<O$ :IO$ JK<CGF<NQ$ XD:B$ BD<$ \HKU:B$ XGNN$ P<V$ %D<K<\HK<R$

FB:IO:KO$U<BDHOF$H\$BK:IFUGBBGI;$:IO$JKHC<FFGI;$S:KGHEF$]GIOF$H\$GI\HKU:BGHI$:K<$EF<O$:IO$BD<F<$

U<BDHOF$:K<$C:NN<O$ sJKHBHCHNFsV$9KHBHCHNF$:K<$<FB:PNGFD<O$PQ$ GIB<KI:BGHI:N$:;K<<U<IB$:IO$<IFEK<$

BD:B$CHUJEB<KF$<S<KQXD<K<$C:I$B:N]$BH$HI<$:IHBD<KV$%D<K<$:K<$:$S:KG<BQ$H\$JKHBHCHNF$\HK$OG\\<K<IB$

]GIOF$H\$GI\HKU:BGHI$:IO$\EICBGHIF$

%&V]YV$

%&9$Z%K:IFUGFFGHI$&HIBKHN$9KHBHCHN[$:IO$09$Z0IB<KI<B$9KHBHCHN[$:K<$BXH$OG\\<K<IB$JKHC<OEK<F$BD:B$

:K<$ H\B<I$ NGI]<O$ BH;<BD<KV$ %D<$ NGI]GI;$ H\$ F<S<K:N$ JKHBHCHNF$ GF$ CHUUHI$ FGIC<$ BD<$ \EICBGHIF$ H\$

OG\\<K<IB$JKHBHCHNF$C:I$P<$CHUJN<U<IB:KQ$FH$BD:B$BH;<BD<K$BD<Q$C:KKQ$HEB$FHU<$CHUJN<B<$B:F]V$%D<$

CHUPGI:BGHI$H\$F<S<K:N$JKHBHCHNF$BH$C:KKQ$HEB$:$J:KBGCEN:K$B:F]$ GF$H\B<I$C:NN<O$:$sFB:C]s$P<C:EF<$ GB$

D:F$ N:Q<KF$H\$ HJ<K:BGHIFV$ 0I$ \:CBR$ BD<$ B<KU$ s%&9_09s$ GF$IHKU:NNQ$EF<O$ BH$ K<\<K$ BH$ :$XDHN<$ FEGB<$H\$

JKHBHCHNFR$ <:CD$ XGBD$ OG\\<K<IB$ \EICBGHIFV$ %DGF$ FEGB<$ H\$ JKHBHCHNF$ GF$ XD:B$ C:KKG<F$ HEB$ BD<$ P:FGC$

HJ<K:BGHIF$H\$ BD<$!<PV$%&9_09$ GF$:NFH$EF<O$HI$U:IQ$ NHC:N$:K<:$I<BXHK]FV$%D<$O<B:GNF$H\$DHX$ BD<$

!<P$XHK]F$:K<$P<QHIO$BD<$FCHJ<$H\$BDGF$:KBGCN<$PEB$0$XGNN$PKG<\NQ$O<FCKGP<$FHU<$H\$BD<$P:FGCF$H\$BDGF$

S<KQ$GUJHKB:IB$;KHEJ$H\$JKHBHCHNFV$$

!D<I$ GI\HKU:BGHI$ GF$ F<IB$ HS<K$ BD<$ 0IB<KI<BR$ GB$ GF$ ;<I<K:NNQ$ PKH]<I$ EJ$ GIBH$ FU:NN<K$ JG<C<F$ HK$

sJ:C]<BFsV$%D<$EF<$H\$J:C]<BF$\:CGNGB:B<F$FJ<<OQ$BK:IFUGFFGHI$FGIC<$OG\\<K<IB$J:KBF$H\$:$U<FF:;<$C:I$

P<$F<IB$PQ$OG\\<K<IB$KHEB<F$:IO$BD<I$K<:FF<UPN<O$:B$BD<$O<FBGI:BGHIV$0B$GF$:NFH$:$F:\<BQ$U<:FEK<$BH$

UGIGUGW<$ BD<$ CD:IC<F$ H\$ NHFGI;$ GI\HKU:BGHI$ GI$ BD<$ BK:IFUGFFGHI$ JKHC<FFV$ %&9$ GF$ BD<$ U<:IF$ \HK$

CK<:BGI;$ BD<$J:C]<BFR$JEBBGI;$ BD<U$P:C]$BH;<BD<K$ GI$ BD<$CHKK<CB$HKO<K$:B$ BD<$<IOR$:IO$CD<C]GI;$BH$

U:]<$FEK<$BD:B$IH$J:C]<BF$;HB$NHFB$GI$BK:IFUGFFGHIV$0\$I<C<FF:KQR$%&9$XGNN$K<cE<FB$BD:B$:$J:C]<B$P<$

K<F<IBV$
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0IB<KI<B$ 9KHBHCHN$ Z09[$ GF$ BD<$ U<BDHO$ EF<O$ BH$ KHEB<$ GI\HKU:BGHI$ BH$ BD<$ JKHJ<K$ :OOK<FFV$ "S<KQ$

CHUJEB<K$HI$BD<$0IB<KI<B$D:F$BH$D:S<$GB$HXI$EIGcE<$:OOK<FF$]IHXI$:F$BD<$09$:OOK<FFV$"S<KQ$J:C]<B$

F<IB$XGNN$ CHIB:GI$ :I$ 09$ :OOK<FF$ FDHXGI;$XD<K<$ GB$ GF$ FEJJHF<O$ BH$ ;HV$ 1$ J:C]<B$U:Q$ ;H$ BDKHE;D$ :$

IEUP<K$H\$CHUJEB<K$KHEB<KF$P<\HK<$:KKGSGI;$:B$GBF$\GI:N$O<FBGI:BGHI$:IO$09$CHIBKHNF$BD<$JKHC<FF$H\$

;<BBGI;$<S<KQBDGI;$ BH$ BD<$O<FG;I:B<O$ CHUJEB<KV$(HB<$ BD:B$ 09$OH<F$IHB$U:]<$JDQFGC:N$ CHII<CBGHIF$

P<BX<<I$CHUJEB<KF$PEB$ K<NG<F$HI$%&9$ \HK$ BDGF$ \EICBGHIV$ 09$ GF$ :NFH$EF<O$ GI$ CHIdEICBGHI$XGBD$HBD<K$

JKHBHCHNF$BD:B$CK<:B<$CHII<CBGHIFV$

1IHBD<K$U<UP<K$H\$BD<$%&9_09$FEGB<$GF$.F<K$f:B:;K:U$9KHBHCHN$Z.f9[V$Z1$O:B:;K:U$GF$:NUHFB$BD<$

F:U<$ :F$ :$ J:C]<B$ <bC<JB$ BD:B$ FHU<BGU<F$ :$ J:C]<B$ XGNN$ CHIB:GI$ UHK<$ BD:I$ HI<$ O:B:;K:UV[$ %DGF$

JKHBHCHN$ GF$ EF<O$ BH;<BD<K$XGBD$ 09$XD<I$ FU:NN$ :UHEIBF$ H\$ GI\HKU:BGHI$ :K<$ GISHNS<OV$ 0B$ GF$ FGUJN<K$

BD:I$ %&9$ :IO$ N:C]F$ BD<$ \NHXYCHIBKHN$ :IO$ <KKHKYK<CHS<KQ$ \EICBGHIF$ H\$ %&9V$ %DEFR$ GB$ EF<F$ \<X<K$

FQFB<U$K<FHEKC<FV$

1$OG\\<K<IB$BQJ<$H\$JKHBHCHN$GF$0IB<KI<B$&HIBKHN$=<FF:;<$9KHBHCHN$Z0&=9[$V$0B$O<\GI<F$:$FU:NN$IEUP<K$

H\$U<FF:;<F$EF<O$\HK$OG:;IHFBGC$:IO$U:I:;<U<IB$JEKJHF<FV$0B$GF$:NFH$EF<O$PQ$9GI;$:IO$%K:C<KHEB<V$

$

X7.:$L1989>9:4$

"U:GN$K<cEGK<F$GBF$HXI$F<B$H\$JKHBHCHNF$:IO$BD<K<$:K<$:$S:KG<BQR$PHBD$\HK$F<IOGI;$:IO$\HK$K<C<GSGI;$

U:GNV$%D<$UHFB$CHUUHI$JKHBHCHN$\HK$F<IOGI;$U:GN$GF$/GUJN<$=:GN$%K:IF\<K$9KHBHCHN$Z/=%9[V$!D<I$

CHI\G;EKGI;$<U:GN$CNG<IBF$FECD$:F$)EBNHH]$"bJK<FFR$:I$0IB<KI<B$:OOK<FF$\HK$:I$/=%9$F<KS<K$UEFB$P<$

<IB<K<OV$%D<$UHFB$CHUUHI$JKHBHCHN$ \HK$K<C<GSGI;$U:GN$ GF$9HFB$)\\GC<$9KHBHCHN$ Z9)9[V$ 0B$ GF$IHX$ GI$

S<KFGHI$7$FH$GB$GF$C:NN<O$9)97V$"U:GN$CNG<IBF$FECD$:F$)EBNHH]$"bJK<FF$K<cEGK<$:I$:OOK<FF$\HK$:$9)97$

F<KS<K$P<\HK<$BD<Q$C:I$K<:O$U:GNV$%D<$/=%9$:IO$9)97$F<KS<KF$U:Q$HK$U:Q$IHB$P<$BD<$F:U<$:OOK<FFV$

#HBD$ /=%9$ :IO$ 9)97$ EF<$ %&9$ \HK$ U:I:;GI;$ BD<$ BK:IFUGFFGHI$ :IO$ O<NGS<KQ$ H\$ U:GN$ :CKHFF$ BD<$

0IB<KI<BV$

1$UHK<$ JHX<K\EN$ PEB$ N<FF$ CHUUHI$ JKHBHCHN$ \HK$ K<:OGI;$U:GN$ GF$ 0IB<K:CBGS<$=:GN$ 1CC<FF$ 9KHBHCHN$

Z0=19[V$%DGF$JKHBHCHN$:NNHXF$\HK$BD<$K<:OGI;$H\$GIOGSGOE:N$U:GNPHb<F$:B$:$FGI;N<$:CCHEIB$:IO$GF$UHK<$

CHUUHI$GI$PEFGI<FF$<ISGKHIU<IBFV$0=19$:NFH$EF<F$%&9$BH$U:I:;<$BD<$:CBE:N$BK:IFUGFFGHI$H\$U:GNV$

0B$GF$GICK<:FGI;NQ$JHJEN:K$BH$EF<$!<P$P:F<O$<U:GN$FECD$:F$,:DHHV$!<P$U:GNR$H\$CHEKF<R$GISHNS<F$BD<$

F:U<$JKHBHCHN$:F$:$!<P$J:;<$:IO$BDGF$GF$OGFCEFF<O$I<bBV$

'DL0180=8$%1724T01$V1989>9:$

!<P$J:;<F$ :K<$ CHIFBKECB<O$ :CCHKOGI;$ BH$ :$ FB:IO:KO$ $U<BDHO$ C:NN<O$'QJ<KB<bB$=:K]EJ$ *:I;E:;<$

Z'%=*[V$ 1I$ '%=*$ J:;<$ GF$ BK:IFUGBB<O$ HS<K$ BD<$ !<P$ GI$ :$ FB:IO:KO$ X:Q$ :IO$ \HKU:B$ ]IHXI$ :F$

'QJ<KB<bB$%K:IF\<K$9KHBHCHN$Z'%%9[V$%DGF$JKHBHCHN$EF<F$%&9_09$BH$U:I:;<$BD<$!<P$BK:IFUGFFGHIV$
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1$ K<N:B<O$ JKHBHCHN$ GF$ 'QJ<KB<bB$ %K:IF\<K$ 9KHBHCHN$ HS<K$ /<CEK<$ /HC]<B$ *:Q<K$ Z'%%9/[R$ \GKFB$

GIBKHOEC<O$PQ$(<BFC:J<V$0B$JKHSGO<F$\HK$BD<$BK:IFUGFFGHI$GI$<ICKQJB<O$\HKU$BH$JKHSGO<$F<CEKGBQ$\HK$

F<IFGBGS<$O:B:V$1$!<P$J:;<$EFGI;$BDGF$JKHBHCHN$XGNN$D:S<$.--)6W$:B$BD<$\KHIB$H\$GBF$.?*V$

-.:0$%1724T01$V1989>9:$

aGN<$%K:IF\<K$9KHBHCHN$ Za%9[$ NGS<F$EJ$ BH$ GBF$I:U<$:IO$JKHSGO<F$:$U<BDHO$ \HK$ CHJQGI;$ \GN<F$HS<K$:$

I<BXHK]$ \KHU$ HI<$ CHUJEB<K$ BH$ :IHBD<KV$ =HK<$ ;<I<K:NNQR$ GB$ JKHSGO<F$ \HK$ FHU<$ FGUJN<$ \GN<$

U:I:;<U<IB$HI$BD<$CHIB<IBF$H\$:$K<UHB<$CHUJEB<KV$0B$GF$:I$HNO$JKHBHCHN$:IO$GF$EF<O$N<FF$BD:I$GB$X:F$

P<\HK<$BD<$!HKO$!GO<$!<P$C:U<$:NHI;V$%HO:QR$0BF$JKGU:KQ$EF<$GF$EJNH:OGI;$\GN<F$BH$:$!<P$FGB<V$0B$

C:I$:NFH$P<$EF<O$\HK$OHXINH:OGI;$\KHU$BD<$!<P$PEBR$UHK<$H\B<I$BD:I$IHBR$OHXINH:OGI;$GF$OHI<$SG:$

'%%9V$ /GB<F$ BD:B$ D:S<$ :$ NHB$ H\$ OHXINH:OGI;$ ZFH\BX:K<$ FGB<FR$ \HK$ <b:UJN<[$XGNN$ H\B<I$ D:S<$ :I$ a%9$

F<KS<K$BH$D:ION<$BD<$BK:\\GCV$0\$a%9$GF$GISHNS<OR$BD<$.?*$XGNN$D:S<$K-)W$:B$BD<$\KHIBV$

(0<4$W91$b40208A$

(<BXHK]$(<XF$%K:IF\<K$9KHBHCHN$Z((%9[$GF$EF<O$\HK$F<KSGI;$.F<I<B$JHFBF$.F<I<B$GF$FGUGN:K$BH$BD<$

\HKEUF$BD:B$U:IQ$X<P$FGB<F$D:S<V$.F<I<B$D:F$ \HKEUF$BD:B$:K<$O<OGC:B<O$ BH$FJ<CG\GC$CHUJ:IG<F$:F$

X<NN$:F$\HKEUF$BD:B$D:S<$:$XGO<$K:I;<$H\$BHJGCFV$.F<I<B$GF$OGSGO<O$GIBH$F<S<K:N$:K<:FV$/HU<$H\$BD<$

\HKEUF$ BD:B$ :K<$ GICNEO<O$ GI$ .F<I<B$ :K<$ CHUJV$ \HK$ OGFCEFFGHI$ H\$ CHUJEB<KYK<N:B<O$ BHJGCFR$ FCGV$ \HK$

OGFCEFFGHI$ H\$ FCG<IBG\GC$ FEPd<CBFR$ K<CV$ \HK$ OGFCEFFGHI$ H\$ K<CK<:BGHI:N$ :CBGSGBG<F$ Z<V;V$ ;:U<F$ :IO$

DHPPG<F[$:IO$B:N]V$\HK$OGFCEFFGHI$H\$CHIB<IBGHEF$GFFE<F$FECD$:F$K<NG;GHI$:IO$JHNGBGCFV$

+9LQ01$

1IHBD<K$ BHHN$ H\$ BD<$ 0IB<KI<B$ GF$ +HJD<KR$ :$ U<IEYP:F<O$ JKH;K:U$ BD:B$ <I:PN<F$ QHE$ BH$ PKHXF<$ \HK$

GI\HKU:BGHI$XGBDHEB$]IHXGI;$XD<K<$ BD<$U:B<KG:N$ GF$ NHC:B<OV$ 0B$ N<BF$QHE$ F<:KCD$:$ NGFB$H\$ K<FHEKC<F$

:IO$BD<I$F<IOF$BD<$U:B<KG:N$BH$QHEV$

%0:208$

%<NI<B$N<BF$QHE$NH;$GI$BH$:$K<UHB<$CHUJEB<K$dEFB$:F$QHE$XHENO$G\$QHE$X<K<$BD<K<V$/H$:IQ$CHUU:IOF$

BD:B$QHE$XHENO$P<$:PN<$BH$KEI$\KHU$BD<$K<UHB<$CHUJEB<K$G\$QHE$X<K<$FGBBGI;$GI$\KHIB$H\$GBR$QHE$XHENO$

P<$:PN<$BH$KEI$\KHU$BD<$CHUJEB<K$QHE$NH;;<O$GI$\KHUV$

$

$

dR$7A$$X72>Q04801$"2>93.26$

/KC$3$DBBJ3__XXXV<K;V:POIV:CVE]_à;HKKQ_<;7eML_JDQYJ:;<F_U:IVDBUN$

=:ICD<FB<K$<ICHOGI;$Z\GKFB$JEPNGFD<O$GI$6pAp[$GF$:$FQICDKHIHEF$CNHC]$<ICHOGI;$B<CDIGcE<$EF<O$PQ$

BD<$JDQFGC:N$N:Q<K$BH$<ICHO<$BD<$CNHC]$:IO$O:B:$H\$:$FQICDKHIHEF$PGB$FBK<:UV$0I$BDGF$B<CDIGcE<R$BD<$

:CBE:N$PGI:KQ$O:B:$BH$P<$BK:IFUGBB<O$HS<K$BD<$C:PN<$:K<$IHB$F<IB$:F$:$F<cE<IC<$H\$NH;GC$6rF$:IO$5rF$
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Z]IHXI$ B<CDIGC:NNQ$ :F$(HI$?<BEKI$ BH$ n<KH$ Z(?n[[V$ 0IFB<:OR$ BD<$ PGBF$ :K<$ BK:IFN:B<O$ GIBH$ :$ FNG;DBNQ$

OG\\<K<IB$\HKU:B$BD:B$D:F$:$IEUP<K$H\$:OS:IB:;<F$HS<K$EFGI;$FBK:G;DB$PGI:KQ$<ICHOGI;$ZGV<V$(?n[V$

0I$BD<$=:ICD<FB<K$<ICHOGI;$FDHXIR$:$NH;GC$5$GF$GIOGC:B<O$PQ$:$5$BH$6$BK:IFGBGHI$:B$BD<$C<IBK<$H\$BD<$

PGB$ :IO$ :$ NH;GC$ 6$ GF$ GIOGC:B<O$ PQ$ :$ 6$ BH$ 5$ BK:IFGBGHI$ :B$ BD<$ C<IBK<$ H\$ BD<$ PGBV$ (HB<$ BD:B$ FG;I:N$

BK:IFGBGHIF$OH$IHB$:NX:QF$HCCEK$:B$BD<$âPGB$PHEIO:KG<F`$ZBD<$OGSGFGHI$P<BX<<I$HI<$PGB$:IO$:IHBD<K[R$

PEB$ BD:B$ BD<K<$ GF$:NX:QF$:$ BK:IFGBGHI$:B$ BD<$C<IBK<$H\$<:CD$PGBV$%D<$=:ICD<FB<K$<ICHOGI;$KEN<F$:K<$

FEUU:KGW<O$P<NHX3$

$)KG;GI:N$f:B:$ $>:NE<$/<IB$

$*H;GC$5$ 5$BH$6$ZEJX:KO$BK:IFGBGHI$:B$PGB$C<IBK<[$

$*H;GC$6$ 6$BH$5$ZOHXIX:KO$BK:IFGBGHI$:B$PGB$C<IBK<[$

0I$FHU<$C:F<F$QHE$XGNN$F<<$BD<$<ICHOGI;$K<S<KF<OR$XGBD$5$P<GI;$K<JK<F<IB<O$:F$:$5$BH$6$BK:IFGBGHIV$

%D<$ BXH$O<\GIGBGHIF$D:S<$CHY<bGFB<O$ \HK$U:IQ$Q<:KFV$%D<$"BD<KI<B$#NE<Y#HH]$:IO$ 0"""$FB:IO:KOF$

Z65$=PJF[$O<FCKGP<$BD<$U<BDHO$GI$XDGD$:$*H;GC$5$GF$F<IB$:F$5$BH$6$BK:IFGBGHIR$:IO$:$*H;GC$6$:F$:$HI<$

BH$W<KH$BK:IFGBGHI$ZXD<K<$:$W<KH$GF$K<JK<F<IB<O$PQ$:$N<FF$I<;:BGS<$SHNB:;<$HI$BD<$C:PN<[V$(HB<$BD:B$

P<C:EF<$U:IQ$JDQFGC:N$ N:Q<KF$<UJNHQ$:I$GIS<KBGI;$ NGI<$OKGS<K$BH$CHIS<KB$ BD<$PGI:KQ$OG;GBF$ GIBH$:I$

<N<CBKGC:N$ FG;I:NR$ BD<$ FG;I:N$ HI$ BD<$ XGK<$ GF$ BD<$ <b:CB$ HJJHFGB<$ H\$ BD:B$ HEBJEB$ PQ$ BD<$ <ICHO<KV$

fG\\<K<IBG:N$JDQFGC:N$N:Q<K$BK:IFUGFFGHIR$Z<V;V$65#%[$OH<F$IHB$FE\\<K$BDGF$GIS<KFGHIV$

%D<$\HNNHXGI;$OG:;K:U$FDHXF$:$BQJGC:N$=:ICD<FB<K$<ICHO<O$FG;I:N$XGBD$BD<$CHKK<FJHIOGI;$PGI:KQ$

K<JK<F<IB:BGHI$H\$BD<$O:B:$Z6R6R5R6R5R5[$P<GI;$F<IBV$

$

B."#G*1"K,$C#K,$#*#J*+5."6-"$#"+5,!"!#E%-#6-$"*C#5*$$4%+&#-."#6"X'"+5"#,K#E%-6#==N=NNH$

(HB<$BD:B$FG;I:N$BK:IFGBGHIF$OH$IHB$:NX:QF$HCCEK$:B$BD<$rPGB$PHEIO:KG<Fr$ZBD<$OGSGFGHI$P<BX<<I$HI<$

PGB$:IO$:IHBD<K[R$PEB$BD:B$BD<K<$GF$7:<7D4$:$BK:IFGBGHI$:B$BD<$C<IBK<$H\$<:CD$PGBV%D<$<ICHOGI;$U:Q$P<$

:NB<KI:BGS<NQ$SG<X<O$:F$:$JD:F<$<ICHOGI;$XD<K<$<:CD$PGB$GF$<ICHO<O$PQ$:$JHFBGS<$p5$O<;K<<$JD:F<$

BK:IFGBGHIR$HK$:$I<;:BGS<$p5$O<;K<<$JD:F<$BK:IFGBGHIV$%D<$=:ICD<FB<K$CHO<$GF$BD<K<\HK<$FHU<BGU<F$

]IHXI$:F$:$#.LQ740$&930V$

1$=:ICD<FB<K$<ICHO<O$FG;I:N$CHIB:GIF$\K<cE<IB$N<S<N$BK:IFGBGHIF$XDGCD$:NNHX$BD<$K<C<GS<K$BH$<bBK:CB$

BD<$ CNHC]$ FG;I:N$ EFGI;$ :$fG;GB:N$ 9D:F<$ *HC]<O$ *HHJ$ Zf9**[$:IO$ CHKK<CBNQ$ O<CHO<$ BD<$ S:NE<$ :IO$

BGUGI;$ H\$ <:CD$ PGBV$ %H$ :NNHX$ K<NG:PN<$ HJ<K:BGHI$ EFGI;$ :$ f9**R$ BD<$ BK:IFUGBB<O$ PGB$ FBK<:U$ UEFB$
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CHIB:GI$:$DG;D$O<IFGBQ$H\$PGB$BK:IFGBGHIFV$=:ICD<FB<K$<ICHOGI;$<IFEK<F$BDGFR$:NNHXGI;$BD<$K<C<GSGI;$

f9**$BH$CHKK<CBNQ$<bBK:CB$BD<$CNHC]$FG;I:NV$

%D<$PGYJD:F<$=:ICD<FB<K$<ICHOGI;$C:I$CHIFEU<$EJ$BH$:JJKHbGU:B<NQ$BXGC<$BD<$P:IOXGOBD$H\$ BD<$

HKG;GI:N$ FG;I:N$ Z45$='W[V$%DGF$ GF$ BD<$J<I:NBQ$ \HK$ GIBKHOECGI;$ \K<cE<IB$ BK:IFGBGHIFV$ aHK$ :$65$=PJF$

*1(R$ BD<$ FG;I:N$ FJ<CBKEU$ NG<F$ P<BX<<I$ BD<$ e$ :IO$ 45$ ='WV$ =:ICD<FB<K$ <ICHOGI;$ GF$ EF<O$ :F$ BD<$

JDQFGC:N$ N:Q<K$ H\$ :I$"BD<KI<B$*1(R$ XD<K<$ BD<$ :OOGBGHI:N$ P:IOXGOBD$ GF$ IHB$ :$ FG;IG\GC:IB$ GFFE<$ \HK$

CH:bG:N$ C:PN<$ BK:IFUGFFGHIR$ BD<$ NGUGB<O$ P:IOXGOBD$ H\$ &1%e<$ C:PN<$ I<C<FFGB:B<O$ :$ UHK<$ <\\GCG<IB$

<ICHOGI;$U<BDHO$\HK$655$=PJF$BK:IFUGFFGHI$EFGI;$:$AP_eP$=*%$CHO<V$%DGF$EF<F$BDK<<$FG;I:N$N<S<NF$

ZGIFB<:O$H\$BD<$BXH$N<S<NF$EF<O$GI$=:ICD<FB<K$<ICHOGI;[$:IO$BD<K\HK<$:NNHXF$:$655$=PJF$FG;I:N$BH$

HCCEJQ$ HINQ$ 76$='W$ H\$ P:IOXGOBDV$ +G;:PGB$ "BD<KI<B$ EBGNGF<F$ \GS<$ N<S<NF$ :IO$mP_65P$<ICHOGI;R$ BH$

JKHSGO<$<S<I$UHK<$<\\GCG<IB$EF<$H\$BD<$NGUGB<O$C:PN<$P:IOXGOBDR$F<IOGI;$6$+PJF$XGBDGI$655$='W$H\$

P:IOXGOBDV$

$

"=7ML:0$9T$X72>Q04801$"2>93.26$

%D<$J:BB<KI$H\$PGBF$s$5$6$6$6$6$5$5$6$s$<ICHO<F$BH$s$56$65$65$65$65$56$56$65sV$

1IHBD<K$UHK<$CEKGHEF$<b:UJN<$GF$BD<$J:BB<KI$s$6$5$6$5$6$<BCs$XDGCD$<ICHO<F$BH$s65$56$65$56$65$s$

XDGCD$CHENO$:NFH$P<$SG<X<O$:F$s6$55$66$55$66$5$sV$%DEF$\HK$:$65$=PJF$"BD<KI<B$*1(R$BD<$JK<:UPN<$

F<cE<IC<$<ICHO<F$BH$:$e$='W$FcE:K<$X:S<u$ZGV<VR$)I<$D:N\$CQCN<$GI$<:CD$5V6$UGCKHF<CHIO$PGB$J<KGHOV[$

$

%Q.2P.26$M910$7K9C8$4023.26$K.84$

1$BK:IFUGFFGHI$K:B<$H\$65$=PJF$GUJNG<F$BD:B$<:CD$PGB$GF$F<IB$GI$5V6$UGCKHF<CHIOFV$aHK$:$CH:bG:N$C:PN<R$

BD<$FJ<<O$:B$XDGCD$BD<$FG;I:N$BK:S<NF$:NHI;$BD<$C:PN<$GF$:JJKHbGU:B<NQ$5VLL$BGU<F$BD<$FJ<<O$H\$NG;DB$

ZGV<V$ 5VLLb7b65"m[V$ 1$ PGB$ BD<K<\HK<$ HCCEJG<F$ 47$ U<BK<F$ H\$ C:PN<V$ .IO<K$ BD<$ F:U<$ CHIOGBGHIF$ BD<$

FU:NN<FB$\K:U<$XHENO$P<$67V7$]Uu$

0\$ QHE$ XGFD$ BH$ OH$ BD<$ F:U<$ C:NCEN:BGHI$ \HK$ :$ BXGFB<O$ J:GK$ C:PN<R$ QHE$ XHENO$ D:S<$ BH$ B:]<$ GIBH$

CHIFGO<K:BGHI$BD:B$BD<$JKHJ:;:BGHI$FJ<<O$GF$FNHX<K$:B$6VLLb65"m$Z5VepC[V$0ICK<:FGI;$BD<$PGB$K:B<R$\HK$

<b:UJN<$EFGI;$655#%bR$O<CK<:F<F$ BD<$ BGU<$:S:GN:PN<$ BH$ F<IO$<:CD$PGB$ GIBH$ BD<$XGK<R$PEB$OH<F$IHB$

CD:I;<$BD<$FJ<<O$:B$XDGCD$BD<$<O;<$H\$BD<$PGBF$BK:S<N$BDKHE;D$BD<$C:PN<u$

G9C1>0$S$W$F:49$;0T01$Q88LS]]02@<.P.L03.7@916]<.P.]X72>Q04801e>930A$
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$

dR$A$#A$ngE@??$V;)%)&)*$F(5$G";BY&"G$

%D<$ 0"""$ m54V66$ JKHBHCHN$ GF$ :$ I<BXHK]$ :CC<FF$ B<CDIHNH;Q$ \HK$ JKHSGOGI;$ CHII<CBGSGBQ$ P<BX<<I$

XGK<N<FF$FB:BGHIF$:IO$XGK<O$I<BXHK]GI;$GI\K:FBKECBEK<FV$#Q$O<JNHQGI;$BD<$0"""$m54V66$JKHBHCHN$:IO$

:FFHCG:B<O$B<CDIHNH;G<FR$QHE$<I:PN<$BD<$UHPGN<$EF<K$BH$BK:S<N$BH$S:KGHEF$JN:C<F$:IO$FBGNN$D:S<$:CC<FF$

BH$I<BXHK]<O$O:B:V$1NFHR$P<QHIO$ BD<$ CHKJHK:B<$XHK]JN:C<R$ QHE$<I:PN<$:CC<FF$ BH$ BD<$ 0IB<KI<B$ :IO$

<S<I$CHKJHK:B<$FGB<F$C:I$P<$U:O<$:S:GN:PN<$BDKHE;D$JEPNGC$XGK<N<FF$hDHB$FJHBi$I<BXHK]FV$1GKJHKBFR$

K<FB:EK:IBFR$ K:GN$ FB:BGHIFR$ :IO$ CHUUHI$:K<:F$ BDKHE;DHEB$ CGBG<F$ C:I$P<$ CHI\G;EK<O$ BH$JKHSGO<$ BDGF$

F<KSGC<V$

$

m54V66$1KCDGB<CBEK<$

%D<$m54V66$ NH;GC:N$:KCDGB<CBEK<$CHIB:GIF$F<S<K:N$U:GI$CHUJHI<IBF3$FB:BGHI$Z/%1[R$XGK<N<FF$:CC<FF$

JHGIB$Z19[R$GIO<J<IO<IB$P:FGC$F<KSGC<$F<B$Z0#//[R$P:FGC$F<KSGC<$F<B$Z#//[R$OGFBKGPEBGHI$FQFB<U$Zf/[R$

:IO$ <bB<IO<O$ F<KSGC<$ F<B$ Z"//[V$ /HU<$ H\$ BD<$ CHUJHI<IBF$ H\$ BD<$ m54V66$ NH;GC:N$ :KCDGB<CBEK<$U:J$

OGK<CBNQ$BH$D:KOX:K<$O<SGC<FR$FECD$:F$/%1F$:IO$XGK<N<FF$19FV$%D<$XGK<N<FF$/%1$CHIB:GIF$:I$:O:JB<K$

C:KOR$9&$&:KOR$HK$:I$<UP<OO<O$O<SGC<$BH$JKHSGO<$XGK<N<FF$CHII<CBGSGBQV$%D<$XGK<N<FF$19$\EICBGHIF$

:F$:$PKGO;<$P<BX<<I$BD<$XGK<N<FF$/%1F$:IO$BD<$<bGFBGI;$I<BXHK]$P:C]PHI<$\HK$I<BXHK]$:CC<FFV$1I$

0#//$ GF$ :$ XGK<N<FF$ I<BXHK]R$ CHIFGFBGI;$ H\$ :B$ N<:FB$ BXH$ /%1FR$ EF<O$ XD<K<$ IH$ :CC<FF$ BH$ :$ f/$ GF$

:S:GN:PN<V$1I$0#//$GF$:NFH$FHU<BGU<F$K<\<KK<O$BH$:F$:I$:O$DHC$XGK<N<FF$I<BXHK]V$1$#//$GF$:$XGK<N<FF$

I<BXHK]R$CHIFGFBGI;$H\$:$FGI;N<$XGK<N<FF$19$FEJJHKBGI;$HI<$HK$UENBGJN<$XGK<N<FF$CNG<IBFV$1$#//$GF$:NFH$

FHU<BGU<F$ K<\<KK<O$ BH$ :F$ :I$ GI\K:FBKECBEK<$ XGK<N<FF$ I<BXHK]V$ 1NN$ /%1F$ GI$ :$ #//$ CHUUEIGC:B<$

BDKHE;D$BD<$19V$%D<$19$JKHSGO<F$CHII<CBGSGBQ$BH$BD<$XGK<O$*1($:IO$JKHSGO<F$PKGO;GI;$\EICBGHI:NGBQ$

XD<I$HI<$/%1$GIGBG:B<F$CHUUEIGC:BGHI$BH$:IHBD<K$/%1$HK$:$IHO<$HI$BD<$f/V$

1I$"//$ GF$:$F<B$H\$ BXH$HK$UHK<$XGK<N<FF$19F$CHII<CB<O$BH$BD<$F:U<$XGK<O$I<BXHK]$BD:B$O<\GI<F$:$

FGI;N<$NH;GC:N$I<BXHK]$F<;U<IB$PHEIO<O$PQ$:$KHEB<K$Z:NFH$]IHXI$:F$:$6'E+"-[V$

%D<$19F$H\$UENBGJN<$#//F$:K<$GIB<KCHII<CB<O$PQ$BD<$f/V$%DGF$:NNHXF$\HK$UHPGNGBQR$P<C:EF<$/%1F$C:I$

UHS<$ \KHU$HI<$#//$ BH$ :IHBD<K$#//V$19F$ C:I$P<$ GIB<KCHII<CB<O$XGBD$ HK$XGBDHEB$XGK<F^$ DHX<S<KR$

UHFB$ H\$ BD<$ BGU<$ BD<Q$ :K<$ CHII<CB<O$ XGBD$ XGK<FV$ %D<$ f/$ GF$ BD<$ NH;GC:N$ CHUJHI<IB$ EF<O$ BH$

GIB<KCHII<CB$#//FV$%D<$f/$JKHSGO<F$OGFBKGPEBGHI$F<KSGC<F$BH$:NNHX$\HK$BD<$KH:UGI;$H\$/%1F$P<BX<<I$

#//FV$

$

%D<$\HNNHXGI;$\G;EK<$FDHXF$BD<$m54V66$:KCDGB<CBEK<V$

ngE@??$F1>Q.80>8C10$
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$

m54V66$)J<K:BGI;$=HO<F$

0"""$m54V66$O<\GI<F$BD<$\HNNHXGI;$HJ<K:BGI;$UHO<F3$

• 0I\K:FBKECBEK<$UHO<$

• 1O$DHC$UHO<$

0I$PHBD$HJ<K:BGI;$UHO<FR$:$/<KSGC<$/<B$0O<IBG\G<K$Z//0f[R$:NFH$]IHXI$:F$BD<$G%$"8"66#+"-G,$3#+*C"R$

GO<IBG\G<F$ BD<$ XGK<N<FF$ I<BXHK]V$ %D<$99PY$GF$ :$ I:U<$ CHI\G;EK<O$ HI$ BD<$ XGK<N<FF$ 19$ Z\HK$

GI\K:FBKECBEK<$ UHO<[$ HK$ :I$ GIGBG:N$ XGK<N<FF$ CNG<IB$ Z\HK$ :O$ DHC$ UHO<[$ BD:B$ GO<IBG\G<F$ BD<$ XGK<N<FF$

I<BXHK]V$%D<$//0f$GF$J<KGHOGC:NNQ$:OS<KBGF<O$PQ$BD<$XGK<N<FF$19$HK$BD<$GIGBG:N$XGK<N<FF$CNG<IB$EFGI;$:$

FJ<CG:N$m54V66$=1&$U:I:;<U<IB$\K:U<$]IHXI$:F$:$E"*5,+#K$*C"V$

ZN@H==#P+K$*6-$'5-'$"#J,!"#

0I$%+K$*6-$'5-'$"#C,!<R$BD<K<$GF$:B$N<:FB$HI<$XGK<N<FF$19$:IO$HI<$XGK<N<FF$CNG<IBV$%D<$XGK<N<FF$CNG<IB$

EF<F$BD<$XGK<N<FF$19$BH$:CC<FF$BD<$K<FHEKC<F$H\$:$BK:OGBGHI:N$XGK<O$I<BXHK]V$%D<$XGK<O$I<BXHK]$C:I$

P<$ :I$ HK;:IGW:BGHI$ GIBK:I<B$ HK$ BD<$ 0IB<KI<BR$ O<J<IOGI;$ HI$ BD<$ JN:C<U<IB$ H\$ BD<$XGK<N<FF$ 19V$ 1I$

<bB<IO<O$F<KSGC<$F<B$Z"//[$GF$FDHXI$GI$BD<$\HNNHXGI;$\G;EK<V$

ngE@??$Y2T17481C>8C10$X930$

$
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ZN@H==#F!#R,5#J,!"#

0I$*!#.,5#C,!"R$XGK<N<FF$CNG<IBF$CHUUEIGC:B<$OGK<CBNQ$XGBD$<:CD$HBD<K$XGBDHEB$BD<$EF<$H\$:$XGK<N<FF$

19R$:F$FDHXI$GI$BD<$\HNNHXGI;$\G;EK<V$

ngE@??$!.10:044$&:.0284$.2$F3$'9>$X930$

$

1O$DHC$UHO<$GF$:NFH$C:NN<O$)""$2-,2)""$#C,!<V$!GK<N<FF$CNG<IBF$GI$:O$DHC$UHO<$\HKU$:I$GIO<J<IO<IB$

P:FGC$F<KSGC<$F<B$Z0#//[V$)I<$H\$BD<$XGK<N<FF$CNG<IBFR$BD<$\GKFB$XGK<N<FF$CNG<IB$GI$BD<$0#//R$B:]<F$HS<K$

FHU<$ H\$ BD<$ K<FJHIFGPGNGBG<F$ H\$ BD<$ XGK<N<FF$ 19V$ %D<F<$ K<FJHIFGPGNGBG<F$ GICNEO<$ BD<$ J<KGHOGC$

P<:CHIGI;$JKHC<FF$:IO$BD<$:EBD<IBGC:BGHI$H\$I<X$U<UP<KFV$%DGF$XGK<N<FF$CNG<IB$OH<F$IHB$:CB$:F$:$

PKGO;<$ BH$ K<N:Q$ GI\HKU:BGHI$ P<BX<<I$ XGK<N<FF$ CNG<IBFV$ 1O$ DHC$ UHO<$ GF$ EF<O$ BH$ CHII<CB$ XGK<N<FF$

CNG<IBF$ BH;<BD<K$ XD<I$ BD<K<$ GF$ IH$ XGK<N<FF$ 19$ JK<F<IBV$ %D<$ XGK<N<FF$ CNG<IBF$ UEFB$ P<$ <bJNGCGBNQ$

CHI\G;EK<O$ BH$EF<$ :O$DHC$UHO<V$%D<K<$ C:I$P<$ :$U:bGUEU$H\$IGI<$U<UP<KF$ GI$ :I$ :O$DHC$m54V66$

XGK<N<FF$I<BXHK]V$

ZN@H==#DR[#9'E8*4"$#

1B$BD<$JDQFGC:N$Z9',[$FEPN:Q<KR$0"""$m54V66$O<\GI<F$:$F<KG<F$H\$<ICHOGI;$:IO$BK:IFUGFFGHI$FCD<U<F$

\HK$ XGK<N<FF$ CHUUEIGC:BGHIFR$ BD<$ UHFB$ CHUUHI$ H\$ XDGCD$ :K<$ BD<$ aK<cE<ICQ$ 'HJJGI;$ /JK<:O$

/J<CBKEU$ Za'//[R$ fGK<CB$ /<cE<IC<$ /JK<:O$ /J<CBKEU$ Zf///[R$ :IO$ )KBDH;HI:N$ aK<cE<ICQ$ fGSGFGHI$

=ENBGJN<bGI;$ Z)af=[$ BK:IFUGFFGHI$ FCD<U<FV$ %D<$ \HNNHXGI;$ \G;EK<$ FDHXF$ BD<$ m54V66R$ m54V66PR$

m54V66:R$:IO$m54V66;$FB:IO:KOF$ BD:B$<bGFB$:B$ BD<$9',$FEPN:Q<KV$%D<F<$FB:IO:KOF$:K<$O<FCKGP<O$ GI$

BD<$F<CBGHIF$BD:B$\HNNHXV$

G87237134$T91$ngE@??$78$8Q0$V',$*7D01$

$

Y"""$ngE@??$

%D<$PGB$K:B<$\HK$BD<$HKG;GI:N$0"""$m54V66$FB:IO:KO$GF$4$=PJF$EFGI;$BD<$a'//$BK:IFUGFFGHI$FCD<U<$

:IO$ BD<$ /Y#:IO$ 0IOEFBKG:NR$ /CG<IBG\GCR$ :IO$ =<OGC:N$ Z0/=[$ \K<cE<ICQ$ P:IOR$ XDGCD$ HJ<K:B<F$ GI$ BD<$

\K<cE<ICQ$K:I;<$H\$4VA$BH$4Ve$+'WV$'HX<S<KR$EIO<K$N<FFYBD:IYGO<:N$CHIOGBGHIFR$:$NHX<K$PGB$K:B<$FJ<<O$

H\$6$=PJF$GF$EF<OV$

ngE@??K$

%D<$U:dHK$ <ID:IC<U<IB$ BH$ 0"""$ m54V66$ PQ$ 0"""$ m54V66P$ GF$ BD<$ FB:IO:KOGW:BGHI$ H\$ BD<$ JDQFGC:N$

N:Q<K$ BH$FEJJHKB$DG;D<K$PGB$K:B<FV$ 0"""$m54V66P$FEJJHKBF$ BXH$:OOGBGHI:N$FJ<<OFR$eVe$=PJF$:IO$66$
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=PJFR$EFGI;$BD<$/Y#:IO$0/=V$%D<$f///$BK:IFUGFFGHI$FCD<U<$GF$EF<O$GI$HKO<K$BH$JKHSGO<$BD<$DG;D<K$

PGB$K:B<FV$%D<$PGB$K:B<$H\$66$=PJF$GF$:CDG<S:PN<$GI$GO<:N$CHIOGBGHIFV$0I$N<FFYBD:IYGO<:N$CHIOGBGHIFR$BD<$

FNHX<K$FJ<<OF$H\$eVe$=PJFR$4$=PJFR$:IO$6$=PJF$:K<$EF<OV$

(980$

• m54V66P$EF<F$BD<$F:U<$\K<cE<ICQ$P:IO$:F$BD:B$EF<O$PQ$UGCKHX:S<$HS<IFR$CHKON<FF$JDHI<FR$

P:PQ$UHIGBHKFR$XGK<N<FF$SGO<H$C:U<K:FR$:IO$#NE<BHHBD$O<SGC<FV$

ngE@??7$

0"""$ m54V66:$ ZBD<$ \GKFB$ FB:IO:KO$ BH$ P<$ K:BG\G<OR$ PEB$ dEFB$ IHX$ P<GI;$ XGO<NQ$ FHNO$ :IO$ O<JNHQ<O[$

HJ<K:B<F$:B$:$PGB$K:B<$:F$DG;D$:F$eA$=PJF$:IO$EF<F$BD<$&Y#:IO$0/=R$XDGCD$HJ<K:B<F$GI$BD<$\K<cE<ICQ$

K:I;<$ H\$ eVL4e$ BH$ eVmLe$ +'WV$ 0IFB<:O$ H\$ f///R$ m54V66:$ EF<F$ )af=R$ XDGCD$ :NNHXF$ O:B:$ BH$ P<$

BK:IFUGBB<O$ PQ$ FEP\K<cE<ICG<F$ GI$ J:K:NN<N$ :IO$ JKHSGO<F$ ;K<:B<K$ K<FGFB:IC<$ BH$ GIB<K\<K<IC<$ :IO$

;K<:B<K$ BDKHE;DJEBV$ %DGF$ DG;D<KYFJ<<O$ B<CDIHNH;Q$ <I:PN<F$ XGK<N<FF$ *1($ I<BXHK]GI;$ BH$ J<K\HKU$

P<BB<K$\HK$SGO<H$:IO$CHI\<K<ICGI;$:JJNGC:BGHIFV$

#<C:EF<$BD<Q$:K<$IHB$HI$BD<$F:U<$\K<cE<ICG<F$:F$HBD<K$/Y#:IO$O<SGC<F$ZFECD$:F$CHKON<FF$JDHI<F[R$

)af=$:IO$ 0"""$m54V66:$JKHSGO<$PHBD$:$DG;D<K$O:B:$ K:B<$:IO$:$ CN<:I<K$ FG;I:NV$%D<$PGB$ K:B<$H\$eA$

=PJF$GF$:CDG<S:PN<$GI$GO<:N$CHIOGBGHIFV$0I$N<FFYBD:IYGO<:N$CHIOGBGHIFR$BD<$FNHX<K$FJ<<OF$H\$Am$=PJFR$

7M$=PJFR$4A$=PJFR$6m$=PJFR$64$=PJFR$:IO$M$=PJF$:K<$EF<OV$

ngE@??6$

0"""$m54V66;$HJ<K:B<F$:B$:$PGB$K:B<$:F$DG;D$:F$eA$=PJFR$PEB$EF<F$BD<$/Y#:IO$0/=$:IO$)af=V$m54V66;$

GF$:NFH$P:C]X:KOYCHUJ:BGPN<$XGBD$m54V66P$:IO$C:I$HJ<K:B<$:B$BD<$m54V66P$PGB$K:B<F$:IO$EF<$f///V$

m54V66;$XGK<N<FF$I<BXHK]$:O:JB<KF$C:I$CHII<CB$BH$:I$m54V66P$XGK<N<FF$19R$:IO$m54V66P$XGK<N<FF$

I<BXHK]$:O:JB<KF$C:I$CHII<CB$BH$:I$m54V66;$XGK<N<FF$19V$%DEFR$m54V66;$JKHSGO<F$:$UG;K:BGHI$J:BD$

\HK$ m54V66P$ I<BXHK]F$ BH$ :$ \K<cE<ICQYCHUJ:BGPN<$ FB:IO:KO$ B<CDIHNH;Q$ XGBD$ :$ DG;D<K$ PGB$ K:B<V$

"bGFBGI;$ m54V66P$ XGK<N<FF$ I<BXHK]$ :O:JB<KF$ C:IIHB$ P<$ EJ;K:O<O$ BH$ m54V66;$ PQ$ EJO:BGI;$ BD<$

\GKUX:K<$H\$ BD<$:O:JB<K$x$BD<Q$UEFB$P<$K<JN:C<OV$.ING]<$UG;K:BGI;$ \KHU$m54V66P$BH$m54V66:$ZGI$

XDGCD$:NN$BD<$I<BXHK]$:O:JB<KF$GI$PHBD$BD<$XGK<N<FF$CNG<IBF$:IO$BD<$XGK<N<FF$19F$UEFB$P<$K<JN:C<O$

:B$BD<$F:U<$BGU<[R$UG;K:BGI;$\KHU$m54V66P$BH$m54V66;$C:I$P<$OHI<$GICK<U<IB:NNQV$

*G]<$ m54V66:R$ m54V66;$ EF<F$ eA$=PJF$ GI$ GO<:N$ CHIOGBGHIF$ :IO$ BD<$ FNHX<K$ FJ<<OF$ H\$ Am$=PJFR$ 7M$

=PJFR$4A$=PJFR$6m$=PJFR$64$=PJFR$:IO$M$=PJF$GI$N<FFYBD:IYGO<:N$CHIOGBGHIFV$

m54V6y$9KHBHCHN$

%D<$ 0"""$ m54V6y$ FB:IO:KO$ O<\GI<F$ JHKBYP:F<OR$ I<BXHK]$ :CC<FF$ CHIBKHN$ EF<O$ BH$ JKHSGO<$

:EBD<IBGC:B<O$I<BXHK]$:CC<FF$\HK$"BD<KI<B$I<BXHK]FV$%DGF$JHKBYP:F<O$I<BXHK]$:CC<FF$CHIBKHN$EF<F$

BD<$JDQFGC:N$CD:K:CB<KGFBGCF$H\$BD<$FXGBCD<O$*1($GI\K:FBKECBEK<$BH$:EBD<IBGC:B<$O<SGC<F$:BB:CD<O$BH$:$

*1($ JHKBV$ 1CC<FF$ BH$ BD<$ JHKB$ C:I$ P<$ O<IG<O$ G\$ BD<$ :EBD<IBGC:BGHI$ JKHC<FF$ \:GNFV$ 1NBDHE;D$ BDGF$

FB:IO:KO$X:F$O<FG;I<O$\HK$XGK<O$"BD<KI<B$I<BXHK]FR$GB$D:F$P<<I$:O:JB<O$BH$m54V66$XGK<N<FF$*1(FV$
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7,C),+"+-6#,K#ZN@H=\#

0"""$m54V6y$O<\GI<F$BD<$\HNNHXGI;$B<KUFR$:F$O<FCKGP<O$GI$BD<$\HNNHXGI;$F<CBGHIF3$

• V918$7>>044$028.8D@$1$*1($JHKBR$:NFH$]IHXI$:F$),$-#*55"66#"+-%-4#<DFU>R$ GF$BD<$NH;GC:N$<IBGBQ$

BD:B$FEJJHKBF$BD<$0"""$m54V6y$JKHBHCHN$BD:B$GF$:FFHCG:B<O$XGBD$:$JHKBV$1$91"$C:I$:OHJB$BD<$

KHN<$H\$BD<$:EBD<IBGC:BHKR$BD<$FEJJNGC:IBR$HK$PHBDV$

• FC8Q028.>7891@$1I$*'-."+-%5*-,$$GF$:$*1($JHKB$BD:B$<I\HKC<F$:EBD<IBGC:BGHI$P<\HK<$:NNHXGI;$
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504>1.L8.92$

999$:IO$%&9_09$JKHBHCHN$FB:C]$

1JJNGC:BGHI$ a%9$ /=%9$ '%%9$ t$ f(/$ t$

%K:IFJHKB$ %&9$ .f9$

0IB<KI<B$ 09$ 09SM$

999$

999H"$ 999H1$ 999$(<BXHK]$:CC<FF$

"BD<KI<B$ 1%=$ /<KG:N$=HO<U$

999$X:F$O<FG;I<O$FHU<XD:B$:\B<K$BD<$HKG;GI:N$'f*&$FJ<CG\GC:BGHIFV$%D<$O<FG;I<KF$H\$999$GICNEO<O$

U:IQ$:OOGBGHI:N$\<:BEK<F$BD:B$D:O$P<<I$F<<I$HINQ$GI$JKHJKG<B:KQ$O:B:YNGI]$JKHBHCHNF$EJ$BH$BD:B$BGU<V$

?a&$ 4e6M$O<FCKGP<F$9HGIBYBHY9HGIB$ 9KHBHCHN$ HS<K$ "BD<KI<B$Z999H"[$ :F$ :$U<BDHO$ \HK$ BK:IFUGBBGI;$

999$ HS<K$"BD<KI<B$BD:B$ GF$ FHU<BGU<F$ EF<O$ XGBD$f/*V$?a&$ 47MA$O<FCKGP<F$9HGIBYBHY9HGIB$ 9KHBHCHN$
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HS<K$1%=$Z999H1[$:F$:$U<BDHO$\HK$BK:IFUGBBGI;$999$HS<K$1%=$1O:JB:BGHI$*:Q<K$e$Z11*e[R$XDGCD$

GF$:NFH$:$CHUUHI$:NB<KI:BGS<$BH$999H"$EF<O$XGBD$f/*V$

999$GF$FJ<CG\G<O$GI$?a&$6MM6V$

VVV$T17M0$

/BKECBEK<$H\$:$999$\K:U<$

%D<$9KHBHCHN$\G<NO$GIOGC:B<F$BD<$BQJ<$H\$J:QNH:O$J:C]<B$Z<V;V$*&9R$(&9R$09R$09yR$1JJN<%:N]R$<BCV[V$

%D<$0I\HKU:BGHI$\G<NO$CHIB:GIF$BD<$999$J:QNH:O^$GB$D:F$:$S:KG:PN<$N<I;BD$XGBD$:$I<;HBG:B<O$U:bGUEU$

C:NN<O$BD<$=:bGUEU$%K:IFUGFFGHI$.IGBV$#Q$O<\:ENBR$BD<$U:bGUEU$GF$6e55HCB<BFV$0B$UG;DB$P<$J:OO<O$

HI$ BK:IFUGFFGHI^$ G\$ BD<$ GI\HKU:BGHI$ \HK$ :$ J:KBGCEN:K$ JKHBHCHN$ C:I$ P<$ J:OO<OR$ BD:B$ JKHBHCHN$UEFB$

:NNHX$GI\HKU:BGHI$BH$P<$OGFBGI;EGFD<O$\KHU$J:OOGI;V$

$

(:U<$ (EUP<K$H\$PQB<F$ f<FCKGJBGHI$

9KHBHCHN$ 6$HK$4$ F<BBGI;$H\$JKHBHCHN$GI$O:B:$\G<NO$

0I\HKU:BGHI$ S:KG:PN<$Z5$HK$UHK<[$ O:B:;K:U$

9:OOGI;$ S:KG:PN<$Z5$HK$UHK<[$ HJBGHI:N$J:OOGI;$

*.2P$Q88LS]]<<<U00@C87@03C]92:.20]<726]LLL@L3T$

Q88LS]]80>Q208@M.>1949T8@>9M]02UC4]:.K171D]>>a`ngnE@74L=$

$

$

dRA$&A$.A$$"+)$&FG%Y(+$

!D:B$BG<F$:NN$BD<F<$B<CDIHNH;G<F$BH;<BD<K$GF$BD<$FBKH]GI;$H\$BD<$<;HV$!D<I$C:PN<$B<N<SGFGHI$CD:II<NF$

P<;:I$BH$JKHNG\<K:B<$GI$BD<$6pm5FR$:$I<X$BQJ<$H\$PKH:OC:FBGI;R$C:NN<O$hI:KKHXC:FBGI;Ri$<U<K;<O$x$

XGBD$I<BXHK]F$NG]<$=%>R$&((R$:IO$&HEKB$%>$C:B<KGI;$BH$FJ<CG\GC$GIB<K<FBFV$!GBD$BD<$:OS<IB$H\$%G>H$

:IO$G9HOR$DHX<S<KR$X<$D:S<$UHS<O$P<QHIO$I:KKHXC:FBGI;$GIBH$h<;HC:FBGI;i$x$:$XHKNO$XD<K<$X<$

<b<KCGF<$ :I$ EIJ:K:NN<N<O$ O<;K<<$ H\$ CHIBKHN$ HS<K$ XD:B$ X<$ X:BCD$ :IO$ XD:B$ X<$ D<:KV$ !<$ C:I$

CHIFCGHEFNQ$:SHGO$GO<:FR$FHEIOFR$:IO$GU:;<F$BD:B$X<$OHI`B$:;K<<$XGBD$HK$OHI`B$<IdHQV$1F$FHCGHNH;GFBF$

!:N]<K$:IO$#<NN:UQ$D:S<$IHB<OR$ hU<OG:$:EOG<IC<F$:K<$ F<<I$:F$ \K<cE<IBNQ$ F<N<CBGI;$U:B<KG:N$ BD:B$

CHI\GKUF$BD<GK$P<NG<\FR$S:NE<FR$:IO$:BBGBEO<FR$XDGN<$K<d<CBGI;$U<OG:$CHIB<IB$BD:B$CHI\NGCBF$XGBD$BD<F<$

CH;IGBGHIFVi$%<CDIHNH;G<F$NG]<$%G>H$:IO$G9HO$<I:PN<$EIJK<C<O<IB<O$O<;K<<F$H\$F<N<CBGS<$:SHGO:IC<V$

%D<$ UHK<$ CHIBKHN$ X<$ C:I$ <b<KCGF<$ HS<K$ XD:B$ X<$ F<<$ :IO$ D<:KR$ BD<$ N<FF$ JK<J:K<O$ X<$ :K<$ BH$ P<$
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FEKJKGF<OV$ 0B$ GF$ IH$ CHGICGO<IC<$ BD:B$ X<$ GUJEB<$ +HOYNG]<$ JHX<KF$ BH$ HEK$ B<CDIHNH;G<F$ H\$

J<KFHI:NGW:BGHI$Z%G>HR$G9HO[$BD:B$X<$XHENO$I<S<K$GUJEB<$BH$;:B<Y]<<JGI;$B<CDIHNH;G<FV$(H$HI<$<S<K$

K<\<KK<O$BH$&:NN<K$0f$:F$ho<DHS:D`F$/<CK<B:KQVi$

%G>HR$ G9HOR$ :IO$ HBD<K$ B<CDIHNH;G<F$ H\$ J<KFHI:NGW:BGHI$ :K<$ CHIOGBGHIGI;$ EF$ BH$ P<$ BD<$ ]GIO$ H\$

CHIFEU<KF$XDH$:K<R$:F$oHF<JD$!HHO$2KEBCD$X:KI<O$NHI;$:;HR$hGIC:J:PN<$H\$:IQBDGI;$<bC<JB$D:PGB$

:IO$JK<dEOGC<Ri$XGBD$HEK$I<<OF$:NX:QF$JK<<UJBGS<NQ$F:BGF\G<OV$#EB$ GB$ GF$XHKBD$:F]GI;$DHX$\HKC<\EN$

X<$X:IB$BDGF$OGSGIGI;$H\$HEK$B:FB<F$BH$P<CHU<V$1NK<:OQR$QHE$C:IIHB$HKO<K$:$PHH]$\KHU$1U:WHIVCHU$

XGBDHEB$:$D:N\YOHW<I$f>fR$:JJNG:IC<R$:IO$&f$K<CHUU<IO:BGHIF$\:IYO:ICGI;$P<\HK<$QHEV$1IO$:F$HEK$

B<CDIHNH;G<F$ P<CHU<$ UHK<$ J<KC<JBGS<$ :PHEB$ HEK$ B:FB<FR$ BD<$ JKHOECBF$ X<$ :K<$ <ICHEK:;<O$ BH$

CHIFEU<$ CD:I;<$ :F$ X<NNV$ 1$ FBHKQ$ GI$ BD<$M*88# 9-$""-# ],'$+*8$K<C<IBNQ$ IHB<O$ BD:B$ PKH:OC:FBGI;$

CHUJ:IG<F$ FECD$ :F$ >G:CHU$ :K<$ PK:ICDGI;$ HEB$ GIBH$ PHH]$ JEPNGFDGI;V$ 1$ FJH]<FU:I$ \HK$ >G:CHU`F$

GUJKGIBR$XDGCD$ B:K;<BF$6mY7A$Q<:K$HNOFR$ BHNO$ BD<],'$+*8R$ h)EK$K<:O<KF$:K<$:OOGCB<O$ BH$:B$ N<:FB$HI<$

K<:NGBQ$ %>$ FDHXR$ BD<Q$ HXI$ HI<$ G9HOR$ :IO$ BD<Q$ :K<$ GI$ NHS<$ XGBD$ BD<GK$ %G>HVi$ &HUJ:IG<F$ :K<$

C:JGB:NGWGI;$HI$BDGF$]IHXN<O;<$PQ$U<K;GI;$BD<GK$JKHOECBFV$$

.IGS<KFGBQ$H\$&DGC:;H$N:X$JKH\<FFHK$&:FF$/EIFB<GI$<I;:;<O$BDGF$OGN<UU:$GI$DGF$PHH]R$S")'E8%5H5,CV$

/EIFB<GI$ :K;E<F$ BD:B$ HEK$ B<CDIHNH;G<F$ x$ <FJ<CG:NNQ$ BD<$ 0IB<KI<B$ x$ :K<$ <ICHEK:;GI;$ ;KHEJ$

JHN:KGW:BGHI3$h1F$BD<$CEFBHUGW:BGHI$H\$HEK$CHUUEIGC:BGHIF$EIGS<KF<$GICK<:F<FR$FHCG<BQ$GF$GI$O:I;<K$

H\$\K:;U<IBGI;R$FD:K<O$CHUUEIGBG<F$GI$O:I;<K$H\$OGFFHNSGI;Vi$#HKKHXGI;$BD<$GO<:$H\$hBD<$O:GNQ$U<i$

\KHU$=V0V%V$ B<CDIHNH;GFB$ (GCDHN:F$ (<;KHJHIB<R$ /EIFB<GI$ O<FCKGP<F$ :$ XHKNO$ XD<K<$ hQHE$ I<<O$ IHB$

CHU<$:CKHFF$BHJGCF$:IO$SG<XF$BD:B$QHE$D:S<$IHB$FHE;DB$HEBV$!GBDHEB$:IQ$OG\\GCENBQR$QHE$:K<$:PN<$BH$

F<<$<b:CBNQ$XD:B$QHE$X:IB$BH$F<<R$IH$UHK<$:IO$IH$N<FFVi$/EIFB<GI$GF$CHIC<KI<O$:PHEB$BD<$JHFFGPN<$

I<;:BGS<$ <\\<CBF$ BDGF$ XGNN$ D:S<$ HI$ O<NGP<K:BGS<$ O<UHCK:BGC$ OGFCHEKF<R$ :IO$ D<$ EK;<F$ X<PFGB<F$ BH$

GICNEO<$NGI]F$BH$FGB<F$BD:B$C:KKQ$:NB<KI:BGS<$SG<XFV$1NBDHE;D$DGF$FHNEBGHIF$P<:K$:$BK:C<$H\$GUJK:CBGC:N$

GSHKQ$BHX<K$<:KI<FBI<FF$x$QHE$C:I$N<:O$:$K:PGO$J:KBGF:I$BH$X:B<KR$:\B<K$:NNR$PEB$QHE$C:I`B$U:]<$DGU$

OKGI]$x$DGF$OG:;IHFGF$H\$ BD<$JKHPN<U$ GF$CHUJ<NNGI;V$ h9<HJN<$FDHENO$P<$<bJHF<O$ BH$U:B<KG:NF$ BD:B$

BD<Q$ XHENO$ IHB$ D:S<$ CDHF<I$ GI$ :OS:IC<Ri$ D<$ IHB<FV$ h.IJN:II<OR$ EI:IBGCGJ:B<O$ <ICHEIB<KF$ :K<$

C<IBK:N$BH$O<UHCK:CQ$GBF<N\Vi$/EIFB<GI`F$GIFG;DBF$D:S<$N<FFHIF$P<QHIO$JHNGBGCFV$0\$BD<F<$B<CDIHNH;G<F$

\:CGNGB:B<$JHN:KGW:BGHI$GI$JHNGBGCFR$XD:B$GI\NE<IC<$:K<$BD<Q$<b<KBGI;$HS<K$:KBR$NGB<K:BEK<R$:IO$UEFGCj$0I$

HEK$D:FB<$BH$\GIO$BD<$cEGC]<FBR$UHFB$CHIS<IG<IBR$:IO$UHFB$<:FGNQ$GIOGSGOE:NGW<O$X:Q$H\$;<BBGI;$XD:B$

X<$ X:IBR$ :K<$ X<$ CK<:BGI;$ <CN<CBGC$ J<KFHI:N$ BD<:B<KF$ HK$ FHJDGFBGC:B<O$ <CDH$ CD:UP<KFj$ 1K<$ X<$

JKHUHBGI;$ :$ CK<:BGS<$ GIOGSGOE:NGFU$ HK$ :$ I:KKHX$ GIOGSGOE:NGFUj$ 1I$ <bJ:IFGHI$ H\$ CDHGC<F$ HK$ :$

O<:O<IGI;$H\$B:FB<j$

G9C1>0$U$Q88LS]]<<<@8Q020<78:728.4@>9M]LCK:.>78.924]8Q0U760U9TU069>748.26$

$

dRA$&A$..A$#;)F5&FG%Y(+S$
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#KH:OC:FBGI;$GF$BD<$OGFBKGPEBGHI$H\$:EOGH$:IO$SGO<H$CHIB<IB$BH$:$OGFJ<KF<O$:EOG<IC<$SG:$:IQ$:EOGH$HK$

SGFE:N$U:FF$ CHUUEIGC:BGHIF$ U<OGEUR$ PEB$ EFE:NNQ$ HI<$ EFGI;$<N<CBKHU:;I<BGC$ K:OG:BGHI$ZK:OGH$

X:S<F[V$%D<$K<C<GSGI;$J:KBG<F$U:Q$ GICNEO<$ BD<$;<I<K:N$JEPNGC$HK$:$ K<N:BGS<NQ$ N:K;<$FEPF<B$ BD<K<H\V$

#KH:OC:FBGI;$ D:F$ P<<I$ EF<O$ \HK$ JEKJHF<F$ H\$ JKGS:B<$ K<CK<:BGHIR$IHIYCHUU<KCG:N$<bCD:I;<$ H\$

U<FF:;<FR$ <bJ<KGU<IB:BGHIR$ F<N\YBK:GIGI;R$ :IO$ <U<K;<ICQ$ CHUUEIGC:BGHI$ FECD$ :F$:U:B<EK$ ZD:U[$

K:OGH$:IO$:U:B<EK$ B<N<SGFGHI$Z1%>[$ GI$ :OOGBGHI$ BH$ CHUU<KCG:N$ JEKJHF<F$ NG]<$ JHJEN:K$ K:OGH$ HK$ %>$

FB:BGHIF$XGBD$:OS<KBGF<U<IBFV$

'.4891D$

%D<$B<KU$PKH:OC:FB$X:F$\GKFB$:OHJB<O$PQ$<:KNQ$K:OGH$<I;GI<<KF$\KHU$BD<$=GOX<FB<KI$.IGB<O$/B:B<FR$

BK<:BGI;$PKH:OC:FB$ FHXGI;$:F$ :$U<B:JDHK$\HK$ BD<$ OGFJ<KF:N$ GID<K<IB$ GI$ HUIGOGK<CBGHI:N$K:OGH$

FG;I:NFV#KH:OC:FBGI;$ GF$ :$ S<KQ$ N:K;<$ :IO$ FG;IG\GC:IB$ F<;U<IB$ H\$ BD<$U:FF$ U<OG:V$ )KG;GI:NNQ$ :NN$

PKH:OC:FBGI;$ X:F$ CHUJHF<O$ H\$:I:NH;$ FG;I:NF$EFGI;$:I:NH;$ BK:IFUGFFGHI$B<CDIGcE<F$ :IO$ UHK<$

K<C<IBNQ$PKH:OC:FB<KF$D:S<$FXGBCD<O$BH$OG;GB:N$FG;I:NF$EFGI;$OG;GB:N$BK:IFUGFFGHIV$

• 1I:NH;$:EOGH$SFV$'f$?:OGH$

• 1I:NH;$B<N<SGFGHI$SFV$fG;GB:N$B<N<SGFGHI$

• !GK<N<FF$

%D<$XHKNOrF$ B<CDIHNH;GC:N$ C:J:CGBQ$ BH$ K<C<GS<$ GI\HKU:BGHI$ BDKHE;D$ HI<YX:Q$ PKH:OC:FB$ I<BXHK]F$

UHK<$BD:I$cE:OKEJN<O$OEKGI;$BD<$BXH$O<C:O<F$\KHU$6pmM$BH$455LR$\KHU$A74$<b:PQB<FH\$ZHJBGU:NNQ$

CHUJK<FF<O[$GI\HKU:BGHIR$BH$6Vp$W<BB:PQB<FVv4w$%DGF$GF$BD<$GI\HKU:BGHI$<cEGS:N<IB$H\$ee$I<XFJ:J<KF$

J<K$J<KFHI$J<K$O:Q$GI$6pmMR$:IO$6Le$I<XFJ:J<KF$J<K$J<KFHI$J<K$O:Q$PQ$455LVv7w$

%DL04$9T$0:0>8192.>$K1973>748.26$

'GFBHKGC:NNQR$BD<K<$D:S<$P<<I$F<S<K:N$BQJ<F$H\$<N<CBKHIGC$U<OG:$PKH:OC:FBGI;3$

• %<N<JDHI<$PKH:OC:FBGI;$ Z6mm6@6p74[3$ BD<$ <:KNG<FB$ \HKU$ H\$ <N<CBKHIGC$ PKH:OC:FBGI;$ ZIHB$

CHEIBGI;$ O:B:$ F<KSGC<F$ H\\<K<O$ PQ$ FBHC]$B<N<;K:JD$ CHUJ:IG<F$\KHU$ 6mMLR$ G\$BGC]<KYB:J<F$:K<$

<bCNEO<O$ \KHU$ BD<$ O<\GIGBGHI[V$ %<N<JDHI<$ PKH:OC:FBGI;$ P<;:I$ XGBD$ BD<$ :OS<IB$

H\$%DzäBKHJDHI<$Zs%D<:BK<$9DHI<s[$FQFB<UFR$XDGCD$X<K<$B<N<JDHI<YP:F<O$OGFBKGPEBGHI$FQFB<UF$

:NNHXGI;$ FEPFCKGP<KF$ BH$ NGFB<I$ BH$ NGS<$HJ<K:$:IO$BD<:BK<$J<K\HKU:IC<F$ HS<K$ B<N<JDHI<$ NGI<FR$

CK<:B<O$ PQ$ aK<ICD$ GIS<IBHK$&NzU<IB$ 1O<K$GI$ 6mm6V$ %<N<JDHI<$ PKH:OC:FBGI;$ :NFH$ ;K<X$ BH$

GICNEO<$B<N<JDHI<$ I<XFJ:J<K$F<KSGC<F$ \HK$ I<XF$ :IO$ <IB<KB:GIU<IB$JKH;K:UUGI;$XDGCD$ X<K<$

GIBKHOEC<O$ GI$ BD<$ 6mp5FR$ JKGU:KGNQ$ NHC:B<O$ GI$ N:K;<$"EKHJ<:I$CGBG<FV$ %D<F<$ B<N<JDHI<Y

P:F<O$FEPFCKGJBGHI$ F<KSGC<F$X<K<$ BD<$ \GKFB$ <b:UJN<F$ H\$ <N<CBKGC:N_<N<CBKHIGC$ PKH:OC:FBGI;$ :IO$

H\\<K<O$:$XGO<$S:KG<BQ$H\$JKH;K:UUGI;V$

• ?:OGH$PKH:OC:FBGI;$Z<bJ<KGU<IB:NNQ$ \KHU$6p5MR$ CHUU<KCG:NNQ$ \KHU$6p45[3$ K:OGH$PKH:OC:FBGI;$

GF$ :I$ :EOGH$ ZFHEIO[$ PKH:OC:FBGI;$ F<KSGC<R$ PKH:OC:FB$ BDKHE;D$ BD<$ :GK$ :F$K:OGH$ X:S<F\KHU$ :$
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BK:IFUGBB<K$ BH$ :$K:OGH$ :IB<II:$:IOR$ BDEFR$ BH$ :$K<C<GS<KV$ /B:BGHIF$ C:I$ P<$ NGI]<O$ GI$K:OGH$

I<BXHK]F$BH$ PKH:OC:FB$ CHUUHI$K:OGH$ JKH;K:UFR$ <GBD<K$ GI$PKH:OC:FB$

FQIOGC:BGHIRFGUENC:FB$HK$FEPCD:II<NFV$

• 'GFBHKQ$ H\$ B<N<SGFGHI$PKH:OC:FBGI;$ ZB<N<C:FB[R$ <bJ<KGU<IB:NNQ$ \KHU$ 6p4eR$CHUU<KCG:N$

B<N<SGFGHI$\KHU$ BD<$ 6p75F3$ BDGF$B<N<SGFGHI$ JKH;K:UUGI;$U<OGEU$ X:F$ NHI;Y:X:GB<O$ PQ$ BD<$

;<I<K:N$JEPNGC$:IO$K:JGONQ$KHF<$BH$CHUJ<B<$XGBD$GBF$HNO<K$K:OGHYPKH:OC:FBGI;$FGPNGI;V$

• &:PN<$ K:OGH$Z:NFH$ C:NN<O$ sC:PN<$ a=sR$ \KHU$ 6p4m[$ :IO$C:PN<$ B<N<SGFGHI$Z\KHU$ 6p74[3$ PHBD$

SG:$CH:bG:N$ C:PN<R$ F<KSGI;$ JKGICGJ:NNQ$ :F$ BK:IFUGFFGHI$U<OGEUF$ \HK$ JKH;K:UUGI;$ JKHOEC<O$ :B$

<GBD<K$K:OGH$HK$B<N<SGFGHI$FB:BGHIFR$XGBD$NGUGB<O$JKHOECBGHI$H\$C:PN<YO<OGC:B<O$JKH;K:UUGI;V$

• fGK<CBYPKH:OC:FB$F:B<NNGB<$Zf#/[$Z\KHU$CGKC:$6pLA[$:IO$F:B<NNGB<$K:OGH$Z\KHU$CGKC:$6pp5[3$U<:IB$

\HK$ OGK<CBYBHYDHU<$ PKH:OC:FB$ JKH;K:UUGI;$ Z:F$ HJJHF<O$ BH$ FBEOGH$ I<BXHK]$ EJNGI]F$ :IO$

OHXINGI]F[R$JKHSGO<F$:$UGb$H\$BK:OGBGHI:N$K:OGH$HK$B<N<SGFGHI$PKH:OC:FB$JKH;K:UUGI;R$HK$PHBDR$

XGBD$O<OGC:B<O$F:B<NNGB<$K:OGH$JKH;K:UUGI;V$Z/<<$:NFH3$/:B<NNGB<$B<N<SGFGHI[$

• !<PC:FBGI;$H\$SGO<H_B<N<SGFGHI$Z\KHU$CGKC:$6pp7[$:IO$:EOGH_K:OGH$Z\KHU$CGKC:$6ppA[$FBK<:UF3$

H\\<KF$ :$ UGb$ H\$ BK:OGBGHI:N$ K:OGH$ :IO$ B<N<SGFGHI$ FB:BGHI$ PKH:OC:FB$ JKH;K:UUGI;$ XGBD$

O<OGC:B<O$GIB<KI<B$K:OGHYX<PC:FB$JKH;K:UUGI;V$

">929M.>$M930:4$

"CHIHUGC:NNQ$BD<K<$:K<$:$\<X$X:QF$GI$XDGCD$FB:BGHIF$:K<$:PN<$BH$PKH:OC:FB$CHIBGIE:NNQV$":CD$OG\\<KF$

GI$BD<$U<BDHO$PQ$XDGCD$FB:BGHIF$:K<$\EIO<O3$

• GIY]GIO$ OHI:BGHIF$H\$ BGU<$ :IO$ F]GNNF$ PQ$ SHNEIB<<KF$ ZCHUUHI$ XGBD$CHUUEIGBQ$

K:OGH$PKH:OC:FB<KF[$

• OGK<CB$;HS<KIU<IB$J:QU<IBF$HK$HJ<K:BGHI$H\$JEPNGC$PKH:OC:FB<KF$

• GIOGK<CB$;HS<KIU<IB$J:QU<IBFR$FECD$:F$K:OGH$:IO$B<N<SGFGHI$NGC<IF<F$

• ;K:IBF$\KHU$\HEIO:BGHIF$HK$PEFGI<FF$<IBGBG<F$

• F<NNGI;$:OS<KBGFGI;$HK$FJHIFHKFDGJF$

• JEPNGC$FEPFCKGJBGHI$HK$U<UP<KFDGJ$

#KH:OC:FB<KF$U:Q$ K<NQ$ HI$ :$ CHUPGI:BGHI$ H\$ BD<F<$PEFGI<FF$UHO<NFV$ aHK$ <b:UJN<R$(:BGHI:N$ 9EPNGC$

?:OGH$Z(9?[R$:$IHIYCHUU<KCG:N$<OEC:BGHI:N$Z(&"[$JEPNGC$K:OGH$U<OG:$HK;:IGW:BGHI$XGBDGI$BD<$.V/VR$

K<C<GS<F$;K:IBF$\KHU$ BD<$&HKJHK:BGHI$ \HK$ 9EPNGC$ #KH:OC:FBGI;$Z&9#[$ ZXDGCDR$ GI$ BEKIR$ K<C<GS<F$

\EIOGI;$ \KHU$ BD<$ .V/V$ ;HS<KIU<IB[R$ PQ$ JEPNGC$ U<UP<KFDGJ$ :IO$ PQ$ F<NNGI;$ s<bB<IO<O$ CK<OGBFs$

BH$CHKJHK:BGHIFV$

$

d$R$A$"A$#*b"%))%'$V;)%)&)*G$

!GK<N<FF$O:B:$<bCD:I;<$FB:IO:KO$#NE<BHHBD$EF<F$:$S:KG<BQ$H\$JKHBHCHNFV$&HK<$JKHBHCHNF$:K<$O<\GI<O$

PQ$ BD<$ BK:O<$ HK;:IGW:BGHI$#NE<BHHBD$ /0+V$ 1OOGBGHI:N$ JKHBHCHNF$ D:S<$ P<<I$ :OHJB<O$ \KHU$ HBD<K$
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FB:IO:KOF$PHOG<FV$%DGF$:KBGCN<$;GS<F$:I$HS<KSG<X$H\$BD<$CHK<$JKHBHCHNF$:IO$BDHF<$:OHJB<O$JKHBHCHNF$

BD:B$:K<$XGO<NQ$EF<OV$

%D<$#NE<BHHBD$JKHBHCHN$FB:C]$GF$FJNGB$GI$BXH$J:KBF3$:$sCHIBKHNN<K$FB:C]s$CHIB:GIGI;$BD<$BGUGI;$CKGBGC:N$

K:OGH$ GIB<K\:C<R$ :IO$ :$ sDHFB$ FB:C]s$ O<:NGI;$XGBD$ DG;D$ N<S<N$ O:B:V$ %D<$ CHIBKHNN<K$ FB:C]$ GF$ ;<I<K:NNQ$

GUJN<U<IB<O$GI$:$NHX$CHFB$FGNGCHI$O<SGC<$CHIB:GIGI;$BD<$PNE<BHHBD$K:OGH$:IO$:$UGCKHJKHC<FFHKV$%D<$

DHFB$FB:C]$GF$;<I<K:NNQ$GUJN<U<IB<O$:F$J:KB$H\$:I$HJ<K:BGI;$FQFB<UR$HK$:F$:I$GIFB:NN:PN<$J:C]:;<$HI$

BHJ$H\$:I$HJ<K:BGI;$FQFB<UV$aHK$GIB<;K:B<O$O<SGC<F$FECD$:F$PNE<BHHBD$D<:OF<BFR$BD<$DHFB$FB:C]$:IO$

CHIBKHNN<K$ FB:C]$C:I$P<$KEI$HI$ BD<$F:U<$UGCKHJKHC<FFHK$ BH$ K<OEC<$U:FF$JKHOECBGHI$CHFBF^$ BDGF$ GF$

]IHXI$:F$:$DHFBN<FF$FQFB<UV$

&92819::01$487>P$

G[$1FQICDKHIHEF$&HII<CBGHIYHKG<IB<O$vNH;GC:N$BK:IFJHKBw$Z1&*[$

%D<$ IHKU:N$ BQJ<$ H\$ K:OGH$ NGI]$ EF<O$ \HK$ ;<I<K:N$ O:B:$ J:C]<BF$ EFGI;$ :$ JHNNGI;$ %f=1$ FCD<U<$ BH$

:KPGBK:B<$:CC<FFV$0B$C:I$C:KKQ$J:C]<BF$H\$F<S<K:N$BQJ<FR$XDGCD$:K<$OGFBGI;EGFD<O$PQ3$

• N<I;BD$Z6R$7R$HK$e$BGU<$FNHBF$O<J<IOGI;$HI$K<cEGK<O$J:QNH:O$FGW<[$

• \HKX:KO$<KKHK$CHKK<CBGHI$ZHJBGHI:NNQ$K<OECGI;$BD<$O:B:$K:B<$GI$\:SHEK$H\$K<NG:PGNGBQ[$

• UHOEN:BGHI$ Z"f?$ Y$ <ID:IC<O$ O:B:$ K:B<$ Y$ J:C]<BF$ :NNHX$ EJ$ BH$ BKGJN<$ O:B:$ K:B<$ PQ$ EFGI;$ :$

OG\\<K<IB$?a$UHOEN:BGHI$\HK$BD<$J:QNH:O[$

1$ CHII<CBGHI$UEFB$P<$<bJNGCGBNQ$ F<B$EJ$:IO$:CC<JB<O$P<BX<<I$ BXH$O<SGC<F$P<\HK<$J:C]<BF$ C:I$P<$

BK:IF\<KK<OV$ 1&*$ J:C]<BF$ :K<$ K<BK:IFUGBB<O$ :EBHU:BGC:NNQ$ G\$ EI:C]IHXN<O;<OR$ :NNHXGI;$ \HK$

CHKK<CBGHI$ H\$ :$ K:OGH$ NGI]$ BD:B$ GF$ FEPd<CB$ BH$ GIB<K\<K<IC<V$ aHK$GFHCDKHIHEF$O:B:R$ BD<$ IEUP<K$ H\$

K<BK:IFUGFFGHIF$C:I$P<$ NGUGB<O$PQ$:$ \NEFD$BGU<HEB^$PEB$XGBDHEB$EFGI;$*49*1,$K<BK:IFUGFFGHI$:IO$

\NHX$CHIBKHN$UHO<$HK$"*4&19R$:$DG;D<K$N:Q<K$UEFB$D:ION<$BD<$J:C]<B$NHFFV$

1&*$ NGI]F$ :K<$ OGFCHII<CB<O$ G\$ BD<K<$ GF$ IHBDGI;$ K<C<GS<O$ \HK$ BD<$ FEJ<KSGFGHI$ BGU<HEB$ J<KGHO^$ BD<$

O<\:ENB$BGU<HEB$GF$45$F<CHIOFR$PEB$BDGF$U:Q$P<$UHOG\G<O$PQ$BD<$U:FB<KV$

GG[$/QICDKHIHEF$CHII<CBGHIYHKG<IB<O$Z/&)[$NGI]$

%D<$BQJ<$H\$K:OGH$NGI]$EF<O$\HK$SHGC<$O:B:V$1I$/&)$NGI]$GF$:$F<B$H\$K<F<KS<O$BGU<FNHBF$HI$:I$<bGFBGI;$

1&*$ NGI]V$ ":CD$ O<SGC<$ BK:IFUGBF$ <ICHO<O$ SHGC<$ O:B:$ GI$ BD<$ K<F<KS<O$ BGU<FNHBV$ %D<K<$ :K<$ IH$

K<BK:IFUGFFGHIFR$PEB$\HKX:KO$<KKHK$CHKK<CBGHI$C:I$P<$HJBGHI:NNQ$:JJNG<OV$/&)$J:C]<BF$U:Q$P<$F<IB$

<S<KQ$6R$4$HK$7$ BGU<FNHBFV$"ID:IC<O$/&)$ Z</&)[$ NGI]F$:NNHX$;K<:B<K$ \N<bGPGNGBQ$ GI$ F<BBGI;$EJ$ NGI]F3$

BD<Q$ U:Q$ EF<$ K<BK:IFUGFFGHIF$ BH$ :CDG<S<$ K<NG:PGNGBQR$ :NNHX$ :$ XGO<K$ S:KG<BQ$ H\$ J:C]<B$ BQJ<FR$ :IO$

;K<:B<K$GIB<KS:NF$P<BX<<I$J:C]<BF$BD:I$/&)R$BDEF$GICK<:FGI;$K:OGH$:S:GN:PGNGBQ$\HK$HBD<K$NGI]FV$

GGG[$*GI]$U:I:;<U<IB$JKHBHCHN$Z*=9[$

.F<O$ \HK$ CHIBKHN$ H\$ BD<$ K:OGH$ NGI]$ P<BX<<I$ BXH$ O<SGC<FR$ D:IONGI;$ U:BB<KF$ FECD$ :F$ NGI]$

<FB:PNGFDU<IBR$cE<KQGI;$O<SGC<$:PGNGBG<F$:IO$JHX<K$CHIBKHNV$0UJN<U<IB<O$HI$BD<$CHIBKHNN<KV$

GS[$'HFB_CHIBKHNN<K$GIB<K\:C<$Z'&0[$
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/B:IO:KOGF<O$ CHUUEIGC:BGHI$ P<BX<<I$ BD<$ DHFB$ FB:C]$ Z<V;VR$ :$ 9&$ HK$ UHPGN<$ JDHI<$ )/[$ :IO$ BD<$

CHIBKHNN<K$ ZBD<$#NE<BHHBD$ 0&[V$%DGF$ FB:IO:KO$:NNHXF$ BD<$DHFB$ FB:C]$HK$CHIBKHNN<K$ 0&$ BH$P<$FX:JJ<O$

XGBD$UGIGU:N$:O:JB:BGHIV$

%D<K<$ :K<$ F<S<K:N$ '&0$ BK:IFJHKB$ N:Q<K$ FB:IO:KOFR$ <:CD$ EFGI;$ :$ OG\\<K<IB$ D:KOX:K<$ GIB<K\:C<$ BH$

BK:IF\<K$ BD<$ F:U<$ CHUU:IOR$ <S<IB$ :IO$ O:B:$ J:C]<BFV$ %D<$UHFB$ CHUUHINQ$ EF<O$ :K<./#$ZGI$ 9&F[$

:IO$.1?%$ZGI$UHPGN<$JDHI<F$:IO$9f1F[V$

0I$#NE<BHHBD$O<SGC<F$XGBD$FGUJN<$\EICBGHI:NGBQ$Z<V;VR$D<:OF<BF[R$BD<$DHFB$FB:C]$:IO$CHIBKHNN<K$C:I$P<$

GUJN<U<IB<O$ HI$ BD<$ F:U<$ UGCKHJKHC<FFHKV$ 0I$ BDGF$ C:F<$ BD<$ '&0$ GF$ HJBGHI:NR$ :NBDHE;D$ H\B<I$

GUJN<U<IB<O$:F$:I$GIB<KI:N$FH\BX:K<$GIB<K\:C<V$

S[$*HX$"I<K;Q$*GI]$*:Q<K$Z*"$**[$

%DGF$GF$BD<$*=9$<cEGS:N<IB$\HK$#NE<BHHBD$*HX$"I<K;Q$Z*"[R$PEB$GF$FGUJN<KV$0B$GF$GUJN<U<IB<O$HI$BD<$

CHIBKHNN<K$:IO$U:I:;<F$:OS<KBGF<U<IBR$FC:IIGI;R$CHII<CBGHI$:IO$F<CEKGBQ$\KHU$:$NHXYN<S<NR$CNHF<$BH$

BD<$D:KOX:K<$JHGIB$H\$SG<XV$

'948$487>P$

G[$*H;GC:N$NGI]$CHIBKHN$:IO$:O:JB:BGHI$JKHBHCHN$Z*4&19[$

*4&19$GF$EF<O$XGBDGI$BD<$#NE<BHHBD$JKHBHCHN$FB:C]V$0B$J:FF<F$J:C]<BF$BH$<GBD<K$BD<$'HFB$&HIBKHNN<K$

0IB<K\:C<$Z'&0[$HK$HI$:$DHFBN<FF$FQFB<UR$OGK<CBNQ$BH$BD<$*GI]$=:I:;<K_1&*$NGI]V$

*4&19rF$\EICBGHIF$GICNEO<3$$

• =ENBGJN<bGI;$O:B:$P<BX<<I$OG\\<K<IB$DG;D<K$N:Q<K$JKHBHCHNFV$

• /<;U<IB:BGHI$:IO$K<:FF<UPNQ$H\$J:C]<BFV$

• 9KHSGOGI;$ HI<YX:Q$ BK:IFUGFFGHI$ U:I:;<U<IB$ H\$ UENBGC:FB$ O:B:$ BH$ :$ ;KHEJ$ H\$ HBD<K$

#NE<BHHBD$O<SGC<FV$

• -E:NGBQ$H\$F<KSGC<$Z-H/[$U:I:;<U<IB$\HK$DG;D<K$N:Q<K$JKHBHCHNFV$

*4&19$GF$EF<O$BH$CHUUEIGC:B<$HS<K$BD<$DHFB$1&*$NGI]V$0BF$CHII<CBGHI$GF$<FB:PNGFD<O$:\B<K$BD<$1&*$

NGI]$D:F$P<<I$F<B$EJV$

GG[$#NE<BHHBD$I<BXHK]$<IC:JFEN:BGHI$JKHBHCHN$Z#("9[$

#("9$GF$EF<O$\HK$O<NGS<KGI;$I<BXHK]$J:C]<BF$HI$BHJ$H\$*4&19V$%DGF$JKHBHCHN$GF$EF<O$PQ$BD<$J<KFHI:N$

:K<:$ I<BXHK]GI;$ Z91([$JKH\GN<V$ #("9$ J<K\HKUF$ :$ FGUGN:K$ \EICBGHI$ BH$/EPI<BXHK]$ 1CC<FF$

9KHBHCHN$Z/(19[$GI$!GK<N<FF$*1(V$0I$BD<$JKHBHCHN$FB:C]R$#("9$GF$PHEIO$BH$*4&19V$
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GGG[$?:OGH$\K<cE<ICQ$CHUUEIGC:BGHI$Z?a&)==[$

%D<$#NE<BHHBD$JKHBHCHN$?a&)==$GF$:$FGUJN<$F<B$H\$BK:IFJHKB$JKHBHCHNFR$U:O<$HI$BHJ$H\$BD<$*4&19$

JKHBHCHNR$ JKHSGOGI;$ <UEN:B<O$?/Y474$F<KG:N$ JHKBF$ZEJ$ BH$ FGbBQ$ FGUENB:I<HEF$ CHII<CBGHIF$ BH$ :$

#NE<BHHBD$ O<SGC<$ :B$ :$ BGU<[V$ %D<$ JKHBHCHN$ GF$ P:F<O$ HI$ BD<$ "%/0$ FB:IO:KO$ %/$5LV65V$ ?a&)==$ GF$

FHU<BGU<F$C:NN<O$F<KG:N$JHKB$<UEN:BGHIV$%D<$#NE<BHHBD$F<KG:N$JHKB$JKH\GN<$GF$P:F<O$HI$BDGF$JKHBHCHNV$

?a&)==$JKHSGO<F$:$FGUJN<$K<NG:PN<$O:B:$FBK<:U$BH$BD<$EF<KR$FGUGN:K$BH$%&9V$ 0B$ GF$EF<O$OGK<CBNQ$PQ$

U:IQ$B<N<JDHIQ$K<N:B<O$JKH\GN<F$:F$:$C:KKG<K$\HK$1%$CHUU:IOFR$:F$X<NN$:F$P<GI;$:$BK:IFJHKB$N:Q<K$\HK$

)#"y$HS<K$#NE<BHHBDV$=:IQ$#NE<BHHBD$:JJNGC:BGHIF$EF<$?a&)==$P<C:EF<$H\$GBF$XGO<FJK<:O$FEJJHKB$

:IO$JEPNGCNQ$:S:GN:PN<$190$HI$UHFB$HJ<K:BGI;$FQFB<UFV$1OOGBGHI:NNQR$:JJNGC:BGHIF$BD:B$EF<O$:$F<KG:N$

JHKB$ BH$ CHUUEIGC:B<$ C:I$ P<$ cEGC]NQ$ JHKB<O$ BH$ EF<$ ?a&)==V$ 0I$ BD<$ JKHBHCHN$ FB:C]R$ ?a&)==$ GF$

PHEIO$BH$*4&19V$

GS[$/<KSGC<$OGFCHS<KQ$JKHBHCHN$Z/f9[$

.F<O$BH$:NNHX$O<SGC<F$BH$OGFCHS<K$XD:B$F<KSGC<F$<:CD$HBD<K$FEJJHKBR$:IO$XD:B$J:K:U<B<KF$BH$EF<$BH$

CHII<CB$BH$BD<UV$aHK$<b:UJN<R$XD<I$CHII<CBGI;$:$UHPGN<$JDHI<$BH$:$#NE<BHHBD$D<:OF<BR$/f9$XGNN$P<$

EF<O$ BH$O<B<KUGI<$XDGCD$#NE<BHHBD$JKH\GN<F$:K<$ FEJJHKB<O$PQ$ BD<$D<:OF<B$ ZD<:OF<B$JKH\GN<R$D:IOF$

\K<<$JKH\GN<R$:OS:IC<O$:EOGH$OGFBKGPEBGHI$JKH\GN<R$<BCV[$:IO$BD<$JKHBHCHN$UENBGJN<b<K$F<BBGI;F$I<<O<O$

BH$ CHII<CB$ BH$ <:CD$ H\$ BD<UV$ ":CD$ F<KSGC<$ GF$ GO<IBG\G<O$ PQ$ :$.IGS<KF:NNQ$ .IGcE<$ 0O<IBG\G<K$Z..0f[R$

XGBD$H\\GCG:N$F<KSGC<F$Z#NE<BHHBD$JKH\GN<F[$:FFG;I<O$:$FDHKB$\HKU$..0f$Z6M$PGBF$K:BD<K$BD:I$BD<$\ENN$

64m[V$0I$BD<$JKHBHCHN$FB:C]R$/f9$GF$PHEIO$BH$*4&19V$

S[$%<N<JDHIQ$CHIBKHN$JKHBHCHN$Z%&9[$

1NFH$K<\<KK<O$BH$:F$B<N<JDHIQ$CHIBKHN$JKHBHCHN$FJ<CG\GC:BGHI$PGI:KQ$Z%&/$PGI:KQ[V$.F<O$BH$F<B$EJ$:IO$

CHIBKHN$ FJ<<CD$ :IO$ O:B:$ C:NNF$ P<BX<<I$ #NE<BHHBD$ O<SGC<FV$ %D<$ JKHBHCHN$ GF$ P:F<O$ HI$ BD<$ 0%.Y%$

FB:IO:KO$-Vp76R$ XGBD$ BD<$ JKHSGFGHIF$ H\$ 1II<b$ f$ :JJNG<OR$ U:]GI;$ HINQ$ BD<$ UGIGUEU$ CD:I;<F$

I<C<FF:KQ$\HK$#NE<BHHBDV$%&9$GF$EF<O$PQ$BD<$GIB<KCHU$Z0&9[$:IO$CHKON<FF$B<N<JDHIQ$Z&%9[$JKH\GN<FV$

SG[$1EOGH_SGO<H$CHIBKHN$BK:IFJHKB$JKHBHCHN$Z1>&%9[$

.F<O$PQ$BD<$K<UHB<$CHIBKHN$JKH\GN<$BH$BK:IF\<K$1>_&$CHUU:IOF$HS<K$:I$*4&19$CD:II<NV$%D<$UEFGC$

CHIBKHN$PEBBHIF$HI$:$FB<K<H$D<:OF<B$EF<$BDGF$JKHBHCHN$BH$CHIBKHN$BD<$UEFGC$JN:Q<K$

0I$BD<$JKHBHCHN$FB:C]R$1>&%9$GF$PHEIO$BH$*4&19V$
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SGG[$1EOGH_SGO<H$O:B:$BK:IFJHKB$JKHBHCHN$Z1>f%9[$

.F<O$PQ$BD<$:OS:IC<O$:EOGH$OGFBKGPEBGHI$JKH\GN<$BH$FBK<:U$UEFGC$BH$FB<K<H$D<:OF<BF$HS<K$:I$*4&19$

CD:II<NV$0IB<IO<O$BH$P<$EF<O$PQ$SGO<H$OGFBKGPEBGHI$JKH\GN<V$0I$BD<$JKHBHCHN$FB:C]R$1>f%9$GF$PHEIO$BH$

*4&19V$

SGGG[$)Pd<CB$<bCD:I;<$Z)#"y[$

)Pd<CB$ <bCD:I;<$Z)#"y^$ :NFH$ B<KU<O$0K)#"y[$ GF$ :$ CHUUEIGC:BGHIF$ JKHBHCHN$ BD:B$ \:CGNGB:B<F$ BD<$

<bCD:I;<$H\$PGI:KQ$HPd<CBF$P<BX<<I$O<SGC<FV$ 0B$ GF$U:GIB:GI<O$PQ$BD<$0I\K:K<O$f:B:$1FFHCG:BGHI$PEB$

D:F$ :NFH$ P<<I$ :OHJB<O$ PQ$ BD<$#NE<BHHBD$ /J<CG:N$ 0IB<K<FB$+KHEJ$:IO$ BD<$/QIC=*$XGI;$ H\$ BD<$)J<I$

=HPGN<$ 1NNG:IC<$Z)=1[V$ 0I$ #NE<BHHBDR$ )#"y$ GF$ EF<O$ \HK$ U:IQ$ JKH\GN<F$ BD:B$ K<cEGK<$ FGUJN<$ O:B:$

<bCD:I;<$Z<V;VR$HPd<CB$JEFDR$\GN<$BK:IF\<KR$P:FGC$GU:;GI;R$P:FGC$JKGIBGI;R$JDHI<PHH]$:CC<FFR$<BCV[V$

Gb[$*HX$"I<K;Q$1BBKGPEB<$9KHBHCHN$Z1%%[$

/GUGN:K$GI$FCHJ<$BH$/f9R$PEB$FJ<CG:NNQ$:O:JB<O$:IO$FGUJNG\G<O$\HK$*HX$"I<K;Q$#NE<BHHBDV$0B$:NNHXF$:$

CNG<IB$BH$K<:O$:IO_HK$XKGB<$C<KB:GI$:BBKGPEB<F$<bJHF<O$PQ$BD<$F<KS<K$GI$:$IHIYCHUJN<bR$NHXYJHX<K$

\KG<IONQ$U:II<KV$0I$BD<$JKHBHCHN$FB:C]R$1%%$GF$PHEIO$BH$*4&19V$

b[$*HX$"I<K;Q$/<CEKGBQ$=:I:;<K$9KHBHCHN$Z/=9[$

%DGF$ GF$ EF<O$ PQ$ #NE<BHHBD$ *HX$ "I<K;Q$ 0UJN<U<IB:BGHIF$ \HK$ J:GKGI;$ :IO$ BK:IFJHKB$ FJ<CG\GC$ ]<Q$

OGFBKGPEBGHIV$0I$BD<$JKHBHCHN$FB:C]R$/=9$GF$PHEIO$BH$*4&19V$

$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$
$

$



  2013 Compare Best CRM Software
  Rank #1 #2 #3 #4 #5 #6 #7 #8 #9 #10

    10-9
    8-6
    5-4
    3-2
    1-0

Excellent
Good
Average
Poor
Bad

Sales Force Oncontact Sage ACT!
Premium

Prophet AIMcrm Relenta webAsyst Maximizer
CRM

TeamWox Chaos Intellect

10
9
8
7
6
5
4
3
2
1

Overall Rating
Features
Contact Information
Sales & Marketing
Ease of Use
Help & Support

Ratings 10.00 9.80 9.20 9.05 8.90 8.28 8.20 7.80 6.68 6.25

  Pricing Information
Number of Users Unlimited Unlimited 10 Unlimited Unlimited 5 5 Unlimited
Hosted Cost $65/user $59.95/user - $45/user $55/user $75/five users $29.95 $199/user $75/5 users $59.95/user
Hosted Payment Frequency Monthly Monthly - Monthly Monthly Monthly Monthly One-time Monthly Monthly
On-Premise Solution - $995/user $199.99/first

$139.95/each
additional

$500/user - - $799/user $699/user $3,400/25
users

-

On-Premise Payment
Frequency

- One-time Fee One-time One-time - - One-time One-time One-time -

On-Premise Maintenance - $250 - - - - - Included - -
  Features

Email Integration
Web Hosted Solution
Daily Schedule/To-Do
Contact/Account Notes
Mobile Access
Calendar Integration
Remote Synchronization
Dialing Capabilities
On-Premise Solution

  Contact Information
Company Websites
Contact History
Contact Information Pages
Social Networking Pages
Organize Into Groups
Map With Travel Instruction
Link Contacts

  Sales & Marketing Tools
Reporting Options
Letterheads
Mailing Labels
Automated E-mail Campaigns
Real-Time Alerts

  Help & Support
Tutorials
Help Section/FAQs
Automatic Updates
Telephone Customer Support
Online Customer Support



  2013 Compare The Best Antivirus Software Products
  Rank #1 #2 #3 #4 #5 #6 #7 #8 #9 #10

    10-9
    8-6
    5-4
    3-2
    1-0

Excellent
Good
Average
Poor
Bad

Bitdefender
Antivirus Plus

Kaspersky
Anti-Virus

Norton
AntiVirus

F-Secure
Anti-Virus

G Data
AntiVirus

BullGuard
Antivirus

AVG
Anti-Virus

Avast! Pro
Antivirus

Trend Micro
Titanium

Antivirus +

VIPRE
Antivirus

10
9
8
7
6
5
4
3
2
1

Overall Rating
Performance
Features
Help & Support

Ratings 9.58 8.75 8.73 8.50 7.93 7.90 7.70 7.58 7.55 7.50

  Windows 7 Performance
Protection Score 100% 92% 92% 100% 100% 83% 75% 83% 100% 58%
Repair Score 100% 75% 75% 83% 67% 58% 58% 67% 67% 75%
Usability Score 83% 83% 83% 75% 75% 75% 75% 83% 75% 67%

  Features
Anti-Malware
Browser Exploits
Anti-Virus
Anti-Trojan
Anti-Spyware
Anti-Worm
Anti-Rootkit
Anti-Phishing
Secure Network
Email scans
Bootable Rescue CD
On-demand Scanning
Auto-clean Infected Files
Scan compressed Files
Infected File Quarantine
Instant Messaging Protection
Registry Startup Protection
Gamer Mode
Auto USB Detect

  Supported Configurations
Windows 8
Windows 7 
Windows Vista 
Windows XP 

  Help & Support
Live Chat
Email
Phone Support


